

FILED 3/12/2021
DOCUMENT NO. 02791-2021
FPSC - COMMISSION CLERK R. Wade Litchfield

Vice President & General Counsel Florida Power & Light Company 700 Universe Boulevard Juno Beach, FL 33408-0420 (561) 691-7101

March 12, 2021

VIA ELECTRONIC FILING

Adam Teitzman, Commission Clerk Division of the Commission Clerk and Administrative Services Florida Public Service Commission 2540 Shumard Oak Boulevard Tallahassee, FL 32399-0850

Re: Docket No. 20210015-EI

Petition by FPL for Base Rate Increase and Rate Unification

Dear Mr. Teitzman:

Attached for filing on behalf of Florida Power & Light Company ("FPL") in the above-referenced docket are FPL's Minimum Filing Requirements and Supplemental Information in MFR Format, together with the required schedules. FPL's MFRs have been prepared in compliance with Rule 25-6.043, F.A.C. and Order No. PSC-2020-0312-PAA-EI issued September 15, 2020 in Docket No. 20200182-EI (In re: Joint petition for declaratory statement regarding application of MFR requirements in Rule 25-6.043(1), F.A.C., or in the alternative, petition for variance, by Florida Power & Light Company and Gulf Power Company).

Please contact me if you have any questions regarding this submission.

(Document 31 of 69) MFRs, 2023 Subsequent Year Adjustment, Volume 2 of 8, Section B, Rate Base

Sincerely,

R. Wade Litchfield

Vice President & General Counsel Florida Power & Light Company

Wave from

RWL:ec

Florida Power & Light Company

BEFORE THE FLORIDA PUBLIC SERVICE COMMISSION

DOCKET NO. 20210015-EI FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES

MINIMUM FILING REQUIREMENTS 2023 SUBSEQUENT YEAR ADJUSTMENT

VOLUME 2 OF 8
SECTION B: RATE BASE SCHEDULES



	PANY: FLORIDA POWER & LIGHT (AND SUBSIDIARIES (CONS	COMPANY				Provide a schedule of for the test year, the p year. Provide the deta	rior year and the most i	recent historical		Type of Data Shown: _ Projected Test Year E _ Prior Year Ended: _/ Historical Test Year E X Proj. Subsequent Yr E	/_ inded: _/_/_
DOC	KET NO.: 20210015-EI						(\$000)			Witness: Liz Fuentes	
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
Line No.	DESCRIPTION	PLANT IN SERVICE	ACCUMULATED PROVISION FOR DEPRECIATION & AMORTIZATION	NET PLANT IN SERVICE (2 -3)	CWIP	PLANT HELD FOR FUTURE USE	NUCLEAR FUEL	NET UTILITY PLANT	WORKING CAPITAL ALLOWANCE	OTHER RATE BASE T	OTAL RATE BASE
1	UTILITY PER BOOK	79,313,145	20,485,178	58,827,967	3,232,998	640,522	714,970	63,416,456	(381,872)	0	63,034,584
3	SEPARATION FACTOR	0.963662	0.833577	1.008960	0.950871	0.955168	0.945673	1.004742	7.548907	0	0.965096
5 6	JURIS UTILITY	76,431,027	17,075,979	59,355,049	3,074,164	611,806	676,128	63,717,146	(2,882,718)	0	60,834,427
7	COMMISSION ADJUSTMENTS	(5,300,900)	(825,071)	(4,475,828)	(1,601,673)	(10,515)	0	(6,088,016)	4,556,827	0	(1,531,189)
9	COMPANY ADJUSTMENTS	(2,523)	(221,465)	218,942	(1,035)	0	0	217,907	84,145	0	302,052
11	TOTAL ADJUSTMENTS	(5,303,422)	(1,046,536)	(4,256,886)	(1,602,708)	(10,515)	0	(5,870,109)	4,640,972	0	(1,229,137)
12 13 14 15 16 17 18 19 20	JURIS ADJ UTILITY	71,127,605	16,029,442	55,098,162	1,471,456	601,291	676,128	57,847,036	1,758,254	0	59,605,291
21 22	NOTE: TOTALS MAY NOT ADD D	UE TO ROUNDING									

FLO	RIDA PUBLIC SERVICE COMMISSIO	ON			EXPLANATION:	Provide a schedule of	the 13-month average	adjusted rate base		Type of Data Shown:	
COM	IPANY: FLORIDA POWER & LIGHT (AND SUBSIDIARIES (CONSC						rior year and the most i			_ Projected Test Year _ Prior Year Ended: _ _ Historical Test Year X Proj. Subsequent Y	/_/_ · Ended: _/_/_
DOC	KET NO.: 20210015-EI						(\$000)			Witness: Liz Fuentes	
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)
Line No.		PLANT IN SERVICE	ACCUMULATED PROVISION FOR DEPRECIATION & AMORTIZATION	NET PLANT IN SERVICE (2 -3)	CWIP	PLANT HELD FOR FUTURE USE	NUCLEAR FUEL	NET UTILITY PLANT	WORKING CAPITAL ALLOWANCE	OTHER RATE BASE ITEMS	TOTAL RATE BASE
1	UTILITY PER BOOK	79,313,145	20,485,178	58,827,967	3,232,998	640,522	714,970	63,416,456	(381,864)	0	63,034,592
2 3 4	SEPARATION FACTOR	0.963662	0.833577	1.008960	0.950871	0.955168	0.945673	1.004742	7.549054	0	0.965096
5 6	JURIS UTILITY	76,431,027	17,075,979	59,355,049	3,074,164	611,806	676,128	63,717,146	(2,882,710)	0	60,834,436
7	COMMISSION ADJUSTMENTS	(5,300,900)	(825,071)	(4,475,828)	(1,601,673)	(10,515)	0	(6,088,016)	4,556,828	0	(1,531,188)
9 10	COMPANY ADJUSTMENTS	(2,523)	127,683	(130,205)	(1,035)	0	0	(131,240)	84,145	0	(47,096)
11	TOTAL ADJUSTMENTS	(5,303,422)	(697,389)	(4,606,034)	(1,602,708)	(10,515)	0	(6,219,257)	4,640,973	0	(1,578,283)
12 13 14 15		71,127,605	16,378,590	54,749,015	1,471,456	601,291	676,128	57,497,889	1,758,263	0	59,256,152
16 17 18 19											
20 21	NOTE: TOTALS MAY NOT ADD DI	LIE TO BOLINDING									
21	NOTE. TOTALS WAT NOT ADD DO	OL TO ROUNDING.									

	IDA PUBLIC SERVICE COMMISSION EXPLANATION: PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	average Rate Base for t the most recent historica	osed adjustments to the 13-m the test year, the prior year an al year. List the adjustments in of proposed in the current case ig them.	Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23		
DOC	XET NO.: 20210015-EI					Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE	REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
1	COMMISSION ADJUSTMENTS					
2	PLANT IN SERVICE ADJUSTMENTS					
3 4 5 6	ASSET RETIREMENT OBLIGATION CAPITAL LEASES ENVIRONMENTAL COST RECOVERY	(1) (2) (3)	(430,880) (321,325) (2,059,515)	0.969122 0.969122 0.953303	(417,575) (311,403) (1,963,343)	
7	FUEL AND CAPACITY COST RECOVERY	(4)	(164,269)	0.957775	(1,903,343)	
8	CONSERVATION COST RECOVERY	(5)	(45,957)	1.000000	(45,957)	
9	CAPITALIZED EXEC COMP	(6)	(58,506)	0.969122	(56,699)	
10	STORM PROTECTION PLAN COST RECOVERY	(7)	(2,348,589)	1.000000	(2,348,589)	
11 12	TOTAL PLANT IN SERVICE ADJUSTMENTS		(5,429,041)	0.976397	(5,300,900)	
13 14	PLANT HELD FOR FUTURE USE ADJUSTMENTS					
15	NORTH ESCAMBIA PROPERTY	(8)	(10,850)	0.969122	(10,515)	
16	TOTAL PLANT HELD FOR FUTURE USE ADJUSTMENTS	(0)	(10,850)	0.969122	(10,515)	
17			(11,111)		(,)	
18 19	ACCUMULATED DEPRECIATION & AMORTIZATION ADJUSTMENTS					
20	CAPITAL LEASES	(9)	142,544	0.969122	138,142	
21	ACCUM PROV DECOMMISSIONING COSTS	(10)	5,861,052	0.958936	5,620,374	
22	ASSET RETIREMENT OBLIGATION DECOMMISSIONING	(11)	(4,925,568)	0.969122	(4,773,477)	
23	ASSET RETIREMENT OBLIGATION	(12)	103,494	0.969122	100,298	
24	ENVIRONMENTAL COST RECOVERY	(13)	(365,224)	0.953303	(348,170)	
25 26	FUEL AND CAPACITY COST RECOVERY CONSERVATION COST RECOVERY	(14)	25,497	0.957765	24,421	
26 27	STORM PROTECTION PLAN COST RECOVERY CLAUSE	(15) (16)	(6,383) 69,866	1.000000 1.000000	(6,383) 69,866	
28 29	TOTAL ACCUMULATED DEPRECIATION & AMORTIZATION ADJUSTMENTS	(10)	905,278	0.911401	825,071	
30 31	CONSTRUCTION WORK IN PROGRESS ADJUSTMENTS					
32	CWIP - PROJECTS EARNING AFUDC	(17)	(1,301,633)	0.928405	(1,208,442)	
33	CWIP – CLAUSE PROJECTS	(18)	(400,160)	0.982684	(393,231)	
34 35	TOTAL CONSTRUCTION WORK IN PROGRESS ADJUSTMENTS	\·-/	(1,701,793)	0.941168	(1,601,673)	

)23 SU	IBSEQUENT YEAR ADJUSTMENT						
FLORI	DA PUBLIC SERVICE COMMISSION	EXPLANATION:		osed adjustments to the 13-months test year, the prior year and			Type of Data Shown: _ Projected Test Year Ended: _/ /_
COMP	MPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)			al year. List the adjustments in t proposed in the current case g them.			_ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
OCK	ET NO.: 20210015-EI						Witness: Tara B. DuBose, Keith Fergusor Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
1	WORKING CAPITAL ADJUSTMENTS						
2							
3	MARGIN CALL CASH COLLATERAL		(19)	3	0.969491	3	
4	ASSET RETIREMENT OBLIGATION		(20)	(79,784)	0.969122	(77,320)	
5	ACCOUNTS RECEIVABLE - ASSOC COMPANIES		(21)	(188,301)	0.969491	(182,556)	
6	INTEREST & DIVIDENDS RECEIVABLE		(22)	(42)	0.969491	(41)	
7	JOBBING ACCOUNTS		(23)	(37,999)	0.969491	(36,840)	
8	CLAUSE NET UNDERRECOVERIES		(24)	(25,354)	0.997535	(25,292)	
9	POLE ATTACHMENTS RENTS RECEIVABLE		(25)	(29,403)	0.969491	(28,506)	
10	PREPAYMENTS - INTEREST ON COMMERCIAL PAPER		(26)	(8,391)	0.965023	(8,098)	
11	PREPAYMENTS - SWA		(27)	(32,689)	1.000000	(32,689)	
12	FUEL COST RECOVERY – GPIF		(28)	(2,019)	1.000000	(2,019)	
13	ACCUM DEFERRED RETIREMENT BENEFITS		(29)	12,884	0.969122	12,487	
14	ACCUM. PROV PROPERTY & STORM INSURANCE		(30)	7,885	1.000000	7,885	
15	ASSET RETIREMENT OBLIGATION		(31)	5,332,737	0.969122	5,168,074	
16	CEDAR BAY TRANSACTION		(32)	1,096	0.957777	1,049	
17	GAIN ON SALE OF EMISSIONS ALLOWANCES		(33)	0	0.953303	0	
18	JOBBING ACCOUNTS		(34)	26,443	0.969491	25,636	
	REGULATORY LIABILITY – SWA		(35)	30,763	1.000000	30,763	
20	NUCLEAR COST RECOVERY		(36)	241,631	1.000000	241,631	
21	ENVIRONMENTAL COST RECOVERY		(37)	(256,991)	0.953303	(244,991)	
	ICL TRANSACTION		(38)	(125,417)	0.957777	(120,121)	
23	DEFERRED TRANSMISSION CREDIT		(39)	9,275	0.902537	8,371	
	SUPPLEMENTAL EXECUTIVE RETIREMENT PLAN		(40)	(2,587)	0.969491	(2,508)	
	EMPLOYEE AND RETIREE LOANS		(41)	(5)	0.969122	(4)	
	CEDAR BAY TRANSACTION		(42)	(136,185)	0.957777	(130,435)	
	OPERATING LEASES		(43)	(49,693)	0.958936	(47,652)	
28 29	TOTAL WORKING CAPITAL ADJUSTMENTS			4,687,858	0.972049	4,556,827	
30	TOTAL COMMISSION ADJUSTMENTS			(1,548,549)	0.988790	(1,531,189)	
31							
32							
33							
34							
35							

	JBSEQUENT YEAR ADJUSTMENT	1011	L DAGE ADGOTIVIENTO			1 age 5 of
	PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	average Rate Base for t the most recent historica	osed adjustments to the 13-m he test year, the prior year an- al year. List the adjustments in t proposed in the current case g them.	d I		Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI					Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE	REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
1 2	COMPANY ADJUSTMENTS					
3	PLANT IN SERVICE ADJUSTMENTS					
4 5	STORM PROTECTION PLAN COST RECOVERY	(44)	(2,795)	0.902537	(2,523)	
6	TOTAL PLANT IN SERVICE ADJUSTMENTS	(,	(2,795)	0.902537	(2,523)	
7 8 9	ACCUMULATED DEPRECIATION & AMORTIZATION					
10	DEPRECIATION	(45)	362,942	0.953665	346,125	
11	CAPITAL RECOVERY AMORTIZATION	(46)	(182,391)	0.950858	(173,428)	
12 13	DISMANTLEMENT STORM PROTECTION PLAN COST RECOVERY	(47) (48)	(21,567) 60	0.970918 0.902537	(20,939) 54	
14	SCHERER ASH POND DISMANTLEMENT	(49)	72,636	0.958936	69,653	
15	TOTAL ACCUMULATED DEPRECIATION & AMORTIZATION ADJUSTMENTS		231,680	0.955908	221,465	
16 17 18	CONSTRUCTION WORK IN PROGRESS					
19	STORM PROTECTION PLAN COST RECOVERY	(50)	(1,142)	0.906225	(1,035)	
20 21	TOTAL CONSTRUCTION WORK IN PROGRESS ADJUSTMENTS		(1,142)	0.906225	(1,035)	
22 23	WORKING CAPITAL ADJUSTMENTS					
24	RATE CASE EXPENSES	(51)	(1,939)	1.000000	(1,939)	
25	COVID-19 REGULATORY ASSET	(52)	(7,960)	0.969491	(7,717)	
26 27	NUCLEAR END OF LIFE ACCRUALS CARE TO SHARE	(53) (54)	11,752 101	0.969491 0.969491	11,394 98	
28	SCHERER CONSUMMATION PAYMENT	(55)	85,833	0.958936	82,309	
29 30	TOTAL WORKING CAPITAL ADJUSTMENTS		87,788	0.958497	84,145	
31	TOTAL COMPANY ADJUSTMENTS		315,531	0.957281	302,052	
32 33	NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING					
34						
35						

FLORIDA PUBLIC S	SERVICE COMMISSION	EXPLANATION:		osed adjustments to the 13-m he test year, the prior year an			Type of Data Shown: _ Projected Test Year Ended: _/ _/_
	DA POWER & LIGHT COMPANY UBSIDIARIES (CONSOLIDATED)			al year. List the adjustments in it proposed in the current case g them.			Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 2021	10015-EI						Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	

- (1) ASSET RETIREMENT OBLIGATION: TO REMOVE FROM PLANT IN SERVICE THE ASSET RETIREMENT OBLIGATIONS ASSOCIATED WITH THE RETIREMENT OF PLANT PER FPSC RULE 25-14.014 F.A.C.
- 3 (2) CAPITAL LEASES: TO REMOVE FROM PLANT IN SERVICE THE ASSET ASSOCIATED WITH CAPITAL LEASES. THE CORRESPONDING OBLIGATION IS REMOVED FROM CAPITAL STRUCTURE.
- 5 (3) ENVIRONMENTAL COST RECOVERY: TO REMOVE FROM PLANT IN SERVICE THE INVESTMENT RELATED TO ENVIRONMENTAL COMPLIANCE CAPITAL EXPENDITURES WHICH
 6 ARE BEING RECOVERED THROUGH THE ENVIRONMENTAL COST RECOVERY CLAUSE.
- 8 (4) FUEL AND CAPACITY COST RECOVERY CLAUSE: TO REMOVE FROM PLANT IN SERVICE THE CAPITAL INVESTMENT ASSOCIATED WITH ITEMS THAT ARE BEING RECOVERED THROUGH THE FUEL AND CAPACITY COST RECOVERY CLAUSE.
- 10
 11 (5) CONSERVATION COST RECOVERY: TO REMOVE FROM PLANT IN SERVICE THE INVESTMENT IN LOAD MANAGEMENT AND MONITORING EQUIPMENT WHICH IS BEING RECOVERED
 12 THROUGH THE ENERGY CONSERVATION COST RECOVERY CLAUSE.
- 13
 4 (6) CAPITALIZED EXECUTIVE COMPENSATION: TO REMOVE FROM PLANT IN SERVICE THE AMOUNT RELATED TO CAPITALIZED EXECUTIVE INCENTIVE COMPENSATION CONSISTENT
 15 WITH ORDER NO. PSC-10-0153-FOF-EI, DOCKET NO. 080677-EI.
- 17 (7) STORM PROTECTION PLAN COST RECOVERY: TO REMOVE FROM PLANT IN SERVICE THE CAPITAL INVESTMENT ASSOCIATED WITH ITEMS THAT ARE BEING RECOVERED THROUGH
 18 THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.
- 20 (8) NORTH ESCAMBIA PROPERTY: TO REMOVE FROM PLANT HELD FOR FUTURE USE THE COSTS RELATED TO A PORTION OF THE NORTH ESCAMBIA PROPERTY PER ORDER NO. PSC-12-0179-FOF-EI.
- 21
 22 (9) CAPITAL LEASES: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE ASSOCIATED WITH CAPITAL LEASES. THE CORRESPONDING ASSET IS
 23 ALSO REMOVED FROM RATE BASE.
- 25 (10) ACCUM PROV DECOMMISSIONING COSTS: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE FOR FUTURE DECOMMISSIONING OF FPL'S NUCLEAR 26 POWER PLANTS SINCE THE OFFSETTING FUND IS EXCLUDED FROM RATE BASE PER ORDER NO. 13537, DOCKET NO. 830465-EI.
- 28 (11) ASSET RETIREMENT OBLIGATION DECOMMISSIONING: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE ASSET RETIREMENT OBLIGATION PORTION OF THE RESERVE FOR FUTURE DECOMMISSIONING OF FPL'S NUCLEAR POWER PLANTS PER FPSC RULE 25-14.014 F.A.C.
- 31 (12) ASSET RETIREMENT OBLIGATION: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE ASSET RETIREMENT OBLIGATION ASSOCIATED WITH 32 THE RETIREMENT OF ELECTRIC GENERATION PLANTS PER FPSC RULE 25-14.014 F.A.C.

34 (13) ENVIRONMENTAL COST RECOVERY: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE FOR ENVIRONMENTAL COMPLIANCE CAPITAL EXPENDITURES WHICH 35 ARE BEING RECOVERED THROUGH THE ENVIRONMENTAL COST RECOVERY CLAUSE.

FLORIDA PUBLIC SI	ERVICE COMMISSION	EXPLANATION:		osed adjustments to the 13-m he test year, the prior year an			Type of Data Shown: Projected Test Year Ended: / /
	A POWER & LIGHT COMPANY IBSIDIARIES (CONSOLIDATED)		the most recent historica	al year. List the adjustments in ot proposed in the current case	1		_ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 20210	0015-EI						Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	

THAT ARE BEING RECOVERED THROUGH THE FUEL AND CAPACITY COST RECOVERY CLAUSES.

9

11

19

21

30

32

(15) CONSERVATION COST RECOVERY: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE FOR LOAD MANAGEMENT AND MONITORING EQUIPMENT WHICH IS BEING RECOVERED THROUGH THE ENERGY CONSERVATION COST RECOVERY CLAUSE.

(16) STORM PROTECTION PLAN COST RECOVERY: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE ASSOCIATED WITH CAPITAL INVESTMENTS 7

THAT ARE BEING RECOVERED THROUGH THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.

10 (17) CWIP - PROJECTS EARNING AFUDC: TO REMOVE FROM CONSTRUCTION WORK IN PROGRESS ALL AMOUNTS ELIGIBLE FOR AFUDC UNDER FPSC RULE 25-6.0141 F.A.C.

12 (18) CWIP - CLAUSE PROJECTS: TO REMOVE FROM CONSTRUCTION WORK IN PROGRESS INVESTMENTS RECOVERED AND EARNING A RETURN THROUGH THE CAPACITY, ENVIRONMENTAL, CONSERVATION AND STORM PROTECTION PLAN COST RECOVERY CLAUSES. 13

14 (19) MARGIN CALL CASH COLLATERAL: TO EXCLUDE FROM WORKING CAPITAL ALL MARGIN CALL CASH COLLATERAL SINCE THESE FUNDS EARN AN INTEREST RETURN OUTSIDE OF RATE BASE. 15

(20) ASSET RETIREMENT OBLIGATION: TO REMOVE FROM WORKING CAPITAL THE REGULATORY ASSET ASSOCIATED WITH THE ASSET RETIREMENT OBLIGATIONS OF ELECTRIC GENERATION PLANTS 17 18 PER FPSC RULE 25-14.014 F.A.C.

(21) ACCOUNTS RECEIVABLE - ASSOC COMPANIES: TO EXCLUDE FROM WORKING CAPITAL ALL ACCOUNTS RECEIVABLE RELATED TO FPL'S AFFILIATES. 20

(22) INTEREST & DIVIDENDS RECEIVABLE: TO EXCLUDE FROM WORKING CAPITAL INTEREST AND DIVIDENDS RECEIVABLES.

23 24 (23) JOBBING ACCOUNTS: TO EXCLUDE FROM WORKING CAPITAL ALL CURRENT AND ACCRUED ASSETS RELATED TO FPL JOBBING CONSTRUCTION ACCOUNTS PER ORDER NO. 13537, DOCKET NO. 830465-EI. 25

(24) CLAUSE NET UNDERRECOVERIES: TO EXCLUDE FROM WORKING CAPITAL NET OVER/UNDER RECOVERIES COSTS RELATED TO FPL'S COST RECOVERY CLAUSES PER ORDER NO. 13537, DOCKET NO. 830465-EI. 26 27

(25) POLE ATTACHMENTS RENTS RECEIVABLE: TO EXCLUDE FROM WORKING CAPITAL THE ACCOUNTS RECEIVABLES BALANCE RELATED TO THE USE OF FPL POLES BY OTHERS PER ORDER NO. 13537, DOCKET NO. 830465-EI. 29

31 (26) PREPAYMENTS - INTEREST ON COMMERCIAL PAPER: TO EXCLUDE FROM WORKING CAPITAL PREPAID INTEREST ON COMMERCIAL PAPER WHICH WAS DISALLOWED IN ORDER NO. 13537, DOCKET NO. 830465-EI.

(27) PREPAYMENTS - SWA: TO REMOVE FROM WORKING CAPITAL THE PREPAYMENT ASSOCIATED WITH THE SOLID WASTE AUTHORITY PURCHASE POWER CONTRACT RECOVERED 34 PER ORDER NO. PSC-11-0293-FOF-EU, DOCKET NO. 110018-EU. 35

Recap Schedules: B-1 (with RSAM) Supporting Schedules:

FLORIDA PUBLIC	SERVICE COMMISSION	EXPLANATION:		osed adjustments to the 13-m the test year, the prior year an			Type of Data Shown: _ Projected Test Year Ended: _/ _/_
	DA POWER & LIGHT COMPANY UBSIDIARIES (CONSOLIDATED)			al year. List the adjustments in ot proposed in the current case ng them.			Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 202	10015-EI						Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	

(28) FUEL COST RECOVERY - GPIF: TO REMOVE FROM WORKING CAPITAL THE AMOUNT OF GENERATING PERFORMANCE INCENTIVE FACTOR TO BE COLLECTED FROM CUSTOMERS THROUGH FPL'S FUEL AND PURCHASED POWER COST RECOVERY CLAUSE.

(29) ACCUM DEFERRED RETIREMENT BENEFITS: TO EXCLUDE FROM WORKING CAPITAL A PORTION OF THE ACCRUED AMOUNT ASSOCIATED WITH DEFERRED EXECUTIVE COMPENSATION AND ASSOCIATED INTEREST SINCE THE OFFSETTING FUND IS EXCLUDED FROM RATE BASE.

(30) ACCUM, PROV. - PROPERTY & STORM INSURANCE: TO EXCLUDE FROM WORKING CAPITAL THE BALANCE IN THE PROPERTY INSURANCE - STORM DAMAGE RESERVE. THIS REPRESENTS A FUNDED RESERVE PER ORDER NO. 11437, DOCKET NO. 820097-EU.

9 11

- 10 (31) ASSET RETIREMENT OBLIGATION: TO REMOVE FROM WORKING CAPITAL LIABILITIES ASSOCIATED WITH THE ASSET RETIREMENT OBLIGATIONS OF ELECTRIC GENERATION PLANTS PER FPSC RULE 25-14.014 F.A.C.
- 12 (32) CEDAR BAY TRANSACTION: TO REMOVE FROM WORKING CAPITAL THE LIABILITY RELATED TO THE CEDAR BAY TRANSACTION RECOVERED THROUGH THE CAPACITY COST RECOVERY CLAUSE 13 PER ORDER NO. PSC-15-0401-AS-EI, DOCKET NO. 150075-EI.

15 (33) GAIN ON SALE OF EMISSIONS ALLOWANCES: TO EXCLUDE FROM WORKING CAPITAL AMOUNTS RELATED TO GAINS ON SALE OF EMISSIONS ALLOWANCES WHICH ARE RECOVERED THROUGH THE ENVIRONMENTAL COST RECOVERY CLAUSE.

(34) JOBBING ACCOUNTS: TO EXCLUDE FROM WORKING CAPITAL ALL CURRENT AND ACCRUED LIABILITIES RELATED TO FPL JOBBING CONSTRUCTION ACCOUNTS 18

19 PER ORDER NO. 13537, DOCKET NO. 830465-EI.

20

17

21 (35) REGULATORY LIABILITY - SWA: TO REMOVE FROM WORKING CAPITAL THE LIABILITY ASSOCIATED WITH THE SOLID WASTE AUTHORITY PURCHASE POWER CONTRACT PER ORDER NO. PSC-11-0293-F0F-EU. DOCKET NO. 110018-EU.

23

24 (36) NUCLEAR COST RECOVERY: TO REMOVE FROM WORKING CAPITAL THE REGULATORY LIABILITY ASSOCIATED WITH THE NUCLEAR POWER COSTS RECOVERED UNDER THE NUCLEAR COST RECOVERY 25 RULE 25-6.0423 F.A.C.

27 (37) ENVIRONMENTAL COST RECOVERY: TO EXCLUDE FROM WORKING CAPITAL THE FOLLOWING ITEMS RECOVERED THROUGH ECRC: (1) EMISSIONS ALLOWANCES, (2) REGULATORY LIABILITY ASSOCIATED WITH THE TURKEY POINT COOLING CANAL MONITORING PROGRAM, (3) REGULATORY ASSETS ASSOCIATED WITH THE CLAUSE PORTION OF UNRECOVERED BALANCES FOR THE EARLY RETIREMENT OF MARTIN UNITS 1 & 2 AND LAUDERDALE UNITS 4 & 5 (ORDER NO. PSC-2019-0045-PAA-EI, DOCKET NO. 20180155-EI), AND SJRPP (ORDER NO. PSC-2017-0415-AS-EI, DOCKET NO. 20170123-EI), (4) REGULATORY ASSETS RELATED TO THE RETIREMENT OF PLANT SMITH, AND (5) THE REGULATORY ASSETS RELATED TO PLANTS SMITH AND

31 SCHOLZ ASH POND CLOSURE AND CRIST CLOSED ASH LANDFILL PROJECTS.

32

(38) ICL TRANSACTION: TO REMOVE FROM WORKING CAPITAL THE ASSETS RELATED TO THE INDIANTOWN TRANSACTION RECOVERED THROUGH THE CAPACITY COST RECOVERY CLAUSE PER ORDER NO. PSC-16-0506-FOF-EI, DOCKET NO. 160154-EI.

35

Supporting Schedules: Recap Schedules: B-1 (with RSAM)

FLORIDA PUBLIC S	SERVICE COMMISSION	EXPLANATION:		osed adjustments to the 13-m he test year, the prior year an			Type of Data Shown: _ Projected Test Year Ended: _/_/_
	DA POWER & LIGHT COMPANY UBSIDIARIES (CONSOLIDATED)			al year. List the adjustments in it proposed in the current case g them.			Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 2021	10015-EI						Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	

1 (39) DEFERRED TRANSMISSION CREDIT: TO EXCLUDE FROM WORKING CAPITAL THE DEFERRED RETURN ON TRANSMISSION PROJECTS BEING RECOVERED OVER A 40 YEAR AMORTIZATION PERIOD PER ORDER PSC-17-0178-S-EI, DOCKET NO. 160186-EI.

4 (40) SUPPLEMENTAL EXECUTIVE RETIREMENT PLAN: TO EXCLUDE FROM WORKING CAPITAL THE ASSET ASSOCIATED WITH THE SUPPLEMENTAL EXECUTIVE RETIREMENT PLAN INHERITED FROM 5 GULF AT ACQUISITION.

7 (41) EMPLOYEE AND RETIREE LOANS: TO EXCLUDE FROM WORKING CAPITAL ACCOUNTS RECEIVABLES RELATED TO EMPLOYEE AND RETIREE LOANS AS THERE IS NO DIRECT RELATIONSHIP BETWEEN THIS LIABILITY AND THE PROVISION OF ELECTRIC SERVICE.

10 (42) CEDAR BAY TRANSACTION: TO REMOVE FROM WORKING CAPITAL THE ASSET RELATED TO THE CEDAR BAY TRANSACTION RECOVERED THROUGH THE
11 CAPACITY COST RECOVERY CLAUSE PER ORDER NO. PSC-15-0401-AS-EI, DOCKET NO. 150075-EI.

13 (43) OPERATING LEASES: TO EXCLUDE FROM WORKING CAPITAL THE ASSET ASSOCIATED WITH OPERATING LEASES. THE CORRESPONDING OBLIGATION IS REMOVED FROM CAPITAL STRUCTURE.

15 (44) STORM PROTECTION PLAN COST RECOVERY: TO MOVE PLANT-IN-SERVICE TRANSMISSION INSPECTION PROGRAM COSTS INCURRED BEGINNING JANUARY 1, 2022 FROM BASE 16 RATES TO THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.

17
18 (45) DEPRECIATION: TO DECREASE ACCUMULATED DEPRECIATION AND AMORTIZATION TO REFLECT DECREASED BASE DEPRECIATION EXPENSE RESULTING FROM FPL'S PROPOSED
19 RSAM ADJUSTED DEPRECIATION RATES.

20 RSAW ADJUSTED DEPRECIATION RATES

12

21 (46) CAPITAL RECOVERY AMORTIZATION: TO INCREASE ACCUMULATED DEPRECIATION AND AMORTIZATION TO REFLECT INCREASED BASE AMORTIZATION EXPENSE RESULTING FROM CAPITAL RECOVERY SCHEDULES
22 FOR MARTIN UNITS 1 & 2, LAUDERDALE UNITS 4 & 5, MANATEE UNITS 1 & 2, 500 KV SYSTEM, SCHERER UNIT 4, AND PLANT CRIST COAL GENERATION ASSETS. THE COMPANY IS REQUESTING CAPITAL RECOVERY
23 SCHEDULES FOR THESE ASSETS OVER A PERIOD OF TEN YEARS BEGINNING IN 2022.

24 (47) DISMANTLEMENT: TO REFLECT AN INCREASE TO THE DISMANTLEMENT RESERVE TO REFLECT INCREASED DISMANTLEMENT ACCRUALS RESULTING FROM FPL'S 2021 DISMANTLEMENT STUDY (INCLUDING DISMANTLEMENT RESERVE TRANSFERS BETWEEN UNITS IN ORDER TO MINIMIZE THE INCREASE IN THE PROPOSED DISMANTLEMENT ACCRUALS).

28 (48) STORM PROTECTION PLAN COST RECOVERY: TO MOVE ACCUMULATED DEPRECIATION AND AMORTIZATION RELATED TO TRANSMISSION INSPECTION PROGRAM COSTS INCURRED BEGINNING
29 JANUARY 1, 2022 FROM BASE RATES TO THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.

13 (49) SCHERER ASH POND DISMANTLEMENT: TO MOVE THE SCHERER COAL ASH POND DISMANTLEMENT RESERVE FROM BASE RATES TO THE ENVIRONMENTAL COST RECOVERY CLAUSE
32 BEGINNING JANUARY 1, 2022 IN ORDER TO ALIGN RATE RECOVERY OF THE RELATED ASSETS.

33 (50) STORM PROTECTION PLAN COST RECOVERY: TO MOVE CONSTRUCTION WORK IN PROGRESS RELATED TO TRANSMISSION INSPECTION PROGRAM COSTS INCURRED BEGINNING JANUARY 1, 2022

34 (30) STORM PROTECTION PLAN COST RECOVERT. TO MOVE CONSTRUCTION WORK IN PROGRESS RELATED TO TRANSMISSION INSPECTION PROGRAM COSTS INCURRED BEGINNING JANUARY 1, 2022
35 FROM BASE RATES TO THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.

23 SUBSEQUENT \	YEAR ADJUSTMENT						
OMPANY: FLORIC	SERVICE COMMISSION DA POWER & LIGHT COMPANY JBSIDIARIES (CONSOLIDATED)	EXPLANATION:	average Rate Base for the the most recent historical	sed adjustments to the 13-m e test year, the prior year ar year. List the adjustments in proposed in the current case them.	d 1		Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
OCKET NO.: 2021	0015-EI						Witness: Tara B. DuBose, Keith Fergusor Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
	ASE EXPENSES: TO DECREASE DEFERRED I JR YEAR PERIOD.	RATE CASE EXPEN	SES FOR THIS PROCEEDI	NG TO REFLECT THE PRO	POSED AMORTIZATION	, WHICH IS REQUESTED	
3 4 (52) COVID-1	19 REGULATORY ASSET: TO DECREASE THE	COVID-19 REGULA	TORY ASSET TO REFLECT	T THE PROPOSED AMORT	IZATION. WHICH IS REC	QUESTED OVER A FOUR YE	AR PERIOD.
7 ÎNVENTORY 8	AR END OF LIFE ACCRUALS: TO REFLECT DI CONSISTENT WITH THE AMOUNTS REFLEC	TED IN FPL'S 2020 N	NUCLEAR DECOMMISSION	ING STUDY, DOCKET NO.	20200257-EI.		SUPPLIES
10 DIRECT REL	O SHARE: TO REMOVE FROM RATE BASE TH ATIONSHIP BETWEEN THIS LIABILITY AND T			ARE PROGRAM BEGINNIN	G WITH THE 2022 TEST	YEAR AS THERE IS NO	
	ER CONSUMMATION PAYMENT: TO INCLUDE D REQUESTED TO BE AMORTIZED OVER A T						
15 16 17							
18 19							
20 21 22							
22 23 24							
25 26 27							
28 29							
30 31 32							
33 34 35							

FLOF	IDA PUBLIC SERVICE COMMISSION EXPLANATION: PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	average Rate Base for the most recent historical	osed adjustments to the 13-mone test year, the prior year and all year. List the adjustments in the proposed in the current case of them.	Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23		
DOC	ET NO.: 20210015-EI					Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE	REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
1	COMMISSION ADJUSTMENTS CHANGE NO SERVICE AD MISTAGENERAL SERVICE ADMISSION ADJUSTMENTS					
2	PLANT IN SERVICE ADJUSTMENTS					
4 5	ASSET RETIREMENT OBLIGATION CAPITAL LEASES	(1) (2)	(430,880) (321,325)	0.969122 0.969122	(417,575) (311,403)	
6	ENVIRONMENTAL COST RECOVERY	(3)	(2,059,515)	0.953303	(1,963,343)	
7 8	FUEL AND CAPACITY COST RECOVERY CONSERVATION COST RECOVERY	(4) (5)	(164,269) (45,957)	0.957775 1.000000	(157,332) (45,957)	
9	CAPITALIZED EXEC COMP	(6)	(58,506)	0.969122	(56,699)	
10	STORM PROTECTION PLAN COST RECOVERY	(7)	(2,348,589)	1.000000	(2,348,589)	
11	TOTAL PLANT IN SERVICE ADJUSTMENTS	()	(5,429,041)	0.976397	(5,300,900)	
12			(, , ,		, , ,	
13	PLANT HELD FOR FUTURE USE ADJUSTMENTS					
14						
15	NORTH ESCAMBIA PROPERTY	(8)	(10,850)	0.969122	(10,515)	
16	TOTAL PLANT HELD FOR FUTURE USE ADJUSTMENTS		(10,850)	0.969122	(10,515)	
17						
18 19	ACCUMULATED DEPRECIATION & AMORTIZATION ADJUSTMENTS					
20	CAPITAL LEASES	(9)	142,544	0.969122	138,142	
21	ACCUM PROV DECOMMISSIONING COSTS	(10)	5,861,052	0.958936	5,620,374	
22	ASSET RETIREMENT OBLIGATION DECOMMISSIONING	(11)	(4,925,568)	0.969122	(4,773,477)	
23	ASSET RETIREMENT OBLIGATION	(12)	103,494	0.969122	100,298	
24	ENVIRONMENTAL COST RECOVERY	(13)	(365,224)	0.953303	(348,170)	
25	FUEL AND CAPACITY COST RECOVERY	(14)	25,497	0.957765	24,421	
26	CONSERVATION COST RECOVERY	(15)	(6,383)	1.000000	(6,383)	
27	STORM PROTECTION PLAN COST RECOVERY CLAUSE	(16)	69,866	1.000000	69,866	
28	TOTAL ACCUMULATED DEPRECIATION & AMORTIZATION ADJUSTMENTS		905,278	0.911401	825,071	
29 30 31	CONSTRUCTION WORK IN PROGRESS ADJUSTMENTS					
32	CWIP - PROJECTS EARNING AFUDC	(17)	(1,301,633)	0.928405	(1,208,442)	
33	CWIP - CLAUSE PROJECTS	(18)	(400,160)	0.982684	(393,231)	
34	TOTAL CONSTRUCTION WORK IN PROGRESS ADJUSTMENTS	· -/	(1,701,793)	0.941168	(1,601,673)	
35			, , ,		, , , ,	

	DA PUBLIC SERVICE COMMISSION PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	EXPLANATION:	average Rate Base for the most recent historica	osed adjustments to the 13-mone test year, the prior year and I year. List the adjustments in a proposed in the current case at them.			Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23	
оск	ET NO.: 20210015-EI		the reasons for excluding	g utem.			Witness: Tara B. DuBose, Keith Ferguson	
							Liz Fuentes	
	(1)		(2)	(3)	(4)	(5)		
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)		
1	WORKING CAPITAL ADJUSTMENTS							
2								
3	MARGIN CALL CASH COLLATERAL		(19)	3	0.969491	3		
4	ASSET RETIREMENT OBLIGATION		(20)	(79,784)	0.969122	(77,320)		
5	ACCOUNTS RECEIVABLE - ASSOC COMPANIES		(21)	(188,301)	0.969491	(182,556)		
6	INTEREST & DIVIDENDS RECEIVABLE		(22)	(42)	0.969491	(41)		
7	JOBBING ACCOUNTS		(23)	(37,999)	0.969491	(36,840)		
8	CLAUSE NET UNDERRECOVERIES		(24)	(25,354)	0.997534	(25,291)		
9	POLE ATTACHMENTS RENTS RECEIVABLE		(25)	(29,403)	0.969491	(28,506)		
	PREPAYMENTS - INTEREST ON COMMERCIAL PAPER		(26)	(8,391)	0.965023	(8,098)		
11	PREPAYMENTS - SWA		(27)	(32,689)	1.000000	(32,689)		
	FUEL COST RECOVERY – GPIF		(28)	(2,019)	1.000000	(2,019)		
	ACCUM DEFERRED RETIREMENT BENEFITS		(29)	12,884	0.969122	12,487		
14	ACCUM. PROV PROPERTY & STORM INSURANCE		(30)	7,885	1.000000	7,885		
	ASSET RETIREMENT OBLIGATION		(31)	5,332,737	0.969122	5,168,074		
16	CEDAR BAY TRANSACTION		(32)	1,096	0.957777	1,049		
	GAIN ON SALE OF EMISSIONS ALLOWANCES		(33)	0	0.953303	0		
18	JOBBING ACCOUNTS		(34)	26,443	0.969491	25,636		
19	REGULATORY LIABILITY – SWA		(35)	30,763	1.000000	30,763		
	NUCLEAR COST RECOVERY		(36)	241,631	1.000000	241,631		
	ENVIRONMENTAL COST RECOVERY		(37)	(256,991)	0.953303	(244,991)		
	ICL TRANSACTION		(38)	(125,417)	0.957777	(120,121)		
23	DEFERRED TRANSMISSION CREDIT		(39)	9,275	0.902537	8,371		
	SUPPLEMENTAL EXECUTIVE RETIREMENT PLAN		(40)	(2,587)	0.969491	(2,508)		
25 26	EMPLOYEE AND RETIREE LOANS CEDAR BAY TRANSACTION		(41)	(5)	0.969122 0.957777	(4)		
	OPERATING LEASES		(42) (43)	(136,185) (49,693)	0.958936	(130,435) (47,652)		
21 28			(43)	4,687,858	0.972049	4,556,828		
28 29	TOTAL WORKING CAPITAL ADJUSTMENTS			4,007,858	0.972049	4,330,628		
30	TOTAL COMMISSION ADJUSTMENTS			(1,548,548)	0.988790	(1,531,188)		
31								
32								
33								
34								
35								

FLORIDA PL	JBLIC SERVICE COMMISSION EXPLANATION:		osed adjustments to the 13-mone test year, the prior year and			Type of Data Shown: Projected Test Year Ended: / /
	FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	the most recent historica	I year. List the adjustments in proposed in the current case			_ Prior Year Ended: _/_ _ Historical Test Year Ended: _/_ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO	D.: 20210015-EI					Witness: Tara B. DuBose, Keith Fergusor Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE	REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
	PANY ADJUSTMENTS					
2 3 PLAN	IT IN SERVICE ADJUSTMENTS					
4						
	RM PROTECTION PLAN COST RECOVERY	(44)	(2,795)	0.902537	(2,523)	
	AL PLANT IN SERVICE ADJUSTMENTS		(2,795)	0.902537	(2,523)	
7 8 ACCU 9	JMULATED DEPRECIATION & AMORTIZATION					
	RECIATION	(45)	2,265	-1.334131	(3,022)	
11 CAPIT	TAL RECOVERY AMORTIZATION	(46)	(182,391)	0.950858	(173,428)	
12 DISM	ANTLEMENT	(47)	(21,567)	0.970918	(20,939)	
	RM PROTECTION PLAN COST RECOVERY	(48)	60	0.902537	54	
	ERER ASH POND DISMANTLEMENT	(49)	72,636	0.958936	69,653	
16	AL ACCUMULATED DEPRECIATION & AMORTIZATION ADJUSTMENTS		(128,997)	0.989811	(127,683)	
17 CONS 18	STRUCTION WORK IN PROGRESS					
	RM PROTECTION PLAN COST RECOVERY	(50)	(1,142)	0.906225	(1,035)	
	L CONSTRUCTION WORK IN PROGRESS ADJUSTMENTS	(/	(1,142)	0.906225	(1,035)	
21			, , ,		, ,	
	KING CAPITAL ADJUSTMENTS					
23	: 0.405 EVPENOSO	<i>(</i>				
	CASE EXPENSES	(51)	(1,939)	1.000000	(1,939)	
	D-19 REGULATORY ASSET LEAR END OF LIFE ACCRUALS	(52) (53)	(7,960) 11,752	0.969491 0.969491	(7,717) 11,394	
	E TO SHARE	(54)	101	0.969491	98	
	ERER CONSUMMATION PAYMENT	(55)	85,833	0.958936	82,309	
	L WORKING CAPITAL ADJUSTMENTS	. ,	87,788	0.958497	84,145	
31 TOTA	L COMPANY ADJUSTMENTS		(45,146)	1.043185	(47,096)	
32 33 NOTE	E: TOTALS MAY NOT ADD DUE TO ROUNDING					
34						
35						

FLORIDA PUBLIC SI	ERVICE COMMISSION	EXPLANATION:		osed adjustments to the 13-mo			Type of Data Shown:
	A POWER & LIGHT COMPANY BSSIDIARIES (CONSOLIDATED)		the most recent historica	he test year, the prior year and al year. List the adjustments in t proposed in the current case g them.	ı		_ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 20210	0015-EI						Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	

- 5 (3) ENVIRONMENTAL COST RECOVERY: TO REMOVE FROM PLANT IN SERVICE THE INVESTMENT RELATED TO ENVIRONMENTAL COMPLIANCE CAPITAL EXPENDITURES WHICH ARE BEING RECOVERED THROUGH THE ENVIRONMENTAL COST RECOVERY CLAUSE.
- (4) FUEL AND CAPACITY COST RECOVERY CLAUSE: TO REMOVE FROM PLANT IN SERVICE THE CAPITAL INVESTMENT ASSOCIATED WITH ITEMS THAT ARE BEING RECOVERED 8 THROUGH THE FUEL AND CAPACITY COST RECOVERY CLAUSE. 9

24

- 11 (5) CONSERVATION COST RECOVERY: TO REMOVE FROM PLANT IN SERVICE THE INVESTMENT IN LOAD MANAGEMENT AND MONITORING EQUIPMENT WHICH IS BEING RECOVERED THROUGH THE ENERGY CONSERVATION COST RECOVERY CLAUSE.
- 13 (6) CAPITALIZED EXECUTIVE COMPENSATION: TO REMOVE FROM PLANT IN SERVICE THE AMOUNT RELATED TO CAPITALIZED EXECUTIVE INCENTIVE COMPENSATION CONSISTENT 14 15 WITH ORDER NO. PSC-10-0153-FOF-EI, DOCKET NO. 080677-EI.
- (7) STORM PROTECTION PLAN COST RECOVERY: TO REMOVE FROM PLANT IN SERVICE THE CAPITAL INVESTMENT ASSOCIATED WITH ITEMS THAT ARE BEING RECOVERED THROUGH 17 THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.
- 19 (8) NORTH ESCAMBIA PROPERTY: TO REMOVE FROM PLANT HELD FOR FUTURE USE THE COSTS RELATED TO A PORTION OF THE NORTH ESCAMBIA PROPERTY PER ORDER NO. PSC-12-0179-F0F-EL. 20
- 21 22 (9) CAPITAL LEASES: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE ASSOCIATED WITH CAPITAL LEASES. THE CORRESPONDING ASSET IS 23 ALSO REMOVED FROM RATE BASE.
- (10) ACCUM PROV DECOMMISSIONING COSTS: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE FOR FUTURE DECOMMISSIONING OF FPL'S NUCLEAR 25 POWER PLANTS SINCE THE OFFSETTING FUND IS EXCLUDED FROM RATE BASE PER ORDER NO. 13537, DOCKET NO. 830465-EI. 26
- 28 (11) ASSET RETIREMENT OBLIGATION DECOMMISSIONING: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE ASSET RETIREMENT OBLIGATION PORTION OF THE RESERVE 29 FOR FUTURE DECOMMISSIONING OF FPL'S NUCLEAR POWER PLANTS PER FPSC RULE 25-14.014 F.A.C.
- 31 (12) ASSET RETIREMENT OBLIGATION: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE ASSET RETIREMENT OBLIGATION ASSOCIATED WITH 32 THE RETIREMENT OF ELECTRIC GENERATION PLANTS PER FPSC RULE 25-14.014 F.A.C.
- (13) ENVIRONMENTAL COST RECOVERY: TO REMOVE FROM ACCUMULATED DEPRECIATION AND AMORTIZATION THE RESERVE FOR ENVIRONMENTAL COMPLIANCE CAPITAL EXPENDITURES WHICH 34 35 ARE BEING RECOVERED THROUGH THE ENVIRONMENTAL COST RECOVERY CLAUSE.

SUBSEC	UENT YEAR ADJUSTMENT					
FLOR	IDA PUBLIC SERVICE COMMISSION EXPLANATION		ed adjustments to the 13-mo			Type of Data Shown: Projected Test Year Ended: //
COM	PANY: FLORIDA POWER & LIGHT COMPANY	•	year. List the adjustments in			Prior Year Ended: //
	AND SUBSIDIARIES (CONSOLIDATED)		oroposed in the current case			Historical Test Year Ended: //
	(the reasons for excluding	•			X Proj. Subsequent Yr Ended: 12/31/23
DOC	ET NO.: 20210015-EI					Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE	REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
1	(14) FUEL AND CAPACITY COST RECOVERY: TO REMOVE FROM ACCUMU		AMORTIZATION THE RESI	ERVE ASSOCIATED WIT	H CAPITAL INVESTMENTS	
2	THAT ARE BEING RECOVERED THROUGH THE FUEL AND CAPACITY COS	I RECOVERY CLAUSES.				
4	(15) CONSERVATION COST RECOVERY: TO REMOVE FROM ACCUMULATION	ED DEPRECIATION AND AMO	RTIZATION THE RESERVE	FOR LOAD MANAGEME	NT AND MONITORING FO	LIPMENT WHICH IS
5	BEING RECOVERED THROUGH THE ENERGY CONSERVATION COST REC					o
6						
7	(16) STORM PROTECTION PLAN COST RECOVERY: TO REMOVE FROM AC	CUMULATED DEPRECIATION	N AND AMORTIZATION TH	E RESERVE ASSOCIATE	D WITH CAPITAL INVESTM	IENTS THAT ARE BEING RECOVERED
8 9	THROUGH THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.					
10	(17) CWIP - PROJECTS EARNING AFUDC: TO REMOVE FROM CONSTRUC	TION WORK IN PROGRESS A	LL AMOUNTS FLIGIBLE FO	OR AFUDC UNDER FPSC	RULE 25-6 0141 F.A.C.	
11	(17) OVIII THOUSE TO EARWAYE AND OSO TO REMOVE THOM CONSTRUCT	HON WORK IIV I ROOKESO?	LE / WIOOITTO LEIOIBLE I	SICAL ODG GIADEICH GC	TROLL 20 0.01411 .74.0.	
12	(18) CWIP - CLAUSE PROJECTS: TO REMOVE FROM CONSTRUCTION WO	RK IN PROGRESS INVESTME	ENTS RECOVERED AND EA	ARNING A RETURN THR	OUGH THE CAPACITY, EN	VIRONMENTAL,
13	CONSERVATION AND STORM PROTECTION PLAN COST RECOVERY CLAR	JSES.				
14	(40) MARQIN GALL GAGU GOLLATERAL TO EVOLUE FROM WORKING OA	DITAL ALL MADOIN CALL OA	OLLOOULATEDAL OINOET	LIEGE EUNDO EADN AN	NTEDEOT DETUDNI OUTO	DE OF DATE DAGE
15 16	(19) MARGIN CALL CASH COLLATERAL: TO EXCLUDE FROM WORKING CA	APITAL ALL MARGIN CALL CA	SH COLLATERAL SINCE T	HESE FUNDS EARN AN	NIERESI RETURN OUTSI	DE OF RATE BASE.
17	(20) ASSET RETIREMENT OBLIGATION: TO REMOVE FROM WORKING CAP	PITAL THE REGULATORY ASS	SET ASSOCIATED WITH TH	HE ASSET RETIREMENT	OBLIGATIONS OF ELECTR	RIC GENERATION PLANTS
18	PER FPSC RULE 25-14.014 F.A.C.					
19						
20	(21) ACCOUNTS RECEIVABLE - ASSOC COMPANIES: TO EXCLUDE FROM	WORKING CAPITAL ALL ACC	OUNTS RECEIVABLE RELA	ATED TO FPL'S AFFILIAT	ES.	
21	(00) INTEREST & DIVIDENDO RESERVADI E. TO EVOLUDE FROM MORIZINO	CARITAL INTEREST AND DI	(IDENIDO DECENVARI EC			
22 23	(22) INTEREST & DIVIDENDS RECEIVABLE: TO EXCLUDE FROM WORKING	CAPITAL INTEREST AND DIV	IDENDS RECEIVABLES.			
24	(23) JOBBING ACCOUNTS: TO EXCLUDE FROM WORKING CAPITAL ALL CI	JRRENT AND ACCRUED ASS	ETS RELATED TO FPL JOE	BBING CONSTRUCTION	ACCOUNTS PER ORDER N	IO. 13537. DOCKET NO. 830465-EL
25	(15) 0000011101100001110111010111111010111111	3		22		100.10001, 200.121.110.000.100 2
26	(24) CLAUSE NET UNDERRECOVERIES: TO EXCLUDE FROM WORKING CA	APITAL NET OVER/UNDER RE	COVERIES COSTS RELAT	ED TO FPL'S COST REC	OVERY CLAUSES PER OR	DER NO. 13537, DOCKET NO. 830465-EI.
27	(OF) POLE ATTACHMENTO DENTO DECEMANDE. TO EVOLUDE EDGAMMO	IVINO CADITAL THE ACCOUNT	ITO DEOEN/ADI EO BAY ANY	OF DEL ATED TO THE !!	E OE EDI. DOI EO DV OTUS	-00
28 29	(25) POLE ATTACHMENTS RENTS RECEIVABLE: TO EXCLUDE FROM WOR PER ORDER NO. 13537, DOCKET NO. 830465-EI.	KING CAPITAL THE ACCOUN	IIS KECEIVABLES BALAN	SE KELATED TO THE US	E OF FAT AOFES RA OTHE	-K2

31 (26) PREPAYMENTS - INTEREST ON COMMERCIAL PAPER: TO EXCLUDE FROM WORKING CAPITAL PREPAID INTEREST ON COMMERCIAL PAPER WHICH WAS DISALLOWED IN ORDER NO. 13537, DOCKET NO. 830465-EI. 32

3 (27) PREPAYMENTS - SWA: TO REMOVE FROM WORKING CAPITAL THE PREPAYMENT ASSOCIATED WITH THE SOLID WASTE AUTHORITY PURCHASE POWER CONTRACT RECOVERED

34 PER ORDER NO. PSC-11-0293-FOF-EU, DOCKET NO. 110018-EU. 35

FLORIDA PUBLIC S	SERVICE COMMISSION	EXPLANATION:		osed adjustments to the 13-mo			Type of Data Shown: Projected Test Year Ended: //
	DA POWER & LIGHT COMPANY UBSIDIARIES (CONSOLIDATED)		the most recent historica	al year. List the adjustments in t proposed in the current case			_ Prior Year Ended: _/ _ Prior Year Ended: _/ _ Historical Test Year Ended: _/_ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 2021	10015-EI						Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	

FUEL AND PURCHASED POWER COST RECOVERY CLAUSE.

(29) ACCUM DEFERRED RETIREMENT BENEFITS: TO EXCLUDE FROM WORKING CAPITAL A PORTION OF THE ACCRUED AMOUNT ASSOCIATED WITH DEFERRED EXECUTIVE COMPENSATION AND ASSOCIATED INTEREST SINCE THE OFFSETTING FUND IS EXCLUDED FROM RATE BASE.

6 (30) ACCUM, PROV. - PROPERTY & STORM INSURANCE: TO EXCLUDE FROM WORKING CAPITAL THE BALANCE IN THE PROPERTY INSURANCE - STORM DAMAGE RESERVE. THIS REPRESENTS A FUNDED

8 RESERVE PER ORDER NO. 11437, DOCKET NO. 820097-EU.

10 (31) ASSET RETIREMENT OBLIGATION: TO REMOVE FROM WORKING CAPITAL LIABILITIES ASSOCIATED WITH THE ASSET RETIREMENT OBLIGATIONS OF ELECTRIC GENERATION PLANTS PER FPSC RULE 25-14.014 F.A.C. 11

12 (32) CEDAR BAY TRANSACTION: TO REMOVE FROM WORKING CAPITAL THE LIABILITY RELATED TO THE CEDAR BAY TRANSACTION RECOVERED THROUGH THE CAPACITY COST RECOVERY CLAUSE

13 PER ORDER NO. PSC-15-0401-AS-EI, DOCKET NO. 150075-EI.

(33) GAIN ON SALE OF EMISSIONS ALLOWANCES: TO EXCLUDE FROM WORKING CAPITAL AMOUNTS RELATED TO GAINS ON SALE OF EMISSIONS ALLOWANCES WHICH ARE RECOVERED 15 THROUGH THE ENVIRONMENTAL COST RECOVERY CLAUSE. 17

(34) JOBBING ACCOUNTS: TO EXCLUDE FROM WORKING CAPITAL ALL CURRENT AND ACCRUED LIABILITIES RELATED TO FPL JOBBING CONSTRUCTION ACCOUNTS 18 19 PER ORDER NO. 13537, DOCKET NO. 830465-EI.

20

35

21 (35) REGULATORY LIABILITY - SWA: TO REMOVE FROM WORKING CAPITAL THE LIABILITY ASSOCIATED WITH THE SOLID WASTE AUTHORITY PURCHASE POWER CONTRACT PER ORDER NO. PSC-11-0293-F0F-EU, DOCKET NO. 110018-EU. 23

24 (36) NUCLEAR COST RECOVERY: TO REMOVE FROM WORKING CAPITAL THE REGULATORY LIABILITY ASSOCIATED WITH THE NUCLEAR POWER COSTS RECOVERED UNDER THE NUCLEAR COST RECOVERY 25 RULE 25-6.0423 F.A.C.

27 (37) ENVIRONMENTAL COST RECOVERY: TO EXCLUDE FROM WORKING CAPITAL THE FOLLOWING ITEMS RECOVERED THROUGH ECRC: (1) EMISSIONS ALLOWANCES, (2) REGULATORY LIABILITY 28 ASSOCIATED WITH THE TURKEY POINT COOLING CANAL MONITORING PROGRAM, (3) REGULATORY ASSETS ASSOCIATED WITH THE CLAUSE PORTION OF UNRECOVERED BALANCES FOR THE EARLY RETIREMENT OF MARTIN UNITS 1 & 2 AND LAUDERDALE UNITS 4 & 5 (ORDER NO. PSC-2019-0045-PAA-EI, DOCKET NO. 20180155-EI), AND SJRPP (ORDER NO. PSC-2017-0415-AS-EI, DOCKET NO. 20170123-EI), (4) REGULATORY ASSETS RELATED TO THE RETIREMENT OF PLANT SMITH, AND (5) THE REGULATORY ASSETS RELATED TO PLANTS SMITH AND

31 SCHOLZ ASH POND CLOSURE AND CRIST CLOSED ASH LANDFILL PROJECTS.

32 (38) ICL TRANSACTION: TO REMOVE FROM WORKING CAPITAL THE ASSETS RELATED TO THE INDIANTOWN TRANSACTION RECOVERED THROUGH THE CAPACITY COST RECOVERY CLAUSE PER ORDER NO. PSC-16-0506-FOF-EI, DOCKET NO. 160154-EI. 34

Supporting Schedules: Recap Schedules: B-1 (without RSAM)

COMPANY: FLORID	SERVICE COMMISSION DA POWER & LIGHT COMPANY JBSIDIARIES (CONSOLIDATED)	EXPLANATION:	average Rate Base for the most recent historica	used adjustments to the 13-mo ne test year, the prior year and I year. List the adjustments in proposed in the current case to them.	i		Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 2021	0015-EI						Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)		(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE		REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	

- 1 (39) DEFERRED TRANSMISSION CREDIT: TO EXCLUDE FROM WORKING CAPITAL THE DEFERRED RETURN ON TRANSMISSION PROJECTS BEING RECOVERED OVER A 40 YEAR AMORTIZATION PERIOD PERIOD PER ORDER PSC-17-0178-S-EI, DOCKET NO. 160186-EI.
- 4 (40) SUPPLEMENTAL EXECUTIVE RETIREMENT PLAN: TO EXCLUDE FROM WORKING CAPITAL THE ASSET ASSOCIATED WITH THE SUPPLEMENTAL EXECUTIVE RETIREMENT PLAN INHERITED FROM 5 GULF AT ACQUISITION.
- 7 (41) EMPLOYEE AND RETIREE LOANS: TO EXCLUDE FROM WORKING CAPITAL ACCOUNTS RECEIVABLES RELATED TO EMPLOYEE AND RETIREE LOANS AS THERE IS NO DIRECT RELATIONSHIP BETWEEN THIS 8 LIABILITY AND THE PROVISION OF ELECTRIC SERVICE.
- 10 (42) CEDAR BAY TRANSACTION: TO REMOVE FROM WORKING CAPITAL THE ASSET RELATED TO THE CEDAR BAY TRANSACTION RECOVERED THROUGH THE
- 11 CAPACITY COST RECOVERY CLAUSE PER ORDER NO. PSC-15-0401-AS-EI, DOCKET NO. 150075-EI.
 12 (43) OPERATING LEASES: TO EXCLUDE FROM WORKING CAPITAL THE ASSET ASSOCIATED WITH OPERATING LEASES. THE CORRESPONDING OBLIGATION IS REMOVED FROM CAPITAL STRUCTURE.
- 14 (44) CTORM PROTECTION DI AN COCT DECOVERY, TO MOVE DI ANTI IN CERVICE TRANSMICCION INCREDICTION PROCESSION PROTECTION DI ANCIONALI AND A 2022 FROM PACE.
- 15 (44) STORM PROTECTION PLAN COST RECOVERY: TO MOVE PLANT-IN-SERVICE TRANSMISSION INSPECTION PROGRAM COSTS INCURRED BEGINNING JANUARY 1, 2022 FROM BASE 16 RATES TO THE STORM PROTECTION PLAN COST RECOVERY CLAUSE. 17

18

32

- 19
 20 (46) CAPITAL RECOVERY AMORTIZATION: TO INCREASE ACCUMULATED DEPRECIATION AND AMORTIZATION TO REFLECT INCREASED BASE AMORTIZATION EXPENSE RESULTING FROM CAPITAL RECOVERY SCHEDULES
 21 FOR MARTIN UNITS 1 & 2, LAUDERDALE UNITS 4 & 5, MANATEE UNITS 1 & 2, 500 KV SYSTEM, SCHERER UNIT 4, AND PLANT CRIST COAL GENERATION ASSETS. THE COMPANY IS REQUESTING CAPITAL RECOVERY
- 21 FOR MARTIN UNITS 1 & 2, LAUDERDALE UNITS 4 & 5, MANATEE UNITS 1 & 2, 500 KV SYSTEM, SCHERER UNIT 4, AND PLANT CRIST COAL GENERATION ASSETS. THE COMPANY IS REQUESTING CAPITAL RECOV 22 SCHEDULES FOR THESE ASSETS OVER A PERIOD OF TEN YEARS BEGINNING IN 2022.

(45) DEPRECIATION STUDY: TO INCREASE ACCUMULATED DEPRECIATION AND AMORTIZATION TO REFLECT INCREASED BASE DEPRECIATION EXPENSE RESULTING FROM FPL'S 2021 DEPRECIATION STUDY.

- 24 (47) DISMANTLEMENT: TO REFLECT AN INCREASE TO THE DISMANTLEMENT RESERVE TO REFLECT INCREASED DISMANTLEMENT ACCRUALS RESULTING FROM FPL'S 2021 DISMANTLEMENT STUDY (INCLUDING DISMANTLEMENT RESERVE TRANSFERS BETWEEN UNITS IN ORDER TO MINIMIZE THE INCREASE IN THE PROPOSED DISMANTLEMENT ACCRUALS).
- (48) STORM PROTECTION PLAN COST RECOVERY: TO MOVE ACCUMULATED DEPRECIATION AND AMORTIZATION RELATED TO TRANSMISSION INSPECTION PROGRAM COSTS INCURRED BEGINNING
 JANUARY 1, 2022 FROM BASE RATES TO THE STORM PROTECTION PLAN COST RECOVERY CLAUSE.
- (49) SCHERER ASH POND DISMANTLEMENT: TO MOVE THE SCHERER COAL ASH POND DISMANTLEMENT RESERVE FROM BASE RATES TO THE ENVIRONMENTAL COST RECOVERY CLAUSE BEGINNING JANUARY 1, 2022 IN ORDER TO ALIGN RATE RECOVERY OF THE RELATED ASSETS.
- 33 (50) STORM PROTECTION PLAN COST RECOVERY: TO MOVE CONSTRUCTION WORK IN PROGRESS RELATED TO TRANSMISSION INSPECTION PROGRAM COSTS INCURRED BEGINNING JANUARY 1, 2022 34 FROM BASE RATES TO THE STORM PROTECTION PLAN COST RECOVERY CLAUSE. 35

Supporting Schedules: Recap Schedules: B-1 (without RSAM)

	DA PUBLIC SERVICE COMMISSION EXPLANATION: ANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	average Rate Base for the most recent historica	osed adjustments to the 13-mone test year, the prior year and all year. List the adjustments in the proposed in the current case of them.	I		Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
OCK	ET NO.: 20210015-EI					Witness: Tara B. DuBose, Keith Ferguson, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	
Line No.	ADJUSTMENT TITLE	REASON FOR ADJUSTMENT OR OMISSION (PROVIDE SUPPORTING SCHEDULE)	ADJUSTMENT AMOUNT (\$000)	JURISDICTIONAL FACTOR	JURISDICTIONAL AMOUNT OF ADJUSTMENT (3) X (4) (\$000)	
2	(51) RATE CASE EXPENSES: TO DECREASE DEFERRED RATE CASE EXPEN OVER A FOUR YEAR PERIOD.	ISES FOR THIS PROCEED	ING TO REFLECT THE PRO	POSED AMORTIZATION	, WHICH IS REQUESTED	
	(52) COVID-19 REGULATORY ASSET: TO DECREASE THE COVID-19 REGUL.	ATORY ASSET TO REFLEC	CT THE PROPOSED AMORT	ZATION, WHICH IS REQ	UESTED OVER A FOUR YE	AR PERIOD.
	(53) NUCLEAR END OF LIFE ACCRUALS: TO REFLECT DECREASES IN FOR				RE AND EOL MATERIALS &	SUPPLIES
8 9	INVENTORY CONSISTENT WITH THE AMOUNTS REFLECTED IN FPL'S 2020 (54) CARE TO SHARE: TO REMOVE FROM RATE BASE THE LIABILITY RELA' DIRECT RELATIONSHIP BETWEEN THIS LIABILITY AND THE PROVISION OF	FED TO FPL'S CARE TO SH			YEAR AS THERE IS NO	
12 13 14	(55) SCHERER CONSUMMATION PAYMENT: TO INCLUDE IN THE CALCULAT WHICH IS REQUESTED TO BE AMORTIZED OVER A TEN YEAR PERIOD COM					
15 16 17 18						
19 20 21						
22 23 24						
26 27						
25 26 27 28 29 30 31						

Line		1000,007,004	050514050		5500111011		APRIL					0505511050			050511050	13 MONTH	ORP
No.	ACCOUNT NO.	ACCOUNT NAME	DECEMBER	JANUARY	FEBRUARY	MARCH	APRIL	MAY	JUNE	JULY	AUGUST	SEPTEMBER	OCTOBER	NOVEMBER	DECEMBER	AVERAGE	NEU
1		LITTLE COLLAND															
2		UTILITY PLANT															
4	101 & 106	ELECTRIC PLANT IN SERVICE	76.797.708	77,116,466	77,465,701	77,840,780	78,225,928	78.641.736	79,160,564	79,630,138	80,012,947	80,407,847	80,766,898	81,102,034	82,463,817	79,202,505	RB
	102	ELECTRIC PLANT PURCHASED OR SOLD	0	0	0	0	0	0	0	0	0	0	0	0	0	0	RB
6	105	ELECTRIC PLANT HELD FOR FUTURE USE	519,768	545,471	560,473	580,693	605,913	621,132	639,611	659,830	680,048	700,267	720,486	737,960	755,128	640,522	RB
7	107	CONSTRUCTION WORK IN PROGRESS-ELECTRIC	2,700,242	2,745,177	2,908,374	3,075,367	3,194,948	3,331,724	3,380,348	3,431,474	3,527,113	3,525,414	3,663,327	3,722,903	2,822,559	3,232,998	RB
8	108 & 111	ACCUM PROV DEPR-ELEC UTILITY PLANT	(19,557,837)	(19,700,415)	(19,875,484)	(20,004,773)	(20,176,362)	(20,336,289)	(20,479,470)	(20,622,562)	(20,815,324)	(20,948,443)	(21,133,981)	(21,315,209)	(21,493,089)	(20,496,864)	RB
9	114	ELECTRIC PLANT ACQUISITION ADJUSTMENTS	110,640	110,640	110,640	110,640	110,640	110,640	110,640	110,640	110,640	110,640	110,640	110,640	110,640	110,640	RB
10	115	ACCUM PROV AMORT ELEC PLANT ACQ ADJUSTMN	13,530	13,223	12,916	12,608	12,301	11,994	11,686	11,379	11,072	10,764	10,457	10,150	9,842	11,686	RB
11		NUC FUEL IN PROCESS	514,180	514,722	522,553	502,580	504,347	477,216	482,338	482,639	506,594	507,198	470,293	487,876	502,862	498,108	RB
	120.3	NUC FUEL MAT & ASSEMBLIES-IN REACTOR	618,255	618,255	618,255	604,821	604,821	600,608	600,608	600,608	600,608	600,608	583,785	583,785	583,785	601,446	RB
	120.4	SPENT NUCLEAR FUEL	53,474	53,474	53,474	104,876	51,403	105,116	105,116	105,116	105,116	53,713	112,000	58,287	58,287	78,419	RB
	120.5	ACCUM PROV AMORT NUCLEAR FUEL ASSEMBLIES	(453,508)	(466,580)	(477,279)	(487,859)	(444,636)	(456,908)	(469,367)	(482,241)	(495,115)	(456,171)	(466,608)	(425,088)	(437,688)	(463,004)	RB
15		UTILITY PLANT	61,316,453	61,550,433	61,899,624	62,339,733	62,689,303	63,106,968	63,542,075	63,927,021	64,243,700	64,511,838	64,837,297	65,073,337	65,376,143	63,416,456	
16 17		OTHER PROPERTY AND INVESTMENTS															
18		OTHER PROPERTY AND INVESTMENTS															
19	101	NONUTILITY PROPERTY	114,132	113,667	113,248	112,783	112,329	111,860	111,416	110,959	110,504	110,067	109,619	109,192	108,782	111,428	NEU
20		ACCUM PROV FOR DEPREC-NONUTILITY PROPTY	(7,004)	(7,088)	(7,173)	(7,260)	(7,347)	(7,435)	(7,524)	(7,614)	(7,705)	(7,796)	(7,888)	(7,981)	(8,075)	(7,530)	NEU
21		INVESTMENT IN ASSOCIATED COMPANIES	693,598	699,092	704,585	710,079	715,573	721,066	726,560	732,054	737,548	743,041	748,535	754,029	759,523	726,560	NEU
22		OTHER INVESTMENTS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	ORP
23	128	OTHER SPECIAL FUNDS	5,399,317	5,416,227	5,433,163	5,450,400	5,467,481	5,484,621	5,501,819	5,519,009	5,536,325	5,553,700	5,571,130	5,588,496	5,606,038	5,502,133	ORP
24		OTHER PROPERTY AND INVESTMENTS	6,200,042	6,221,898	6,243,824	6,266,002	6,288,037	6,310,112	6,332,271	6,354,408	6,376,672	6,399,012	6,421,396	6,443,735	6,466,266	6,332,590	
25																	
26		CURRENT AND ACCRUED ASSETS															
27																	
28		CASH	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	RB
	134	OTHER SPECIAL DEPOSITS	2,117	2,117	2,117	2,169	2,169	2,169	2,169	2,169	2,169	2,293	2,159	2,159	2,159	2,164	RB
30		WORKING FUNDS	104	130	133	120	110	115	114	111	109	111	126	126	106	117	RB
31		TEMPORARY CASH INVESTMENTS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	RB
32		CUSTOMER ACCOUNTS RECEIVABLE	926,655	874,864	866,029	794,387	775,233	805,054	877,288	992,207	1,087,793	1,138,508	1,138,476	1,056,881	953,672	945,157	RB RB
33		OTHER ACCOUNTS RECEIVABLE	132,047	138,065	138,360	136,302	140,517	143,859	147,257	145,625	147,470	150,390	135,465	139,101	139,646	141,085	
34	143.9, 144.6, 146.7	ACCOUNTS RECEIVABLE - GAS RESERVES	42,039	42,086	41,939	41,974	41,770	41,771	41,749	41,787	41,784	40,855	40,889	40,892	41,006	41,580	NEU
35	144	ACCUM PROV UNCOLLECTIBLE ACCOUNTS	(10,405)	(9,520)	(8,985)	(8,739)	(8,734)	(8,804)	(9,248)	(10,062)	(11,072)	(12,093)	(12,513)	(12,132)	(11,334)	(10,280)	RB
36	145	NOTES RECEIVABLE FROM ASSOC COMPANIES	160,000	160,000	160,000	160,000	160,000	160,000	160,000	160,000	160,000	160,000	160,000	160,000	160,000	160,000	RB
37		ACCOUNT RECEIVABLE FROM ASSOC COMPANIES	27,068	27,068	27,068	27,068	27,068	27,068	27,068	27,068	27,068	31,077	31,077	31,077	31,077	28,301	RB
38		FUEL STOCK	155,831	155,827	156,009	156,031	156,081	156,062	156,065	155,634	155,153	153,941	153,593	153,605	153,594	155,187	RB
39		PLANT MATERIALS AND OPERATING SUPPLIES	577,617	576,844	579,039	582,717	587,655	594,214	601,261	604,798	604,475	601,965	596,465	590,243	586,244	591,041	RB
40		ALLOWANCE INVENTORY	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	RB
41		STORES EXPENSE UNDISTRIBUTED	625	3,416	(203)	(1,957)	(3,399)	(1,490)	818	1,396	3,535	2,937	3,036	2,454	637	908	RB
42		PREPAYMENTS	78,824	104,724	106,071	116,992	120,927	111,842	132,262	126,299	116,647	104,735	84,800	121,624	75,628	107,798	RB
43 44		INTEREST & DIVIDENDS RECEIVABLE RENTS RECEIVABLE	42	42	42	42 27.311	42 28.317	42	42	42	42 32.354	42	42	42 35.374	42 24.393	42 29.403	RB RB
44 45		ACCRUED UTILITY REVENUES	24,150 333,895	25,298 321,215	26,304 303,920	27,311 325,660	28,317 339,921	29,323 384,704	30,342 409,972	31,348 413.096	32,354 420,575	33,361 382,553	34,367 365,105	35,374	24,393 338,155	29,403 359.167	RB RB
45	1/3	ACCRUED UTILITY REVENUES	333,895	321,215	303,920	325,660	339,921	364,704	409,972	413,096	420,575	382,553	365,105	330,397	338,155	309,167	KB

Schedule B-3 (with RSAM) 2023 SUBSEQUENT YEAR ADJUSTMENT Type of Data Shown:

Projected Test Year Ended: _/__
Prior Year Ended: _/__
Historical Test Year Ended: _/__
X Proj. Subsequent Yr Ended: 12/31/23 EXPLANATION: Derive the 13-month average system balance sheet by primary account by month for the test year, the prior year and the most recent historical year. For accounts including non-electric utility amounts, show these amounts as a separate subaccount. FLORIDA PUBLIC SERVICE COMMISSION COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

DOCKET NO.: 20210015-EI (\$000) Witness: Scott R. Bores

(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17)
(*)	Ψ,	ν-,	.,	1-7	ν-/	.,	(-)	(-)	17	V/	(/	(/	(/	(/	(/	REFERENCE RB WC CS ORP
Line No. ACCOUNT NO.	ACCOUNT NAME	DECEMBER	JANUARY	FEBRUARY	MARCH	APRIL	MAY	JUNE	JULY	AUGUST	SEPTEMBER	OCTOBER	NOVEMBER	DECEMBER	13 MONTH AVERAGE	NEU
174 2 175 & 176	MISCELLANEOUS CURRENT AND ACCRUED ASSETS DERIVATIVE ASSETS - NOT HEDGED	36,286	41,301	41,329	36,297	41,572	41,530	24,690	29,677	37,555	40,248	42,206	44,288	37,012	37,999	RB RB
3	CURRENT AND ACCRUED ASSETS	2,551,416	2,527,999	2,503,694	2,460,895	2,473,770	2,551,981	2,666,371	2,785,718	2,890,177	2,895,444	2,839,816	2,760,653	2,596,558	2,654,192	
4 5	DEFERRED DEBITS															
7 181	UNAMORTIZED DEBT EXPENSE	139,565	138,567	137,570	143,563	142,547	141,531	140,576	152,735	151,877	151,018	150,160	149,301	157,180	145,861	cs
8 182	EXTRAORDINARY PROPERTY LOSSES	212,110	211,357	210,603	209,850	209,096	208,343	207,589	206,836	206,082	205,329	204,575	203,822	203,068	207,589	RE
9 182.3 & 182.4	OTHER REGULATORY ASSETS	4,373,699	4,361,724	4,355,262	4,384,573	4,407,095	4,380,902	4,347,134	4,307,676	4,267,134	4,217,180	4,207,424	4,179,787	4,149,789	4,303,029	
10 183	PRELIM SURVEY & INVESTIGATION CHARGES	38,357	38,512	38,652	38,814	38,956	39,120	39,277	39,427	39,591	39,741	39,897	40,054	30,152	38,504	
11 184	CLEARING ACCOUNTS	16	16	16	16	16	16	16	16	16	16	16	16	16	16	
12 185	TEMPORARY FACILITIES	0	0	0	0	0	0	0	0	0	0	0	0	0	0	
13 186 14 187	MISCELLANEOUS DEFERRED DEBITS	2,086,575	2,047,970	2,050,954	2,021,459	2,024,499	2,021,290	2,030,174	2,035,028	2,043,948	2,047,009	2,045,895	2,054,776	2,045,868	2,042,726	
14 187 15 188	DEFERRED LOSSES DISPOSITION UTIL PLANT RESEARCH, DEV & DEMONSTRAT EXPENDITURES	13	13	13	13	13	13	13 0	13	13	13	13	13	13	13	
16 189	UNAMORT LOSS ON REACQUIRED DEBT	75,920	75,395	74,891	74,386	73,883	73,380	72,879	72,377	71,876	71,375	70,874	70,374	69,873	72,883	
17 190.7	ACCUM DEF INC TAX DB - GAS RESERVES	2,078	2,054	2,035	2,016	2,005	1,995	1,984	1,973	1,961	1,951	1,940	1,927	1,911	1,987	NEL
18 190	ACCUMULATED DEFERRED INCOME TAXES	2 344 236	2 353 374	2 354 352	2 330 342	2 335 523	2 347 567	2 354 756	2 360 696	2 368 300	2 263 617	2 264 594	2 274 702	2 357 283	2 331 488	
19	DEFERRED DEBITS	9,272,569	9.228.982	9,224,349	9,205,032	9,233,633	9,214,156	9,194,398	9,176,777	9,150,799	8,997,249	8.985.387	8,974,772	9,015,152	9.144.097	
20		-, ,	-, -,	., ,.	.,,	., ,	., ,	., . ,	., .,	., ,	-,,			.,,	., ,	
21 22	TOTAL ASSETS AND OTHER DEBITS	79,340,481	79,529,313	79,871,490	80,271,662	80,684,742	81,183,217	81,735,116	82,243,924	82,661,348	82,803,543	83,083,896	83,252,497	83,454,119	81,547,334	_
23	PROPRIETARY CAPITAL															
24																
25 201	COMMON STOCK ISSUED	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	
26 210	GAIN ON RESALE/CANCEL REACQ CAPIT STOCK	534	534	534	534	534	534	534	534	534	534	534	534	534	534	
27 211	MISCELLANEOUS PAID IN CAPITAL	(15,569,843)	(15,569,843)	(15,569,843)	(15,569,843)	(15,980,515)	(15,980,515)	(15,980,515)	(15,980,515)	(15,980,515)	(15,980,515)	(15,980,515)	(15,980,515)	(15,980,515)	(15,854,155	
28 214	CAPITAL STOCK EXPENSE	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	
29 216 30	UNAPPROPRIATED RETAINED EARNINGS	(14,831,929)	(14,977,827)	(15,095,459)	(15,235,718)	(15,392,329)	(15,615,262)	(15,882,141)	(16,183,322)	(16,049,339)	(16,313,750)	(16,539,844)	(16,689,826)	(16,845,869)	(15,819,432	
31	PROPRIETARY CAPITAL	(32,448,626)	(32,594,523)	(32,712,156)	(32,852,415)	(33,419,697)	(33,642,631)	(33,909,510)	(34,210,691)	(34,076,708)	(34,341,118)	(34,567,213)	(34,717,194)	(34,873,238)	(33,720,440))
32	LONG TERM DEBT															
33	EONG TERWIDEDT															
34 221	BONDS	(18,256,211)	(18,456,211)	(18,441,211)	(19,241,211)	(19,241,211)	(19,241,211)	(18,708,661)	(18,958,661)	(18,958,661)	(18,608,661)	(18,608,661)	(18,608,661)	(19,608,661)	(18,841,376)) CS
35 223	ADV ASSOC CO	0	0	0	0	0	0	0	0	0	0	0	0	0	0	
36 224	OTHER LONG-TERM DEBT	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	
37 225	UNAMOR PREMIUM ON LONG-TERM DEBT	40	40	40	40	40	40	40	40	40	40	40	40	40	40	
38 226	UNAMOR DISCOUNT ON LONG-TERM DEBT-DEBIT	40,434	40,189	39,943	39,697	39,452	39,206	38,977	38,747	38,518	38,288	38,059	37,829	37,599	38,995	_ cs
39	LONG TERM DEBT	(21,136,670)	(21,336,916)	(21,322,162)	(22,122,407)	(22,122,653)	(22,122,899)	(21,590,578)	(21,840,808)	(21,841,037)	(21,491,267)	(21,491,496)	(21,491,726)	(22,491,955)	(21,723,275)
40																
41	OTHER NONCURRENT LIABILITIES															
42																
43 227	OBLIGATIONS UNDER CAPITAL LEASES-NONCURR	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	
44 228.1	ACCUM PROVISION - PROPERTY INSURANCE	(126,349)	(126,535)	(132,546)	(138,563)	(144,584)	(150,610)	(156,640)	(162,675)	(168,714)	(168,929)	(169,161)	(169,391)	(169,618)	(152,639)	
45 228.2	ACCUM PROVISION - INJURIES & DAMAGES	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)) RB

Schedule B-3 (with RSAM)
13 MONTH AVERAGE BALANCE SHEET - SYSTEM BASIS
2023 SUBSEQUENT YEAR ADJUSTMENT

REFERENCE: RB=RATE BASE; WC=WORKING CAPITAL; CS=CAPITAL STRUCTURE; ORP=OTHER RETURN PROVIDED; NEU=NON-ELECTRIC UTILITY

48

FLORIDA PUBLIC SERVICE COMMISSION EXPLANATION: Derive the 13-month average system balance sheet by primary Type of Data Shown: Projected Test Year Ended: / / account by month for the test year, the prior year and the most COMPANY: FLORIDA POWER & LIGHT COMPANY recent historical year. For accounts including non-electric utility Prior Year Ended: / / AND SUBSIDIARIES (CONSOLIDATED) Historical Test Year Ended: _/_/ amounts, show these amounts as a separate subaccount. X Proj. Subsequent Yr Ended: 12/31/23 DOCKET NO.: 20210015-EI (\$000) Witness: Scott R. Bores REFERENCE RB WC CS ORP 13 MONTH Line ACCOUNT NO ACCOUNT NAME DECEMBER FEBRUARY MARCH SEPTEMBER OCTOBER NOVEMBER DECEMBER NEU JANUARY APRII MAY JUNE JULY. AUGUST VERAGE 228.3 ACCUM PROVISION - PENSION & DEFERRED BENEFITS (175,183) (173.019) (170.827) (169 374) (170,180) (170 986) (171,792) (172.532) (172,788) (170 624) (168,460) (166 725) (167 546) (170,772) RR 2 228.4 ACCUM PROVISION - OPERATING RESERVES (201.015) (202.102) (203,189) (204,276) (205.363) (206.450) (207.537) (208.624) (209.711) (210.799) (211.886) (212.973) (214.060) (207.537) RR 3 229 ACCUMULATED PROVISION FOR RATE REFUNDS RB ASSET RETIREMENT OBLIGATION - LIABILITY (2,785,131) 230 (2 727 113) (2.736.694) (2.746.310) (2 755 962) (2 765 649) (2 775 372) (2 794 926) (2 804 758) (2.814.625) (2 824 529) (2 834 470) (2 844 448) (2 785 384) RB ASSET RETIREMENT OBLIGATION - LIABILITY - GAS RESERVES 230.3 (615) (615) (615) (615 (615 NEU (615)(615)OTHER NONCURRENT LIABILITIES (3.406.241) (3.414.931) (3,429,454) (3.444.756) (3.462.358) (3.480.000) (3,497,682) (3.515.339) (3.532.552) (3.541.557) (3.550.617) (3.560.140) (3.492.914) CURRENT AND ACCRUED LIABILITIES 10 231 NOTES DAVABLE (1 148 948) (894 251) (961 046) (380 346) (254 120) (240 510) (845 739) (602 344) (1 078 119) (1,303,688) (1,283,822) (1 247 452) (940 576) (860 074) CS 11 232 ACCOUNTS PAYABLE (691 723) (679 569) (724 108) (759 378) (698 141) (747 850) (814 283) (807 083) (782,921) (769 721) (707 853) (1 411 129) (686 369) (790 779) RB ACCOUNTS PAYABLE - GAS RESERVES 12 232.8 & 234.7 (554) (573) (577) (512) (552) (523) (537) (518) (531) (530) (509) (526)(510) (535) NEU NOTES PAYABLE TO ASSOCIATED COMPANIES 13 233 0 Λ 0 0 RB ACCOUNTS PAYABLE TO ASSOCIATED COMPANIES RB 14 234 (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) (38.362) 15 235 CUSTOMER DEPOSITS (526,399) (528,970) (531,541) (534,113) (536,684) (539,255) (541,826) (544.397) (546,968) (549,539) (552,110) (554,681) (557,252) (541,826) CS TAXES ACCRUED (712,349) (267,030) 236 (76,882) (150,549) (212,245) (249,307) (321,585 (441,120 (570,579) (855,752) (850,536) (948,045 (99,023) (442,692) RB 17 236.9 TAXES ACCRUED - GAS RESERVES NEU (993) (1,078) (1,163) (1,212) (1,258) (1,304)(1,355) (1,405) (563)(614 (742) (1,019) 18 237 INTEREST ACCRUED (155,974) (215,066) (197,665) (208,432) (172,784) (229,790) (162,368) (225,564) (214,867) (211,437) (182,577) (243,811) (201,135) (201,652) RB 19 241 TAX COLLECTIONS PAYABLE (104 571) (90.789) (80 952) (81.434) (91 326) (92 921 (109 199) (119 195) (125.765) (128 528) (123 722) (113.510) (106 663) (105 275) RR MISC CURRENT AND ACCRUED LIABILITIES 20 242 (735 233) (694.921) (753 836) (677.044) (629 150) (664 259) (712.528)(685 962) (627 226) (637.050) (691 996) (648 677) (740.235)(684 471) RR 21 242.9 MISC CURRENT AND ACCRUED LIABILITIES - GAS RESERVES (302) (303) (295) (270) (284) (267) (281) (280) (263) (277) (262) (279) (278) NEU (249) 22 243 OBLIGATIONS UNDER CAPITAL LEASES-CURRENT (71,334)(71,334)(71,334) (71,334) (71,334)(71,334) (71,334)(71,334)(71,334) (71,334)(71,334) (71,334)(71,334) (71,334)CS 23 DERIVATIVE LIABILITY - NOT HEDGED RB 244 CURRENT AND ACCRUED LIABILITIES (3,551,170) (3,365,680) (3,572,992) (3,001,721) (2,815,520) (3,067,466) (3,868,326) (3,808,744) (4,343,531) (4,561,552) (4,597,442) (3,442,481) (3,738,296) (4,601,221) 25 26 DEFERRED CREDITS 27 CUSTOMER ADVANCES FOR CONSTRUCTION RB 28 252 (1.329) (1.302) (1,301) (1.300) (1.181) (1,117)(1.042) (1 024) (1 141) (1.182) (1 442) (1.399) (1.356) (1 240) 29 253 OTHER DEFERRED CREDITS (254 504) (253 750) (253 631) (252 317) (252 199) (253 711) (250 752) (250 634) (252 146) (249 189) (249 070) (250.583) (247 656) (251 549) RB OTHER REGULATORY LIABILITIES 30 254 (7 664 842) (7 657 885) (7 646 473) (7 632 859) (7 619 008) (7 605 582) (7.595.043) (7.586.312) (7 577 179) (7 573 994) (7 563 634) (7 554 310) (7 514 488) (7 599 355) RB CS 31 255 ACCUM DEFERRED INVESTMENT TAX CREDIT (1,511,851) (1,507,575) (1,503,292) (1,499,006) (1,494,718) (1,490,440) (1,486,167) (1,481,898) (1,477,630) (1,472,888) (1,468,146) (1,463,404) (1,669,067) (1,502,006) CS DEFERRED GAINS DISPOSITION UTILITY PLANT 32 256 (31.357) (30,839) (30.322) (29,804) (29,296) (28,792) (28,289) (27,788) (27,288) (26.795) (26,302) (25,808) (25.316) (28.307) RB UNAMORT GAIN ON REACQUIRED DEBT 33 257 (402) (382) (372) (351) (341) (331) (321) (300) CS (414) (392) (361) (310) (351) 34 281, 282, 283 ACCUM DEF INCOME TAX-ACCEL AMORT PROP (9,316,206) (9,348,339) (9,382,231) (9,417,707) (9,450,846) (9,473,419) (9,490,666) (9,503,732) (9,515,282) (9,527,247) (9,548,101) (9,573,933) (9,599,851) (9,472,889) CS 35 282.2 ACCUM DEF INC TAX CR - GAS RESERVES (17,270 (17,170 (17,084 (16,987) (16,894 (16,798 (16,708 (16,614 (16,522 (16,434 (16,343 (16,258 (16,169 (16,712) NEU DEEEDDED CREDITS (18,797,773) (18,817,262) (18,834,727) (18,850,363) (18,864,514) (18,870,222) (18,869,019) (18,868,342) (18,867,520) (18,868,049) (18,873,349) (18,885,995) (19,074,193) (18,872,410) 37 TOTAL LIABILITIES AND OTHER CREDITS (79.340.481) (79.529.313) (79.871.490) (80.271.662) (80.684.742) (81.183.217) (81.735,116) (82.243.924) (82.661.348) (82.803.543) (83.083.896) (83.252.497) (83.454.119) (81.547.334) 38 39 NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING 40 NOTE: THE BALANCE SHEET PRESENTED ON THIS MFR IS ON A TOTAL SYSTEM BASIS AND DOES NOT CONTAIN ANY COMMISSION OR COMPANY ADJUSTMENTS. HOWEVER, IN ORDER TO MAINTAIN A BALANCED CAPITAL STRUCTURE REFLECTING 42 43 FPL'S PROPOSED EQUITY RATIO ON A JURISDICTIONAL ADJUSTED BASIS, THE FORECASTED AMOUNTS FOR CERTAIN LINE ITEMS ARE SLIGHLTY DIFFERENT BETWEEN THE "WITH" AND "WITHOUT" RSAM VERSIONS OF THIS MFR 44 45 NOTE: FOR THE PURPOSE OF THIS MER. A PRO FORMA CONSOLIDATION WAS PREPARED FOR THE MONTH OF DECEMBER 2021 BY COMBINING PRE-CONSOLIDATION FPI. AND PRE-CONSOLIDATION GUI F BALANCES FOR THAT MONTH IN ORDER TO CALCULATE 13-MONTH AVERAGES FOR 2022 THIS PROCESS IS RELATIVELY REPRESENTATIVE BECAUSE HYPOTHETICALLY CONSOLIDATING THE COMPANIES ONE MONTH EARLY WOULD CHANGE LITTLE ABOUT THE RATE BASE AND CAPITAL STRUCTURE COMPONENTS. 46 47

Page 3 of 3

Supporting Schedules: B-4, B-7, B-21

			account by mor recent historical	onth for the test year. For accour these amounts as	nts including non-	nd the most electric utility						_ Prior Year Er _ Historical Tes	st Year Ended: _	
				((\$000)							Witness: Scott	R. Bores	
(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17) REFERENC RB WC CS ORP
DECEMBER	JANUARY	FEBRUARY	MARCH	APRIL	MAY	JUNE	JULY	AUGUST	SEPTEMBER	OCTOBER	NOVEMBER	DECEMBER	13 MONTH AVERAGE	NEU
76,797,708 0	77,116,466 0	77,465,701 0	77,840,780 0	78,225,928 0	78,641,736 0	79,160,564 0	79,630,138 0	80,012,947 0	80,407,847 0	80,766,898 0	81,102,034 0	82,463,817 0	79,202,505 0	
519,768	545,471	560,473	580,693	605,913	621,132	639,611	659,830	680,048	700,267	720,486	737,960	755,128	640,522	RB
2,700,242	2,745,177	2,908,374	3,075,367	3,194,948	3,331,724	3,380,348	3,431,474	3,527,113	3,525,414	3,663,327	3,722,903	2,822,559	3,232,998	RB
(19,557,837) 110.640	(19,700,415) 110.640	(19,875,484) 110.640	(20,004,773) 110.640	(20,176,362) 110.640	(20,336,289) 110,640	(20,479,470) 110.640	(20,622,562) 110.640	(20,815,324) 110.640	(20,948,443) 110.640	(21,133,981) 110.640	(21,315,209) 110.640	(21,493,089) 110.640	(20,496,864) 110,640	RB RB
13,530	13,223	12,916	12,608	12,301	11,994	11,686	11,379	11,072	10,764	10,457	10,150	9,842	11,686	RB
514.180	514,722	522,553	502,580	504,347	477,216	482,338	482,639	506,594	507,198	470,293	487,876	502,862	498,108	RB
618,255	618,255	618,255	604,821	604,821	600,608	600,608	600,608	600,608	600,608	583,785	583,785	583,785	601,446	RB
53,474	53,474	53,474	104,876	51,403	105,116	105,116	105,116	105,116	53,713	112,000	58,287	58,287	78,419	RB
(453,508)	(466,580)	(477,279)	(487,859)	(444,636)	(456,908)	(469,367)	(482,241)	(495,115)	(456,171)	(466,608)	(425,088)	(437,688)	(463,004)	RB
61,316,453	61,550,433	61,899,624	62,339,733	62,689,303	63,106,968	63,542,075	63,927,021	64,243,700	64,511,838	64,837,297	65,073,337	65,376,143	63,416,456	
114,132	113,667	113,248	112,783	112,329	111,860	111,416	110,959	110,504	110,067	109,619	109,192	108,782	111,428	NEU
(7,004)	(7,088)	(7,173)	(7,260)	(7,347)	(7,435)	(7,524)	(7,614)	(7,705)	(7,796)	(7,888)	(7,981)	(8,075)	(7,530)	
693,598	699,092	704,585	710,079	715,573	721,066	726,560	732,054	737,548	743,041	748,535	754,029	759,523	726,560	NEU
0	0	_	0	0	0	0	0	0	0	0	0	0	0	
5,399,317 6,200,042	5,416,227	5,433,163	5,450,400 6,266,002	5,467,481 6.288.037	5,484,621 6.310.112	5,501,819	5,519,009 6.354.408	5,536,325 6,376,672	5,553,700 6,399,012	5,571,130 6.421.396	5,588,496 6.443.735	5,606,038	5,502,133	ORP
6,200,042	6,221,898	6,243,824	6,266,002	6,288,037	6,310,112	6,332,271	6,354,408	0,370,072	6,399,012	6,421,396	6,443,735	6,466,266	6,332,590	
58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	58,222	RB
2,117	2,117	2,117	2,169	2,169	2,169	2,169	2,169	2,169	2,293	2,159	2,159	2,159	2,164	RB
104	130	133	120	110	115	114	111	109	111	126	126	106	117	RB
926.655	0 874.864	0 866.029	0 794.387	775.233	0 805.054	0 877.288	992.207	1.087.793	0 1.138.508	0 1.138.476	1.056.881	953.672	945.157	RB RB
132,047	138,065	138,360	136,302	140,517	143,859	147,257	145,625	1,067,793	150,390	135,465	139,101	139,646	141,085	RB
42,039	42,086	41,939	41,974	41,770	41,771	41,749	41,787	41,784	40,855	40,889	40,892	41,006	41,580	
(10.405)	(9,520)	(8,985)	(8,739)	(8,734)	(8,804)	(9,248)	(10,062)	(11,072)	(12,093)	(12,513)	(12,132)	(11,334)	(10,280)	NEU RB
(10,405)	(9,520) 160,000	(8,985) 160,000	(8,739) 160,000	(8,734) 160,000	(8,804) 160,000	(9,248) 160,000	(10,062) 160,000	(11,072) 160,000	(12,093) 160,000	(12,513) 160,000	(12,132) 160,000	(11,334) 160,000	(10,280) 160,000	RB RB
27,068	27,068	27,068	27,068	27,068	27,068	27,068	27,068	27,068	31,077	31,077	31,077	31,077	28,301	RB
155,831	155,827	156,009	156,031	156,081	156,062	156,065	155,634	155,153	153,941	153,593	153,605	153,594	155,187	RB
577,617	576,844	579,039	582,717	587,655	594,214	601,261	604,798	604,475	601,965	596,465	590,243	586,244	591,041	RB
6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	6,300	RB
625	3,416	(203)	(1,957)	(3,399)	(1,490)	818	1,396	3,535	2,937	3,036	2,454	637	908	RB
78,824	104,724	106,071	116,992	120,927	111,842	132,262	126,299	116,647	104,735	84,800	121,624	75,628	107,798	RB
42	42	42	42	42	42	42	42	42	42	42	42	42	42	RB
														RB RB
	42 24,150 333,895	24,150 25,298	24,150 25,298 26,304	24,150 25,298 26,304 27,311	24,150 25,298 26,304 27,311 28,317	24,150 25,298 26,304 27,311 28,317 29,323	24,150 25,298 26,304 27,311 28,317 29,323 30,342	24,150 25,298 26,304 27,311 28,317 29,323 30,342 31,348	24,150 25,298 26,304 27,311 28,317 29,323 30,342 31,348 32,354	24,150 25,298 26,304 27,311 28,317 29,323 30,342 31,348 32,354 33,361	24,150 25,298 26,304 27,311 28,317 29,323 30,342 31,348 32,354 33,361 34,367	24,150 25,298 26,304 27,311 28,317 29,323 30,342 31,348 32,354 33,361 34,367 35,374	24,150 25,298 26,304 27,311 28,317 29,323 30,342 31,348 32,354 33,361 34,367 35,374 24,393	24,150 25,298 26,304 27,311 28,317 29,323 30,342 31,348 32,354 33,361 34,367 35,374 24,393 29,403

COMPANY: FLOR	C SERVICE COMMISSION RIDA POWER & LIGHT COMPANY SUBSIDIARIES (CONSOLIDATED)			EXPLANATION: [account by mor recent historical	th for the test yea year. For accour	em balance sheet ar, the prior year a nts including non- s a separate suba	nd the most electric utility						_ Prior Year Er _ Historical Tes	st Year Ended: _	
DOCKET NO.: 20	1210015-EI					((\$000)							Witness: Scott	R. Bores	
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17) REFERENCE RB WC
Line ACCOUN	T ACCOUNT NAME	DECEMBER	JANUARY	FEBRUARY	MARCH	APRIL	MAY	JUNE	JULY	AUGUST	SEPTEMBER	OCTOBER	NOVEMBER	DECEMBER	13 MONTH	CS ORP NEU
No. NO. 1 174	MISCELLANEOUS CURRENT AND ACCRUED ASSETS	36,286	41,301	41,329	36,297	41,572	41,530	24,690	29,677	37,555	40,248	42,206	44,288	37,012	AVERAGE 37,999	
2 175 & 176		0	0	0	0	0	0	0	0	0	0	0	0	0	0	
3	CURRENT AND ACCRUED ASSETS	2,551,416	2,527,999	2,503,694	2,460,895	2,473,770	2,551,981	2,666,371	2,785,718	2,890,177	2,895,444	2,839,816	2,760,653	2,596,557	2,654,192	
4 5	DEFERRED DEBITS															
7 181	UNAMORTIZED DEBT EXPENSE	139,565	138,567	137,570	143,563	142,547	141,531	140,576	152,735	151,877	151,018	150,160	149,301	157,180	145,861	CS
8 182	EXTRAORDINARY PROPERTY LOSSES	212,110	211,357	210,603	209,850	209,096	208,343	207,589	206,836	206,082	205,329	204,575	203,822	203,068	207,589	RB
	2. OTHER REGULATORY ASSETS	4,373,699	4,361,724	4,355,261	4,384,570	4,407,092	4,380,900	4,347,132	4,307,675	4,267,134	4,217,179	4,207,424	4,179,787	4,149,789	4,303,028	
10 183	PRELIM SURVEY & INVESTIGATION CHARGES	38,357	38,512	38,652	38,814	38,956	39,120	39,277	39,427	39,591	39,741	39,897	40,054	30,152	38,504	
11 184 12 185	CLEARING ACCOUNTS TEMPORARY FACILITIES	16 0	16 0	16 0	16 0	16 0	16 0	16 0	16 0	16 0	16 0	16 0	16 0	16 0	16 0	
13 186	MISCELLANEOUS DEFERRED DEBITS	2,086,575	2,047,970	2,050,954	2,021,459	2,024,499	2,021,290	2,030,174	2,035,028	2,043,948	2,047,009	2,045,895	2,054,776	2,045,868	2,042,726	
14 187	DEFERRED LOSSES DISPOSITION UTIL PLANT	13	13	13	13	13	13	13	13	13	13	13	13	13	13	
15 188	RESEARCH, DEV & DEMONSTRAT EXPENDITURES	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0 RB
16 189	UNAMORT LOSS ON REACQUIRED DEBT	75,920	75,395	74,891	74,386	73,883	73,380	72,879	72,377	71,876	71,375	70,874	70,374	69,873	72,883	
17 190.7	ACCUM DEF INC TAX DB - GAS RESERVES	2,078	2,054	2,035	2,016	2,005	1,995	1,984	1,973	1,961	1,951	1,940	1,927	1,911	1,987	
18 190 19	ACCUMULATED DEFERRED INCOME TAXES DEFERRED DEBITS	2,344,240 9,272,574	2,353,378 9,228,986	2,354,356 9,224,352	2,330,347 9,205,034	2,335,527 9,233,635	2,347,571 9,214,158	2,354,760 9,194,400	2,360,701 9,176,780	2,368,305 9,150,803	2,263,634 8,997,265	2,264,611 8,985,403	2,274,719 8,974,788	2,357,305 9,015,174	2,331,496 9,144,104	
20	DEFERRED DEBITS	5,212,314	5,220,500	5,224,332	9,200,034	9,233,033	9,214,130	5,154,400	9,170,760	9,130,003	0,997,200	0,900,400	0,974,700	9,013,174	5, 144, 104	
21 22	TOTAL ASSETS AND OTHER DEBITS	79,340,485	79,529,317	79,871,493	80,271,664	80,684,744	81,183,219	81,735,118	82,243,927	82,661,352	82,803,559	83,083,913	83,252,513	83,454,141	81,547,342	-
23 24	PROPRIETARY CAPITAL															
25 201	COMMON STOCK ISSUED	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)	(2,051,129)) CS
26 210	GAIN ON RESALE/CANCEL REACQ CAPIT STOCK	534	534	534	534	534	534	534	534	534	534	534	534	534	534	CS
27 211	MISCELLANEOUS PAID IN CAPITAL	(15,569,843)	(15,569,843)	(15,569,843)	(15,569,843)	(15,980,626)	(15,980,626)	(15,980,626)	(15,980,626)	(15,980,626)	(15,980,626)	(15,980,626)	(15,980,626)	(15,980,626)	(15,854,231)	
28 214	CAPITAL STOCK EXPENSE	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	3,741	
29 216 30	UNAPPROPRIATED RETAINED EARNINGS PROPRIETARY CAPITAL	(14,831,906)	(14,977,797)	(15,095,423)	(15,235,675)	(15,392,279)	(15,615,205)	(15,882,078)	(16,183,252)	(16,049,138)	(16,313,541)	(16,539,628)	(16,689,602)	(16,845,637)	(15,819,320)	,
31 32	LONG TERM DEBT	(32,448,602)	(32,394,493)	(32,712,119)	(32,852,371)	(33,419,758)	(33,642,685)	(33,909,557)	(34,210,731)	(34,076,617)	(34,341,020)	(34,567,107)	(34,717,081)	(34,873,117)	(33,720,405)	,
33	DONDS	(10 DEC 011)	(10.456.011)	(40 444 044)	(40.044.044)	(40.044.044)	(40.044.044)	(10 700 664)	(10.050.604)	(10.050.604)	(10 000 004)	(40 000 004)	(10 000 001)	(40,600,604)	(40.044.070)	·) CC
34 221 35 223	BONDS ADV ASSOC CO	(18,256,211)	(18,456,211)	(18,441,211)	(19,241,211)	(19,241,211)	(19,241,211)	(18,708,661)	(18,958,661)	(18,958,661)	(18,608,661)	(18,608,661)	(18,608,661)	(19,608,661)	(18,841,376)	,
36 224	OTHER LONG-TERM DEBT	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	(2,920,934)	
37 225	UNAMOR PREMIUM ON LONG-TERM DEBT	40	40	40	40	40	40	40	40	40	40	40	40	40	40	
38 226	UNAMOR DISCOUNT ON LONG-TERM DEBT-DEBIT	40,434	40,189	39,943	39,697	39,452	39,206	38,977	38,747	38,518	38,288	38,059	37,829	37,599	38,995	CS.
39 40	LONG TERM DEBT	(21,136,670)	(21,336,916)	(21,322,162)	(22,122,407)	(22,122,653)	(22,122,899)	(21,590,578)	(21,840,808)	(21,841,037)	(21,491,267)	(21,491,496)	(21,491,726)	(22,491,955)	(21,723,275))
41 42	OTHER NONCURRENT LIABILITIES															
43 227	OBLIGATIONS UNDER CAPITAL LEASES-NONCURR	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)	(152,367)) CS
44 228.1	ACCUM PROVISION - PROPERTY INSURANCE	(126,349)	(126,535)	(132,546)	(138,563)	(144,584)	(150,610)	(156,640)	(162,675)	(168,714)	(168,929)	(169,161)	(169,391)	(169,618)	(152,639)	,
45 228.2	ACCUM PROVISION - INJURIES & DAMAGES	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)	(23,600)) RB

COMPANY: FLOR	C SERVICE COMMISSION RIDA POWER & LIGHT COMPANY			EXPLANATION: [account by mon recent historical	th for the test yea year. For accoun	r, the prior year a ts including non-e	nd the most electric utility						_ Prior Year E	st Year Ended: nded: _/_/_	
AND	SUBSIDIARIES (CONSOLIDATED)				amounts, show	these amounts as	a separate suba	ccount.							st Year Ended: quent Yr Ended:	
DOCKET NO.: 20	1210015-EI					(\$000)							Witness: Scott	R. Bores	
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)	(17) REFERENCE RB WC CS ORP
Line ACCOUNT	T ACCOUNT NAME	DECEMBER	JANUARY	FEBRUARY	MARCH	APRIL	MAY	JUNE	JULY	AUGUST	SEPTEMBER	OCTOBER	NOVEMBER	DECEMBER	13 MONTH AVERAGE	NEU
1 228.3 2 228.4	ACCUM PROVISION - PENSION & DEFERRED BENEFITS ACCUM PROVISION - OPERATING RESERVES	(175,183) (201,015)	(173,019) (202,102)	(170,827) (203,189)	(169,374) (204,276)	(170,180) (205,363)	(170,986) (206,450)	(171,792) (207,537)	(172,532) (208,624)	(172,788) (209,711)	(170,624) (210,799)	(168,460) (211,886)	(166,725) (212,973)	(167,546) (214,060)	(170,772 (207,537	RB
3 229 4 230	ACCUMULATED PROVISION FOR RATE REFUNDS ASSET RETIREMENT OBLIGATION - LIABILITY	(2,727,113)	(2,736,694)	(2,746,310)	(2,755,962)	(2,765,649)	(2,775,372)	0 (2,785,131)	(2,794,926)	(2,804,758)	(2,814,625)	(2,824,529)	(2,834,470)	(2,844,448)	(2,785,384	
5 230.3	ASSET RETIREMENT OBLIGATION - LIABILITY - GAS RESERVES	(615)	(615)	(615)	(615)	(615)	(615)	(615)	(615)	(615)	(615)	(615)	(615)	(615)	(615	
6	OTHER NONCURRENT LIABILITIES	(3,406,241)	(3,414,931)	(3,429,454)	(3,444,756)	(3,462,358)	(3,480,000)	(3,497,682)	(3,515,339)	(3,532,552)	(3,541,557)	(3,550,617)	(3,560,140)	(3,572,253)	(3,492,914	,
7 8 9	CURRENT AND ACCRUED LIABILITIES															
10 231	NOTES PAYABLE	(1,148,976)	(894,288)	(961,090)	(380,399)	(254,069)	(240,469)	(845,709)	(602,326)	(1,078,236)	(1,303,810)	(1,283,953)	(1,247,593)	(940,723)	(860,126	
11 232	ACCOUNTS PAYABLE 4. ACCOUNTS PAYABLE - GAS RESERVES	(691,723) (554)	(679,569) (573)	(724,109) (577)	(759,378) (512)	(698,142) (552)	(747,850) (523)	(814,282) (537)	(807,082) (518)	(782,920) (531)	(769,721) (530)	(707,853) (509)	(1,411,129) (526)	(686,369) (510)	(790,779 (535	
13 233	NOTES PAYABLE TO ASSOCIATED COMPANIES	(334)	(3/3)	(377)	(312)	(332)	(323)	0	(318)	(551)	(530)	(309)	(320)	(310)	(333	RB
14 234	ACCOUNTS PAYABLE TO ASSOCIATED COMPANIES	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362)	(38,362	
15 235	CUSTOMER DEPOSITS	(526,399)	(528,970)	(531,541)	(534,113)	(536,684)	(539,255)	(541,826)	(544,397)	(546,968)	(549,539)	(552,110)	(554,681)	(557,252)	(541,826	
16 236 17 236.9	TAXES ACCRUED TAXES ACCRUED - GAS RESERVES	(76,882) (888)	(150,546) (993)	(212,240) (1,078)	(249,300) (1,163)	(321,576) (1,212)	(441,109) (1,258)	(570,566) (1,304)	(712,333) (1,355)	(855,734) (1,405)	(850,531) (563)	(948,038) (614)	(267,020) (668)	(99,018) (742)	(442,684 (1,019	
18 237	INTEREST ACCRUED	(155,974)	(215,066)	(197,665)	(208,432)	(172,784)	(229,790)	(162,368)	(225,564)	(214,867)	(211,437)	(182,577)	(243,811)	(201,135)	(201,652	
19 241	TAX COLLECTIONS PAYABLE	(104,571)	(90,789)	(80,952)	(81,434)	(91,326)	(92,921)	(109,199)	(119,195)	(125,765)	(128,528)	(123,722)	(113,510)	(106,663)	(105,275	RB
20 242	MISC CURRENT AND ACCRUED LIABILITIES	(735,233)	(694,921)	(753,836)	(677,044)	(629,150)	(664,259)	(712,528)	(685,962)	(627,226)	(637,050)	(691,996)	(648,677)	(740,235)	(684,471	RB
21 242.9	MISC CURRENT AND ACCRUED LIABILITIES - GAS RESERVES	(302)	(303)	(249)	(295)	(270)	(284)	(267)	(281)	(280)	(263)	(277)	(262)	(279)	(278	NEU
22 243	OBLIGATIONS UNDER CAPITAL LEASES-CURRENT	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334)	(71,334	
23 244	DERIVATIVE LIABILITY - NOT HEDGED	0	0	0	0	0	0	0	0	0	0	0	0	0	(0.700.010	
24 25	CURRENT AND ACCRUED LIABILITIES	(3,551,198)	(3,365,715)	(3,573,032)	(3,001,767)	(2,815,461)	(3,067,414)	(3,868,282)	(3,808,709)	(4,343,628)	(4,561,669)	(4,601,346)	(4,597,573)	(3,442,622)	(3,738,340)
26 27	DEFERRED CREDITS															
28 252	CUSTOMER ADVANCES FOR CONSTRUCTION	(1,329)	(1,302)	(1,301)	(1,300)	(1,181)	(1,117)	(1,042)	(1,024)	(1,141)	(1,182)	(1,442)	(1,399)	(1,356)	(1,240	
29 253 30 254	OTHER DEFERRED CREDITS OTHER REGULATORY LIABILITIES	(254,504)	(253,750)	(253,631)	(252,317)	(252,199)	(253,711)	(250,752)	(250,634)	(252,146)	(249,189)	(249,070)	(250,583)	(247,656)	(251,549	
30 254	ACCUM DEFERRED INVESTMENT TAX CREDIT	(7,664,842) (1,511,851)	(7,657,884) (1,507,575)	(7,646,473) (1,503,293)	(7,632,859) (1,499,006)	(7,619,008) (1,494,718)	(7,605,582) (1,490,440)	(7,595,043) (1,486,167)	(7,586,311) (1,481,898)	(7,577,177) (1,477,631)	(7,573,991) (1,472,888)	(7,563,631) (1,468,146)	(7,554,308) (1,463,405)	(7,514,488) (1,669,067)	(7,599,354 (1,502,007	
32 256	DEFERRED GAINS DISPOSITION UTILITY PLANT	(31,357)	(30,839)	(30,322)	(29,804)	(29,296)	(28,792)	(28,289)	(27,788)	(27,288)	(26,795)	(26,302)	(25,808)	(25,316)	(28,307	
33 257	UNAMORT GAIN ON REACQUIRED DEBT	(414)	(402)	(392)	(382)	(372)	(361)	(351)	(341)	(331)	(321)	(310)	(300)	(290)	(351	
34 281, 282, 2 35 282.2	28 ACCUM DEF INCOME TAX-ACCEL AMORT PROP ACCUM DEF INC TAX CR - GAS RESERVES	(9,316,206) (17,270)	(9,348,339)	(9,382,231)	(9,417,707) (16,987)	(9,450,846) (16,894)	(9,473,419)	(9,490,666)	(9,503,731)	(9,515,282)	(9,527,247)	(9,548,101)	(9,573,933) (16,258)	(9,599,851)	(9,472,889	
36	DEFERRED CREDITS	(18,797,773)	(18,817,262)	(18,834,727)	(18,850,363)	(18,864,514)	(18,870,221)	(18,869,018)	(18,868,341)	(18,867,518)	(18,868,046)	(18,873,346)	(18,885,993)	(19,074,193)	(18,872,409	
37 38	TOTAL LIABILITIES AND OTHER CREDITS	(79,340,485)	(79,529,317)	(79,871,493)	(80,271,664)	(80,684,744)	(81,183,219)	(81,735,118)	(82,243,927)	(82,661,352)	(82,803,559)	(83,083,913)	(83,252,513)	(83,454,141)	(81,547,342	<u>-</u>
39 40	NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING															
41	NOTE. TOTALS WAT NOT ADD DUE TO ROUNDING															
42 43	NOTE: THE BALANCE SHEET PRESENTED ON THIS MFR IS FPL'S PROPOSED EQUITY RATIO ON A JURISDICTIONAL A												URE REFLECTI	NG		
44 45 46	NOTE: FOR THE PURPOSE OF THIS MFR, A PRO FORMA OF THIS PROCESS IS RELATIVELY REPRESENTATIVE BECAU												ONTH IN ORDER	R TO CALCULATE	E 13-MONTH A	ERAGES FOR
47																

	NT YEAR ADJUSTMENT				
	A PUBLIC SERVICE COMMISSION NY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	EXPLANATION:	primary account for the mo	e system balance sheets by ost recent two historical calendar years test year if provided elsewhere.	Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKE	T NO.: 20210015-EI				Witness: Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	Account No.	Account Name	Year	Year	
1 2 N 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30	OTE: For Historical Years Ended 12/31/2019 and 12	/31/2020, please refer to MFR B-4 Historical co	ntained in the 2022 Test Year MFR	Schedules.	

Supporting Schedules: Recap Schedules: B-3

COMPA	ANY: FLORID	DA POWER & LIGHT COMPANY UBSIDIARIES (CONSOLIDATED)	Provide the data listed below regarding all changes in rate base primary accounts that exceed 1/20th of one percent (.0005) of total rate base and ten percent from the prior year to the test year. Quantify each reason for the change.				Type of Data Shown: X Projected Test Year Ended: 12/31/22 Prior Year Ended: _/_/ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
OCKE	ET NO.: 2021	0015-EI					Witness: Scott R. Bores
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	Account Number	Account Name and Reason for Change	Subsequent Year Ended 12/31/2023 (\$000)	Prior Year Ended 12/31/2022 (\$000)	Amount Inc/(Dec) (3)-(4) (\$000)	Percent Inc/(Dec) (5)/(4) (%)	
1	105	ELECTRIC PLANT HELD FOR FUTURE USE (1)	640,522	395,124	245,397	62.11%	
2	107	CONSTRUCTION WORK IN PROGRESS-ELECTRIC (2)	3,232,998	4,296,802	(1,063,805)	(24.76%)	
6 7							
8 I 9 10 11 11 11 11 11 11 11 11 11 11 11 11	⁽²⁾ Decrease ir	plant held for future use is primarily due to securing land for n construction work in progress is primarily driven by Dania I rida Resiliency Connection being placed into service in 202:	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,
8 I 9 (10 11 11 12 13 14 15 16 17 18 19 20	¹⁾ Increase in ²⁾ Decrease ir	n construction work in progress is primarily driven by Dania	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,
8 I 9 (1) 11 a 12 13 14 15 16 17 18 19 20 21 22	¹⁾ Increase in ²⁾ Decrease ir	n construction work in progress is primarily driven by Dania	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,
8 I 9 0 10 1 11 a 12 13 14 15 16 17 18 19 20 21	¹⁾ Increase in ²⁾ Decrease ir	n construction work in progress is primarily driven by Dania	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,
8 10 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25	¹⁾ Increase in ²⁾ Decrease ir	n construction work in progress is primarily driven by Dania	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,
8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26	¹⁾ Increase in ²⁾ Decrease ir	n construction work in progress is primarily driven by Dania	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,
8 10 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25	¹⁾ Increase in ²⁾ Decrease ir	n construction work in progress is primarily driven by Dania	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,
8 10 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 10 10 10 10 10 10 10 1	¹⁾ Increase in ²⁾ Decrease ir	n construction work in progress is primarily driven by Dania	Beach Energy Cente		mid-2022, 500kv Tra	nsmission rebuil	d,

Supporting Schedules: B-6

	PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	•	nt of jurisdictional separati or the test year and the m	Type of Data Shown: _ Projected Test Year Ended: _/ _/ _ Prior Year Ended: _/ _/ _ Historical Test Year Ended: _/ _/	
	AND SOBSIDIANIES (CONSOLIDATED)				X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	ELECTRIC PLANT IN SERVICE INTANGIBLE	` '			
2					
3	PLT IN SERV - INTAN - CAPACITY	1,979	1,896	0.957777	
4	PLT IN SERV - INTAN - ECCR	10,327	10,327	1.000000	
5	PLT IN SERV - INTANGIBLE	2,108,554	2,043,447	0.969122	
6	PLT IN SERV - INTANGIBLE ARO	430,880	417,575 0	0.969122	
7	PLT IN SERV - NCRC AVOIDED AFUDC - INTANG - FERC RECLASS	26,141	ů,	0.000000	
8 9	ELECTRIC PLANT IN SERVICE INTANGIBLE	2,577,882	2,473,245	0.959410	J
10	ELECTRIC PLANT IN SERVICE PRODUCTION - STEAM				
11	ELECTRIC PLANT IN SERVICE PRODUCTION - STEAM				
12	PLT IN SERV - STEAM	1,169,746	1,121,614	0.958853	3
13	PLT IN SERV - STEAM - CAPACITY	(1,256)	(1,203)	0.957777	
14	PLT IN SERV - STEAM - ECRC	1,060,336	1,010,822	0.953303	
15	PLT IN SERV - STEAM MARTIN PIPELINE	371	355	0.956971	
16	ELECTRIC PLANT IN SERVICE PRODUCTION - STEAM	2,229,197	2,131,588	0.956213	
17		, ,	, ,		
18	ELECTRIC PLANT IN SERVICE PRODUCTION - NUCLEAR				
19					
20	PLT IN SERV - NCRC AVOIDED AFUDC - NUCLEAR - FERC RECLASS	143,456	0	0.000000)
21	PLT IN SERV - NUCLEAR - CAPACITY	154,586	148,059	0.957777	7
22	PLT IN SERV - NUCLEAR - ECRC	119,688	114,099	0.953303	3
23	PLT IN SERV - NUCLEAR ST LUCIE 1	1,781,624	1,708,463	0.958936	3
24	PLT IN SERV - NUCLEAR ST LUCIE 2	2,056,797	1,972,336	0.958936	3
25	PLT IN SERV - NUCLEAR ST LUCIE COM	566,613	543,346	0.958936	
26	PLT IN SERV - NUCLEAR TURKEY PT	4,201,082	4,028,569	0.958936	
27	ELECTRIC PLANT IN SERVICE PRODUCTION - NUCLEAR	9,023,845	8,514,872	0.943597	7
28					
29	ELECTRIC PLANT IN SERVICE PRODUCTION - OTHER				
30	DIT IN SERV. OTH DROP. CARACITY		A A.C.		-
31	PLT IN SERV - OTH PROD - CAPACITY	8,588	8,226	0.957777	
32	PLT IN SERV - OTH PROD - ECRC	841,311	802,025	0.953303	
33	PLT IN SERV - OTHER PRODUCTION	21,311,127	20,355,343	0.955151	_
34	ELECTRIC PLANT IN SERVICE PRODUCTION - OTHER	22,161,026	21,165,593	0.955082	<u>'</u>
35					

	·	t of jurisdictional separati	Type of Data Shown:		
			r the test year and the m	ost	_ Projected Test Year Ended: _/_/
COMPANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.			_ Prior Year Ended: _/ /_	
AND SUBSIDIARIES (CONSOLIDATED)					_ Historical Test Year Ended: _/_/_
					X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 20210015-EI		•	(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
(1)		(2)	(3)	(4)	
Line DESCRIPTION No.		TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1 ELECTRIC PLANT IN SERVICE TRANSMISSION		(17			
2					
3 PLT IN SERV - AVOIDED AFUDC - TRANS - FERC RECLA	SS	762	0	0.000000	
4 PLT IN SERV - TRANSMISSION		10,608,691	9,574,734	0.902537	•
5 PLT IN SERV - TRANSMISSION - ECRC		18,004	17,164	0.953303	
6 PLT IN SERV - TRANSMISSION - GSU		662,115	632,508	0.955285	
7 PLT IN SERV - TRANSMISSION - OTHER RETAIL		70,816	70,816	1.000000	
8 PLT IN SERV - TRANSMISSION - OTHER WHOLESALE		2,065	0	0.000000	
9 PLT IN SERV - TRANSMISSION - SPPC		210,209	210,209	1.000000	
10 ELECTRIC PLANT IN SERVICE TRANSMISSION		11,572,662	10,505,431	0.907780	
11 12 ELECTRIC PLANT IN SERVICE DISTRIBUTION					
13					
14 PLT IN SERV - DISTRIBUTION - ECRC		10,773	10,270	0.953303	
15 PLT IN SERV - DISTRIBUTION - SPPC		2,138,380	2,138,380	1.000000	
16 PLT IN SERV - DISTRIBUTION ACCT 360		115,529	115,529	1.000000	
17 PLT IN SERV - DISTRIBUTION ACCT 361		391,543	391,543	1.000000	
18 PLT IN SERV - DISTRIBUTION ACCT 362		3,464,251	3,464,251	1.000000	
19 PLT IN SERV - DISTRIBUTION ACCT 362 - ECCR		30,154	30,154	1.000000	1
20 PLT IN SERV - DISTRIBUTION ACCT 363		4,106	4,106	1.000000	
21 PLT IN SERV - DISTRIBUTION ACCT 364		3,749,956	3,749,956	1.000000	
22 PLT IN SERV - DISTRIBUTION ACCT 365		4,414,285	4,414,285	1.000000	
23 PLT IN SERV - DISTRIBUTION ACCT 366		2,184,197	2,184,197	1.000000	
24 PLT IN SERV - DISTRIBUTION ACCT 367		4,566,163	4,566,163	1.000000	
25 PLT IN SERV - DISTRIBUTION ACCT 368		3,636,372	3,636,372	1.000000	
26 PLT IN SERV - DISTRIBUTION ACCT 369		1,612,628	1,612,628	1.000000	
27 PLT IN SERV - DISTRIBUTION ACCT 370		993,772	990,144	0.996349	
28 PLT IN SERV - DISTRIBUTION ACCT 371		115,034	115,034	1.000000	
29 PLT IN SERV - DISTRIBUTION ACCT 371 - ECCR		5,347	5,347	1.000000	
30 PLT IN SERV - DISTRIBUTION ACCT 373		838,634	838,634	1.000000	
31 ELECTRIC PLANT IN SERVICE DISTRIBUTION		28,271,125	28,266,994	0.999854	
32					
33 ELECTRIC PLANT IN SERVICE GENERAL					
34					
35 PLT IN SERV - GENERAL PLANT OTHER (EXCL ECCR)		1,204,358	1,167,170	0.969122	

FLORIDA PUBLIC SERVICE COMMISSION EXPLANATION:			· ·	t of jurisdictional separat	Type of Data Shown:	
				r the test year and the m	ost	_ Projected Test Year Ended: _/_/
COMPANY: FLORIDA POWER & LIGHT COMPANY			recent historical year.			_ Prior Year Ended: _/_/_
	AND SUBSIDIARIES (CONSOLIDATED)					_ Historical Test Year Ended: _/_/_
						X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)		(2)	(3)	(4)	
Line No.	DESCRIPTION		TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	PLT IN SERV - GENERAL PLANT OTHER - CAPACITY		0	0	0.957777	,
2	PLT IN SERV - GENERAL PLANT OTHER - ECCR		129	129	1.000000	
3	PLT IN SERV - GENERAL PLANT OTHER - ECRC		9,403	8,964	0.953303	i e
4	PLT IN SERV - GENERAL PLANT STRUCTURES		1,205,426	1,168,206	0.969122	!
5	PLT IN SERV - GENERAL PLANT TRANSPORTATION EQUI	P	626,126	606,793	0.969122	!
6	PROPERTY UNDER CAPITAL LEASES		321,325	311,403	0.969122	!
7	ELECTRIC PLANT IN SERVICE GENERAL		3,366,767	3,262,664	0.969079	-
8						
9	ACQUISITION ADJUSTMENT PLANT					
10						
11	ACQUISITION ADJUSTMENT VERO		110,640	110,640	1.000000	
12	ACQUISITION ADJUSTMENT PLANT		110,640	110,640	1.000000	-
13						
14	PLANT IN SERVICE		79,313,145	76,431,027	0.963662	
15						
16						
17	ELECTRIC PLANT HELD FOR FUTURE USE					
18						
19	PLT FUTURE USE - DISTRIBUTION		22,846	22,846	1.000000	
	PLT FUTURE USE - GENERAL		12,101	11,727	0.969122	
21	PLT FUTURE USE - OTHER PRODUCTION		572,982	547,697	0.955870	
22	PLT FUTURE USE - TRANSMISSION		32,592	29,535	0.906225	i
23	ELECTRIC PLANT HELD FOR FUTURE USE		640,522	611,806	0.955168	
24			,	,		
25	ELECTRIC PLANT HELD FOR FUTURE USE		640,522	611,806	0.955168	
26			,	- /		
27						
28	CONSTRUCTION WORK IN PROGRESS					
29						
30	CWIP - CAPACITY CLAUSE		5,824	5,578	0.957777	•
31	CWIP - CONSERVATION CLAUSE		2,212	2,212	1.000000	
32	CWIP - DISTRIBUTION		343,516	343,516	1.000000	
33	CWIP - ENVIRONMENTAL CLAUSE		143,124	136,440	0.953303	
34	CWIP - GENERAL		137,404	133,161	0.969122	
35			,101	.55,101	3.530122	

FLOF	RIDA PUBLIC SERVICE COMMISSION EXPLANATION:	Provide a developmen	nt of jurisdictional separati	Type of Data Shown:		
		factors for rate base for	or the test year and the m	_ Projected Test Year Ended: _/_/_		
COM	PANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.			_ Prior Year Ended: _/_/_	
	AND SUBSIDIARIES (CONSOLIDATED)				_ Historical Test Year Ended: _/_/_	
					X Proj. Subsequent Yr Ended: 12/31/23	
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes	
	(1)	(2)	(3)	(4)		
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR		
1	CWIP - INTANGIBLE PLANT	137,667	133,416	0.969122	2	
2	CWIP - NUCLEAR	649,521	622,849	0.958936	6	
3	CWIP - OTHER PRODUCTION	561,090	537,491	0.957942	2	
4	CWIP - STEAM (EXCL COAL)	18,877	18,083	0.957916	3	
5	CWIP - STORM PROTECTION CLAUSE	249,001	249,001	1.000000)	
6	CWIP - TRANSMISSION	984,763	892,417	0.906225		
7 8	CONSTRUCTION WORK IN PROGRESS	3,232,998	3,074,164	0.950871	ī	
9	CONSTRUCTION WORK IN PROGRESS	3,232,998	3,074,164	0.950871	- I	
10		0,202,000	3,01 1,101	0.00001		
11 12	ACCUM PROVISION DEPRECIATION - INTANGIBLE					
13	ACC AMORT - INTANGIBLE - CAPACITY	(880)	(843)	0.957777	7	
14	ACC AMORT - INTANGIBLE - CAL ACITY ACC AMORT - INTANGIBLE - ECCR	(5,699)	(5,699)	1.000000		
15	ACC PROV DEPR & AMORT - INTANGIBLE	(936,573)	(907,654)	0.969122		
16	ACC PROV DEPR & AMORT - INTANGIBLE ARO	(103,494)	(100,298)	0.969122		
	ACC PROV DEPR & AMORT - SURPLUS FLOWBACK - FERC RECLASS	(1,857,535)	0	0.000000		
18	ACC PROV DEPR - CAPITAL RECOVERY - FERC RECLASS	(711,849)	0	0.000000		
19	ACC PROV DEPR - ITC INTEREST SYNCHRONIZATION	(6,780)	(6,570)	0.969122		
20	ACCUM PROVISION DEPRECIATION - INTANGIBLE	(3,622,810)	(1,021,064)	0.281843		
21 22	ACCUM PROVISION DEPRECIATION - STEAM					
23	ACCUM PROVISION DEFRECIATION - 31 EAIM					
24	ACC PROV DEPR & AMORT - COAL CARS	(0)	(0)	0.956971	1	
25	ACC PROV DEPR & AMORT - STEAM	407,376	387,719	0.951747	7	
26	ACC PROV DEPR & AMORT - STEAM - CAPACITY	437	418	0.957777	7	
27	ACC PROV DEPR & AMORT - STEAM - ECRC	720,016	686,394	0.953303	3	
28	ACC PROV DEPR & AMORT - STEAM 2016 FLOWBACK	71,375	71,375	1.000000)	
29	ACC PROV DEPR & AMORT - STEAM MARTIN PIPELINE	(371)	(355)	0.956971	I	
30	ACC PROV DEPR - FOSSIL DECOM	(217,857)	(208,252)	0.955914		
31	ACC PROV DEPR - SURPLUS DISMANTLEMENT - FERC RECLASS	(146,014)	0	0.000000	<u> </u>	
32 33	ACCUM PROVISION DEPRECIATION - STEAM	834,961	937,298	1.122565	5	
34	ACCUM PROVISION DEPRECIATION - NUCLEAR					
35						

(1) (2) (3) (4) Company Company	Type of Data Shown: _ Projected Test Year Ended: _/_/ Prior Year Ended: _/_/ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23	Provide a development of jurisdictional separation factors for rate base for the test year and the most recent historical year.			EXPLANATION: IPANY DATED)			
Line DESCRIPTION	DuBose, Liz Fuentes	Witness: Scott R. Bores, Tara B. DuB		\$000)	(KET NO.: 20210015-EI	DOCK
No.			(4)	(3)	(2)	(1)	(1)	
2 ACC PROV DEPR & AMORT - NUCLEAR - CAPACITY (23,195) (22,215) 0,957777 4 ACC PROV DEPR & AMORT - NUCLEAR - CAPACITY (23,195) (22,215) 0,957777 4 ACC PROV DEPR & AMORT - NUCLEAR - ECRC (17,408) (16,595) 0,955303 5 ACC PROV DEPR & AMORT - NUCLEAR - ECRC (17,408) (16,595) 0,955303 6 ACC PROV DEPR & AMORT - STUCLE 1 (823,129) (789,328) 0,956936 6 ACC PROV DEPR & AMORT - STUCLE 2 (915,911) (878,300) 0,956936 7 ACC PROV DEPR & AMORT - STUCLE COM (311,695) (298,896) 0,956936 8 ACC PROV DEPR & AMORT - STUCLE COM (311,695) (298,896) 0,956936 9 ACC PROV DEPR & AMORT - TURKEY POINT (1,997,454) (1,915,431) 0,958936 10 ACC DEPROV DEPR & AMORT - TURKEY POINT (1,997,454) (1,915,431) 0,958936 11 ACC DEPROV DEPR & AMORT - DISMANTLEMENT - OTHER POINT (1,997,454) (1,915,431) 0,958936 12 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER POINT (128,999) (123,115) 0,954387 13 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) (46,251) (44,091) 0,953903 14 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0,957777 15 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0,957777 16 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (268,871) 0,95303 19 ACC PROV DEPR & AMORT - OTHER DOT - ECRC (282,042) (268,871) 0,95303 19 ACC PROV DEPR & AMORT - OTHER DOT - ECRC (282,042) (268,871) 0,95303 19 ACC PROV DEPR & AMORT - OTHER CONBACK (188,169) (188,169) (1,98,169) 1,000000 20 ACCUM PROVISION DEPRECIATION - OTHER CALL SECONDO - CROSS (1,98) (SCRIPTION	DESCRIPTION	
ACC PROV DEPR & AMORT - NUCLEAR - CAPACITY (23.195) (22.215) 0.957777 ACC PROV DEPR & AMORT - NUCLEAR - CCRC (17.408) (16.595) 0.953303 ACC PROV DEPR & AMORT - NUCLEAR 2016 FLOWBACK (136.261) (136.261) 1.000000 ACC PROV DEPR & AMORT - ST LUCIE 1 (823.129) (789.328) 0.958936 ACC PROV DEPR & AMORT - ST LUCIE 2 (915.911) (878.300) 0.958936 ACC PROV DEPR & AMORT - ST LUCIE COM (311.695) (298.896) 0.958936 ACC PROV DEPR & AMORT - TURLED COM (311.695) (298.896) 0.958936 ACC PROV DEPR & AMORT - TURLED COM (311.695) (298.896) 0.958936 ACC PROV DEPR & AMORT - TURLED COM (4.907.026) 0.945683 ACC PROV DEPR & AMORT - TURLED COM (4.907.026) 0.945683 ACC PROV DEPR & AMORT - TURLED COM (4.907.026) 0.945683 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) (46.251) (44.091) 0.953303 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1.486) (1.423) 0.957777 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1.486) (1.423) 0.957777 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1.486) (1.423) 0.957777 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1.486) (1.89.169) (1.88.169) 0.953303 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188.169) (188.169) 0.953303 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188.169) (188.169) 0.953303 ACC PROV DEPR & AMORT - TRANSMISSION (1.892.551) (1.700.097) 0.902537 ACC PROV DEPR & AMORT - TRANSMISSION (1.992.551) (1.700.097) 0.902537 ACC PROV DEPR & AMORT - TRANSMISSION (1.992.551) (1.700.097) 0.902537 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.044) 0 0 0.000000 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.044) 0 0 0.000000 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.044) 0 0 0.000000 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.044) 0 0 0.000000 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.064) 0 0 0.000000 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.064) 0 0 0.000000 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.064) 0 0 0.0000000 ACC PROV DEPR & AMORT - TRANSMISSION OTHER WHOLESALE (1.064) 0 0 0.					, , ,			
4 ACC PROV DEPR & AMORT - NUCLEAR 2:016 FLOWBACK (136,281) (136,281) 1.000000 (136,281) 1					• • •			
5 ACC PROV DEPR & AMORT - NUCLEAR 2016 FLOWBACK 6 ACC PROV DEPR & AMORT - ST LUCIE 1 7 ACC PROV DEPR & AMORT - ST LUCIE 2 8 (915,911) (878,300) 0.958936 8 ACC PROV DEPR & AMORT - ST LUCIE COM (311,695) (298,896) 0.958936 9 ACC PROV DEPR & AMORT - TURLOR COM (197,454) (1,915,431) 0.958936 10 ACC PROV DEPR & AMORT - TURKEY POINT (1,997,454) (1,915,431) 0.958936 11 ACC UN PROVISION DEPRECIATION - NUCLEAR (4,290,049) (4,057,026) 0.945683 11 ACC UN PROVISION DEPRECIATION - OTHER 12 ACCUM PROVISION DEPRECIATION - OTHER 13 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTH ROD (ECRC) (46,251) (44,091) 0.953303 16 ACC PROV DEPR & AMORT - OTH PROD (ECRC) (46,251) (44,091) 0.953303 17 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0.957777 18 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0.957777 18 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (288,871) 0.953303 19 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (288,871) 0.953033 19 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (288,871) 0.953303 19 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (288,876) 0.957019 21 ACCUM PROVISION DEPRECIATION - OTHER (3,607,950) (3,452,876) 0.957019 22 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,892,551) (1,706,977) 0.902537 23 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 298,476 (1,00000) (2,960,40) (1,900,40) (2,960,40) (1,900,40) (2,960,				, ,	, ,			
6 ACC PROV DEPR & AMORT - ST LUCIE 1 (823,129) (789,328) 0,958936 7 ACC PROV DEPR & AMORT - ST LUCIE 2 (915,911) (878,300) 0,958936 8 ACC PROV DEPR & AMORT - TURKEY POINT (1,997,454) (1,915,431) 0,958936 9 ACC PROV DEPR & AMORT - TURKEY POINT (1,997,454) (1,915,431) 0,958936 10 ACCUM PROVISION DEPRECIATION - NUCLEAR (4,290,049) (4,057,026) 0,945683 11 ACCUM PROVISION DEPRECIATION - OTHER 12 ACCUM PROVISION DEPRECIATION - OTHER 13 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTH 14 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) (46,251) (44,091) 0,953303 16 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0,957777 18 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0,957777 18 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (208,671) 0,953303 19 ACC PROV DEPR & AMORT - OTH PROD - ECRC (188,169) (1,816) 1,000000 20 ACCUM PROVISION DEPRECIATION - OTHER (1,586) (1,581,69) (1,581,69) 1,000000 21 ACC PROV DEPR & AMORT - THANS - ECRC (5,192) (4,950) 0,957019 22 ACCUM PROVISION DEPRECIATION - TRANSMISSION 23 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK (298,476 298,476 298,476 1,000000 2,000000 2,000000 2,0000000 2,000000 2,000000 2,000000 2,0000000 2,0000000 2,00000000				, ,	, ,			
7 ACC PROV DEPR & AMORT - ST LUCIE 2 (915.911) (878.300) 0.958936 8 ACC PROV DEPR & AMORT - ST LUCIE COM (311.995) (298.996) 0.958936 9 ACC PROV DEPR & AMORT - TURKEY POINT (1.997.454) (1.915.431) 0.958936 9 ACC PROV DEPR & AMORT - TURKEY POINT (1.997.454) (1.915.431) 0.958936 9 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER 13					, ,			
8 ACC PROV DEPR & AMORT - ST LUCIE COM 9 ACC PROV DEPR & AMORT - TURKEY POINT 10 ACCUM PROVISION DEPRECIATION - OTHER 11 ACCUM PROVISION DEPRECIATION - OTHER 12 ACCUM PROVISION DEPRECIATION - OTHER 13 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTH 14 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) 15 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY 16 ACC PROV DEPR & AMORT - OTHER PROD (ECRC) 17 ACC PROV DEPR & AMORT - OTHER PROD - CAPACITY 18 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY 19 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK 20 ACC UM PROVISION DEPRECIATION - OTHER 21 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK 22 ACC UM PROVISION DEPRECIATION - TRANSMISSION 23 ACC PROV DEPR & AMORT - TRANSSISSION 24 ACC PROV DEPR & AMORT - TRANSSISSION 25 ACC PROV DEPR & AMORT - TRANSSISSION 26 ACC PROV DEPR & AMORT - TRANSSISSION 27 ACC PROV DEPR & AMORT - TRANSSISSION 28 ACC PROV DEPR & AMORT - TRANSSISSION 29 ACC PROV DEPR & AMORT - TRANSSISSION 20 ACC PROV DEPR & AMORT - TRANSSISSION 20 ACC PROV DEPR & AMORT - TRANSSISSION 21 ACC PROV DEPR & AMORT - TRANSSISSION 22 ACC PROV DEPR & AMORT - TRANSSISSION 23 ACC PROV DEPR & AMORT - TRANSSISSION 24 ACC PROV DEPR & AMORT - TRANSSISSION 25 ACC PROV DEPR & AMORT - TRANSSISSION 26 ACC PROV DEPR & AMORT - TRANSSISSION 27 ACC PROV DEPR & AMORT - TRANSSISSION 28 ACC PROV DEPR & AMORT - TRANSSISSION 39 ACC PROV DEPR & AMORT - TRANSMISSION 30 ACC PROV DEPR & AMORT - TRANSMISSION - OSSU 30 ACC PROV DEPR & AMORT - TRANSMISSION - OSSU 31 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 40 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 41 ACC PROV DEPR & AMORT - TRANSM				, ,	, ,			
9 ACC PROV DEPR & AMORT - TURKEY POINT (1,997,454) (1,915,431) 0.958936 10 ACCUM PROVISION DEPRECIATION - NUCLEAR (4,290,049) (4,057,026) 0.945683 11 12 ACCUM PROVISION DEPRECIATION - OTHER 13 14 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTH (128,999) (123,115) 0.954387 15 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) (46,251) (44,091) 0.953303 16 ACC PROV DEPR & AMORT - OTH PROD (2,961,003) (2,827,206) 0.954814 17 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0.957777 18 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (268,871) 0.953303 19 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188,169) (188,169) 1.000000 20 ACCUM PROVISION DEPRECIATION - OTHER 2016 FLOWBACK (188,169) (188,169) 1.000000 21 ACCUM PROVISION DEPRECIATION - TRANSMISSION 22 ACCUM PROVISION DEPRECIATION - TRANSMISSION 23 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 24 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 25 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 26 ACC PROV DEPR & AMORT - TRANSS 2016 FLOWBACK (29,8476 298,476 1,000000) 27 ACC PROV DEPR & AMORT - TRANSS 2016 FLOWBACK (29,8476 298,476 1,000000) 28 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) (1,000000) 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) (1,000000) 31 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) (1,000000) 32 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) (1,000000) 31 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) (1,000000) 32 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,60				, ,	, ,			-
10 ACCUM PROVISION DEPRECIATION - NUCLEAR 11				, ,	, ,			
ACCUM PROVISION DEPRECIATION - OTHER ACC PROV DEPR & AMORT - DISMANTLEMENT - OTH ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) ACC PROV DEPR & AMORT - OTH PROD ACC PROV DEPR & AMORT - OTH PROD - CAPACITY ACC PROV DEPR & AMORT - OTH PROD - CAPACITY ACC PROV DEPR & AMORT - OTH PROD - CAPACITY ACC PROV DEPR & AMORT - OTH PROD - ECRC ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS-FERC RECLASS ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS-FERC RECLASS ACC PROV DEPR & AMORT - TRANSSISION ACC PROV DEPR & AMORT - TRANSSISION ACC PROV DEPR & AMORT - TRANSSISION ACC PROV DEPR & AMORT - TRANSSISION ACC PROV DEPR & AMORT - TRANSSISION ACC PROV DEPR & AMORT - TRANSSISION - GSU ACC PROV DEPR & AMORT - TRANSMISSION ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACCUM PROVISION DEPRECIATION - TRANSMISSION ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACCUM PROVISION DEPRECIATION - TRANSMISSION ACC PROV DEPR & AMORT - TRANSMISSION ACC PROV DEPR & AMORT - TRANSMISSION ACC PROV DEPR		•			1 /			-
ACC PROV DEPR & AMORT - DISMANTLEMENT - OTH (128,999) (123,115) 0.954387 4 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) (46,251) (44,091) 0.953303 6 ACC PROV DEPR & AMORT - OTH PROD (ECRC) (46,251) (44,091) 0.953303 6 ACC PROV DEPR & AMORT - OTH PROD (ECRC) (2,961,003) (2,827,206) 0.954814 7 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (268,871) 0.9557777 8 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (268,871) 0.953303 9 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188,169) (188,169) 1.000000 20 ACCUM PROVISION DEPRECIATION - OTHER (3,607,950) (3,452,876) 0.957019 21 ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS (8,102) (4,950) 0.953303 22 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 23 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK (298,476 298,476 1.000000 24 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 25 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 26 ACC PROV DEPR & AMORT - TRANSMISSION - GSU (140,139) (134,033) 0.956423 27 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 28 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.0000000 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.0000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC (6,072) 1.000000000000000000000000000000000000			0.943063	(4,037,020)	(4,290,049)	- NOCLEAR	ACCOM PROVISION DEFRECIATION - NUCLEAR	
13 14 ACC PROV DEPR & AMORT - DISMANTLEMENT -OTH 15 ACC PROV DEPR & AMORT - DISMANTLEMENT -OTHER PROD (ECRC) 16 ACC PROV DEPR & AMORT - OTH PROD 17 ACC PROV DEPR & AMORT - OTH PROD 18 ACC PROV DEPR & AMORT - OTH PROD 19 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY 19 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY 10 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY 10 ACC PROV DEPR & AMORT - OTH PROD - ECRC 10 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK 11 B8,169) 12 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK 13 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK 14 ACC PROV DEPR & AMORT - AVOIDED AFIDE - TRANSHISSION 16 ACC PROV DEPR & AMORT - AVOIDED AFIDE - TRANS - FERC RECLASS 17 ACC PROV DEPR & AMORT - TRANSMISSION 18 ACC PROV DEPR & AMORT - TRANSMISSION 29 ACC PROV DEPR & AMORT - TRANSMISSION 20 ACC PROV DEPR & AMORT - TRANSMISSION 20 ACC PROV DEPR & AMORT - TRANSMISSION - GSU 21 ACC PROV DEPR & AMORT - TRANSMISSION - GSU 22 ACC PROV DEPR & AMORT - TRANSMISSION - GSU 23 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL 24 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 25 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 26 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 27 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 28 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 39 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 33 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 34 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 35 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 36 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 37 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 38 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 38 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 39 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 30 ACCUM PROVISION DEPR						- OTHER	ACCLIM PROVISION DEPRECIATION - OTHER	
ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC)						- OTTEN	ACCOMPTECTION SETTLEM	
15 ACC PROV DEPR & AMORT - DISMANTLEMENT - OTHER PROD (ECRC) (46,251) (44,091) 0.953303 (2.827.206) 0.954814 (2.961,003) (2.827.206) 0.954814 (2.961,003) (2.827.206) 0.954814 (2.961,003) (2.827.206) 0.954814 (2.961,003) (2.827.206) 0.954814 (2.961,003) (2.827.206) 0.954814 (2.961,003) (2.827.206) 0.957777 (2.961,003) (2.827.206) 0.957777 (2.961,003) (2.961,003) (2.961,003) 0.957777 (2.961,003) (2.961,003) 0.957777 (2.961,003) (2.961,003) 0.957777 (2.961,003) 0.953303 (2.961,003) 0.957777 (2.961,003) (2.961,003) 0.953303 (2.961,003) 0.953303 (2.961,003) 0.953303 (2.961,003) 0.957019 (2.961,0			0 954387	(123 115)	(128 999)	NTI EMENT -OTH	ACC PROV DEPR & AMORT - DISMANTI EMENT -OTH	
ACC PROV DEPR & AMORT - OTH PROD (2,961,003) (2,227,206) 0.954814 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY (1,486) (1,423) 0.957777 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (268,871) 0.953303 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188,169) (188,169) 1.000000 ACCUM PROVISION DEPRECIATION - OTHER (3,607,950) (3,452,876) 0.957019 ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS (184) 0 0.000000 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 298,476 298,476 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 ACC PROV DEPR & AMORT - TRANSMISSION - GSU (140,139) (134,033) 0.956423 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 ACC PROV DEPR & AM				, ,	, ,			
17 ACC PROV DEPR & AMORT - OTH PROD - CAPACITY 18 ACC PROV DEPR & AMORT - OTH PROD - ECRC 282,042) (288,871) 0.953303 19 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188,169) (188,169) 1.000000 20 ACCUM PROVISION DEPRECIATION - OTHER 21 ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS 24 ACC PROV DEPR & AMORT - TRANSMISSION 25 ACC PROV DEPR & AMORT - TRANSMISSION 26 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK (298,476 298,476 1.000000 27 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 28 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 28 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.000000 31 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 33 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC (6,072) 1.000000 34 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC (6,072) 1.000000				, ,	, ,	` ,		
18 ACC PROV DEPR & AMORT - OTH PROD - ECRC (282,042) (288,871) 0.953303 19 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188,169) (188,169) (188,169) 1.000000 20 ACCUM PROVISION DEPRECIATION - OTHER (3,607,950) (3,452,876) 0.957019 21 22 ACCUM PROVISION DEPRECIATION - TRANSMISSION 23 24 ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS (184) 0 0.000000 25 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 26 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 298,476 298,476 1.000000 27 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) 1(1,708,097) 0.902537 28 ACC PROV DEPR & AMORT - TRANSMISSION - GSU (140,139) 1(134,033) 0.956423 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) 1(29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0 0.0000000000000000000000000000000				,	,			
19 ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK (188,169) (188,169) (1000000 (3,452,876) 0.957019 (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) (3,607,950) (3,452,876) 0.957019 (3,607,950) (3,452,876) (3,607,950) (3,452,876) (3,607,950) (3,452,876) (3,607,950) (3,452,876) (3,607,950) (3,452,876) (3,452,8				, ,	,			
21 22 ACCUM PROVISION DEPRECIATION - TRANSMISSION 23 24 ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS 25 ACC PROV DEPR & AMORT - TRANS - ECRC 26 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 27 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 28 ACC PROV DEPR & AMORT - TRANSMISSION 28 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 31 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION - SPPC 33 ACCUM PROVISION DEPRECIATION - TRANSMISSION 34 (1,776,331) (1,584,280) 0.891883					• • • • • • • • • • • • • • • • • • • •			
ACCUM PROVISION DEPRECIATION - TRANSMISSION ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS ACC PROV DEPR & AMORT - TRANS - ECRC ACC PROV DEPR & AMORT - TRANS - ECRC ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK ACC PROV DEPR & AMORT - TRANSMISSION ACC PROV DEPR & AMORT - TRANSMISSION ACC PROV DEPR & AMORT - TRANSMISSION ACC PROV DEPR & AMORT - TRANSMISSION - GSU ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE ACC PROV DEPR & AMORT - TRANSMISSION - SPPC ACC PROV DEPR & AMORT - TRANSMISSION - SPPC ACC PROV DEPR & AMORT - TRANSMISSION - SPPC ACC PROV DEPR & AMORT - TRANSMISSION - SPPC ACC PROVISION DEPRECIATION - TRANSMISSION ACC PROVISION D			0.957019	(3,452,876)	(3,607,950)	- OTHER	ACCUM PROVISION DEPRECIATION - OTHER	
23 24 ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS 25 ACC PROV DEPR & AMORT - TRANS - ECRC 26 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 27 ACC PROV DEPR & AMORT - TRANSMISSION 28 ACC PROV DEPR & AMORT - TRANSMISSION 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL 31 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 32 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 33 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 34 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 35 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 36 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC 37 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC 38 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC 39 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC 40 (6,072) 41 (1,776,331) 41 (1,584,280) 42 ACC PROV DEPR ECIATION - TRANSMISSION 43 ACC PROV DEPRECIATION - TRANSMISSION 44 (1,776,331) 45 (1,776,331) 46 (1,776,331) 47 (1,584,280) 47 (1,784,280) 48 (1,000000) 49 ACC PROV DEPRECIATION - TRANSMISSION 40 (1,776,331) 41 (1,584,280) 41 (1,584,280)						TDANSMISSION	ACCUM PROVISION PERPECIATION TRANSMISSION	
24 ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS (184) 0 0.000000 25 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 26 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 298,476 298,476 1.000000 27 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 28 ACC PROV DEPR & AMORT - TRANSMISSION - GSU (140,139) (134,033) 0.956423 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.000000 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,776,331) (1,584,280) 0.891883						- IRANSIVISSION	ACCUM PROVISION DEPRECIATION - TRANSMISSION	
25 ACC PROV DEPR & AMORT - TRANS - ECRC (5,192) (4,950) 0.953303 26 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 298,476 298,476 1.000000 27 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 28 ACC PROV DEPR & AMORT - TRANSMISSION - GSU (140,139) (134,033) 0.956423 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.0000000 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,776,331) (1,584,280) 0.891883		,	0.000000	0	(184)	ED AFUDC - TRANS - FERC RECLASS	ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS	
26 ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK 298,476 298,476 298,476 1.000000 27 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 28 ACC PROV DEPR & AMORT - TRANSMISSION - GSU (140,139) (134,033) 0.956423 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.0000000 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,776,331) (1,584,280) 0.891883				(4,950)	` ,			
27 ACC PROV DEPR & AMORT - TRANSMISSION (1,892,551) (1,708,097) 0.902537 28 ACC PROV DEPR & AMORT - TRANSMISSION - GSU (140,139) (134,033) 0.956423 29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.000000 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,776,331) (1,584,280) 0.891883				, ,	,	2016 FLOWBACK	ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK	26
29 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL (29,604) (29,604) 1.000000 30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE (1,064) 0 0.000000 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,776,331) (1,584,280) 0.891883			0.902537			MISSION	ACC PROV DEPR & AMORT - TRANSMISSION	27
30 ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE 31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC 42 ACCUM PROVISION DEPRECIATION - TRANSMISSION 43 (1,776,331) (1,584,280) 0.891883			0.956423	(134,033)	(140,139)	MISSION - GSU	ACC PROV DEPR & AMORT - TRANSMISSION - GSU	28
31 ACC PROV DEPR & AMORT - TRANSMISSION - SPPC (6,072) (6,072) 1.000000 32 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,776,331) (1,584,280) 0.891883 33			1.000000	(29,604)	(29,604)	MISSION - OTHER RETAIL	ACC PROV DEPR & AMORT - TRANSMISSION - OTHER	29
32 ACCUM PROVISION DEPRECIATION - TRANSMISSION (1,776,331) (1,584,280) 0.891883 33			0.000000	0	(1,064)	MISSION - OTHER WHOLESALE	ACC PROV DEPR & AMORT - TRANSMISSION - OTHER	30
33		<u>.</u>	1.000000	(6,072)	(6,072)	MISSION - SPPC	ACC PROV DEPR & AMORT - TRANSMISSION - SPPC	31
		•	0.891883	(1,584,280)	(1,776,331)	- TRANSMISSION	ACCUM PROVISION DEPRECIATION - TRANSMISSION	
35						- DISTRIBUTION	ACCUM PROVISION DEPRECIATION - DISTRIBUTION	34

FLOF	RIDA PUBLIC SERVICE COMMISSION EXPLANATION:	Provide a developmen	t of jurisdictional separati	Type of Data Shown:	
		factors for rate base for	or the test year and the m	_ Projected Test Year Ended: _/_/_	
COM	PANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.		_ Prior Year Ended: _/_/_	
	AND SUBSIDIARIES (CONSOLIDATED)				_ Historical Test Year Ended: _/_/_
					X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	_
Line	DESCRIPTION	TOTAL COMPANY	FPSC	JURISDICTIONAL	
No.		(1)	JURISDICTIONAL	FACTOR	
1	ACC PROV DEPR & AMORT - DISTRIBUTION - ECRC	(2,561)	(2,442)	0.953303	
2	ACC PROV DEPR & AMORT - DISTRIBUTION - SPPC	(63,794)	(63,794)	1.000000	
3	ACC PROV DEPR & AMORT - DISTRIBUTION 2016 FLOWBACK	577,485	577,485	1.000000	
4	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 360	(673)	(673)	1.000000	
5	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 361	(93,922)	(93,922)	1.000000	
6	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 362	(769,556)	(769,556)	1.000000	
7	ACC PROVIDEPR & AMORT - DISTRIBUTION ACCT 362 - ECCR	(5,040)	(5,040)	1.000000	
8	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 363	(2,738)	(2,738)	1.000000	
9	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 364	(749,958)	(749,958)	1.000000	
10	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 365	(781,851)	(781,851)	1.000000	
11	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 366	(568,716)	(568,716)	1.000000	
	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 367	(960,223)	(960,223)	1.000000	
13	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 368	(1,195,579)	(1,195,579)	1.000000	
14	ACC PROVIDED & AMORT - DISTRIBUTION ACCT 369	(698,389)	(698,389)	1.000000	
15	ACC PROVIDERS & AMORT - DISTRIBUTION ACCT 370	(502,672)	(500,837)	0.996349	
16	ACC PROVIDERS & AMORT - DISTRIBUTION ACCT 370 - ECCR	21,182	21,182	1.000000	
17	ACC PROVIDED & AMORT - DISTRIBUTION ACCT 371	(47,335)	(47,335)	1.000000	
18 19	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 371 - ECCR ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 373	(3,891) (120,399)	(3,891)	1.000000 1.000000	
20	ACCUM PROVISION DEPRECIATION - DISTRIBUTION	(5,968,632)	(120,399)	0.999672	
21	ACCOM PROVISION DEPRECIATION - DISTRIBUTION	(5,906,032)	(5,900,077)	0.999072	2
22 23	ACCUM PROVISION DEPRECIATION - GENERAL				
24	ACC PROV DEPR & AMORT - GENERAL 2016 FLOWBACK	25,954	25,954	1.000000	
25	ACC PROV DEPR & AMORT - GENERAL PLANT STRUCTURES	(197,141)	(191,054)	0.969122	
26	ACC PROV DEPR & AMORT - GENERAL PLANT TRANSPORT EQUIP	(314,998)	(305,272)	0.969122	
27	ACC PROV DEPR & AMORT - GENERAL PLT OTH (EXCL ECCR)	(500,333)	(484,883)	0.969122	
28	ACC PROV DEPR & AMORT - GENERAL PLT OTH - CAPACITY	(3)	(2)	0.957777	
29	ACC PROV DEPR & AMORT - GENERAL PLT OTH - ECCR	(168)	(168)	1.000000	
30	ACC PROV DEPR & AMORT - GENERAL PLT OTH - ECRC	(1,338)	(1,275)	0.953303	
31	ACC PROV DEPR & AMORT - PROPERTY UNDER CAPITAL LEASES	(142,544)	(138,142)	0.969122	
32	ACCUM PROVISION DEPRECIATION - GENERAL	(1,130,569)	(1,094,842)	0.968399	
33					
34	ACCUM PROVISION DEPRECIATION - NUCLEAR DECOMMISSIONING				
35					

	PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	•	t of jurisdictional separat r the test year and the m	Type of Data Shown: _ Projected Test Year Ended: _/_/ Prior Year Ended: _/_/ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23	
DOC	KET NO.: 20210015-EI	((\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	ACC PROV DEPR - DECOMMISSIONING RESERVE - ARO CONTRA	4,925,568	4,773,477	0.969122	
2	ACC PROV DEPR - NUCLEAR DECOMMISSIONING RESERVE	(5,861,052)	(5,620,374)	0.958936	-
3 4	ACCUM PROVISION DEPRECIATION - NUCLEAR DECOMMISSIONING	(935,485)	(846,897)	0.905303	3
5	ACQUISITION ADJUSTMENT – RESERVE				
7	ACC PROV DEPR - AMORT ELECT PLANT	28,434	27,133	0.954258	3
8	ACC PROV DEPR - VERO AMORT ELECT PLANT	(16,748)	(16,748)	1.000000	
9 10	ACQUISITION ADJUSTMENT - RESERVE	11,686	10,386	0.888707	7
11	ACCUM PROVISION DEPRECIATION	(20,485,178)	(17,075,979)	0.833577	- 7
12		(-,,	() /		
13	NUCLEAR FUEL				
14					
15	ACCUM PROV FOR AMORT OF NUCLEAR FUEL ASSEMBLIES	(463,004)	(437,850)	0.945673	
16	NUCLEAR FUEL ASSEMBLIES IN REACTOR	601,446	568,772	0.945673	
17	NUCLEAR FUEL IN PROCESS	498,108	471,047	0.945673	
18	SPENT NUCLEAR FUEL	78,419	74,159	0.945673	
19 20	NUCLEAR FUEL	714,970	676,128	0.945673	3
21	NUCLEAR FUEL	714,970	676,128	0.945673	3
22 23	WODKING CADITAL ACCETS				
24	WORKING CAPITAL ASSETS				
	ACCRUED UTILITY REVENUES - FERC	(770)	0	0.000000	
	ACCRUED UTILITY REVENUES - FPSC	359,937	359,937	1.000000	
27	ACCTS RECEIV FROM ASSOCIATED COMPANIES	28,301	27,438	0.969491	
	ACCUM PROVISION FR UNCOLLECTIBLE ACCTS	(10,280)	(10,280)	1.000000	
	ALLOWANCE INVENTORY	6,300	6,006	0.953303	
	CASH	58,222	56,446	0.969491	
31	CLEARING ACCOUNTS - OTHER	16	15	0.969491	
32	CUSTOMER ACCOUNTS RECEIVABLE	945,157	945,157	1.000000	
33	DEFERRED LOSSES FROM DISPOSITION OF UTILITY PLT	13	13	0.969491	
34	FUEL STOCK	155,187	148,788	0.958771	I
35	INTEREST AND DIVIDENDS RECEIVABLE	42	41	0.969491	1

FLOR	RIDA PUBLIC SERVICE COMMISSION EXPLANATION:	·	t of jurisdictional separation	Type of Data Shown: _ Projected Test Year Ended: _/_/_	
COM	PANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.	,	Prior Year Ended: / /	
	AND SUBSIDIARIES (CONSOLIDATED)	,			Historical Test Year Ended: //
	,				X Proj. Subsequent Yr Ended: 12/31/23
DOC	SET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
			,		, , , , , , , , , , , , , , , , , , ,
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	MISC CUR & ACC ASSTS - JOB ACCT OTHER	37,999	36,840	0.969491	
2	MISC DEF DEBITS - 2021 RATE CASE	5,170	5,170	1.000000	
3	MISC DEF DEBITS - DEFERRED PENSION DEBIT	1,794,454	1,739,045	0.969122	2
4	MISC DEF DEBITS - FIN 48 - INTEREST REC	758	735	0.969491	
5	MISC DEF DEBITS - GPIF	2,019	2,019	1.000000	
6	MISC DEF DEBITS - OTHER	236,666	229,445	0.969491	
7	MISC DEF DEBITS - STORM MAINT - OFFSET	(2,522,138)	(2,433,920)	0.965023	3
8	MISC DEF DEBITS - STORM MAINTENANCE	2,522,140	2,433,922	0.965023	3
9	Misc Def Debits SPC Funds - SFAS158 - LIFE	3,657	3,546	0.969491	
10	NOTES RECEIV FROM ASSOCIATED COMPANIES	160,000	155,119	0.969491	
11	OPERATING LEASES - REG ASSET	49,693	47,652	0.958936	
12	OTH ACCTS REC - EMPLOYEE LOAN	5	4	0.969122	2
13	OTH ACCTS REC - MISCELLANEOUS	141,080	136,776	0.969491	
14	OTHER REG ASSETS - ARO ASSETS	79,784	77,320	0.969122	2
15	OTHER REG ASSETS - CAPITAL RECOVERY - FERC RECLASS	711,849	0	0.000000	
16	OTHER REG ASSETS - CEDAR BAY - TAX GROSS UP	52,533	50,315	0.957777	
17	OTHER REG ASSETS - CEDAR BAY PPA LOSS - CAPACITY	83,652	80,120	0.957777	•
18	OTHER REG ASSETS - CONVERTIBLE ITC DEPR LOSS	33,345	31,788	0.953303	3
19	OTHER REG ASSETS - DEPREC SURPLUS FLOWBACK - FERC RECLASS	1,208,676	0	0.000000	
20	OTHER REG ASSETS - DEPREC SURPLUS FLOWBACK 2016 - FERC RECLASS	648,860	0	0.000000	
21	OTHER REG ASSETS - DISMANTLEMENT SURPLUS - FERC RECLASS	146,014	0	0.000000	
	OTHER REG ASSETS - GULF LANDFILL/ASHPOND - ECRC	90,137	85,928	0.953303	
23	OTHER REG ASSETS - ICL	125,417	120,121	0.957777	
24	OTHER REG ASSETS - NUCLEAR MAINT RESERVE	92,138	88,354	0.958936	
25	OTHER REG ASSETS - OTHER	115,736	112,205	0.969491	
26	OTHER REG ASSETS - STORM DEFERRED - A03	144,754	0	0.000000	
27	OTHER REG ASSETS - UNDERRECOVERED CAP COSTS	10,230	10,230	1.000000	
28	OTHER REG ASSETS - UNDERRECOVERED CONSERVATION COSTS	377	377	1.000000	
29		4,867	4,867	1.000000	
30	OTHER REG ASSETS - UNDERRECOVERED FUEL COST - FERC	205	0	0.000000	
31	OTHER REG ASSETS - UNDERRECOVERED FUEL COSTS - FPSC	12,819	12,819	1.000000	
	OTHER SPECIAL DEPOSITS	2,164	2,098	0.969491	
33	PLANT MATERIALS & OPERATING SUPPLIES	591,041	570,368	0.965023	3
34	PRELIM SURVEY & INVESTIGATION CHARGES & RIGHT OF WAY	38,504	37,329	0.969491	
35	PREPAYMENTS - GENERAL	66,718	64,683	0.969491	

FLOF	RIDA PUBLIC SERVICE COMMISSION EXPLANATION:	Provide a developmen	t of jurisdictional separati	ion	Type of Data Shown:
		factors for rate base for	or the test year and the m	_ Projected Test Year Ended: _/_/_	
COM	PANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.			_ Prior Year Ended: _/_/_
	AND SUBSIDIARIES (CONSOLIDATED)				_ Historical Test Year Ended: _/_/_
					X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	PREPAYMENTS - INTEREST PAPER & DEBT	8,391	8,098	0.965023	3
2	PREPAYMENTS - SWAPC ECCR	32,689	32,689	1.000000)
3	RENTS RECEIVABLE	29,403	28,506	0.96949	1
4	STORES EXPENSE	908	876	0.965023	3
5	UNRECOVERED PLANT & REGULATORY COSTS	24,503	23,755	0.96949	1
6	UNRECOVERED PLANT & REGULATORY COSTS - ECRC	183,087	174,537	0.953303	3
7	WORKING FUNDS	117	113	0.96949	<u>1</u>
8	WORKING CAPITAL ASSETS	8,512,546	5,507,411	0.646976	5
9					
10	WORKING CAPITAL LIABILITIES				
11					
12	ACC MISC OPER PROV - DEFERRED COMPENSATION	(36,138)	(35,022)	0.969122	2
13	ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES	(207,537)	(201,205)	0.96949	1
14	ACC PROV PENS & BENEFITS - SFAS 158	(1,070)	(1,037)	0.969122	2
15	ACCTS PAY - GENERAL	(790,779)	(766,653)	0.96949	1
16	ACCTS PAYABLE - ASSOCIATED COMPANIES	(38,285)	(37,117)	0.96949	1
17	ACCUM PROV INJURIES & DAMAGES - WORKERS COMPENSATION	(23,600)	(22,871)	0.969122	2
18	ACCUM PROV PEN/BENFS-POST RETIREMENT BENEFITS	(133,564)	(129,440)	0.969122	2
19	ACCUM PROV PROPERTY INSUR - OFFSET - STORM DEFERRED - A03	(144,754)	0	0.000000	
20	ACCUM PROVISION FOR PROPERTY INSURANCE	(7,885)	(7,885)	1.000000	
	CUSTOMER ADVANCES FOR CONSTRUCTION	(1,240)	(1,202)	0.96949	
22	CUSTOMER DEPOSITS - MARGIN CALL COLLATERAL	(3)	(3)	0.969491	
23	CUSTOMER DEPOSITS - NON-ELECTRIC	(74)	(72)	0.969491	
24	DEFERRED GAINS FUTURE USE	(28,307)	(27,444)	0.969491	
25	INTEREST ACCRUED ON CUSTOMER DEPOSITS	(5,297)	(5,297)	1.000000	
26	INTEREST ACCRUED ON LONG - TERM DEBT	(196,355)	(190,364)	0.96949	
27	MISC CURR & ACC LIAB - JOBBING ACCOUNTS ADVANCED	(26,443)	(25,636)	0.96949	
28	MISC CURR & ACC LIAB - MISCELLANEOUS - FERC	(400)	0	0.000000	
29	MISC CURR & ACC LIAB - OTHER	(642,180)	(622,587)	0.969491	
30	MISC CURR & ACC LIAB - POLE ATTACHMENT RENTALS	(5,547)	(5,547)	1.000000	
31	MISC CURR & ACC LIAB - POLE ATTCH RENT - PHONE	(9,901)	(9,901)	1.000000	
32	OTHER DEFD CREDITS - Deferred Transmission Credit	(9,275)	(8,371)	0.902537	
33	OTHER DEFD CREDITS - GULF LANDFILL/ASHPOND - ECRC	(16,347)	(15,583)	0.953303	
34	OTHER DEFD CREDITS - INCOME TAX PAYABLE - FIN48	(52,098)	(50,509)	0.96949	
35	OTHER DEFD CREDITS - OTHER	(173,829)	(168,526)	0.96949	1

FLORIDA PUBLIC SERVICE COMMISSION COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	•	t of jurisdictional separat r the test year and the m	Type of Data Shown: _ Projected Test Year Ended: _/_/ Prior Year Ended: _/_/ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23		
DOCKET NO.: 20210015-EI			(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
(1)		(2)	(3)	(4)	
Line DESCRIPTION No.		TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1 OTHER NON CURRENT LIABILITY - ARO LIABILITY		(2,785,384)	(2,699,377)	0.969122	
2 OTHER REG LIAB - ARO LIABILITY		(2,547,354)	(2,468,697)	0.969122	
3 OTHER REG LIAB - BASE		(3)	(3)	1.000000	
4 OTHER REG LIAB - CONVERTIBLE ITC GROSS-UP		(66,689)	(63,575)	0.953303	3
5 OTHER REG LIAB - COST RECOVERY - ECRC		(6,186)	(5,897)	0.953303	
6 OTHER REG LIAB - DEFERRED TAX CAPACITY - CEDAR BA	Y	(1,096)	(1,049)	0.957777	,
7 OTHER REG LIAB - DEFRD GAIN LAND SALES - PIS		(3,310)	(3,209)	0.969491	
8 OTHER REG LIAB - GAINS ON SALE EMISSION ALLOW		(0)	(0)	0.953303	3
9 OTHER REG LIAB - INTEREST INCOME - FIN 48		(798)	(774)	0.969491	
10 OTHER REG LIAB - NCRC AVOIDED AFUDC		(102,478)	0	0.000000	
11 OTHER REG LIAB - NUCLEAR COST RECOVERY		(241,631)	(241,631)	1.000000)
12 OTHER REG LIAB - OVERRECOVERED CAPACITY REVENU	ES	(15)	(15)	1.000000	
13 OTHER REG LIAB - OVERRECOVERED ECCR REVENUES		(1,182)	(1,182)	1.000000)
14 OTHER REG LIAB - OVERRECOVERED ENVIRONMENTAL R	EVENUES	(1,023)	(1,023)	1.000000)
15 OTHER REG LIAB - OVERRECOVERED FUEL REVENUES FE	ERC	(143)	0	0.000000)
16 OTHER REG LIAB - OVERRECOVERED FUEL REVENUES FF	PSC	(1,587)	(1,587)	1.000000)
17 OTHER REG LIAB - OVERRECOVERED SPPC REVENUES		(5,607)	(5,607)	1.000000)
18 OTHER REG LIAB - SWAPC ECCR		(30,763)	(30,763)	1.000000	
19 OTHER REG LIAB - TAX AUDIT REFUND INTEREST		(295)	(286)	0.969491	
20 TAX COLLECTIONS PAYABLE		(105,275)	(102,063)	0.969491	
21 TAXES ACCRUED - CITY & COUNTY REAL & PERSONAL PR	OPERTY	(305,847)	(295,230)	0.965286	}
22 TAXES ACCRUED - FEDERAL INCOME TAXES		(16,100)	(15,609)	0.969491	
23 TAXES ACCRUED - OTHER		(11,732)	(11,374)	0.969491	
24 TAXES ACCRUED - REVENUE TAXES		(105,490)	(105,490)	1.000000	
25 TAXES ACCRUED - STATE INCOME TAXES		(3,523)	(3,415)	0.969491	
26 WORKING CAPITAL LIABILITIES 27		(8,894,418)	(8,390,129)	0.943303	-
28 TOTAL WORKING CAPITAL 29		(381,872)	(2,882,718)	7.548907	,
30 TOTAL RATE BASE 31		63,034,584	60,834,427	0.965096	5
32 NOTE: 33 (1) RATE BASE IS PRESENTED IN THIS MFR ON A TOTAL S'	VOTEM BAGIS /EV		MI ANCES) AND DOES	NOT CONTAIN ANY	
33 (1) RATE BASE IS PRESENTED IN THIS MFR ON A TOTAL S' 34 COMMISSION OR COMPANY ADJUSTMENTS. HOWEVER, II					
35 PROPOSED EQUITY RATIO ON A JURISDICTIONAL ADJUST					
36 DIFFERENT BETWEEN THE "WITH" AND "WITHOUT" RSAM			S. CERTAIN EINE ITE	J. W.E. GETGITET T	
37 NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING.					

	RIDA PUBLIC SERVICE COMMISSION EXPLANATION: PANY: FLORIDA POWER & LIGHT COMPANY	•	nt of jurisdictional separati or the test year and the m	Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/ /_	
OOM	AND SUBSIDIARIES (CONSOLIDATED)	resent historical year.			_ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	ELECTRIC PLANT IN SERVICE INTANGIBLE	· /			
2	PLT IN SERV - INTAN - CAPACITY	1,979	1,896	0.957777	7
4	PLT IN SERV - INTAN - ECCR	10,327	10,327	1.000000	
5	PLT IN SERV - INTANGIBLE	2,108,554	2,043,447	0.969122	
6	PLT IN SERV - INTANGIBLE ARO	430,880	417,575	0.969122	
7	PLT IN SERV - NCRC AVOIDED AFUDC - INTANG - FERC RECLASS	26,141	0	0.000000	
8	ELECTRIC PLANT IN SERVICE INTANGIBLE	2,577,882	2,473,245	0.959410	<u></u>
9					
10	ELECTRIC PLANT IN SERVICE PRODUCTION - STEAM				
11	DIT IN OFFICE OFFICE	4 400 740	4 404 044	0.05005	
12	PLT IN SERV - STEAM CARACITY	1,169,746	1,121,614	0.958853	
13 14	PLT IN SERV - STEAM - CAPACITY PLT IN SERV - STEAM - ECRC	(1,256) 1,060,336	(1,203) 1,010,822	0.957777 0.953303	
15	PLT IN SERV - STEAM MARTIN PIPELINE	371	355	0.95697	
16	ELECTRIC PLANT IN SERVICE PRODUCTION - STEAM	2,229,197	2,131,588	0.956213	_
17		2,220,101	2,101,000	0.0002	
18	ELECTRIC PLANT IN SERVICE PRODUCTION - NUCLEAR				
19			_		_
20	PLT IN SERV - NCRC AVOIDED AFUDC - NUCLEAR - FERC RECLASS	143,456	0	0.000000	
21	PLT IN SERV - NUCLEAR - CAPACITY	154,586	148,059	0.957777	
22		119,688	114,099	0.953303	
23 24	PLT IN SERV - NUCLEAR ST LUCIE 1 PLT IN SERV - NUCLEAR ST LUCIE 2	1,781,624 2,056,797	1,708,463 1,972,336	0.958936 0.958936	
	PLT IN SERV - NUCLEAR ST LUCIE COM	566,613	543,346	0.958936	
26	PLT IN SERV - NUCLEAR TURKEY PT	4,201,082	4,028,569	0.958936	
27	ELECTRIC PLANT IN SERVICE PRODUCTION - NUCLEAR	9,023,845	8,514,872	0.943597	_
28		5,==,,	-,,		
29	ELECTRIC PLANT IN SERVICE PRODUCTION - OTHER				
30					
31	PLT IN SERV - OTH PROD - CAPACITY	8,588	8,226	0.957777	7
32	PLT IN SERV - OTH PROD - ECRC	841,311	802,025	0.953303	3
33	PLT IN SERV - OTHER PRODUCTION	21,311,127	20,355,343	0.95515	<u>1</u>
34	ELECTRIC PLANT IN SERVICE PRODUCTION - OTHER	22,161,026	21,165,593	0.955082	2
35					

FLORIDA PUBLIC SERVICE COMMISSION EXPLANATION: COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)		Provide a development of jurisdictional separation factors for rate base for the test year and the most recent historical year.			Type of Data Shown: _ Projected Test Year Ended: _/_/ Prior Year Ended: _/_/ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23	
DOC	KET NO.: 20210015-EI			(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)		(2)	(3)	(4)	
Line No.	DESCRIPTION		TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1 2	ELECTRIC PLANT IN SERVICE TRANSMISSION		, ,			
3	PLT IN SERV - AVOIDED AFUDC - TRANS - FERC RECLASS		762	0	0.000000)
4	PLT IN SERV - TRANSMISSION		10,608,691	9,574,734	0.902537	
5	PLT IN SERV - TRANSMISSION - ECRC		18,004	17,164	0.953303	3
6	PLT IN SERV - TRANSMISSION - GSU		662,115	632,508	0.955285	5
7	PLT IN SERV - TRANSMISSION - OTHER RETAIL		70,816	70,816	1.000000)
8	PLT IN SERV - TRANSMISSION - OTHER WHOLESALE		2,065	0	0.000000)
9	PLT IN SERV - TRANSMISSION - SPPC		210,209	210,209	1.000000	<u>)</u>
10	ELECTRIC PLANT IN SERVICE TRANSMISSION		11,572,662	10,505,431	0.907780)
11						
12	ELECTRIC PLANT IN SERVICE DISTRIBUTION					
13						
14	PLT IN SERV - DISTRIBUTION - ECRC		10,773	10,270	0.953303	
15	PLT IN SERV - DISTRIBUTION - SPPC		2,138,380	2,138,380	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 360		115,529	115,529	1.000000	
17	PLT IN SERV - DISTRIBUTION ACCT 361		391,543	391,543	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 362		3,464,251	3,464,251	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 362 - ECCR		30,154	30,154	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 363		4,106	4,106	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 364		3,749,956	3,749,956	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 365 PLT IN SERV - DISTRIBUTION ACCT 366		4,414,285	4,414,285	1.000000 1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 360 PLT IN SERV - DISTRIBUTION ACCT 367		2,184,197 4,566,163	2,184,197 4,566,163	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 368		3,636,372	3,636,372	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 369		1,612,628	1,612,628	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 370		993,772	990,144	0.996349	
	PLT IN SERV - DISTRIBUTION ACCT 371		115,034	115,034	1.000000	
	PLT IN SERV - DISTRIBUTION ACCT 371 - ECCR		5,347	5,347	1.000000	
30	PLT IN SERV - DISTRIBUTION ACCT 373		838,634	838,634	1.000000	
31	ELECTRIC PLANT IN SERVICE DISTRIBUTION		28,271,125	28,266,994	0.999854	_
32			-, ,	-,,		
33	ELECTRIC PLANT IN SERVICE GENERAL					
34						
35	PLT IN SERV - GENERAL PLANT OTHER (EXCL ECCR)		1,204,358	1,167,170	0.969122	

FLORIDA PUBLIC SERVICE COMMISSION EXPLANATION: COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)		•	t of jurisdictional separat r the test year and the m		Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23	
DOCK	KET NO.: 20210015-EI			(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)		(2)	(3)	(4)	
Line No.	DESCRIPTION		TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	PLT IN SERV - GENERAL PLANT OTHER - CAPACITY		0	0	0.957777	
2	PLT IN SERV - GENERAL PLANT OTHER - ECCR		129	129	1.000000	
3	PLT IN SERV - GENERAL PLANT OTHER - ECRC		9,403	8,964	0.953303	
4	PLT IN SERV - GENERAL PLANT STRUCTURES		1,205,426	1,168,206	0.969122	
	PLT IN SERV - GENERAL PLANT TRANSPORTATION EQUIP		626,126	606,793	0.969122	
6	PROPERTY UNDER CAPITAL LEASES		321,325	311,403	0.969122	
7	ELECTRIC PLANT IN SERVICE GENERAL		3,366,767	3,262,664	0.969079)
8	A COLUMNITION ARE INSTRUCTIVE PLANT					
9	ACQUISITION ADJUSTMENT PLANT					
10	ACCURRITION AD ILICTMENT VEDO		110.640	110.640	1 000000	
	ACQUISITION ADJUSTMENT VERO		110,640	110,640	1.000000	_
12	ACQUISITION ADJUSTMENT PLANT		110,640	110,640	1.000000)
13	DI ANT IN OFFICE		70.040.445	70 404 007	0.00000	_
	PLANT IN SERVICE		79,313,145	76,431,027	0.963662	2
15 16						
	ELECTRIC PLANT HELD FOR FUTURE USE					
18	ELECTRIC FLANT HELD FOR FOTORE USE					
	PLT FUTURE USE - DISTRIBUTION		22,846	22,846	1.000000	1
	PLT FUTURE USE - GENERAL		12,101	11,727	0.969122	
	PLT FUTURE USE - OTHER PRODUCTION		572,982	547,697	0.955870	
	PLT FUTURE USE - TRANSMISSION		32,592	29,535	0.906225	
	ELECTRIC PLANT HELD FOR FUTURE USE		640,522	611,806	0.955168	
24	ELECTRICAL DIANT FILED FOR FOR GOLD		040,022	011,000	0.500100	,
	ELECTRIC PLANT HELD FOR FUTURE USE		640,522	611,806	0.955168	_
26			010,022	011,000	0.000100	-
27						
28	CONSTRUCTION WORK IN PROGRESS					
29						
	CWIP - CAPACITY CLAUSE		5,824	5,578	0.957777	7
	CWIP - CONSERVATION CLAUSE		2,212	2,212	1.000000	
	CWIP - DISTRIBUTION		343,516	343,516	1.000000	
	CWIP - ENVIRONMENTAL CLAUSE		143,124	136,440	0.953303	3
34	CWIP - GENERAL		137,404	133,161	0.969122	
35			•	,		

FLORIDA PUBLIC SERVICE COMMISSION COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	Provide a development of jurisdictional separation factors for rate base for the test year and the most recent historical year.			Type of Data Shown: _ Projected Test Year Ended: _/_/ Prior Year Ended: _/_/ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23	
DOCKET NO.: 20210015-EI		((\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
(1)		(2)	(3)	(4)	
Line DESCRIPTION No.		TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1 CWIP - INTANGIBLE PLANT		137,667	133,416	0.969122	
2 CWIP - NUCLEAR		649,521	622,849	0.958936	
3 CWIP - OTHER PRODUCTION		561,090	537,491	0.957942	
4 CWIP - STEAM (EXCL COAL)		18,877	18,083	0.957916	
5 CWIP - STORM PROTECTION CLAUSE		249,001	249,001	1.000000	
6 CWIP - TRANSMISSION		984,763	892,417	0.906225	
7 CONSTRUCTION WORK IN PROGRESS 8		3,232,998	3,074,164	0.950871	1
9 CONSTRUCTION WORK IN PROGRESS		3,232,998	3,074,164	0.950871	-
10		-,,	2,21.1,12.1		
11 ACCUM PROVISION DEPRECIATION - INTANGIBLE					
12					
13 ACC AMORT - INTANGIBLE - CAPACITY		(880)	(843)	0.957777	7
14 ACC AMORT - INTANGIBLE -ECCR		(5,699)	(5,699)	1.000000)
15 ACC PROV DEPR & AMORT - INTANGIBLE		(936,573)	(907,654)	0.969122	2
16 ACC PROV DEPR & AMORT - INTANGIBLE ARO		(103,494)	(100,298)	0.969122	2
17 ACC PROV DEPR & AMORT - SURPLUS FLOWBACK	- FERC RECLASS	(1,857,535)	0	0.000000)
18 ACC PROV DEPR - CAPITAL RECOVERY - FERC REC	CLASS	(711,849)	0	0.000000)
19 ACC PROV DEPR - ITC INTEREST SYNCHRONIZATION	DN	(6,780)	(6,570)	0.969122	2
20 ACCUM PROVISION DEPRECIATION - INTANGIBLE		(3,622,810)	(1,021,064)	0.281843	3
21					
22 ACCUM PROVISION DEPRECIATION - STEAM					
23					
24 ACC PROV DEPR & AMORT - COAL CARS		(0)	(0)	0.956971	1
25 ACC PROV DEPR & AMORT - STEAM		407,376	387,719	0.951747	7
26 ACC PROV DEPR & AMORT - STEAM - CAPACITY		437	418	0.957777	7
27 ACC PROV DEPR & AMORT - STEAM - ECRC		720,016	686,394	0.953303	3
28 ACC PROV DEPR & AMORT - STEAM 2016 FLOWBAC		71,375	71,375	1.000000	
29 ACC PROV DEPR & AMORT - STEAM MARTIN PIPEL	NE	(371)	(355)	0.956971	
30 ACC PROV DEPR - FOSSIL DECOM		(217,857)	(208,252)	0.955914	
31 ACC PROV DEPR - SURPLUS DISMANTLEMENT - FE	RC RECLASS	(146,014)	0	0.000000	
32 ACCUM PROVISION DEPRECIATION - STEAM		834,961	937,298	1.122565	5
33					
34 ACCUM PROVISION DEPRECIATION - NUCLEAR					
35					

	PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	·	t of jurisdictional separati	Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23	
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	ACC PROV DEPR & AMORT - NCRC AVOIDED AFUDC - INTANG - FERC RECLASS	(, ,	0	0.000000	
2	ACC PROV DEPR & AMORT - NCRC AVOIDED AFUDC - NUCL - FERC RECLASS	(52,639)	0	0.000000	
3	ACC PROV DEPR & AMORT - NUCLEAR - CAPACITY	(23,195)	(22,215)	0.957777	
4	ACC PROV DEPR & AMORT - NUCLEAR - ECRC	(17,408)	(16,595)	0.953303	
5	ACC PROV DEPR & AMORT - NUCLEAR 2016 FLOWBACK	(136,261)	(136,261)	1.000000	
6	ACC PROV DEPR & AMORT - ST LUCIE 1	(823,129)	(789,328)	0.958936	
7	ACC PROV DEPR & AMORT - ST LUCIE 2	(915,911)	(878,300)	0.958936	
8 9	ACC PROVIDER & AMORT - ST LUCIE COM	(311,695)	(298,896)	0.958936 0.958936	
-	ACCUMED DOVISION DEDDECIATION AND LEAD	(1,997,454)	(1,915,431)	0.945683	
10 11	ACCUM PROVISION DEPRECIATION - NUCLEAR	(4,290,049)	(4,057,026)	0.945083	
12	ACCUM PROVISION DEPRECIATION - OTHER				
13	ACCOM PROVISION DEFRECIATION - OTHER				
	ACC PROV DEPR & AMORT - DISMANTLEMENT -OTH	(128,999)	(123,115)	0.954387	•
	ACC PROV DEPR & AMORT - DISMANTLEMENT -OTHER PROD (ECRC)	(46,251)	(44,091)	0.953303	
	ACC PROV DEPR & AMORT - OTH PROD	(2,961,003)	(2,827,206)	0.954814	
	ACC PROV DEPR & AMORT - OTH PROD - CAPACITY	(1,486)	(1,423)	0.957777	
	ACC PROV DEPR & AMORT - OTH PROD - ECRC	(282,042)	(268,871)	0.953303	
	ACC PROV DEPR & AMORT - OTHER 2016 FLOWBACK	(188,169)	(188,169)	1.000000	
	ACCUM PROVISION DEPRECIATION - OTHER	(3,607,950)	(3,452,876)	0.957019	
21		(=,==,==,	(2, 2, 1, 2, 2,		
22	ACCUM PROVISION DEPRECIATION - TRANSMISSION				
23					
24	ACC PROV DEPR & AMORT - AVOIDED AFUDC - TRANS - FERC RECLASS	(184)	0	0.000000	
25	ACC PROV DEPR & AMORT - TRANS - ECRC	(5,192)	(4,950)	0.953303	i e
26	ACC PROV DEPR & AMORT - TRANS 2016 FLOWBACK	298,476	298,476	1.000000	
27	ACC PROV DEPR & AMORT - TRANSMISSION	(1,892,551)	(1,708,097)	0.902537	•
28	ACC PROV DEPR & AMORT - TRANSMISSION - GSU	(140,139)	(134,033)	0.956423	
29	ACC PROV DEPR & AMORT - TRANSMISSION - OTHER RETAIL	(29,604)	(29,604)	1.000000	
30	ACC PROV DEPR & AMORT - TRANSMISSION - OTHER WHOLESALE	(1,064)	0	0.000000	
31	ACC PROV DEPR & AMORT - TRANSMISSION - SPPC	(6,072)	(6,072)	1.000000	=
	ACCUM PROVISION DEPRECIATION - TRANSMISSION	(1,776,331)	(1,584,280)	0.891883	i e
33					
34	ACCUM PROVISION DEPRECIATION - DISTRIBUTION				
35					

FLO	RIDA PUBLIC SERVICE COMMISSION EXPLANATION:	Provide a development of jurisdictional separation			Type of Data Shown:	
		factors for rate base fo	r the test year and the m	ost	_ Projected Test Year Ended: _/_/_	
COM	PANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.			_ Prior Year Ended: _/_/_	
	AND SUBSIDIARIES (CONSOLIDATED)				_ Historical Test Year Ended: _/_/_	
					X Proj. Subsequent Yr Ended: 12/31/23	
DOC	KET NO.: 20210015-EI	((\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes	
	(1)	(2)	(3)	(4)		
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR		
1	ACC PROV DEPR & AMORT - DISTRIBUTION - ECRC	(2,561)	(2,442)	0.953303		
2	ACC PROV DEPR & AMORT - DISTRIBUTION - SPPC	(63,794)	(63,794)	1.000000		
3	ACC PROV DEPR & AMORT - DISTRIBUTION 2016 FLOWBACK	577,485	577,485	1.000000		
4	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 360	(673)	(673)	1.000000		
5	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 361	(93,922)	(93,922)	1.000000		
6	ACC PROVIDER & AMORT - DISTRIBUTION ACCT 362	(769,556)	(769,556)	1.000000		
7 8	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 362 - ECCR ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 363	(5,040) (2,738)	(5,040) (2,738)	1.000000 1.000000		
9	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 363 ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 364	(749,958)	(749,958)	1.000000		
10	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 365	(781,851)	(781,851)	1.000000		
11	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 366	(568,716)	(568,716)	1.000000		
12	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 367	(960,223)	(960,223)	1.000000		
13	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 368	(1,195,579)	(1,195,579)	1.000000		
14	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 369	(698,389)	(698,389)	1.000000		
15	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 370	(502,672)	(500,837)	0.996349		
16	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 370 - ECCR	21,182	21,182	1.000000		
17	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 371	(47,335)	(47,335)	1.000000		
18	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 371 - ECCR	(3,891)	(3,891)	1.000000		
19	ACC PROV DEPR & AMORT - DISTRIBUTION ACCT 373	(120,399)	(120,399)	1.000000		
20	ACCUM PROVISION DEPRECIATION - DISTRIBUTION	(5,968,632)	(5,966,677)	0.999672		
21	A COLUM PROVIGION PERPENATION OF MERAL					
22 23	ACCUM PROVISION DEPRECIATION - GENERAL					
24	ACC PROV DEPR & AMORT - GENERAL 2016 FLOWBACK	25,954	25,954	1.000000		
25	ACC PROV DEPR & AMORT - GENERAL PLANT STRUCTURES	(197,141)	(191,054)	0.969122	!	
26	ACC PROV DEPR & AMORT - GENERAL PLANT TRANSPORT EQUIP	(314,998)	(305,272)	0.969122	!	
27	ACC PROV DEPR & AMORT - GENERAL PLT OTH (EXCL ECCR)	(500,333)	(484,883)	0.969122	!	
28	ACC PROV DEPR & AMORT - GENERAL PLT OTH - CAPACITY	(3)	(2)	0.957777	•	
29	ACC PROV DEPR & AMORT - GENERAL PLT OTH - ECCR	(168)	(168)	1.000000		
30	ACC PROV DEPR & AMORT - GENERAL PLT OTH - ECRC	(1,338)	(1,275)	0.953303		
31	ACC PROV DEPR & AMORT - PROPERTY UNDER CAPITAL LEASES	(142,544)	(138,142)	0.969122	<u></u>	
32 33	ACCUM PROVISION DEPRECIATION - GENERAL	(1,130,569)	(1,094,842)	0.968399		
34	ACCUM PROVISION DEPRECIATION - NUCLEAR DECOMMISSIONING					
35	ACCOUNT NOVIGION DEL REGIATION - NOCEAN DECONNINICOTONING					

	PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	· ·	of jurisdictional separati		Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI	(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	ACC PROV DEPR - DECOMMISSIONING RESERVE - ARO CONTRA	4,925,568	4,773,477	0.969122	
2	ACC PROV DEPR - NUCLEAR DECOMMISSIONING RESERVE	(5,861,052)	(5,620,374)	0.958936	
3 4	ACCUM PROVISION DEPRECIATION - NUCLEAR DECOMMISSIONING	(935,485)	(846,897)	0.905303	3
5 6	ACQUISITION ADJUSTMENT - RESERVE				
7	ACC PROV DEPR - AMORT ELECT PLANT	28,434	27,133	0.954258	3
8	ACC PROV DEPR - VERO AMORT ELECT PLANT	(16,748)	(16,748)	1.000000	
9	ACQUISITION ADJUSTMENT - RESERVE	11,686	10,386	0.888707	7
10	ACCUM PROVISION PERRECIATION	(20.495.179)	(17.075.070)	0.833577	7
11 12	ACCUM PROVISION DEPRECIATION	(20,485,178)	(17,075,979)	0.033377	
13	NUCLEAR FUEL				
14	NOOLLANTOLL				
	ACCUM PROV FOR AMORT OF NUCLEAR FUEL ASSEMBLIES	(463,004)	(437,850)	0.945673	3
	NUCLEAR FUEL ASSEMBLIES IN REACTOR	601,446	568,772	0.945673	
17	NUCLEAR FUEL IN PROCESS	498,108	471,047	0.945673	3
18	SPENT NUCLEAR FUEL	78,419	74,159	0.945673	3
19	NUCLEAR FUEL	714,970	676,128	0.945673	3
20					_
21	NUCLEAR FUEL	714,970	676,128	0.945673	3
22	IMODIVINO CADITAL ACCITO				
	WORKING CAPITAL ASSETS				
24 25	ACCRUED UTILITY REVENUES - FERC	(770)	0	0.000000	
25 26	ACCRUED UTILITY REVENUES - FERC ACCRUED UTILITY REVENUES - FPSC	(770) 359,937	359,937	1.000000	
	ACCTS RECEIV FROM ASSOCIATED COMPANIES	28,301	27,438	0.969491	
28	ACCUM PROVISION FR UNCOLLECTIBLE ACCTS	(10,280)	(10,280)	1.000000	
	ALLOWANCE INVENTORY	6,300	6,006	0.953303	
	CASH	58,222	56,446	0.969491	
	CLEARING ACCOUNTS - OTHER	16	15	0.969491	
	CUSTOMER ACCOUNTS RECEIVABLE	945,157	945,157	1.000000	
	DEFERRED LOSSES FROM DISPOSITION OF UTILITY PLT	13	13	0.969491	
34	FUEL STOCK	155,187	148,788	0.958771	
35	INTEREST AND DIVIDENDS RECEIVABLE	42	41	0.969491	

FLOR	RIDA PUBLIC SERVICE COMMISSION EXPLANATION:	Provide a development	t of jurisdictional separatio	Type of Data Shown:	
		factors for rate base for	r the test year and the mos	st	_ Projected Test Year Ended: _/_/_
COM	PANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.			_ Prior Year Ended: _/_/_
	AND SUBSIDIARIES (CONSOLIDATED)				_ Historical Test Year Ended: _/_/_
					X Proj. Subsequent Yr Ended: 12/31/23
DOCI	KET NO.: 20210015-EI	,	(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
DOCI			,		Withess. Scott N. Bores, Tala B. Bubose, Liz I defites
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	MISC CUR & ACC ASSTS - JOB ACCT OTHER	37,999	36,840	0.969491	
2	MISC DEF DEBITS - 2021 RATE CASE	5,170	5,170	1.000000	
3	MISC DEF DEBITS - DEFERRED PENSION DEBIT	1,794,454	1,739,045	0.969122	2
4	MISC DEF DEBITS - FIN 48 - INTEREST REC	758	735	0.969491	
5	MISC DEF DEBITS - GPIF	2,019	2,019	1.000000)
6	MISC DEF DEBITS - OTHER	236,666	229,445	0.969491	
7	MISC DEF DEBITS - STORM MAINT - OFFSET	(2,522,138)	(2,433,920)	0.965023	
8	MISC DEF DEBITS - STORM MAINTENANCE	2,522,140	2,433,922	0.965023	
9	Misc Def Debits SPC Funds - SFAS158 - LIFE	3,657	3,546	0.969491	
10	NOTES RECEIV FROM ASSOCIATED COMPANIES	160,000	155,119	0.969491	
11	OPERATING LEASES - REG ASSET	49,693	47,652	0.958936	
12	OTH ACCTS REC - EMPLOYEE LOAN	5	4	0.969122	2
13	OTH ACCTS REC - MISCELLANEOUS	141,080	136,776	0.969491	
14	OTHER REG ASSETS - ARO ASSETS	79,784	77,320	0.969122	
15	OTHER REG ASSETS - CAPITAL RECOVERY - FERC RECLASS	711,849	0	0.000000)
16	OTHER REG ASSETS - CEDAR BAY - TAX GROSS UP	52,533	50,315	0.957777	
17	OTHER REG ASSETS - CEDAR BAY PPA LOSS - CAPACITY	83,652	80,120	0.957777	
18	OTHER REG ASSETS - CONVERTIBLE ITC DEPR LOSS	33,345	31,788	0.953303	
19	OTHER REG ASSETS - DEPREC SURPLUS FLOWBACK - FERC RECLASS	1,208,676	0	0.000000	
20	OTHER REG ASSETS - DEPREC SURPLUS FLOWBACK 2016 - FERC RECLASS	648,860	0	0.000000	
21	OTHER REG ASSETS - DISMANTLEMENT SURPLUS - FERC RECLASS	146,014	0	0.000000)
22	OTHER REG ASSETS - GULF LANDFILL/ASHPOND - ECRC	90,137	85,928	0.953303	
23	OTHER REG ASSETS - ICL	125,417	120,121	0.957777	7
24	OTHER REG ASSETS - NUCLEAR MAINT RESERVE	92,138	88,354	0.958936	
25	OTHER REG ASSETS - OTHER	115,736	112,205	0.969491	
26	OTHER REG ASSETS - STORM DEFERRED - A03	144,754	0	0.000000)
27	OTHER REG ASSETS - UNDERRECOVERED CAP COSTS	10,230	10,230	1.000000)
28	OTHER REG ASSETS - UNDERRECOVERED CONSERVATION COSTS	377	377	1.000000)
29	OTHER REG ASSETS - UNDERRECOVERED ECRC COSTS	4,867	4,867	1.000000)
30	OTHER REG ASSETS - UNDERRECOVERED FUEL COST - FERC	205	0	0.000000	
31	OTHER REG ASSETS - UNDERRECOVERED FUEL COSTS - FPSC	12,819	12,819	1.000000	
32	OTHER SPECIAL DEPOSITS	2,164	2,098	0.969491	
33	PLANT MATERIALS & OPERATING SUPPLIES	591,041	570,368	0.965023	3
34	PRELIM SURVEY & INVESTIGATION CHARGES & RIGHT OF WAY	38,504	37,329	0.969491	
35	PREPAYMENTS - GENERAL	66,718	64,683	0.969491	

Factors for rate base for the lest year and the most recent historical year. Projected Test Year Ended: X Proj. Subsequent Yr Ended: 12	<u>/_</u>
AND SUBSIDIARIES (CONSOLIDATED) Historical Test Year Ended:/	
Company Comp	
Company Comp	!_
Californ Californ	/31/23
Line No. DESCRIPTION TOTAL COMPANY (1) FPSC (1) QURISDICTIONAL FACTOR JURISDICTIONAL FACTOR 1 PREPAYMENTS - INTEREST PAPER & DEBT 8,391 8,098 0.965023 2 PREPAYMENTS - SWAPC ECCR 32,689 32,689 1.000000 3 RENTS RECEIVABLE 29,403 28,506 0.969491 4 STORES EXPENSE 908 876 0.965023 5 UNRECOVERED PLANT & REGULATORY COSTS 24,503 23,755 0.969491 6 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 183,087 174,537 0.953303 7 WORKING FUNDS 117 113 0.969491 8 WORKING CAPITAL LIABILITIES 8,512,545 5,507,410 0.646976 10 WORKING CAPITAL LIABILITIES 4	DuBose, Liz Fuentes
No. DESCRIPTION (1) JURISDICTIONAL FACTOR 1 PREPAYMENTS - INTEREST PAPER & DEBT 8,391 8,098 0.965023 2 PREPAYMENTS - SWAPC ECCR 32,689 32,689 1.000000 3 RENTS RECEIVABLE 29,403 28,506 0.969491 4 STORES EXPENSE 908 876 0.965023 5 UNRECOVERED PLANT & REGULATORY COSTS 24,503 23,755 0.969491 6 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 183,087 174,537 0.953303 7 WORKING FUNDS 117 113 0.969491 8 WORKING CAPITAL ASSETS 8,512,545 5,507,410 0.646976 9 WORKING CAPITAL LIABILITIES 4 C MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
2 PREPAYMENTS - SWAPC ECCR 32,689 32,689 1.000000 3 RENTS RECEIVABLE 29,403 28,506 0.969491 4 STORES EXPENSE 908 876 0.965023 5 UNRECOVERED PLANT & REGULATORY COSTS 24,503 23,755 0.969491 6 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 183,087 174,537 0.953303 7 WORKING FUNDS 117 113 0.969491 8 WORKING CAPITAL ASSETS 8,512,545 5,507,410 0.646976 9 WORKING CAPITAL LIABILITIES 11 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
3 RENTS RECEIVABLE 29,403 28,506 0.969491 4 STORES EXPENSE 908 876 0.965023 5 UNRECOVERED PLANT & REGULATORY COSTS 24,503 23,755 0.969491 6 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 183,087 174,537 0.953303 7 WORKING FUNDS 117 113 0.969491 8 WORKING CAPITAL ASSETS 8,512,545 5,507,410 0.646976 9 WORKING CAPITAL LIABILITIES 11 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
4 STORES EXPENSE 908 876 0.965023 5 UNRECOVERED PLANT & REGULATORY COSTS 24,503 23,755 0.969491 6 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 183,087 174,537 0.953303 7 WORKING FUNDS 117 113 0.969491 8 WORKING CAPITAL ASSETS 8,512,545 5,507,410 0.646976 9 10 WORKING CAPITAL LIABILITIES 11 12 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
5 UNRECOVERED PLANT & REGULATORY COSTS 24,503 23,755 0.969491 6 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 183,087 174,537 0.953303 7 WORKING FUNDS 117 113 0.969491 8 WORKING CAPITAL ASSETS 8,512,545 5,507,410 0.646976 9 WORKING CAPITAL LIABILITIES 11 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
6 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 7 WORKING FUNDS 8 WORKING CAPITAL ASSETS 9 WORKING CAPITAL LIABILITIES 10 WORKING CAPITAL LIABILITIES 11 ACC MISC OPER PROV - DEFERRED COMPENSATION 12 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES 16 UNRECOVERED PLANT & REGULATORY COSTS - ECRC 17 113 0.969491 183,087 174,537 0.969491 117 113 0.969491	
7 WORKING FUNDS 8 WORKING CAPITAL ASSETS 9 WORKING CAPITAL LIABILITIES 11 12 ACC MISC OPER PROV - DEFERRED COMPENSATION 13 0.969491 14 COMISC OPER PROV - MISCELLANEOUS OPER RESERVES 15 0.969122 16 0.969491	
8 WORKING CAPITAL ASSETS 9 WORKING CAPITAL LIABILITIES 11 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
9 10 WORKING CAPITAL LIABILITIES 11 12 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
10 WORKING CAPITAL LIABILITIES 11 12 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
11 12 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
12 ACC MISC OPER PROV - DEFERRED COMPENSATION (36,138) (35,022) 0.969122 13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
13 ACC MISC OPER PROV - MISCELLANEOUS OPER RESERVES (207,537) (201,205) 0.969491	
15 ACCTS PAY - GENERAL (790,779) (766,653) 0.969491	
16 ACCTS PAYABLE - ASSOCIATED COMPANIES (38,285) (37,117) 0.969491	
17 ACCUM PROV INJURIES & DAMAGES - WORKERS COMPENSATION (23,600) (22,871) 0.969122	
18 ACCUM PROV PEN/BENFS-POST RETIREMENT BENEFITS (133,564) (129,440) 0.969122 19 ACCUM PROV PROPERTY INSUR - OFFSET - STORM DEFERRED - A03 (144,754) 0 0.000000	
• • • • • • • • • • • • • • • • • • • •	
22 CUSTOMER DEPOSITS - MARGIN CALL COLLATERAL (3) (3) 0.969491 23 CUSTOMER DEPOSITS - NON-ELECTRIC (74) (72) 0.969491	
24 DEFERRED GAINS FUTURE USE (28,307) (27,444) 0.969491	
25 INTEREST ACCRUED ON CUSTOMER DEPOSITS (5,297) (5,297) 1.000000	
26 INTEREST ACCRUED ON LONG - TERM DEBT (196,355) (190,364) 0.969491	
27 MISC CURR & ACC LIAB - JOBBING ACCOUNTS ADVANCED (26,443) (25,636) 0.969491	
28 MISC CURR & ACC LIAB - MISCELLANEOUS - FERC (400) 0 0.000000	
29 MISC CURR & ACC LIAB - OTHER (642,180) (622,587) 0.969491	
30 MISC CURR & ACC LIAB - POLE ATTACHMENT RENTALS (5,547) (5,547) 1.000000	
31 MISC CURR & ACC LIAB - POLE ATTCH RENT - PHONE (9,901) (9,901) 1.000000	
32 OTHER DEFD CREDITS - Deferred Transmission Credit (9,275) (8,371) 0.902537	
33 OTHER DEFD CREDITS - GULF LANDFILL/ASHPOND - ECRC (16,347) (15,583) 0.953303	
34 OTHER DEFD CREDITS - INCOME TAX PAYABLE - FIN48 (52,098) (50,509) 0.969491	
35 OTHER DEFD CREDITS - OTHER (173,829) (168,526) 0.969491	

FLORIDA PUBLIC SERVICE COMMISSION EXPLANATION: Provide a development of jurisdictional factors for rate base for the test year a					Type of Data Shown: _ Projected Test Year Ended: _/_/_
COM	PANY: FLORIDA POWER & LIGHT COMPANY	recent historical year.			_ Prior Year Ended: _/_/_
	AND SUBSIDIARIES (CONSOLIDATED)				Historical Test Year Ended: //
	,				X Proj. Subsequent Yr Ended: 12/31/23
DOC	KET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Tara B. DuBose, Liz Fuentes
	(1)	(2)	(3)	(4)	
Line No.	DESCRIPTION	TOTAL COMPANY (1)	FPSC JURISDICTIONAL	JURISDICTIONAL FACTOR	
1	OTHER NON CURRENT LIABILITY - ARO LIABILITY	(2,785,384)	(2,699,377)	0.969122	2
2	OTHER REG LIAB - ARO LIABILITY	(2,547,354)	(2,468,697)	0.969122	2
3	OTHER REG LIAB - BASE	(3)	(3)	1.000000	
4	OTHER REG LIAB - CONVERTIBLE ITC GROSS-UP	(66,689)	(63,575)	0.953303	3
5	OTHER REG LIAB - COST RECOVERY - ECRC	(6,186)	(5,897)	0.953303	3
6	OTHER REG LIAB - DEFERRED TAX CAPACITY - CEDAR BAY	(1,096)	(1,049)	0.957777	,
7	OTHER REG LIAB - DEFRD GAIN LAND SALES - PIS	(3,310)	(3,209)	0.969491	
8	OTHER REG LIAB - GAINS ON SALE EMISSION ALLOW	(0)	(0)	0.953303	3
9	OTHER REG LIAB - INTEREST INCOME - FIN 48	(798)	(774)	0.969491	
10	OTHER REG LIAB - NCRC AVOIDED AFUDC	(102,478)	Ó	0.000000	
11	OTHER REG LIAB - NUCLEAR COST RECOVERY	(241,631)	(241,631)	1.000000	
12	OTHER REG LIAB - OVERRECOVERED CAPACITY REVENUES	(15)	(15)	1.000000	
13	OTHER REG LIAB - OVERRECOVERED ECCR REVENUES	(1,182)	(1,182)	1.000000	
14	OTHER REG LIAB - OVERRECOVERED ENVIRONMENTAL REVENUES	(1,022)	(1,022)	1.000000	
15	OTHER REG LIAB - OVERRECOVERED FUEL REVENUES FERC	(143)	0	0.000000	
16	OTHER REG LIAB - OVERRECOVERED FUEL REVENUES FPSC	(1,587)	(1,587)	1.000000	
17	OTHER REG LIAB - OVERRECOVERED SPPC REVENUES	(5,606)	(5,606)	1.000000	
18	OTHER REG LIAB - SWAPC ECCR	(30,763)	(30,763)	1.000000	
19	OTHER REG LIAB - TAX AUDIT REFUND INTEREST	(295)	(286)	0.969491	
20	TAX COLLECTIONS PAYABLE	(105,275)	(102,063)	0.969491	
		, ,	, ,	0.965286	
21	TAXES ACCRUED - CITY & COUNTY REAL & PERSONAL PROPERTY	(305,847)	(295,230)		
22	TAXES ACCRUED - FEDERAL INCOME TAXES	(16,094)	(15,603)	0.969491	
23	TAXES ACCRUED - OTHER	(11,732)	(11,374)	0.969491	
24	TAXES ACCRUED - REVENUE TAXES	(105,490)	(105,490)	1.000000	
25	TAXES ACCRUED - STATE INCOME TAXES	(3,521)	(3,413)	0.969491	_
26 27	WORKING CAPITAL LIABILITIES	(8,894,409)	(8,390,120)	0.943303	3 _
28 29	TOTAL WORKING CAPITAL	(381,864)	(2,882,710)	7.549054	ī
30	TOTAL RATE BASE	63,034,592	60,834,436	0.965096	
31					
	NOTE:				
33	(1) RATE BASE IS PRESENTED IN THIS MFR ON A TOTAL SYSTEM BASIS (EX	CLUDING NON-UTILITY B	ALANCES) AND DOES I	NOT CONTAIN ANY	
34	COMMISSION OR COMPANY ADJUSTMENTS. HOWEVER, IN ORDER TO MAIN				
35	PROPOSED EQUITY RATIO ON A JURISDICTIONAL ADJUSTED BASIS, THE FO				
36	DIFFERENT BETWEEN THE "WITH" AND "WITHOUT" RSAM VERSIONS OF THE	S MFR.			
37	NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING.				

2023 SUBSEQUENT YEAR ADJUSTMENT FLORIDA PUBLIC SERVICE COMMISSION

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

Page 1 of 6

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23

(\$000 WHERE APPLICABLE)

EXPLANATION: Provide the depreciation rate and plant balances for each

account or sub-account to which a separate depreciation rate is

prescribed. (Include Amortization/Recovery Schedule amounts)

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Line No.	Account / Sub- account Number	MFR Line	Depreciation Rate (1)	Plant Balance Beg. of Year	Total Plant Added	Total Plant Retired	Adjustments or Transfers	Plant Balance End of Year	13-Month Average
1		INTANGIBLE PLANT	Mariana	2.040.605	245 400	0	0	0.004.450	2.440.040
2		Intangible Plant	Various		215,469	0		2,264,153	2,140,018
3		TOTAL INTANGIBLE PLANT		2,048,685	215,469	0	0	2,264,153	2,140,018
5		STEAM PRODUCTION							
6		Manatee Common	3.3	(593)	0	(792)	0	(1,385)	(1,235
7		Crist Common	4.0	403,577	6,779	(232)	0	410,124	407,097
11		Crist Unit 4	4.0	38,752	373	(317)	0	38,808	38,791
12		Crist Unit 5	4.0	44,279	419	(413)	0	44.286	44,283
13		Crist Unit 6	4.0	244,136	13,278	(9,618)	0	247,796	243,431
14		Crist Unit 7	4.0	290,997	3,624	(164)	0	294,457	293,199
15		Daniel Common	3.0	385,927	11,665	(840)	0	396,752	391,703
16		Daniel Unit 1	3.0	198,124	0	(1,159)	0	196,965	197,544
17		Daniel Unit 2	3.0	153,164	0	(647)	0	152,518	152,841
18		Scherer Common	2.2	102,069	5,146	(123)	0	107,093	104,717
19		Scherer Unit 3	2.2	304,053	0	(1,458)	0	302,595	303,324
20		Other Steam Production	3.5	14,362	2,437	(18)	0	16,781	15,432
21 22		TOTAL STEAM PRODUCTION		2,178,847	43,722	(15,780)	0	2,206,789	2,191,126
23		NUCLEAR PRODUCTION							
24		St Lucie Common	2.4	618,667	38,989	(5,811)	0	651,845	628,939
25		St Lucie Unit 1	3.9	1,768,579	57,340	(16,229)	0	1,809,690	1,790,652
26		St Lucie Unit 2	2.8	2,036,452	68,015	(11,670)	0	2,092,797	2,065,842
27		Turkey Point U3/U4 Common	3.7	860,150	103,801	(9,633)	0	954,318	901,260
28		Turkey Point Unit 3	5.4	1,821,356	25,316	(24,179)	0	1,822,493	1,822,111
29		Turkey Point Unit 4	4.7	1,653,637	31,027	(12,501)	0	1,672,162	1,659,602
30 31		TOTAL NUCLEAR PRODUCTION		8,758,841	324,487	(80,023)	0	9,003,305	8,868,405
32		OTHER PRODUCTION							
33		Riviera Beach Energy Center	3.4	1,003,680	4,400	(3,038)	0	1,005,042	1,004,589
34		Dania Beach Energy Center	3.5	846,850	352	0	0	847,202	847,057
35		Sanford Common	2.8	177,042	3,508	(871)	0	179,679	178,828
36		Sanford Unit 4	5.3	568,759	30,229	(28,242)	16,414	587,161	575,138

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: Provide the depreciation rate and plant balances for each account or sub-account to which a separate depreciation rate is

prescribed. (Include Amortization/Recovery Schedule amounts)

(\$000 WHERE APPLICABLE)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/_

X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI

Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Line No.	Account / Sub account Number	MFR Line	Depreciation Rate (1)	Plant Balance Beg. of Year	Total Plant Added	Total Plant Retired	Adjustments or Transfers	Plant Balance End of Year	13-Month Average
1		Sanford Unit 5	5.2	569,872	32,326	(41,027)	6,746	567,918	570,594
2		Lauderdale Common	3.6	33,223	828	(446)	0	33,605	33,288
3		Ft Myers Common	3.2	50,760	4	(391)	0	50,373	50,557
4		Ft Myers Unit 2	4.8	1,082,816	37,268	(48,063)	0	1,072,021	1,080,191
5		Ft Myers Unit 3	4.1	129,930	161	(1,704)	0	128,387	129,125
6		Port Everglades Energy Center	3.6	1,178,177	12,908	(5,779)	6,002	1,191,308	1,185,776
7		Cape Canaveral	3.8	1,007,295	28,937	(2,957)	8,487	1,041,761	1,029,611
11		Martin Common	2.4	259,149	2,748	(1,407)	0	260,490	259,971
12		Martin Unit 3/4 Common	2.4	98,640	8,936	(598)	0	106,977	103,004
13		Martin Unit 3	5.0	269,703	512	(19,304)	9,668	260,578	260,481
14		Martin Unit 4	4.8	261,691	7,633	(7,833)	8,207	269,698	269,702
15		Martin Unit 8	4.8	729,678	13,013	(6,764)	6,746	742,672	740,255
16		Turkey Point Unit 5	4.2	720,302	64,483	(54,659)	0	730,126	728,555
17		Manatee Unit 3	4.4	877,595	16,971	(16,024)	12,590	891,133	884,712
18		West County Common	6.5	411,379	22,480	(847)	0	433,011	425,233
19		West County Unit 1	4.5	672,879	64,799	(28,226)	35,513	744,965	723,753
20		West County Unit 2	4.9	559,181	73,613	(19,438)	0	613,356	604,589
21		West County Unit 3	3.8	936,224	13,081	(64,160)	35,513	920,659	908,503
22		Okeechobee Clean Energy Center	3.5	1,194,772	33,505	(36,310)	31,334	1,223,301	1,218,819
23									
24		Lauderdale GTs	7.4	25,461	0	(49)	0	25,411	25,436
25		Ft Myers GTs	7.6	41,427	0	(90)	0	41,337	41,382
26		Lauderdale Peakers	2.9	402,408	784	(22)	0	403,170	402,872
27		Ft. Myers Peakers	2.9	158,910	2,396	` ó	0	161,305	160,566
28		·							
29		Manatee Solar	3.4	125,220	0	0	0	125,220	125,220
30		Martin Solar	2.9	428,963	2,031	(1,427)	0	429,568	429,283
31		Desoto Solar	3.4	148,349	891	(50)	0	149,191	148,839
32		Space Coast Solar	3.3	61,568	(0)	(1)	0	61,567	61,568
33		Babcock Ranch Solar	3.4	145,840	O O	Ó	0	145,840	145,840
34		Citrus Solar	3.4	134,218	0	0	0		134,218
35		Sabal Palm Solar	3.4	77,795	0	0	0	77,795	77,795
36		Magnolia Springs Solar	3.4	74,765	0	0	0	74,765	74,765

FLORIDA PUBLIC SERVICE COMMISSION

EXPLANATION: Provide the depreciation rate and plant balances for each
account or sub-account to which a separate depreciation rate is
prescribed. (Include Amortization/Recovery Schedule amounts)

AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: Provide the depreciation rate and plant balances for each
account or sub-account to which a separate depreciation rate is
prescribed. (Include Amortization/Recovery Schedule amounts)

Prior Year Ended: _/__
Historical Test Year Ended: _/__
X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Line No.	Account / Sub account Number	MFR Line	Depreciation Rate (1)	Plant Balance Beg. of Year	Total Plant Added	Total Plant Retired	Adjustments or Transfers	Plant Balance End of Year	13-Month Average
1	•	Hibiscus Solar	3.4	95,354	0	0	C	95,354	95,354
2		Egret Solar	3.4	72,843	0	0	C	72,843	72,843
3		Pelican Solar	3.4	73,384	0	0	C	73,384	73,384
4		Coral Farms Solar	3.4	88,012	0	0	C	88,012	88,012
5		Horizon Solar	3.4	88,786	0	0	C	88,786	88,786
6		Ibis Solar	3.4	91,465	0	0	C	, 01,100	91,465
7		Hammock Solar	3.4	93,627	0	0	C		93,627
11		Interstate Solar	3.4	89,824	0	0	C	, 00,02 1	89,824
12		Twin Lakes Solar	3.4	78,628	0	0	C	78,628	78,628
13		Krome Solar	3.4	82,732	0	0	C	82,732	82,732
14		Osprey Solar	3.4	88,391	0	0	C	88,391	88,391
15		Blue Cypress Solar	3.4	90,432	0	0	C	90,432	90,432
16		Loggerhead Solar	3.4	90,672	0	0	C	90,672	90,672
17		Barefoot Bay Solar	3.4	90,615	0	0	C	90,615	90,615
18		Indian River Solar	3.4	87,613	0	0	C	87,613	87,613
19		Echo River Solar	3.4	95,267	0	0	C	95,267	95,267
20									
21		Northern Preserve Solar	3.4	67,795	0	0	C	67,795	67,795
22		Sunshine Gateway Solar	3.4	89,404	0	0	C	89,404	89,404
23		Blue Heron Solar	3.4	79,432	0	0	C	79,432	79,432
24		Sweetbay Solar	3.4	70,041	0	0	C	70,041	70,041
25		Trailside Solar	3.4	72,999	0	0	C	72,999	72,999
26		Lakeside Solar	3.4	70,471	0	0	C	70,471	70,471
27		Cattle Ranch Solar	3.4	76,108	0	0	C	76,108	76,108
28		Okeechobee Solar	3.4	99,482	0	0	C	99,482	99,482
29		Southfork Solar	3.4	97,146	0	0	Ċ		97,146
30		Palm Bay Solar	3.4	82,997	0	0	Č	82,997	82,997
31		,		, , , , ,				,,,,,	,,,,,
32		Willow South Solar	3.4	74,442	0	0	C	74,442	74,442
33		Nassau Solar	3.4	75,837	0	0	Ċ		75,837
34		Union Springs Solar	3.4	73,563	Õ	0	Č		73,563
35		Orange Blossom	3.4	76,865	0	0	Ċ		76,865
36		Babcock Ranch Reserve Solar	3.4	79,203	0	0	Č		79,203
00			0.1	. 0,200	ŭ	ŭ			.0,200

FLORIDA PUBLIC SERVICE COMMISSION

EXPLANATION: Provide the depreciation rate and plant balances for each
account or sub-account to which a separate depreciation rate is
Projected Test Year Ended: __/_
Projected Test Year Ended: __/_
AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: Provide the depreciation rate and plant balances for each
account to which a separate depreciation rate is
Projected Test Year Ended: __/_
Prior Year Ended: __/_
Historical Test Year Ended: __/_
X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI

Witness: Scott R. Bores

(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Line No. Account / Subaccount Number	MFR Line	Depreciation Rate (1)	Plant Balance Beg. of Year	Total Plant Added	Total Plant Retired	Adjustments or Transfers	Plant Balance End of Year	13-Month Average
1	Discovery Solar Energy Center	3.4	85,378	0	0	0		85,378
2	Rodeo Solar	3.4	74,652	0	0	0	74,652	74,652
3	Fort Drum Solar	3.4	73,293	0	0	0	73,293	73,293
4	Grove Solar	3.4	83,958	0	0	0	83,958	83,958
5	Elder Branch Solar	3.4	92,280	0	0	0	92,280	92,280
6	Sundew Solar	3.4	91,135	0	0	0	91,135	91,135
7	Ghost Orchid Solar	3.4	88,924	0	0	0	88,924	88,924
11	Sawgrass Solar	3.4	87,310	0	0	0	87,310	87,310
12	Immokalee Solar	3.4	86,833	0	0	0	86,833	86,833
13	Everglades Solar	3.4	89,765	0	0	0	89,765	89,765
14	Whitetail Solar	3.4	84,988	0	0	0	84,988	84,988
15	Bluefield Solar	3.4	77,598	0	0	0	77,598	77,598
16	Cavendish Solar	3.4	81,523	0	0	0	81,523	81,523
17	Anhinga Solar	3.4	85,913	0	0	0	85,913	85,913
18	Blackwater Solar	3.4	83,999	0	0	0	83,999	83,999
19	Chipola Solar	3.4	88,237	0	0	0	88,237	88,237
20	Chautauqua Solar	3.4	85,332	0	0	0	85,332	85,332
21	First City Solar	3.4	84,309	0	0	0	84,309	84,309
22	Apalachee Solar	3.4	86,236	0	0	0	86,236	86,236
23	C&I Solar Partnership	3.4	14,374	0	0	0	14,374	14,374
24	Voluntary Solar Partnership	3.4	40,874	2,002	0	0	42,877	41,794
25	Future Large Scale Solar Projects	3.4	0	722,450	0	0	722,450	55,573
26								
27	Dania Beach Energy Storage	10.0	26,144	34	0	0	26,178	26,161
28	Manatee Energy Storage Center	10.0	306,619	0	0	0	306,619	306,619
29	Echo River Energy Storage Center	10.0	20,456	0	0	O	20,456	20,456
30	Sunshine Gateway Energy Storage Center	10.0	20,457	0	0	O	20,457	20,457
31	Okeechobee Hydrogen Pilot	10.0	0	67,080	0	0	67,080	5,160
32	Future Battery Storage	10.0	22,300	96	0	0	22,396	22,348
33	, , ,							
34	Pea Ridge Units 1, 2, & 3	11.5	11,733	0	(93)	Ö	11,641	11,687
35	Perdido LFG Units 1 & 2	7.3	5,210	0	(3)	Ö	5,206	5,208
36	Smith Unit 3	4.7	267,206	41,372	(2,385)	Ö		290,690
<u></u>				•	,		·	·

EXPLANATION: Provide the depreciation rate and plant balances for each

2023 SUBSEQUENT YEAR ADJUSTMENT

FLORIDA PUBLIC SERVICE COMMISSION

DOCKET NO.: 20210015-EI

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23

Page 5 of 6

(\$000 WHERE APPLICABLE)

account or sub-account to which a separate depreciation rate is

prescribed. (Include Amortization/Recovery Schedule amounts)

Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Line No.	Account / Sub account Number	MFR Line	Depreciation Rate (1)	Plant Balance Beg. of Year	Total Plant Added	Total Plant Retired	Adjustments or Transfers	Plant Balance End of Year	13-Month Average
1		Smith Unit A - Peaker	6.3	11,457	0	(0)	0	11,457	11,457
2		Smith Common	4.7	170,682	248	(32)	0	170,898	170,854
3		Crist CT	2.9	511,788	0	0	0	511,788	511,788
4		Blue Indigo Solar	2.9	88,890	0	0	0	88,890	88,890
5		Blue Springs Solar	2.9	92,456	0	0	0	92,456	92,456
6		Cotton Creek Solar	2.9	99,267	0	0	0	99,267	99,267
7									
11		Minor Other Production	4.1	107,335	23,846	(119)	(0)		119,021
12		TOTAL OTHER PRODUCTION		21,476,862	1,335,927	(392,358)	177,220	22,597,652	21,749,471
13									
14		TRANSMISSION							
15		Transmission	2.2	9,399,875	1,128,969	(95,738)	0	10,433,106	9,874,755
16	353.1	Transmission - GSU	2.6	454,417	12,068	(935)	0	465,550	454,969
17		Transmission - Gen Leads	2.0	193,802	0	(372)	0	193,429	193,616
18		Transmission - Radials Retail	2.0	72,835	0	(128)	0	72,708	72,772
19		North Florida Reliability Connection	3.2	516,543	0	0	0	516,543	516,543
20	353	Station Equipment	2.8	253,055	0	(2,122)	0	250,934	251,995
21		TOTAL TRANSMISSION		10,890,528	1,141,037	(99,295)	0	11,932,270	11,364,649
22									
23		DISTRIBUTION SUBSTATION							
24	361	Structures & Improvement	1.8	382,340	29,345	(477)	0	411,208	396,376
25	362	Station Equipment	2.0	3,301,789	373,385	(19,704)	0	3,655,471	3,473,460
26		Other Distribution Substation	1.9	17,834	2,240	0	0	20,074	19,336
27		TOTAL DISTRIBUTION SUBSTATION		3,701,964	404,970	(20,181)	0	4,086,752	3,889,172
28									
29		DISTRIBUTION LINE FACILITIES							
30	363	Storage Battery Equip	10.0	4,106	0	0	0	4,106	4,106
31	364	Poles, Towers & Fixtures	3.3	3,620,928	270,478	(10,912)	0	3,880,495	3,750,130
32	365	Overhead Conductors & Devices	2.6	4,274,540	307,124	(25,159)	0	4,556,505	4,414,594
33	366	Underground Conduit	1.6	2,454,408	111,373	(561)	0	2,565,221	2,509,549
34	367	UG Conductors & Devices	1.9	3,852,016	225,780	(19,896)	0	4,057,900	3,954,288
35	368	Line Transformers	3.0	3,556,539	210,334	(49,026)	0	3,717,847	3,636,372
36	369	Services	2.6	1,819,371	90,268	(4,420)	0	1,905,218	1,862,004

Schedule B-7 MONTHLY PLANT BALANCES TEST YEAR - 13 MONTHS Page 6 of 6

FLORIDA PUBLIC SERVICE COMMISSION

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: Provide the depreciation rate and plant balances for each account or sub-account to which a separate depreciation rate is

prescribed. (Include Amortization/Recovery Schedule amounts)

_ Projected Test Year Ended: _/_/_

Prior Year Ended: // Historical Test Year Ended: //

Type of Data Shown:

X Proj. Subsequent Yr Ended: 12/31/23

(\$000 WHERE APPLICABLE)

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)
Line Account / Substitute Account No. Number	MFR Line	Depreciation Rate (1)	Plant Balance Beg. of Year	Total Plant Added	Total Plant Retired	Adjustments or Transfers	Plant Balance End of Year	13-Month Average
1 370	Meters	4.2	192,543	7,545	(857)	0	199,230	195,853
2 370.1	AMI Meters	6.0	786,258	34,374	(10,919)	0	809,713	797,919
3 371	Installations On Customer Premises	3.3	117,339	6,670	(560)	0	123,450	120,381
4 373	Street Lighting & Signal Systems	2.6	811,972	69,706	(15,844)	0	865,834	838,634
5	Other Distribution Line	2.6	1,650,221	1,032,987	0	0	2,683,207	2,158,682
6	TOTAL DISTRIBUTION LINE		23,140,240	2,366,640	(138,155)	0	25,368,725	24,242,512
11	TOTAL DISTRIBUTION		26,842,204	2,771,610	(158,337)	0	29,455,477	28,131,684
12								
13 14	GENERAL PLANT - BUILDING	3.7	1,081,156	133,671	(12,755)	0	1,202,071	1,135,692
15 16	GENERAL PLANT - EQUIPMENT	6.7	1,163,496	234,972	(114,088)	0	1,284,380	1,208,305
17 18	GENERAL PLANT - TRANSPORTATION	6.4	610,323	43,559	(2,762)	0	651,119	629,170
19 20	TOTAL GENERAL PLANT		2,854,975	412,201	(129,606)	0	3,137,570	2,973,166
21	OTHER ITEMS							
22	Scherer Acquisition Adjustment		0	0	0	0	0	0
23	Vero Beach Acquisition Adjustment		110,640	0	0	0	110,640	110,640
24	Asset Retirement Obligation		430,880	0	0	0	430,880	430,880
25	Capital Leases		321,325	0	0	0	321,325	321,325
26	Avoided AFUDC - FERC Reclass		170,859	0	0	(999)	169,860	170,359
27 28	TOTAL OTHER ITEMS		1,033,704	0	0	(999)	1,032,704	1,033,204
29	TOTAL DEPRECIABLE PLANT BALANCE		76,084,646	6,244,453	(875,399)	176,221	81,629,921	78,451,723
30								
31	NON-DEPRECIABLE PROPERTY		1,373,553	357,211	(1)	0	1,730,762	1,532,534
32	Total None Assigned			0.004	(075 :-:)	186	00.000	70.004
33 34	TOTAL PLANT BALANCE		77,458,199	6,601,663	(875,401)	176,221	83,360,683	79,984,257
35 36	NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING							

⁽¹⁾ Depreciation rates shown are composite rates. The depreciation rates were approved by the Florida Public Service Commission (FPSC) in Docket Nos. 160021-EI/160062-EI, Order No. PSC-16-0560-AS-EI issued on December 15, 2016 (FPL) and Docket Nos. 160186-EI/160170-EI, Order No. PSC-17-0178-S-EI issued on May 16, 2017 (Guif). These rates were based on the comprehensive depreciation study each Company filed with the FPSC in accordance with Rule 25-6.0436, F.A.C.

(2) AMOUNTS INCLUDE NON-UTILITY BALANCES

EXPLANATION: Provide the monthly plant balances for each account

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

FLORIDA PUBLIC SERVICE COMMISSION

or sub-account to which an individual depreciation rate is applied.

These balances should be the ones used to compute the monthly depreciation expenses excluding any amortization/recovery schedules.

Type of Data Shown:

_ Projected Test Year Ended: _/_/_ _ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI (\$000) Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Month Plant Balance Dec-22	Month Plant Balance Jan-23	Month Plant Balance Feb-23	Month Plant Balance Mar-23	Month Plant Balance Apr-23	Month Plant Balance May-23	Month Plant Balance Jun-23	Month Plant Balance Jul-23	Month Plant Balance Aug-23	Month Plant Balance Sep-23	Month Plant Balance Oct-23	Month Plant Balance Nov-23	Month Plant Balance Dec-23	13-Month Average
1		INTANGIBLE PLANT														
2		Intangible Plant	2,048,685	2,075,583	2,090,278	2,106,551	2,116,256	2,123,169	2,134,786	2,153,004	2,163,320	2,170,601	2,180,929	2,192,916	2,264,153	2,140,018
3		TOTAL INTANGIBLE PLANT	2,048,685	2,075,583	2,090,278	2,106,551	2,116,256	2,123,169	2,134,786	2,153,004	2,163,320	2,170,601	2,180,929	2,192,916	2,264,153	2,140,018
4 5		STEAM PRODUCTION														
6		Manatee Common	(593)	(1,201)	(1,219)	(1,219)	(1,226)	(1,226)	(1,312)	(1,312)	(1,325)	(1,337)	(1,341)	(1,355)	(1,385)	(1,235)
7		Crist Common	403,577	404,310	404,984	405,584	406,121	406,702	407,263	407,779	408,271	408,723	409,175	409,646	410,124	407.097
11		Crist Unit 4	38,752	38.749	38,745	38,779	38,842	38.895	38,939	38,704	38,734	38,758	38,779	38,795	38,808	38,791
12		Crist Unit 5	44,279	44,245	44,211	44,218	44,260	44,289	44,309	44,319	44,323	44,321	44,313	44,302	44,286	44,283
13		Crist Unit 6	244,136	244,179	244,212	236,027	238,338	240,355	242,048	243,469	244,663	245,664	246,503	247,207	247,796	243,431
14		Crist Unit 7	290,997	291,562	292,035	292,475	292,886	293,228	293,514	293,753	293,951	294,116	294,252	294,365	294,457	293,199
15		Daniel Common	385,927	387,071	388,141	389,156	390,119	391,038	391,925	392,780	393,609	394,420	395,211	395,986	396,752	391,703
16		Daniel Unit 1	198,124	198,027	197,931	197,834	197,737	197,641	197,544	197,448	197,351	197,255	197,158	197,061	196,965	197,544
17		Daniel Unit 2	153,164	153,111	153,057	153,003	152,949	152,895	152,841	152,787	152,733	152,679	152,625	152,571	152,518	152,841
18		Scherer Common	102,069	102,578	103,060	103,520	103,961	104,387	104,799	105,201	105,593	105,977	106,354	106,726	107,093	104,717
19		Scherer Unit 3	304,053	303,931	303,810	303,688	303,567	303,445	303,324	303,202	303,081	302,959	302,838	302,716	302,595	303,324
20		Other Steam Production	14,362	14,461	14,601	14,764	14,945	15,141	15,350	15,570	15,799	16,036	16,279	16,528	16,781	15,432
21 22		TOTAL STEAM PRODUCTION	2,178,847	2,181,022	2,183,567	2,177,829	2,182,499	2,186,790	2,190,545	2,193,701	2,196,783	2,199,571	2,202,147	2,204,547	2,206,789	2,191,126
23		NUCLEAR PRODUCTION														
24		St Lucie Common	618.667	618,169	620.490	622.300	623.835	625,486	627.308	629.295	631,289	633,471	635.913	638,139	651.845	628.939
25		St Lucie Unit 1	1.768.579	1,772,342	1.776.700	1.780.938	1.784.819	1,788,356	1,791,730	1,795,094	1,798,234	1,801,130	1.803.982	1,806,876	1.809.690	1.790.652
26		St Lucie Unit 2	2,036,452	2,039,609	2,043,738	2,049,849	2,056,509	2,062,522	2,067,863	2,072,766	2,077,301	2,081,522	2,085,631	2,089,379	2,092,797	2,065,842
27		Turkey Point U3/U4 Common	860,150	864,527	870,427	875,889	882,248	886,946	904,414	910,460	917,017	923,288	929,888	936,807	954,318	901,260
28		Turkey Point Unit 3	1,821,356	1,821,045	1,820,809	1,820,755	1,821,410	1,822,024	1,822,496	1,822,830	1,823,040	1,823,140	1,823,098	1,822,953	1,822,493	1,822,111
29		Turkey Point Unit 4	1,653,637	1,654,226	1,654,831	1,655,856	1,656,849	1,657,835	1,658,807	1,659,765	1,660,714	1,661,756	1,663,418	1,664,970	1,672,162	1,659,602
30		TOTAL NUCLEAR PRODUCTION	8,758,841	8,769,919	8,786,995	8,805,587	8,825,670	8,843,168	8,872,619	8,890,210	8,907,596	8,924,307	8,941,930	8,959,124	9,003,305	8,868,405
31																
32	9	OTHER PRODUCTION														
33		Riviera Beach Energy Center	1,003,680	1,004,373	1,004,765	1,004,893	1,004,872	1,004,762	1,004,627	1,004,682	1,004,640	1,004,513	1,004,344	1,004,466	1,005,042	1,004,589
34		Dania Beach Energy Center	846,850	846,912	846,958	846,993	847,022	847,048	847,072	847,094	847,116	847,138	847,159	847,180	847,202	847,057
35		Sanford Common	177,042	177,287	177,678	178,081	178,492	178,902	179,232	179,520	179,680	179,757	179,719	179,700	179,679	178,828
36		Sanford Unit 4 Sanford Unit 5	568,759	577,080	566,991	569,011	572,339	578,059	570,056	571,093	578,379	578,663	578,782	580,421	587,161	575,138
37 38		Santord Unit 5 Lauderdale Common	569,872 33,223	569,405 33,145	569,030 33,109	568,645 33.078	565,374 33.047	566,869 33.013	567,506 32,970	568,636 33,298	569,801 33,474	570,951 33,565	584,347 33.605	579,372 33.615	567,918 33.605	570,594 33.288
38		Ft Myers Common	50,760	50,716	50,660	50.642	50,592	50,571	50.552	50,531	50,503	50,484	50,464	50,398	50,373	33,288 50,557
40		Ft Myers Unit 2	1,082,816	1,082,741	1,082,354	1,082,251	1,082,974	1,084,322	1,088,777	1,077,838	1,081,363	1,073,156	1,080,603	1,071,266	1,072,021	1.080.191
41		Ft Myers Unit 3	129.930	129,789	129.647	129.505	129.372	129,235	129.096	128.956	128.815	128,739	128.636	128.516	128.387	129.125
42		Port Everglades Energy Center	1,178,177	1,178,995	1,179,611	1,181,865	1,183,304	1,182,140	1,189,276	1,189,180	1,189,404	1,190,227	1,190,622	1,190,977	1,191,308	1,185,776
43		Cape Canaveral	1,007,295	1,020,288	1,022,871	1,024,256	1,025,276	1,025,704	1,027,398	1,032,111	1,036,621	1,039,238	1,040,683	1,041,444	1,041,761	1,029,611
44		Martin Common	259,149	259,692	259,996	260,133	260,171	260,150	260,096	260,009	259,925	259,834	259,739	260,243	260,490	259,971
45		Martin Unit 3/4 Common	98,640	98,594	98,546	100,400	101,461	102,058	102,386	104,459	105,646	106,318	106,689	106,884	106,977	103,004
46		Martin Unit 3	269,703	269,549	269,349	269,128	268,900	268,680	252,334	252,088	251,842	251,605	251,363	251,129	260,578	260,481

EXPLANATION: Provide the monthly plant balances for each account

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

FLORIDA PUBLIC SERVICE COMMISSION

or sub-account to which an individual depreciation rate is applied.

These balances should be the ones used to compute the monthly depreciation expenses excluding any amortization/recovery schedules.

Type of Data Shown:

- _ Projected Test Year Ended: _/_/_
- _ Prior Year Ended: _/_/_
- _ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI (\$000) Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Month Plant Balance Dec-22	Month Plant Balance Jan-23	Month Plant Balance Feb-23	Month Plant Balance Mar-23	Month Plant Balance Apr-23	Month Plant Balance May-23	Month Plant Balance Jun-23	Month Plant Balance Jul-23	Month Plant Balance Aug-23	Month Plant Balance Sep-23	Month Plant Balance Oct-23	Month Plant Balance Nov-23	Month Plant Balance Dec-23	13-Month Average
1		Martin Unit 4	261,691	261,323	269,149	270,737	271,566	271,928	271,995	271,869	271,647	272,225	272,398	269,900	269,698	269,702
2		Martin Unit 8	729,678	736,389	736,430	739,264	740,760	742,092	742,729	742,884	742,743	742,655	742,629	742,391	742,672	740,255
4		Turkey Point Unit 5	720,302	719,463	718,707	717.937	717.548	734.129	756.654	729.954	738,115	728,764	729,540	729,978	730.126	728.555
5		Manatee Unit 3	877,595	878,539	878,897	881,665	883,691	893,548	885,446	886,193	886,417	886,338	886,079	885,721	891,133	884,712
6		West County Common	411,379	413,441	414,573	421,331	425,307	427,619	428,983	429,818	430,317	430,576	430,775	430,898	433,011	425,233
7		West County Unit 1	672,879	662,257	685,437	699,310	716,129	738,367	740,831	750,998	751,601	751,805	751,776	742,439	744,965	723,753
8		West County Unit 2	559,181	577,885	588,639	604,582	614,697	620,433	623,616	610,512	611,339	611,659	611,685	612,076	613,356	604,589
9		West County Unit 3	936,224	936,962	937,220	937,197	937,011	936,730	877,205	876,836	876,448	876,049	879,276	882,719	920,659	908,503
10		Okeechobee Clean Energy Center	1,194,772	1,194,916	1,197,711	1,213,838	1,217,126	1,235,747	1,223,096	1,226,305	1,228,207	1,229,316	1,229,963	1,230,342	1,223,301	1,218,819
11																
12		Lauderdale GTs	25,461	25,456	25,452	25,448	25,444	25,440	25,436	25,432	25,428	25,424	25,419	25,415	25,411	25,436
13		Ft Myers GTs	41,427	41,420	41,412	41,405	41,397	41,390	41,382	41,375	41,367	41,360	41,352	41,345	41,337	41,382
14 15		Lauderdale Peakers Ft Myers Peakers	402,408 158,910	402,422 159,665	402,439 160,105	402,448 160,361	402,757 160,511	402,936 160,598	403,040 160,649	403,099 160,678	403,133 160,959	403,152 161,122	403,163 161,217	403,168 161,273	403,170 161,305	402,872 160,566
16		rt wyers reakers	130,910	139,003	100,103	100,301	100,511	100,390	100,049	100,076	100,939	101,122	101,217	101,273	101,303	100,500
17		Manatee Solar	125,220	125,220	125,220	125,220	125,220	125,220	125,220	125,220	125,220	125,220	125,220	125,220	125,220	125,220
18		Martin Solar	428,963	429,030	429,085	429,133	429,179	429,231	429,286	429,342	429,400	429,448	429,489	429,529	429,568	429,283
19		Desoto Solar	148,349	148,370	148,389	148,400	148,716	148,903	149,013	149,062	149,100	149,123	149,132	149,166	149,191	148,839
20		Space Coast Solar	61,568	61,568	61,568	61,568	61,568	61,568	61,568	61,567	61,567	61,567	61,567	61,567	61,567	61,568
21		Babcock Ranch Solar	145,840	145,840	145,840	145,840	145,840	145,840	145,840	145,840	145,840	145,840	145,840	145,840	145,840	145,840
22		Citrus Solar	134,218	134,218	134,218	134,218	134,218	134,218	134,218	134,218	134,218	134,218	134,218	134,218	134,218	134,218
23		Sabal Palm Solar	77,795	77,795	77,795	77,795	77,795	77,795	77,795	77,795	77,795	77,795	77,795	77,795	77,795	77,795
24		Magnolia Springs Solar	74,765	74,765	74,765	74,765	74,765	74,765	74,765	74,765	74,765	74,765	74,765	74,765	74,765	74,765
25		Hibiscus Solar	95,354	95,354	95,354	95,354	95,354	95,354	95,354	95,354	95,354	95,354	95,354	95,354	95,354	95,354
26 27		Egret Solar Pelican Solar	72,843	72,843	72,843	72,843	72,843	72,843 73,384	72,843 73,384	72,843 73,384	72,843	72,843	72,843	72,843	72,843 73.384	72,843 73.384
28		Coral Farms Solar	73,384 88,012	73,384 88,012												
29		Horizon Solar	88,786	88,786	88,786	88,786	88,786	88,786	88,786	88,786	88,786	88,786	88,786	88,786	88,786	88,786
30		Ibis Solar	91.465	91,465	91.465	91,465	91.465	91,465	91.465	91,465	91,465	91,465	91,465	91,465	91.465	91.465
31		Hammock Solar	93.627	93,627	93.627	93,627	93.627	93,627	93,627	93,627	93.627	93,627	93,627	93,627	93.627	93.627
32		Interstate Solar	89,824	89,824	89,824	89,824	89,824	89,824	89,824	89,824	89,824	89,824	89,824	89,824	89,824	89,824
33		Twin Lakes Solar	78.628	78,628	78,628	78,628	78,628	78,628	78.628	78.628	78,628	78,628	78,628	78,628	78,628	78,628
34		Krome Solar	82.732	82,732	82,732	82,732	82,732	82,732	82,732	82,732	82,732	82,732	82,732	82,732	82,732	82,732
35		Osprey Solar	88,391	88,391	88,391	88,391	88,391	88,391	88,391	88,391	88,391	88,391	88,391	88,391	88,391	88,391
36		Blue Cypress Solar	90,432	90,432	90,432	90,432	90,432	90,432	90,432	90,432	90,432	90,432	90,432	90,432	90,432	90,432
37		Loggerhead Solar	90,672	90,672	90,672	90,672	90,672	90,672	90,672	90,672	90,672	90,672	90,672	90,672	90,672	90,672

Supporting Schedules: B-7

EXPLANATION: Provide the monthly plant balances for each account

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

or sub-account to which an individual depreciation rate is applied. These balances should be the ones used to compute the monthly depreciation expenses excluding any amortization/recovery schedules.

Type of Data Shown:

- _ Projected Test Year Ended: _/_/_
- _ Prior Year Ended: _/_/_
- _ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI (\$000) Witness: Scott R. Bores

I I Account / Sub-account Title I Balance I Ba	13-Month Average 90,615 87,613
No. account Number Number Account Title Balance Dec-22 Jan-23 Feb-23 Mar-23 Balance Balance Balance Balance Balance Balance Balance Balance Jun-23 Jul-23 Sep-23 Oct-23 Sep-23 Oct-23 Nov-23 Dec-23 Jul-23 Jul-23 Jul-23 Jul-23 Jul-23 Jul-23 Jul-23 Jul-23 Sep-23 Oct-23 Nov-23 Dec-23 Jul-23 Sep-23 Oct-23 Nov-23 Dec-23 Jul-23 Sep-23 Oct-23 Nov-23 Dec-23 Jul-23 Jul-2	90,615 87,613
Number Dec-22 Jan-23 Feb-23 Mair-23 Apr-23 Jul-23 Jul-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	90,615 87,613
2 Indian River Solar 87,613 87	87,613
3 Echo River Solar 95,267 95,2	
4 Northern Preserve Solar 67,795 67,7	
6 Sunshine Gateway Solar 89,404 89,40	95,267
6 Sunshine Gateway Solar 89,404 89,40	07.705
7 Blue Heron Solar 79,432 79,4	67,795
8 Sweetbay Solar 70,041	89,404
9 Trailside Solar 72,999 72,99	79,432 70,041
10 Lakeside Solar 70,471 70,47	70,041
11 Cattle Ranch Solar 76,108 7	70,471
12 Okeechobee Solar 99,482 99,	76,108
13 Southfork Solar 97,146 97,1	99.482
14 Palm Bay Solar 82,997 82,997 82,997 82,997 82,997 82,997 82,997 82,997 82,997 82,997 82,997 82,997 82,997	97,146
	82,997
	74,442
16 Nassau Solar 75,837 75,837 75,837 75,837 75,837 75,837 75,837 75,837 75,837 75,837 75,837 75,837	75,837
17 Union Springs Solar 73,563 73,563 73,563 73,563 73,563 73,563 73,563 73,563 73,563 73,563 73,563 73,563	73,563
18 Orange Blossom 76,865 76,865 76,865 76,865 76,865 76,865 76,865 76,865 76,865 76,865 76,865 76,865	76,865
19 Babcock Ranch Reserve Solar 79,203 79,203 79,203 79,203 79,203 79,203 79,203 79,203 79,203 79,203 79,203 79,203 79,203	79,203
20 Discovery Solar Energy Center 85,378 85,378 85,378 85,378 85,378 85,378 85,378 85,378 85,378 85,378 85,378 85,378	85,378
21 Rodeo Solar 74,652 7	74,652
22 Fort Drum Solar 73,293 73,293 73,293 73,293 73,293 73,293 73,293 73,293 73,293 73,293 73,293 73,293 73,293	73,293
23 Grove Solar 83,958 83,958 83,958 83,958 83,958 83,958 83,958 83,958 83,958 83,958 83,958 83,958 83,958 83,958	83,958
24 Elder Branch Solar 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280 92,280	92,280
25 Sundew Solar 91,135 91,135 91,135 91,135 91,135 91,135 91,135 91,135 91,135 91,135 91,135 91,135 91,135	91,135
26 Ghost Orchid Solar 88,924 8	88,924
27 Sawgrass Solar 87,310 87,310 87,310 87,310 87,310 87,310 87,310 87,310 87,310 87,310 87,310 87,310 87,310	87,310
28 Immokalee Solar 86,833 86,833 86,833 86,833 86,833 86,833 86,833 86,833 86,833 86,833 86,833 86,833 86,833	86,833
29 Everglades Solar 89,765 89,765 89,765 89,765 89,765 89,765 89,765 89,765 89,765 89,765 89,765 89,765 89,765	89,765
30 Whitetail Solar 84,988 84,9	84,988 77.598
	81,523
32 Cavendish Solar 81,523 81,5	85,913
33 Anninga Solar 55,913	83,999
54 Dialculated Joilal 65,999 63,999 6	
30 Chiptia Solari 06,231 06,23	88 227
30 Chaulaulud Solar 50,332 63,	88,237 85,332
37 First City Sular 94,309 94,300 94,300 94,300 94,300 94,300 94,300 94,300 94,300 94,300 94,300 94,300 94,300 94,	85,332
00,200 00,200 00,200 00,200 00,200 00,200 00,200	

Supporting Schedules: B-7

EXPLANATION: Provide the monthly plant balances for each account

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

or sub-account to which an individual depreciation rate is applied.

These balances should be the ones used to compute the monthly depreciation expenses excluding any amortization/recovery schedules.

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI (\$000) Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Month Plant Balance Dec-22	Month Plant Balance Jan-23	Month Plant Balance Feb-23	Month Plant Balance Mar-23	Month Plant Balance Apr-23	Month Plant Balance May-23	Month Plant Balance Jun-23	Month Plant Balance Jul-23	Month Plant Balance Aug-23	Month Plant Balance Sep-23	Month Plant Balance Oct-23	Month Plant Balance Nov-23	Month Plant Balance Dec-23	13-Month Average
1		C&I Solar Partnership	14,374	14,374	14,374	14,374	14,374	14,374	14,374	14,374	14,374	14,374	14,374	14,374	14,374	14,374
2		Voluntary Solar Partnership	40,874	41,032	41,166	41,286	41,397	41,546	41,716	41,898	42,088	42,283	42,479	42,678	42,877	41,794
3		Future Large Scale Solar Projects	0	0	0	0	0	0	0	0	0	0	0	0	722,450	55,573
5		Dania Beach Energy Storage	26.144	26,147	26.149	26.152	26,155	26.158	26.161	26.164	26.167	26.169	26,172	26.175	26,178	26,161
6		Manatee Energy Storage Center	306.619	306.619	306.619	306,619	306.619	306.619	306.619	306.619	306.619	306.619	306.619	306.619	306.619	306.619
7		Echo River Energy Storage Center	20,456	20.456	20,456	20,456	20,456	20,456	20.456	20,456	20.456	20.456	20.456	20.456	20.456	20.456
8		Sunshine Gateway Energy Storage Center	20,457	20,457	20,457	20,457	20,457	20,457	20.457	20,457	20,457	20,457	20,457	20,457	20,457	20.457
9		Okeechobee Hydrogen Pilot	0		0	0			0	0	0				67,080	5,160
10		Future Battery Storage	22,300	22,308	22,315	22,324	22,331	22,340	22,348	22,356	22,364	22,372	22,380	22,388	22,396	22,348
11																
12		Pea Ridge Units 1 through 3	11,733	11,726	11,718	11,710	11,703	11,695	11,687	11,679	11,672	11,664	11,656	11,648	11,641	11,687
13		Perdido LFG Units 1 and 2	5,210	5,209	5,209	5,209	5,209	5,208	5,208	5,208	5,208	5,207	5,207	5,207	5,206	5,208
14		Smith Unit 3	267,206	266,542	267,017	278,734	287,265	292,484	296,905	300,004	302,241	303,802	304,907	305,669	306,193	290,690
15		Smith Unit A - Peaker	11,457	11,457	11,457	11,457	11,457	11,457	11,457	11,457	11,457	11,457	11,457	11,457	11,457	11,457
16 17		Smith Common Crist CT	170,682	170,756	170,806	170,841	170,864	170,879 511.788	170,889 511.788	170,895 511.788	170,898	170,900	170,900	170,899	170,898	170,854 511.788
18		Blue Indigo Solar	511,788 88.890	511,788 88.890	511,788 88,890	511,788 88,890	511,788 88,890	88,890	88,890	88.890	511,788 88.890	511,788 88,890	511,788 88,890	511,788 88,890	511,788 88,890	88,890
19		Blue Springs Solar	92.456	92.456	92,456	92,456	92.456	92,456	92.456	92.456	92.456	92.456	92.456	92.456	92,456	92,456
20		Cotton Creek Solar	99,267	99,267	99,267	99,267	99,267	99,267	99,267	99,267	99.267	99.267	99,267	99,267	99,267	99,267
21		Collon Creek Solai	33,201	33,201	33,207	33,201	33,201	33,201	33,201	33,201	33,201	33,201	33,201	33,201	33,201	33,207
22		Minor Other Production	107,335	109,087	110,917	112.841	114.824	116.895	118.983	120.953	123,001	125.048	127,114	129,206	131.062	119.021
23		TOTAL OTHER PRODUCTION	21,476,862	21.519.176	21.560.771	21.641.296	21.695.043	21.788.073	21.734.896	21.713.273	21.747.332	21.740.911	21.771.728	21.756.106	22.597.652	21,749,471
24																
25		TRANSMISSION														
26		Transmission	9,399,875	9,430,356	9,466,108	9,509,382	9,556,389	9,606,713	9,873,794	10,071,307	10,126,559	10,254,966	10,292,329	10,350,927	10,433,106	9,874,755
27		Transmission - GSU	454,417	454,372	454,321	454,263	454,202	454,137	454,069	453,999	453,928	453,855	453,781	453,706	465,550	454,969
28		Transmission - Gen Leads	193,802	193,771	193,740	193,709	193,678	193,647	193,616	193,585	193,554	193,523	193,491	193,460	193,429	193,616
29		Transmission - Radials Retail	72,835	72,825	72,814	72,804	72,793	72,782	72,772	72,761	72,750	72,740	72,729	72,718	72,708	72,772
30	050	North Florida Resiliency Connection	516,543	516,543	516,543	516,543	516,543	516,543	516,543	516,543	516,543	516,543	516,543	516,543	516,543	516,543
31	353	Station Equipment	253,055	252,879	252,702	252,525	252,348	252,171	251,995	251,818	251,641	251,464	251,287	251,110	250,934	251,995
32 33		TOTAL TRANSMISSION	10,890,528	10,920,745	10,956,228	10,999,226	11,045,953	11,095,993	11,362,787	11,560,012	11,614,974	11,743,090	11,780,161	11,838,465	11,932,270	11,364,649
34		DISTRIBUTION SUBSTATION														
35	361	Structures & Improvement	382,340	384,637	386,856	389,099	391,523	393,912	396,245	398,517	400.873	403,170	405,971	408,533	411,208	396,376
36	362	Station Equipment	3,301,789	3,329,769	3,356,363	3,383,941	3,413,788	3,443,297	3,472,143	3,499,883	3,529,086	3,555,985	3,590,849	3,622,614	3,655,471	3,473,460
37		Other Distribution Substation	17,834	18,345	18,724	19,008	19,226	19,404	19,546	19,661	19,758	19,853	19,935	20,007	20,074	19,336
			,501			,		,		,	,. 00	,	,		,	,

EXPLANATION: Provide the monthly plant balances for each account

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

FLORIDA PUBLIC SERVICE COMMISSION

or sub-account to which an individual depreciation rate is applied. These balances should be the ones used to compute the monthly depreciation expenses excluding any amortization/recovery schedules.

Type of Data Shown:

- _ Projected Test Year Ended: _/_/_
- _ Prior Year Ended: _/_/_
- _ Historical Test Year Ended: _/_/_

X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI (\$000) Witness: Scott R. Bores

No.			2.00.0 2.						(\$000)						***************************************		
Line Disch- Account / Sub-account Title Bulance Bulanc		(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
No.	Line			Month Plant				Month Plant		Month Plant		13-Month					
TOTAL DISTRIBUTION SUBSTATION 3,701,964 3,732,731 3,761,942 3,702,049 3,824,537 3,866,613 3,887,933 3,918,062 3,049,717 3,979,008 4,016,754 4,051,154 4,086,752 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0		account	Account / Sub-account Title														Average
Stronge Battery Equip	1	Harrison	TOTAL DISTRIBUTION SUBSTATION	3,701,964	3,732,751	3,761,942	3,792,049	3,824,537	3,856,613	3,887,933	3,918,062	3,949,717	3,979,008	4,016,754	4,051,154	4,086,752	3,889,172
Solidado Battery Equip 4,106 4,1			DISTRIBUTION LINE														
5 984 Poles, Towers & Fixtures	-	363		4.106	4.106	4.106	4.106	4.106	4.106	4.106	4.106	4.106	4.106	4.106	4.106	4.106	4,10
0. Overhead Conductors & Devices 4,274,540 4,298,616 4,319,496 4,342,676 4,486,616 4,4	5																3,750,130
8 367 U.G. Conductors & Devices 3,882,016 3,886,299 3,884,863 3,9172 3,918,355 3,936,117 3,971,203 3,991,204 4,006,743 4,041,263 4,041,263 4,071,904 1,041,105 1,041	6	365	Overhead Conductors & Devices		4,296,816												4,414,59
See Line Transformers 3,556,559 3,588,796 3,681,796 3,691,714 3,690,079 3,621,608 3,635,464 3,646,619 3,663,678 3,671,781 3,691,673 3,705,135 3,717,617 3,705,135 3,717,715 3,	7	366	Underground Conduit	2,454,408	2,463,333	2,472,320	2,481,463	2,490,648	2,499,891	2,509,255	2,518,675	2,528,195	2,537,617	2,546,947	2,556,163	2,565,221	2,509,54
10 399 Services 1819;371 1826;132 1833,033 1840,088 1847,194 1854,359 1861,682 1860,72 1876,547 1833,902 1891,149 1992,203 1993,171 1904,041 1992,203 1993,171 1904,041 1992,203 1904,073 1904,074 1992,203 1904,074	-																3,954,288
11 370 Melers 192.543 193.051 193.581 194.127 194.679 196.238 195.817 196.404 196.998 197.776 199.145 199.230 193.717 194.147 194.679 196.238 195.817 196.404 196.998 197.776 199.145 199.230 193.717 193.718 194.147 194.679 196.238 194.147 194.679 194.545 194.	-																3,636,372
12 370.1 AM Meters 786.258 788.146 790.035 791.968 790.907 795.863 797.845 799.840 801.864 803.867 805.867 805.867 805.763 805.713																	1,862,004
371 Installations On Customer Permises 117,339 117,1395 118,332																	195,853
State Stat																	797,919 120,381
Character Char																	838,634
TOTAL DISTRIBUTION LINE 23,140,240 23,315,213 23,491,140 23,671,496 23,857,603 24,045,931 24,235,890 24,423,995 24,614,862 24,805,002 24,997,149 25,185,410 25,368,725 24 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		3/3															2,158,682
TOTAL DISTRIBUTION 26,842,04 27,047,964 27,253,082 27,463,544 27,682,140 27,902,544 28,123,823 28,342,057 28,564,579 28,764,010 29,013,903 29,236,564 29,455,477 20,201 20	17			1			, ,		,		, ,-						24,242,512
Comparignment Comparignmen	19		TOTAL DISTRIBUTION	26,842,204	27,047,964	27,253,082	27,463,544	27,682,140	27,902,544	28,123,823	28,342,057	28,564,579	28,784,010	29,013,903	29,236,564	29,455,477	28,131,684
GENERAL PLANT - GUIPMENT 1,163,496 1,145,170 1,160,335 1,155,294 1,170,209 1,183,240 1,201,556 1,219,665 1,240,490 1,248,189 1,259,810 1,276,132 1,284,380 1,225 1	21	•	GENERAL PLANT - BUILDING	1,081,156	1,091,568	1,100,559	1,109,478	1,118,331	1,119,207	1,129,156	1,139,217	1,150,845	1,162,495	1,174,185	1,185,723	1,202,071	1,135,692
Section Content Cont	23		GENERAL PLANT - EQUIPMENT	1,163,496	1,145,170	1,160,335	1,155,294	1,170,209	1,183,240	1,201,556	1,219,665	1,240,490	1,248,189	1,259,810	1,276,132	1,284,380	1,208,305
TOTAL GENERAL PLANT 2,854,975 2,849,381 2,876,275 2,882,964 2,909,765 2,927,083 2,958,765 2,990,681 3,027,007 3,050,086 3,077,326 3,109,285 3,137,570 2,282,325 3,100,285 3,100,	25		GENERAL PLANT - TRANSPORTATION	610,323	612,643	615,382	618,192	621,225	624,637	628,053	631,799	635,671	639,402	643,331	647,430	651,119	629,170
OTHER ITEMS Vero Beach Acquisition Adjustment 110,640 110,	27		TOTAL GENERAL PLANT	2,854,975	2,849,381	2,876,275	2,882,964	2,909,765	2,927,083	2,958,765	2,990,681	3,027,007	3,050,086	3,077,326	3,109,285	3,137,570	2,973,166
Vero Beach Acquisition Adjustment 110,640			OTHER ITEMS														
Asset Retirement Obligation 430,880 43				110 640	110 640	110 640	110 640	110 640	110 640	110 640	110 640	110 640	110 640	110 640	110 640	110 640	110,640
Capital Leases 321,325																	430,880
Avoided AFUDC - FERC Reclass 170,859 170,775 170,692 170,609 170,525 170,442 170,359 170,776 170,192 170,109 170,026 169,943 169,860 170,745 170,445 1																	321,325
33 TOTAL DEPRECIABLE PLANT BALANCE 76,084,646 76,397,410 76,740,733 77,110,451 77,490,697 77,900,108 78,411,424 78,876,059 79,254,628 79,645,530 80,000,993 80,329,794 81,629,921 77,355 77,458,199 77,852,757 78,167,082 78,562,469 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,984 81,984,624 81,984,624 81,98																	170,359
34 TOTAL DEPRECIABLE PLANT BALANCE 76,084,646 76,397,410 76,740,739 77,110,451 77,490,697 77,900,108 78,411,424 78,876,059 79,254,628 79,645,530 80,000,993 80,329,794 81,629,921 77,900,108 78,411,424 78,876,059 79,254,628 79,645,530 80,000,993 80,329,794 81,629,921 77,900,108 78,411,424 78,876,059 79,254,628 79,645,530 80,000,993 80,329,794 81,629,921 77,900,108 78,411,424 78,876,059 79,254,628 79,645,530 80,000,993 80,329,794 81,629,921 77,900,108 78,411,424 78,876,059 79,254,628 79,645,530 80,000,993 80,329,794 81,629,921 77,900,108 79,900,108 78,411,424 78,876,059 79,254,628 79,645,530 80,000,993 80,329,794 81,629,921 77,900,108 79,900,10			TOTAL OTHER ITEMS	1,033,704	1,033,620	1,033,536	1,033,453	1,033,370	1,033,287	1,033,204	1,033,120	1,033,037	1,032,954	1,032,871	1,032,788	1,032,704	1,033,204
36 NON-DEPRECIABLE PROPERTY 1,373,553 1,405,347 1,426,349 1,452,018 1,482,220 1,503,911 1,529,983 1,555,223 1,579,760 1,604,054 1,627,939 1,651,828 1,730,762 7,7458,199 77,802,757 78,167,082 78,562,469 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 79,941,408 80,431,282 80,834,898 81,249,584 81,628,933 81,981,622 83,360,683 78,972,916 81,972,	34		TOTAL DEPRECIABLE PLANT BALANCE	76,084,646	76,397,410	76,740,733	77,110,451	77,490,697	77,900,108	78,411,424	78,876,059	79,254,628	79,645,530	80,000,993	80,329,794	81,629,921	78,451,723
38 TOTAL PLANT BALANCE 77,458,199 77,802,757 78,167,082 78,562,469 78,972,916 79,404,020 79,941,408 80,431,282 80,834,389 81,249,584 81,628,933 81,981,622 83,360,683 79,400 NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING.	36		NON-DEPRECIABLE PROPERTY	1,373,553	1,405,347	1,426,349	1,452,018	1,482,220	1,503,911	1,529,983	1,555,223	1,579,760	1,604,054	1,627,939	1,651,828	1,730,762	1,532,534
40 NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING.	38		TOTAL PLANT BALANCE	77,458,199	77,802,757	78,167,082	78,562,469	78,972,916	79,404,020	79,941,408	80,431,282	80,834,389	81,249,584	81,628,933	81,981,622	83,360,683	79,984,257
(1) AMOUNTS INCLUDE NON-UTILITY BALANCES			NOTE: TOTALS MAY NOT ADD DUE TO ROU	NDING.													
			(1) AMOUNTS INCLUDE NON-UTILITY BALAN	ICES													

Supporting Schedules: B-7

EXPLANATION: Provide the depreciation reserve

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED) balances for each account or sub-account to which an individual depreciation rate is applied. (Include Amortization/Recovery schedule amounts) (1) (\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/ _/_
X Proj. Subsequent Yr Ended: 12/31/2023

DOCKET NO.: 20210015-EI Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Accumulated Depreciation Beg. of Year	Total Depreciation Accrued	Retirements	Adjustments / Transfers	Accumulated Depreciation End of Year	13 Month Average
1		NGIBLE PLANT						
2		angible Plant	842,411	216,438	0	(54		948,817
3	Tot	al Intangible	842,411	216,438	0	(54) 1,058,795	948,817
4								
5	STE	AM PRODUCTION						
6		cherer Unit 4	(795,032)	0	0		0 (795,032)	(795,032)
7		lanatee Common	(654)	(184)	(792)		0 (1,630)	(1,384)
8	N	lanatee 1/2 Common	(33,604)	0	0	((33,604)	(33,604)
9	N	lanatee Unit 1	(94,852)	0	0	((94,852)	(94,852)
10	N	lanatee Unit 2	(103,000)	0	0	(0 (103,000)	(103,000)
11	N	lartin Common	(28,179)	(41)	0	((28,221)	(28,200)
12	N	lartin Unit 1	(169,652)	0	0	((169,652)	(169,652)
13	M	lartin Unit 2	(163,748)	0	0	((163,748)	(163,748)
14	S	JRPP Unit 1/2	(139,408)	13,882	0	((125,526)	(132,467)
15	C	rist Common	(70,713)	17,245	(232)	(1,384) (55,084)	(62,889)
16	C	rist Unit 4	21,251	1,552	(317)	(248) 22,237	21,697
17	C	rist Unit 5	18,218	1,771	(413)	(280) 19,297	18,692
18	C	rist Unit 6	(25,425)	9,729	(9,618)	(8,674) (33,988)	(34,233)
19	C	rist Unit 7	10,391	11,730	(164)	(293) 21,662	15,948
20	D	aniel Common	106,789	12,016	(840)	(2,020) 115,946	111,345
21	D	aniel Unit 1	87,314	5,954	(1,159)		92,110	89,715
22	D	aniel Unit 2	78,180	4,609	(647)	(82,143	80,163
23	S	cherer Common	31,214	2,595	(123)	(223) 33,463	32,330
24	S	cherer Unit 3	138,129	6,770	(1,458)	` (140,787
25	S	urplus Flowback	(71,375)	0	Ó	((71,375)	(71,375)
26	C	other Steam Production	(27,328)	1,902	(18)	(304		(26,576)
27	Tot	al Steam Generation	(1,231,482)	89,529	(15,780)	(13,427) (1,171,161)	(1,206,333)
28			(,,,,,		(-,,	V - 7	,	(, , ,
29	NUC	LEAR PRODUCTION						
30	S	t Lucie Common	314,980	19,876	(5,811)	(4,486	324,560	318,247
31		t Lucie Unit 1	806,155	69,672	(16,229)	(3,872		830,794
32		t Lucie Unit 2	895.033	58,424	(11,670)	(6,876		913.519
33		urkey Point U3/U4 Common	403,638	35,891	(9,633)	(1,670		414,889
34		urkey Point Unit 3	763,586	98,334	(24,179)	(4,653		797,514
35		urkey Point Unit 4	782,264	77,398	(12,501)	(1,453	,	813,944
36		urplus Flowback	136,261	0	(12,001)		136,261	136,261
37		OTAL NUCLEAR PRODUCTION	4,101,916	359,594	(80,023)	(23,009		4,225,167

EXPLANATION: Provide the depreciation reserve

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

balances for each account or sub-account to which an individual depreciation rate is applied. (Include Amortization/Recovery schedule amounts) (1) (\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/ _/_
X Proj. Subsequent Yr Ended: 12/31/2023

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Accumulated Depreciation Beg. of Year	Total Depreciation Accrued	Retirements	Adjustments / Transfers	Accumulated Depreciation End of Year	13 Month Average
1	<u>(</u>	OTHER GENERATION						
2		Riviera Beach Energy Center	109,411	35,061	(3,038)	(336)	141,097	125,260
3		Dania Beach Energy Center	23,372	31,850	0	(25)	55,197	39,284
4		Sanford Common	57,578	8,698	(871)	(302)	65,102	61,246
5		Sanford Unit 4	137,285	30,166	(28,242)	11,971	151,179	142,137
6		Sanford Unit 5	144,329	31,333	(41,027)	17,011	151,647	150,542
7		Lauderdale Common	(24,868)	878	(446)	(85)	(24,521)	(24,714)
8		Lauderdale Unit 4	(146,344)	0	0	0	(146,344)	(146,344)
9		Lauderdale Unit 5	(127,689)	0	0	0	(127,689)	(127,689)
10		Ft Myers Common	7,713	1,495	(391)	0	8,817	8,257
11		Ft Myers Unit 2	229,705	51,851	(48,063)	18,912	252,405	244,020
12		Ft Myers Unit 3	6,075	5,139	(1,704)	(18)	9,492	7,790
13		Port Everglades Energy Center	127,569	42,503	(4,874)	(1,152)	164,045	145,300
14		Cape Canaveral	100,306	38,046	(2,957)	(2,343)	133,051	116,377
15								
16		Martin Common	155,132	6,570	(1,407)	(229)	160,067	157,581
17		Martin Unit 3/4 Common	63,106	2,480	(598)	(903)	64,086	63,473
18		Martin Unit 3	100,695	12,217	(19,304)	9,630	103,238	101,872
19		Martin Unit 4	112,308	12,429	(7,833)	684	117,589	115,146
20		Martin Unit 8	161,912	35,155	(6,764)	(2,923)	187,381	175,102
21		Turkey Point Unit 5	131,541	31,950	(54,659)	20,539	129,371	131,361
22		Manatee Unit 3	195,401	37,842	(16,018)	4,503	221,728	208,117
23		Putnam	(41,242)	10,310	0	0	(30,931)	(36,086)
24		West County Common	65,219	23,250	(847)	(1,987)	85,634	75,027
25		West County Unit 1	104,755	36,530	(28,226)	8,649	121,708	109,947
26		West County Unit 2	44,612	29,301	(19,438)	5,895	60,370	52,138
27		West County Unit 3	141,181	34,866	(64,160)	34,100	145,987	143,674
28		Okeechobee Clean Energy Center	103,930	41,833	(36,310)	18,478	127,932	117,953
29								
30		Lauderdale GTs	19,271	3,393	(49)	0	22,615	20,943
31		Ft Myers GTs	16,873	4,073	(90)	0	20,856	18,865
32		Lauderdale Peakers	59,694	11,755	(22)	(74)	71,352	65,506
33		Ft Myers Peakers	21,410	4,744	0	(223)	25,931	23,605

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

FLORIDA PUBLIC SERVICE COMMISSION EXPLANATION: Provide the depreciation reserve

balances for each account or sub-account to which an individual depreciation rate is applied. (Include Amortization/Recovery schedule amounts) (1)

(\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/ _/_
X Proj. Subsequent Yr Ended: 12/31/2023

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Accumulated Depreciation Beg. of Year	Total Depreciation Accrued	Retirements	Adjustments / Transfers	Accumulated Depreciation End of Year	13 Month Average
1		Manatee Solar	25,555	4,236	0	C	29,792	27,674
2		Martin Solar	140,707	12,401	(1,427)	(193)) 151,488	146,095
3		Desoto Solar	64,870	5,103	(50)	(84)	69,840	67,342
4		Space Coast Solar	25,913	2,050	(1)	C	27,963	26,938
5		Babcock Ranch Solar	33,308	5,980	0	C	39,288	36,298
6		Citrus Solar	29,143	4,986	0	C	34,128	31,635
7		Sabal Palm Solar	4,473	2,622	0	C	7,095	5,784
8		Magnolia Springs Solar	4,863	2,520	0	C	7,382	6,123
9		Hibiscus Solar	8,689	3,213	0	C	11,903	10,296
10		Egret Solar	5,012	2,455	0	C	7,467	6,239
11		Pelican Solar	4,425	2,473	0	C	6,898	5,662
12		Coral Farms Solar	14,904	2,969	0	C	17,874	16,389
13		Horizon Solar	15,044	2,995	0	C	18,039	16,542
14		Ibis Solar	9,639	3,082	0	C	12,722	11,180
15		Hammock Solar	15,385	3,172	0	C	18,557	16,971
16		Interstate Solar	18,654	3,029	0	C	21,683	20,168
17		Twin Lakes Solar	7,941	2,676	0	C	10,617	9,279
18		Krome Solar	8,721	2,791	0	C	11,512	10,117
19		Osprey Solar	14,975	2,983	0	C	17,958	16,467
20		Blue Cypress Solar	14,835	3,053	0	C	17,888	16,362
21		Loggerhead Solar	15,027	3,058	0	C	18,085	16,556
22		Barefoot Bay solar	14,853	3,056	0	C	17,909	16,381
23		Indian River Solar	14,834	2,955	0	C	17,789	16,311
24		Echo River Solar	8,681	3,210	0	C	11,891	10,286
25		Northern Preserve Solar	6,838	2,302	0	C	9,140	7,989
26		Sunshine Gateway Solar	9,434	3,015	0	C	12,449	10,941
27		Blue Heron Solar	7,997	2,694	0	C	10,691	9,344
28		Sweetbay Solar	7,062	2,378	0	C	9,440	8,251
29		Trailside Solar	5,028	2,462	0	C	7,489	6,258
30		Lakeside Solar	4,849	2,375	0	C	7,224	6,036
31		Cattle Ranch Solar	7,490	2,591	0	C	10,080	8,785
32		Okeechobee Solar	9,051	3,353	0	C	12,403	10,727
33		Southfork Solar	8,853	3,274	0	C	12,127	10,490
34		Palm Bay Solar	4,776	2,797	0	C		6,174

EXPLANATION: Provide the depreciation reserve

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

balances for each account or sub-account to which an individual depreciation rate is applied. (Include Amortization/Recovery schedule amounts) (1) (\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/
X Proj. Subsequent Yr Ended: 12/31/2023

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Accumulated Depreciation Beg. of Year	Total Depreciation Accrued	Retirements	Adjustments / Transfers	Accumulated Depreciation End of Year	13 Month Average
1		Willow South Solar	4,072	2,509	0	(6,580	5,326
2		Nassau Solar	5,218	2,556	0	(7,774	6,496
3		Union Springs Solar	5,061	2,479	0	(7,541	6,301
4		Orange Blossom	3,989	2,590	0	(6,579	5,284
5		Babcock Ranch Reserve Solar	7,933	2,686	0	(10,619	9,276
6		Discovery Solar Energy Center	4,672	2,877	0	(7,549	6,110
7		Rodeo Solar	4,497	2,516	0	(7,012	5,754
8		Fort Drum Solar	3,807	2,470	0	(6,277	5,042
9		Grove Solar	2,947	2,829	0	(5,777	4,362
10		Elder Branch Solar	3,239	3,110	0	(6,349	4,794
11		Sundew Solar	3,199	3,071	0	(6,270	4,735
12		Ghost Orchid Solar	3,122	2,997	0	(6,118	4,620
13		Sawgrass Solar	3,065	2,942	0	(6,007	4,536
14		Immokalee Solar	3,048	2,926	0	(5,974	4,511
15		Everglades Solar	126	3,025	0	(3,151	1,639
16		Whitetail Solar	119	2,864	0	(2,983	1,551
17		Bluefield Solar	109	2,615	0		2,724	1,416
18		Cavendish Solar	114	2,747	0	(2,862	1,488
19		Anhinga Solar	121	2,895	0		3,016	1,568
20		Blackwater Solar	118	2,831	0	(2,949	1,533
21		Chipola Solar	124	2,974	0		3,097	1,611
22		Chautauqua Solar	120	2,876	0		2,996	1,558
23		First City Solar	118	2,841	0		2,960	1,539
24		Apalachee Solar	121	2,906	0		3,027	1,574
25		C&I Solar Partnership	3,160	484	0		3,645	3,402
26		Voluntary Solar Partnership	4,885	1,408	0	(6,293	5,584
27		Dania Beach Energy Storage	6,167	2,616	0	(8,783	7,475
28		Manatee Energy Storage Center	30,662	30,662	0		61,324	45,993
29		Echo River Energy Storage Center	2,129	2,046	0		4,174	3,152
30		Sunshine Gateway Energy Storage Center	2,129	2,046	0	(4,175	3,152
31		Okeechobee Hydrogen Pilot	0		0		280	22
32		Future Battery Storage	3,018	2,171	0	(5,189	4,103
33								
34		Pea Ridge Units 1 through 3	16,414	1,344	(93)	(17,665	17,040
35		Perdido LFG Units 1 and 2	3,690	380	(3)	(4,067	3,879

EXPLANATION: Provide the depreciation reserve

balances for each account or sub-account to

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED) (Include Amortization/Recovery schedule amounts) (1)

(\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/
X Proj. Subsequent Yr Ended: 12/31/2023

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
Line No.	Account / Sub- account Number	Account / Sub-account Title	Accumulated Depreciation Beg. of Year	Total Depreciation Accrued	Retirements	Adjustments / Transfers	Accumulated Depreciation End of Year	13 Month Average
1		Smith Unit 3	(6,890)	13,698	(2,385)	(9,795)		(9,374)
2		Smith Unit A - Peaker	9,552	722	(0)	0	.,	9,912
3		Smith Common	58,058	8,048	(32)	0	,	62,065
4		Crist CT	20,240	14,856	0	0	,	27,668
5		Blue Indigo Solar	6,967	2,578	0	0	-,	8,256
6		Blue Springs Solar	2,793	2,681	0	0	-,	4,134
7		Cotton Creek Solar	2,999	2,879	0	0	5,877	4,438
8								
9		Surplus Flowback	188,169	0	0	0		188,169
10		Minor Other Production	15,817	9,609	(1,029)	(2,264)	22,133	18,457
11		TOTAL OTHER PRODUCTION	3,121,086	895,665	(392,358)	127,437	3,751,829	3,433,933
12								
13		TRANSMISSION						
14		Transmission	1,804,826	212,959	(95,739)	(98,992)	1,823,053	1,819,644
15	353	Station Equipment	63,727	6,993	(2,122)	0	68,598	66,167
16	353.1	Transmission - GSU	98,300	13,823	(935)	0	111,189	104,741
17		Transmission - Gen Leads	34,363	3,920	(372)	0	37,911	36,138
18		Transmission - Radials Retail	29,944	1,582	(128)	0	31,397	30,671
19		North Florida Resiliency Connection	8,966	16,582	0	0	25,548	17,257
20		Surplus Flowback	(298,476)	0	0	0	(298,476)	(298,476)
21		TOTAL TRANSMISSION	1,741,650	255,858	(99,295)	(98,992)	1,799,220	1,776,141
22								
23		DISTRIBUTION SUBSTATION						
24	361	Structures & Improvement	92,315	6,988	(477)	(198)	98,628	95,439
25	362	Station Equipment	751,185	70,125	(19,704)	(2,333)	799,273	774,715
26		Other Distribution Substation	442	487	0	0	929	682
27		TOTAL DISTRIBUTION SUBSTATION	843,942	77,599	(20,181)	(2,531)	898,829	870,836
28								
29		DISTRIBUTION LINE FACILITIES						
30	363	Storage Battery Equip	2,533	411	0	0	2,943	2,738
31	364	Poles, Towers & Fixtures	711,304	122,456	(10,912)	(32,770)	790,078	750,132
32	365	Overhead Conductors & Devices	755,649	114,676	(25,159)	(35,524)	809,642	782,124
33	366	Underground Conduit	526,968	36,329	(561)	(13,329)		538,092
34	367	UG Conductors & Devices	993,540	77,679	(19,896)	(26,193)	1,025,129	1,009,058
35	368	Line Transformers	1,176,953	110,194	(49,026)	(23,154)		1,195,579
36	369	Services	662,650	48,627	(4,420)	(10,326)		679,428
			·		,	, ,	•	

(5)

FLORIDA PUBLIC SERVICE COMMISSION

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

(2)

EXPLANATION: Provide the depreciation reserve

(3)

balances for each account or sub-account to which an individual depreciation rate is applied. (Include Amortization/Recovery schedule amounts) (1)

(4)

(\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

(7)

_ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: <u>12/31/2023</u>

(1)

Witness: Scott R. Bores

(6)

()	()	(-)	,	()	,	()	` '
Line Account / Sub- No. account Number	Account / Sub-account Title	Accumulated Depreciation Beg. of Year	Total Depreciation Accrued	Retirements	Adjustments / Transfers	cumulated Depreciation End of Year	13 Month Average
1 370	Meters	119,687	7,643	(857)	(808)	125,665	122,658
2 370.1	AMI Meters	342,020	48,114	(10,919)	(4,211)	375,004	358,415
3 371	Installations On Customer Premises	49,507	5,093	(560)	(817)	53,223	51,351
4 373	Street Lighting & Signal Systems	121,157	22,252	(15,844)	(7,699)	119,866	120,399
5	Other Distribution Line	38,377	56,689	0	0	95,066	64,634
6 7	TOTAL DISTRIBUTION LINE	5,500,345	650,162	(138,155)	(154,830)	5,857,522	5,674,608
8 9	DISTRIBUTION - Surplus Flowback	(577,485)	0	0	0	(577,485)	(577,485
10 11	TOTAL DISTRIBUTION	5,766,802	727,762	(158,337)	(157,361)	6,178,866	5,967,959
12 13	GENERAL PLANT - BUILDING	196,777	18,527	(12,755)	0	202,548	198,612
14 15	GENERAL PLANT - EQUIPMENT	496,442	164,691	(114,088)	(659)	546,386	507,359
16 17	GENERAL PLANT - TRANSPORTATION	294,598	42,589	(2,762)	2,798	337,223	315,884
18 19	GENERAL PLANT - Surplus Flowback	(25,954)	0	0	0	(25,954)	(25,954)
20 21	TOTAL GENERAL PLANT	961,862	225,806	(129,606)	2,139	1,060,202	995,901
22	OTHER ITEMS						
23	Scherer Acquisition Adjustment	(28,434)	0	0	0	(28,434)	(28,434)
24	Vero Beach Acquisition Adjustment	14,904	3,688	0	0	18,592	16,748
25	Capital Leases	142,324	269	0	0	142,593	142,458
26	Avoided AFUDC - FERC Reclass	61,575	7,201	0	0	68,776	65,180
27	Capital Recovery - FERC Reclass	725,144	(26,591)	0	0	698,553	711,849
28	Asset Retirement Obligation	98,354	10,271	0	0	108,625	103,494
29	Decommissioning Reserve - ARO Contra	(4,925,568)	0	0	0	(4,925,568)	(4,925,568
30	ITC Interest Synchronization	6,780	0	0	0	6,780	6,780
31	Surplus Flowback - FERC Reclass	1,857,535	0	0	0	1,857,535	1,857,535
32	Surplus Flowback - Dismantlement	146,014	0	0	0	146,014	146,014
33	Land Easements	86	0	0	0	86	86
34	Other	21,623	(7,018)	0	0	14,605	18,114
35 36	TOTAL OTHER ITEMS	(1,879,663)	, ,	0	0	(1,891,843)	(1,885,744)
37 38	TOTAL DEPRECIABLE RESERVE BALANCE	13,424,581	2,758,472	(875,399)	(163,267)	15,144,387	14,255,840
39 40	NON-DEPRECIABLE PROPERTY	(1,371)		(1)	(15)	(1,301)	(1,336)
41 42	NUCLEAR DECOMMISSIONING	5,753,732	215,914	0	0	5,969,645	5,861,052
43 44	FOSSIL DISMANTLEMENT	374,370	26,840	0	(22,619)	378,591	377,151
45 46	TOTAL PLANT RESERVE BALANCE	19,551,311	3,001,312	(875,401)	(185,900)	21,491,322	20,492,708
47 48	NOTES:						
49 50	Totals may not add due to rounding (1) AMOUNTS INCLUDE NON-UTILITY PROPERT	Y					

FLORIDA PUBLIC SERVICE COMMISSION COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: Provide the monthly reserve balances for each account

sub-account to which an individual depreciation rate is applied. (1)

(\$000)

Type of Data Shown:

- _ Projected Test Year Ended: _/ _/ _ Prior Year Ended: _/ _/
- _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: <u>12/31/2023</u>

												A Proj. Subsequ	uent Yr Ended: <u>1</u>	2/31/2023	
DOCKET NO.:	20210015-EI											Witness: Scott I	R. Bores		
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No. Accou	ount Account / Sub-account Number	Month Accum Depr Balance Dec-22	Month Accum Depr Balance Jan-23	Month Accum Depr Balance Feb-23	Month Accum Depr Balance Mar-23	Month Accum Depr Balance Apr-23	Month Accum Depr Balance May-23	Month Accum Depr Balance Jun-23	Month Accum Depr Balance Jul-23	Month Accum Depr BalanceAug-23	Month Accum Depr Balance Sep-23	Month Accum Depr Balance Oct-23	Month Accum Depr Balance Nov-23	Month Plant Balance Dec- 23	13-Month Average
1	INTANGIBLE PLANT	•	•	•				•	•			•	•	•	
2	Intangible Plant	842,411	859,481	876,815	894,346	912,041	929,839	947,754	965,853	984,128	1,002,513	1,021,007	1,039,640	1,058,795	948,817
3	Total Intangible	842,411	859,481	876,815	894,346	912,041	929,839	947,754	965,853	984,128	1,002,513	1,021,007	1,039,640	1,058,795	948,817
5	STEAM PRODUCTION														
6	Scherer Unit 4	(795,032)	(795,032)			(795,032)	(795,032)	(795,032)		(795,032)	(795,032)	(795,032)		(795,032)	(795,032
,	Manatee Common Manatee 1/2 Common	(654) (33,604)	(1,273) (33,604)		,	(1,342)	(1,357) (33,604)	(1,459)	,	(1,504) (33,604)	(1,532) (33,604)	(1,553) (33,604)		(1,630) (33,604)	(1,384 (33,604
9	Manatee Unit 1	(94,852)	(94,852)		(94,852)	(94,852)	(94,852)	(94,852)		(94,852)	(94,852)	(94,852)	,	(94,852)	(94,852
10	Manatee Unit 2	(103,000)	(103,000)		,	(103,000)	(103,000)	(103,000)	(103,000)	(103,000)	(103,000)	(103,000)	(103,000)	(103,000)	(103,000
11	Martin Common	(28,179)				(28,193)	(28,197)	(28,200)		(28,207)	(28,210)	(28,214)		(28,221)	(28,200
12	Martin Unit 1	(169,652)	(169,652)	,		(169,652)	(169,652)	(169,652)		(169,652)	(169,652)	(169,652)	,	(169,652)	(169,652
13	Martin Unit 2	(163,748)			(163,748)	(163,748)	(163,748)	(163,748)		(163,748)	(163,748)	(163,748)		(163,748)	(163,748
14	SJRPP Unit 1/2	(139,408)	(138,251)	(137,095)	(135,938)	(134,781)	(133,624)	(132,467)	(131,310)	(130,154)	(128,997)	(127,840)	(126,683)	(125,526)	(132,467
15	Crist Common	(70,713)	(69,423)	(68,130)	(66,753)	(65,375)	(64,261)	(62,960)	(61,594)	(60,290)	(58,921)	(57,664)	(56,390)	(55,084)	(62,889
16	Crist Unit 4	21,251	21,377	21,502	21,501	21,505	21,630	21,756	21,610	21,736	21,861	21,986	22,112	22,237	21,697
17	Crist Unit 5	18,218	18,331	18,444	18,416	18,390	18,504	18,617	18,730	18,844	18,957	19,070	19,184	19,297	18,692
18	Crist Unit 6	(25,425)	(24,626)		(36,615)	(40,121)	(39,592)	(38,804)		(37,212)	(36,410)	(35,605)		(33,988)	(34,233
19	Crist Unit 7	10,391	11,348	12,307	13,117	13,936	14,899	15,863	16,828	17,794	18,761	19,727	20,695	21,662	15,948
20	Daniel Common	106,789	107,542	108,297	109,047	109,808	110,570	111,328	112,095	112,864	113,628	114,401	115,176	115,946	111,345
21 22	Daniel Unit 1 Daniel Unit 2	87,314 78,180	87,715 78,511	88,116 78,842	88,516 79,173	88,917 79,503	89,317 79,834	89,716 80,164	90,116 80,494	90,515 80,824	90,914 81,154	91,313 81,484	91,711 81,813	92,110 82,143	89,715 80,163
23	Scherer Common	31,214	31,397	31,581	31,766	31,951	32,138	32,325	32,513	32,702	32,891	33,081	33,272	33,463	32,330
24	Scherer Unit 3	138,129	138,573	139,016	139.460	139,903	140,346	140,789	141,231	141.674	142.116	142.557	142.999	143.440	140,787
25	Surplus Flowback	(71,375)	(71,375)		,	(71,375)	(71,375)	(71,375)		(71,375)	(71,375)	(71,375)	,	(71,375)	(71,375
26	Other Steam Production	(27,328)	(27,206)		(27,022)	(26,883)	(26,743)	(26,603)	(26,462)	(26,321)	(26,179)	(26,036)	(25,892)	(25,748)	(26,576
27 28	Total Steam Generation	(1,231,482)	(1,225,430)		(1,226,104)	(1,224,044)	(1,217,799)	(1,211,197)	(1,204,700)	(1,197,997)	(1,191,230)	(1,184,553)	(1,177,863)	(1,171,161)	(1,206,333
20 29	NUCLEAR PRODUCTION														
30	St Lucie Common	314,980	313,022	314,057	314,614	315,246	316,537	317,732	318,936	320,118	321.427	322.548	323,435	324.560	318,247
31	St Lucie Unit 1	806.155	810.444	814.363	818.068	822.166	826.363	830.587	834.816	839.118	843,323	847.545	851.643	855.726	830.794
32	St Lucie Unit 2	895,033	898,289	900,970	901,718	905,215	908,833	912,517	916,221	919,932	923,642	927,341	931,121	934,910	913,519
33	Turkey Point U3/U4 Common	403,638	404,618	407,129	408,838	411,126	411,741	413,969	416,052	418,661	420,873	423,113	425,569	428,226	414,889
34	Turkey Point Unit 3	763,586	769,682	775,355	780,158	784,649	790,556	796,542	802,632	808,722	814,813	820,906	826,997	833,088	797,514
35	Turkey Point Unit 4	782,264	787,539	792,808	798,080	803,355	808,635	813,917	819,204	824,493	829,787	835,087	840,393	845,708	813,944
36	Surplus Flowback	136,261	136,261	136,261	136,261	136,261	136,261	136,261	136,261	136,261	136,261	136,261	136,261	136,261	136,261
37	TOTAL NUCLEAR PRODUCTION	4,101,916	4,119,854	4,140,943	4,157,736	4,178,018	4,198,925	4,221,525	4,244,121	4,267,306	4,290,124	4,312,800	4,335,418	4,358,479	4,225,167

FLORIDA PUBLIC SERVICE COMMISSION

EXPLANATION: Provide the monthly reserve balances for each account

sub-account to which an individual depreciation rate is applied. (1) (\$000)

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

Type of Data Shown:

- _ Projected Test Year Ended: _/_/_
- _ Prior Year Ended: _/_/_
- _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: <u>12/31/2023</u>

DOCK	ET NO.: 20210	0015-EI				Witness: Scott R. Bores										
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub-account Number	Account / Sub-account Number	Month Accum Depr Balance Dec-22	Month Accum Depr Balance Jan-23	Month Accum Depr Balance Feb-23	Month Accum Depr Balance Mar-23	Month Accum Depr Balance Apr-23	Month Accum Depr Balance May-23	Month Accum Depr Balance Jun-23	Month Accum Depr Balance Jul-23	Month Accum Depr BalanceAug-23	Month Accum Depr Balance Sep-23	Month Accum Depr Balance Oct-23	Month Accum Depr Balance Nov-23	Month Plant Balance Dec- 23	13-Month Average
1		OTHER GENERATION	•	•	•	•	•		•	•			•		•	
2		Riviera Beach Energy Center	109,411	111,893	114,573	117,253	119,937	122,622	125,334	127,904	130,586	133,265	135,948	138,556	141,097	125,260
3		Dania Beach Energy Center	23,372	26,024	28,676	31,327	33,979	36,631	39,283	41,936	44,588	47,240	49,892	52,545	55,197	39,284
4		Sanford Common	57,578	58,077	58,700	59,322	59,945	60,563	61,195	61,828	62,501	63,175	63,782	64,434	65,102	61,246
5		Sanford Unit 4	137,285	139,009	136,795	138,654	139,733	140,977	138,558	140,716	142,893	145,114	147,339	149,529	151,179	142,137
6		Sanford Unit 5	144,329	146,309	147,676	149,659	146,654	148,449	150,412	152,144	153,942	155,151	156,547	154,127	151,647	150,542
7		Lauderdale Common	(24,868)	(24,873)	(24,836)	(24,795)	(24,754)	(24,714)	(24,685)	(24,730)	(24,690)	(24,647)	(24,604)	(24,561)	(24,521)	(24,714
8		Lauderdale Unit 4	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344)	(146,344
9		Lauderdale Unit 5	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689)	(127,689
10		Ft Myers Common	7,713	7,793	7,863	7,968	8,043	8,147	8,252	8,356	8,452	8,557	8,661	8,720	8,817	8,257
11		Ft Myers Unit 2	229,705	233,168	236,642	240,005	243,212	246,391	248,932	245,871	249,006	247,635	250,244	249,045	252,405	244,020
12		Ft Myers Unit 3	6,075	6,363	6,651	6,939	7,224	7,511	7,797	8,083	8,368	8,638	8,923	9,207	9,492	7,790
13		Port Everglades Energy Center	127,569	130,884	134,202	137,104	140,431	140,671	143,973	147,314	150,658	154,002	157,349	160,696	164,045	145,300
14		Cape Canaveral	100,306	102,523	105,437	108,333	111,276	114,083	116,667	118,677	121,188	124,143	127,119	130,099	133,051	116,377
15																
16		Martin Common	155,132	155,415		156,278	156,716	157,154	157,593	158,019	158,459	158,900	159,340	159,634	160,067	157,581
17		Martin Unit 3/4 Common	63,106	63,254	63,402	63,101	63,253	63,408	63,563	63,269	63,430	63,593	63,757	63,921	64,086	63,473
18		Martin Unit 3	100,695	101,495	102,301	103,106	103,908	104,706	99,073	99,772	100,469	101,163	101,858	102,550	103,238	101,872
19		Martin Unit 4	112,308	112,838	113,368	113,482	114,054	114,634	115,222	115,814	116,402	116,789	117,384	117,007	117,589	115,146
20		Martin Unit 8	161,912	164,173	166,451	168,083	170,428	172,633	174,985	177,358	179,735	182,058	184,375	186,750	187,381	175,102
21		Turkey Point Unit 5	131,541	133,313	135,186	137,057	138,821	135,399	137,342	125,014	126,838	124,193	125,960	127,665	129,371	131,361
22		Manatee Unit 3	195,401	197,986	200,602	202,567	205,018	207,128	205,928	208,563	211,198	213,833	216,466	219,104	221,728	208,117
23		Putnam	(41,242)			(38,664)	(37,805)	(36,946)	(36,086)		(34,368)	(33,509)	(32,650)	(31,790)	(30,931)	(36,086
24		West County Common	65,219	66,897	68,546	68,943	70,851	72,714	74,639	76,530	78,471	80,387	82,291	84,233	85,634	75,027
25		West County Unit 1	104,755	101,283	98,676	100,988	103,470	106,068	108,856	111,653	114,542	117,433	120,325	119,557	121,708	109,947
26		West County Unit 2	44,612	46,525	48,497	48,196	50,049	52,169	54,308	50,550	52,593	54,638	56,685	58,605	60,370	52,138
27		West County Unit 3	141,181	143,874	146,568	149,263	151,959	154,653	133,713	135,988	138,262	140,535	141,951	143,829	145,987	143,674
28		Okeechobee Clean Energy Center	103,930	107,327	110,085	112,644	116,078	117,889	114,174	117,665	121,157	124,661	128,167	131,675	127,932	117,953
29																
30		Lauderdale GTs	19,271	19,550	19,829	20,107	20,386	20,665	20,943	21,222	21,500	21,779	22,058	22,336	22,615	20,943
31		Ft Myers GTs	16,873	17,205	17,537	17,869	18,202	18,534	18,866	19,197	19,529	19,861	20,193	20,525	20,856	18,865
32		Lauderdale Peakers	59,694	60,670	61,645	62,621	63,526	64,504	65,482	66,460	67,439	68,417	69,395	70,374	71,352	65,506
33		Ft Myers Peakers	21,410	21,641	22,035	22,429	22,824	23,219	23,615	24,010	24,344	24,740	25,137	25,534	25,931	23,605

FLORIDA PUBLIC SERVICE COMMISSION

EXPLANATION: Provide the monthly reserve balances for each account

sub-account to which an individual depreciation rate is applied. (1) (\$000)

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

Type of Data Shown:

_ Projected Test Year Ended: _/ _/ _ Prior Year Ended: _/ _/

_ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: <u>12/31/2023</u>

DOCK	ET NO.: 202100	015-EI											Witness: Scott F	R. Bores		
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub-account Number	Account / Sub-account Number	Month Accum Depr Balance Dec-22	Month Accum Depr Balance Jan-23	Month Accum Depr Balance Feb-23	Month Accum Depr Balance Mar-23	Month Accum Depr Balance Apr-23	Month Accum Depr Balance May-23	Month Accum Depr Balance Jun-23	Month Accum Depr Balance Jul-23	Month Accum Depr BalanceAug-23	Month Accum Depr Balance Sep-23	Month Accum Depr Balance Oct-23	Month Accum Depr Balance Nov-23	Month Plant Balance Dec- 23	13-Month Average
1		Manatee Solar	25,555	25,908	26,261	26,614	26,968	27,321	27,674	28,027	28,380	28,733	29,086	29,439	29,792	27,674
2		Martin Solar	140,707	141,603	142,502	143,402	144,300	145,197	146,094	146,991	147,889	148,789	149,687	150,587	151,488	146,095
3		Desoto Solar	64,870	65,281	65,704	66,128	66,479	66,903	67,329	67,738	68,163	68,589	69,011	69,416	69,840	67,342
4		Space Coast Solar	25,913	26,084	26,255	26,426	26,597	26,767	26,938	27,109	27,280	27,450	27,621	27,792	27,963	26,938
5		Babcock Ranch Solar	33,308	33,807	34,305	34,803	35,302	35,800	36,298	36,797	37,295	37,793	38,291	38,790	39,288	36,298
6		Citrus Solar	29,143	29,558	29,973	30,389	30,804	31,220	31,635	32,051	32,466	32,882	33,297	33,713	34,128	31,635
7		Sabal Palm Solar	4,473	4,692	4,910	5,129	5,347	5,565	5,784	6,002	6,221	6,439	6,658	6,876	7,095	5,784
8		Magnolia Springs Solar	4,863	5,073	5,283	5,493	5,703	5,913	6,123	6,332	6,542	6,752	6,962	7,172	7,382	6,123
9		Hibiscus Solar	8,689	8,957	9,225	9,493	9,760	10,028	10,296	10,564	10,832	11,099	11,367	11,635	11,903	10,296
10		Egret Solar	5,012	5,217	5,421	5,626	5,830	6,035	6,239	6,444	6,648	6,853	7,058	7,262	7,467	6,239
11		Pelican Solar	4,425	4,631	4,837	5,044	5,250	5,456	5,662	5,868	6,074	6,280	6,486	6,692	6,898	5,662
12		Coral Farms Solar	14,904	15,152	15,399	15,647	15,894	16,141	16,389	16,636	16,884	17,131	17,379	17,626	17,874	16,389
13		Horizon Solar	15,044	15,294	15,543	15,793	16,043	16,292	16,542	16,791	17,041	17,291	17,540	17,790	18,039	16,542
14		Ibis Solar	9,639	9,896	10,153	10,410	10,667	10,924	11,180	11,437	11,694	11,951	12,208	12,465	12,722	11,180
15		Hammock Solar	15,385	15,649	15,913	16,178	16,442	16,706	16,971	17,235	17,499	17,764	18,028	18,292	18,557	16,971
16		Interstate Solar	18,654	18,906	19,158	19,411	19,663	19,916	20,168	20,421	20,673	20,925	21,178	21,430	21,683	20,168
17		Twin Lakes Solar	7,941	8,164	8,387	8,610	8,833	9,056	9,279	9,502	9,725	9,948	10,171	10,394	10,617	9,279
18		Krome Solar	8,721	8,954	9,187	9,419	9,652	9,884	10,117	10,349	10,582	10,815	11,047	11,280	11,512	10,117
19		Osprey Solar	14,975	15,224	15,472	15,721	15,969	16,218	16,467	16,715	16,964	17,212	17,461	17,710	17,958	16,467
20		Blue Cypress Solar	14,835	15,090	15,344	15,598	15,853	16,107	16,362	16,616	16,871	17,125	17,379	17,634	17,888	16,362
21		Loggerhead Solar	15,027	15,281	15,536	15,791	16,046	16,301	16,556	16,811	17,066	17,320	17,575	17,830	18,085	16,556
22		Barefoot Bay solar	14,853	15,108	15,363	15,617	15,872	16,127	16,381	16,636	16,891	17,145	17,400	17,655	17,909	16,381
23		Indian River Solar	14,834	15,080	15,326	15,573	15,819	16,065	16,311	16,558	16,804	17,050	17,297	17,543	17,789	16,311
24		Echo River Solar	8,681	8,948	9,216	9,483	9,751	10,018	10,286	10,553	10,821	11,088	11,356	11,624	11,891	10,286
25		Northern Preserve Solar	6,838	7,030	7,222	7,414	7,605	7,797	7,989	8,181	8,373	8,565	8,756	8,948	9,140	7,989
26		Sunshine Gateway Solar	9,434	9,685	9,937	10,188	10,439	10,690	10,941	11,193	11,444	11,695	11,946	12,197	12,449	10,941
27		Blue Heron Solar	7,997	8,222	8,446	8,671	8,895	9,120	9,344	9,569	9,793	10,018	10,242	10,467	10,691	9,344
28		Sweetbay Solar	7,062	7,261	7,459	7,657	7,855	8,053	8,251	8,449	8,648	8,846	9,044	9,242	9,440	8,251
29		Trailside Solar	5,028	5,233	5,438	5,643	5,848	6,053	6,258	6,464	6,669	6,874	7,079	7,284	7,489	6,258
30		Lakeside Solar	4,849	5,047	5,245	5,442	5,640	5,838	6,036	6,234	6,432	6,630	6,828	7,026	7,224	6,036
31		Cattle Ranch Solar	7,490	7,706	7,921	8,137	8,353	8,569	8,785	9,001	9,217	9,433	9,649	9,864	10,080	8,785
32		Okeechobee Solar	9,051	9,330	9,610	9,889	10,168	10,448	10,727	11,007	11,286	11,565	11,845	12,124	12,403	10,727
33		Southfork Solar	8,853	9,126	9,399	9,671	9,944	10,217	10,490	10,763	11,036	11,308	11,581	11,854	12,127	10,490
34		Palm Bay Solar	4,776	5,009	5,242	5,475	5,708	5,941	6,174	6,407	6,640	6,873	7,106	7,339	7,573	6,174

FLORIDA PUBLIC SERVICE COMMISSION

EXPLANATION: Provide the monthly reserve balances for each account

sub-account to which an individual depreciation rate is applied. (1)

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED) (\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/ _/_
X Proj. Subsequent Yr Ended: 12/31/2023

DOCKET NO.: 20210015-EI Witness: Scott R. Bores

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub-account Number	Account / Sub-account Number	Month Accum Depr Balance Dec-22	Month Accum Depr Balance Jan-23	Month Accum Depr Balance Feb-23	Month Accum Depr Balance Mar-23	Month Accum Depr Balance Apr-23	Month Accum Depr Balance May-23	Month Accum Depr Balance Jun-23	Month Accum Depr Balance Jul-23	Month Accum Depr BalanceAug-23	Month Accum Depr Balance Sep-23	Month Accum Depr Balance Oct-23	Month Accum Depr Balance Nov-23	Month Plant Balance Dec- 23	13-Month Average
1		Willow South Solar	4,072	4,281	4,490	4,699	4,908	5,117	5,326	5,535	5,744	5,953	6,162	6,371	6,580	5,326
2		Nassau Solar	5,218	5,431	5,644	5,857	6,070	6,283	6,496	6,709	6,922	7,135	7,348	7,561	7,774	6,496
3		Union Springs Solar	5,061	5,268	5,475	5,681	5,888	6,094	6,301	6,508	6,714	6,921	7,127	7,334	7,541	6,301
4		Orange Blossom	3,989	4,205	4,421	4,637	4,852	5,068	5,284	5,500	5,716	5,932	6,148	6,363	6,579	5,284
5		Babcock Ranch Reserve Solar	7,933	8,156	8,380	8,604	8,828	9,052	9,276	9,500	9,724	9,947	10,171	10,395	10,619	9,276
6		Discovery Solar Energy Center	4,672	4,911	5,151	5,391	5,631	5,870	6,110	6,350	6,590	6,830	7,069	7,309	7,549	6,110
7		Rodeo Solar	4,497	4,706	4,916	5,125	5,335	5,545	5,754	5,964	6,174	6,383	6,593	6,803	7,012	5,754
8		Fort Drum Solar	3,807	4,012	4,218	4,424	4,630	4,836	5,042	5,247	5,453	5,659	5,865	6,071	6,277	5,042
9		Grove Solar	2,947	3,183	3,419	3,655	3,890	4,126	4,362	4,598	4,834	5,069	5,305	5,541	5,777	4,362
10		Elder Branch Solar	3,239	3,499	3,758	4,017	4,276	4,535	4,794	5,053	5,313	5,572	5,831	6,090	6,349	4,794
11		Sundew Solar	3,199	3,455	3,711	3,967	4,223	4,479	4,735	4,991	5,247	5,503	5,759	6,015	6,270	4,735
12		Ghost Orchid Solar	3,122	3,371	3,621	3,871	4,121	4,370	4,620	4,870	5,119	5,369	5,619	5,869	6,118	4,620
13		Sawgrass Solar	3,065	3,310	3,555	3,801	4,046	4,291	4,536	4,781	5,027	5,272	5,517	5,762	6,007	4,536
14		Immokalee Solar	3,048	3,292	3,536	3,780	4,024	4,267	4,511	4,755	4,999	5,243	5,487	5,731	5,974	4,511
15		Everglades Solar	126	378	630	882	1,134	1,386	1,639	1,891	2,143	2,395	2,647	2,899	3,151	1,639
16		Whitetail Solar	119	358	597	835	1,074	1,313	1,551	1,790	2,029	2,267	2,506	2,745	2,983	1,551
17		Bluefield Solar	109	327	545	763	981	1,199	1,416	1,634	1,852	2,070	2,288	2,506	2,724	1,416
18		Cavendish Solar	114	343	572	801	1,030	1,259	1,488	1,717	1,946	2,175	2,404	2,633	2,862	1,488
19		Anhinga Solar	121	362	603	844	1,086	1,327	1,568	1,810	2,051	2,292	2,533	2,775	3,016	1,568
20		Blackwater Solar	118	354	590	826	1,062	1,297	1,533	1,769	2,005	2,241	2,477	2,713	2,949	1,533
21		Chipola Solar	124	372	619	867	1,115	1,363	1,611	1,858	2,106	2,354	2,602	2,850	3,097	1,611
22		Chautauqua Solar	120	359	599	839	1,078	1,318	1,558	1,797	2,037	2,277	2,516	2,756	2,996	1,558
23		First City Solar	118	355	592	829	1,065	1,302	1,539	1,776	2,013	2,249	2,486	2,723	2,960	1,539
24		Apalachee Solar	121	363	605	848	1,090	1,332	1,574	1,816	2,059	2,301	2,543	2,785	3,027	1,574
25		C&I Solar Partnership	3,160	3,201	3,241	3,281	3,322	3,362	3,402	3,443	3,483	3,523	3,564	3,604	3,645	3,402
26		Voluntary Solar Partnership	4,885	5,000	5,115	5,231	5,347	5,464	5,581	5,698	5,816	5,934	6,053	6,173	6,293	5,584
27		Dania Beach Energy Storage	6,167	6,385	6,603	6,821	7,039	7,256	7,474	7,693	7,911	8,129	8,347	8,565	8,783	7,475
28		Manatee Energy Storage Center	30,662	33,217	35,772	38,327	40,883	43,438	45,993	48,548	51,103	53,658	56,214	58,769	61,324	45,993
29		Echo River Energy Storage Center	2,129	2,299	2,470	2,640	2,811	2,981	3,152	3,322	3,492	3,663	3,833	4,004	4,174	3,152
30		Sunshine Gateway Energy Storage Center	2,129	2,299	2,470	2,640	2,811	2,981	3,152	3,322	3,493	3,663	3,834	4,004	4,175	3,152
31		Okeechobee Hydrogen Pilot	0	0	0	0	0	0	0	0	0	0	0	0	280	22
32		Future Battery Storage	3,018	3,199	3,380	3,561	3,741	3,922	4,103	4,284	4,465	4,646	4,827	5,008	5,189	4,103
33		. 2														
34		Pea Ridge Units 1 through 3	16,414	16,518	16,623	16,728	16,832	16,936	17,041	17,145	17,249	17,353	17,457	17,561	17,665	17,040
35		Perdido LFG Units 1 and 2	3,690	3,722	3,753	3,785	3,816	3,847	3,879	3,910	3,942	3,973	4,005	4,036	4,067	3,879

FLORIDA PUBLIC SERVICE COMMISSION

EXPLANATION: Provide the monthly reserve balances for each account

sub-account to which an individual depreciation rate is applied. (1) (\$000)

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/ _/_
X Proj. Subsequent Yr Ended: 12/31/2023

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub-account Number	Account / Sub-account Number	Month Accum Depr Balance Dec-22	Month Accum Depr Balance Jan-23	Month Accum Depr Balance Feb-23	Month Accum Depr Balance Mar-23	Month Accum Depr Balance Apr-23	Month Accum Depr Balance May-23	Month Accum Depr Balance Jun-23	Month Accum Depr Balance Jul-23	Month Accum Depr BalanceAug-23	Month Accum Depr Balance Sep-23	Month Accum Depr Balance Oct-23	Month Accum Depr Balance Nov-23	Month Plant Balance Dec- 23	13-Month Average
1		Smith Unit 3	(6,890)	(6,950)	(6,129)	(13,885)	(13,104)	(13,224)	(12,179)	(11,065)	(9,985)	(8,839)	(7,700)	(6,537)	(5,371)	(9,374)
2		Smith Unit A - Peaker	9,552	9,612	9,672	9,732	9,792	9,852	9,912	9,972	10,032	10,093	10,153	10,213	10,273	9,912
3		Smith Common	58,058	58,725	59,393	60,060	60,728	61,396	62,064	62,733	63,401	64,069	64,737	65,405	66,073	62,065
4		Crist CT	20,240	21,478	22,716	23,954	25,192	26,430	27,668	28,906	30,144	31,382	32,620	33,858	35,096	27,668
5		Blue Indigo Solar	6,967	7,182	7,396	7,611	7,826	8,041	8,256	8,471	8,685	8,900	9,115	9,330	9,545	8,256
6		Blue Springs Solar	2,793	3,016	3,240	3,463	3,687	3,910	4,134	4,357	4,580	4,804	5,027	5,251	5,474	4,134
7		Cotton Creek Solar	2,999	3,239	3,478	3,718	3,958	4,198	4,438	4,678	4,918	5,158	5,398	5,638	5,877	4,438
8																
9		Surplus Flowback	188,169	188,169	188,169	188,169	188,169	188,169	188,169	188,169	188,169	188,169	188,169	188,169	188,169	188,169
10		Minor Other Production	15,817	16,306	16,799	17,214	17,732	18,234	18,753	18,423	18,580	19,471	19,969	20,512	22,133	18,457
11		TOTAL OTHER PRODUCTION	3,121,086	3,178,674	3,234,395	3,284,684	3,344,704	3,398,743	3,419,593	3,457,599	3,523,592	3,581,101	3,646,103	3,699,023	3,751,829	3,433,933
12																
13	Ī	<u>FRANSMISSION</u>														
14		Transmission	1,804,826	1,811,881	1,817,349	1,822,081	1,826,636	1,831,334	1,836,408	1,825,280	1,831,726	1,800,592	1,808,317	1,815,895	1,823,053	1,819,644
	353	Station Equipment	63,727	64,135	64,543	64,950	65,357	65,764	66,170	66,575	66,981	67,385	67,790	68,194	68,598	66,167
16	353.1	Transmission - GSU	98,300	99,374	100,447	101,521	102,594	103,668	104,741	105,814	106,886	107,959	109,031	110,104	111,189	104,741
17		Transmission - Gen Leads	34,363	34,659	34,955	35,251	35,547	35,842	36,138	36,434	36,729	37,025	37,320	37,616	37,911	36,138
18		Transmission - Radials Retail	29,944	30,065	30,186	30,307	30,429	30,550	30,671	30,792	30,913	31,034	31,155	31,276	31,397	30,671
19		North Florida Resiliency Connection	8,966	10,347	11,729	13,111	14,493	15,875	17,257	18,638	20,020	21,402	22,784	24,166	25,548	17,257
20		Surplus Flowback	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)	(298,476)
21 22		TOTAL TRANSMISSION	1,741,650	1,751,986	1,760,734	1,768,745	1,776,580	1,784,556	1,792,908	1,785,057	1,794,780	1,766,922	1,777,922	1,788,775	1,799,220	1,776,141
23	_	DISTRIBUTION SUBSTATION														
24		Structures & Improvement	92,315	92,828	93,342	93,858	94,375	94,896	95,419	95,944	96,475	97,009	97,539	98,082	98,628	95,439
25	362	Station Equipment	751,185	754,888	758,266	762,380	766,572	770,719	774,950	778,809	783,162	785,925	790,310	794,861	799,273	774,715
26		Other Distribution Substation	442	480	519	558	599	639	680	721	762	804	845	887	929	682
27		TOTAL DISTRIBUTION SUBSTATION	843,942	848,196	852,127	856,796	861,546	866,254	871,049	875,473	880,400	883,738	888,694	893,830	898,829	870,836
28																
29	_	DISTRIBUTION LINE FACILITIES														
30	363	Storage Battery Equip	2,533	2,567	2,601	2,635	2,670	2,704	2,738	2,772	2,806	2,841	2,875	2,909	2,943	2,738
31	364	Poles, Towers & Fixtures	711,304	717,774	724,299	730,523	736,719	743,077	749,677	756,419	763,001	769,641	776,150	783,053	790,078	750,132
	365	Overhead Conductors & Devices	755,649	760,115	764,627	768,825	772,985	777,284	781,742	786,334	790,757	795,314	799,753	804,586	809,642	782,124
33		Underground Conduit	526,968	528,867	530,777	532,555	534,309	536,115	537,998	539,925	541,775	543,645	545,453	547,406	549,407	538,092
34	367	UG Conductors & Devices	993,540	996,200	998,885	1,001,327	1,003,733	1,006,232	1,008,843	1,011,544	1,014,109	1,016,760	1,019,312	1,022,145	1,025,129	1,009,058
		Line Transformers	1,176,953	1,180,099	1,183,274	1,186,261	1,189,229	1,192,268	1,195,344	1,198,505	1,201,566	1,204,779	1,207,940	1,211,343	1,214,967	1,195,579
36	369	Services	662,650	665,460	668,284	671,019	673,744	676,509	679,313	682,157	684,954	687,797	690,608	693,533	696,531	679,428

EXPLANATION: Provide the monthly reserve balances for each account

sub-account to which an individual depreciation rate is applied. (1)

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

(\$000)

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/ _/_
X Proj. Subsequent Yr Ended: 12/31/2023

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	(16)
Line No.	Account / Sub-account Number	Account / Sub-account Number	Month Accum Depr Balance Dec-22	Month Accum Depr Balance Jan-23	Month Accum Depr Balance Feb-23	Month Accum Depr Balance Mar-23	Month Accum Depr Balance Apr-23	Month Accum Depr Balance May-23	Month Accum Depr Balance Jun-23	Month Accum Depr Balance Jul-23	Month Accum Depr BalanceAug-23	Month Accum Depr Balance Sep-23	Month Accum Depr Balance Oct-23	Month Accum Depr Balance Nov-23	Month Plant Balance Dec- 23	13-Month Average
1	370	Meters	119,687	120,182	120,679	121,170	121,661	122,154	122,647	123,144	123,638	124,139	124,639	125,147	125,665	122,658
2	370.1	AMI Meters	342,020	344,743	347,476	350,171	352,866	355,584	358,338	361,113	363,870	366,634	369,383	372,186	375,004	358,415
3	371	Installations On Customer Premises	49,507	49,814	50,123	50,424	50,724	51,029	51,340	51,654	51,965	52,276	52,584	52,902	53,223	51,351
4	373	Street Lighting & Signal Systems	121,157	121,049	120,949	120,785	120,613	120,464	120,328	120,219	120,076	119,980	119,866	119,831	119,866	120,399
5		Other Distribution Line	38,377	42,078	45,955	50,009	54,247	58,677	63,300	68,114	73,117	78,311	83,701	89,288	95,066	64,634
6		TOTAL DISTRIBUTION LINE	5,500,345	5,528,951	5,557,928	5,585,704	5,613,499	5,642,096	5,671,608	5,701,902	5,731,634	5,762,118	5,792,264	5,824,330	5,857,522	5,674,608
7 8		DISTRIBUTION - Surplus Flowback	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)	(577,485)
9 10 11		TOTAL DISTRIBUTION	5,766,802	5,799,661	5,832,569	5,865,015	5,897,559	5,930,865	5,965,172	5,999,890	6,034,548	6,068,371	6,103,472	6,140,674	6,178,866	5,967,959
12 13		GENERAL PLANT - BUILDING	196,777	198,023	199,281	200,552	201,773	193,946	195,131	196,330	197,542	198,770	200,013	201,271	202,548	198,612
14 15		GENERAL PLANT - EQUIPMENT	496,442	474,838	485,982	476,115	485,758	492,814	503,807	513,055	525,475	525,286	529,789	539,921	546,386	507,359
16 17		GENERAL PLANT - TRANSPORTATION	294,598	298,233	301,761	305,180	308,680	312,261	315,736	319,357	322,940	326,480	330,168	333,879	337,223	315,884
18 19		GENERAL PLANT - Surplus Flowback	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)	(25,954)
20 21		TOTAL GENERAL PLANT	961,862	945,139	961,070	955,892	970,256	973,066	988,720	1,002,788	1,020,003	1,024,582	1,034,017	1,049,118	1,060,202	995,901
22		OTHER ITEMS														
23		Scherer Acquisition Adjustment	(28,434)		,	(28,434)	(28,434)		(28,434)	,	(28,434)	(28,434)	(28,434)	,	(28,434)	(28,434)
24		Vero Beach Acquisition Adjustment	14,904	15,211	15,518	15,826	16,133	16,440	16,748	17,055	17,362	17,670	17,977	18,284	18,592	16,748
25		Capital Leases	142,324	142,346	142,368	142,391	142,413	142,436	142,458	142,481	142,503	142,526	142,548	142,570	142,593	142,458
26		Avoided AFUDC - FERC Reclass	61,575	62,177	62,779	63,381	63,982	64,582	65,183	65,782	66,382	66,981	67,580	68,178	68,776	65,180
27		Capital Recovery - FERC Reclass	725,144	722,928	720,712	718,497	716,281	714,065	711,849	709,633	707,417	705,201	702,985	700,769	698,553	711,849
28		Asset Retirement Obligation	98,354	99,211	100,069	100,926	101,783	102,641	103,498	104,355	105,209	106,063	106,917	107,771	108,625	103,494
29		Decommissioning Reserve - ARO Contra	(4,925,568)	(4,925,568)	(4,925,568)	(4,925,568)	(4,925,568)	(4,925,568)	(4,925,568)		(4,925,568)	(4,925,568)	(4,925,568)	(4,925,568)	(4,925,568)	(4,925,568)
30		ITC Interest Synchronization	6,780	6,780	6,780	6,780	6,780	6,780	6,780	6,780	6,780	6,780	6,780	6,780	6,780	6,780
31		Surplus Flowback - FERC Reclass	1,857,535 146,014	1,857,535 146,014	1,857,535	1,857,535 146,014	1,857,535 146,014	1,857,535 146,014	1,857,535	1,857,535	1,857,535	1,857,535	1,857,535	1,857,535 146,014	1,857,535 146,014	1,857,535 146,014
32		Surplus Flowback - Dismantlement Land Easements	146,014	146,014	146,014 86	146,014	140,014	146,014	146,014 86	146,014 86	146,014 86	146,014 86	146,014 86	146,014	146,014	146,014
33		Other	21,623	21,038	20,453	19,869	19,284	18,699	18,114	17,529	16,944	16,359	15,775	15,190	14,605	18,114
34		TOTAL OTHER ITEMS	(1,879,663)	(1,880,675)		(1,882,699)	(1,883,711)	(1,884,724)	(1,885,738)	(1,886,751)	(1,887,769)	(1,888,787)	(1,889,805)	(1,890,824)	(1,891,843)	(1,885,744)
35		TOTAL OTTLENTO	(1,070,000)	(1,000,010)	(1,001,000)	(1,002,000)	(1,000,711)	(1,004,724)	(1,000,700)	(1,000,701)	(1,007,700)	(1,000,707)	(1,000,000)	(1,000,024)	(1,001,040)	(1,000,744)
36 37		TOTAL DEPRECIABLE RESERVE BALANCE	13,424,581	13,548,691	13,706,070	13,817,616	13,971,403	14,113,472	14,238,738	14,363,858	14,538,591	14,653,596	14,820,963	14,983,961	15,144,387	14,255,840
38 39		NON-DEPRECIABLE PROPERTY	(1,371)	(1,365)	(1,359)	(1,353)	(1,348)	(1,342)	(1,336)	(1,330)	(1,324)	(1,319)	(1,313)	(1,307)	(1,301)	(1,336)
40 41		NUCLEAR DECOMMISSIONING	5,753,732	5,771,408	5,789,141	5,806,932	5,824,779	5,842,684	5,860,647	5,878,668	5,896,747	5,914,883	5,933,079	5,951,333	5,969,645	5,861,052
42 43		FOSSIL DISMANTLEMENT	374,370	375,546	375,888	376,231	376,573	376,916	377,258	377,601	377,943	378,314	378,684	379,054	378,591	377,151
44 45		TOTAL PLANT RESERVE BALANCE	19,551,311	19,694,280	19,869,741	19,999,425	20,171,408	20,331,730	20,475,307	20,618,797	20,811,957	20,945,474	21,131,412	21,313,041	21,491,322	20,492,708
.0																

46 NOTES: 47

48 Totals may not add due to rounding 49

(1) AMOUNTS INCLUDE NON-UTILITY PROPERTY

	DA PUBLIC SERVICE COMMISSION	EXPLANATION: I	plant in service in exc	dditions to and retirem	n of the total balance	Type of Data Shown: X Projected Test Year Ended: 12/31/22
COMP	ANY: FLORIDA POWER & LIGHT COMPANY			ric Plant in Service, and		Prior Year Ended:/_/_
	AND SUBSIDIARIES (CONSOLIDATED)		•	ted construction not CI		X Historical Test Year Ended: 12/31/20
				the test year minus or	ie, the test year, and	X Proj. Subsequent Yr Ended: 12/31/2
	T NO : 00040045 FI		the test year plus one) .		Witness Coatt D. Danie
DOCK	ET NO.: 20210015-EI		(\$000			Witness: Scott R. Bores
			(\$000	')		
	(1)	(2)	(3)	(4)	(5)	
Line No.	Description of Additions or (Retirements)	Subsequent Year Minus One Year 12/31/2022	Subsequent Year 12/31/2023	Subsequent Year Plus One 12/31/2024	Most Recent Calendar Year 12/31/2020	
	ADDITIONS					
2	2020 SoBRA	0	0	0	390,336	
3	Solar Together	0	0	0	881,621	
4	Large Scale Solar Projects (1)	859,585	734,370	849,997	92,946	
5	500kV Rebuild (2)	693,895	218,664	504,529	64	
6	Dania Beach Energy Center (2)	885,809	0	0	363	
7	North Florida Resiliency Connection	554,174	0	0	0	
8 9	All Other Additions	5,829,584	5,824,851	5,814,156	3,719,413	
10	TOTAL ADDITIONS (3)	8,823,048	6,777,884	7,168,682	5,084,743	
11						
12	RETIREMENTS					
13	Manatee U1/U2	(693,317)	0	0	0	
14	Scherer	(1,432,494)	0	0	(000,000)	
	Plant Crist Coal Assets Plant Daniel	0	0	(791 140)	(689,226)	
16 17	All Other Retirements	(1,029,836)	(875,401)	(781,149) (964,949)	(724,493)	
18	VII OTHEL IZETTELLIS	(1,029,030)	(075,401)	(304,349)	(124,493)	
	TOTAL RETIREMENTS	(3,155,647)	(875,401)	(1,746,097)	(1,413,720)	
20		(5,.55,617)	(5. 5, 10 1)	(.,0,001)	(.,,)	
21	TOTAL NET ADDITIONS	5,667,401	5,902,484	5,422,585	3,671,023	
22		-,,	-,,	-,,,	-,,320	
	Notes:					
	The forecast underpinning the solar additions reflected for the	subsequent year and subsec	quent year plus one was	completed prior to the fina	al resource plan which su	pports the 894MW of requested solar
25	base rate adjustments in both 2024 and 2025.	, ,	. , ,		•	
	The project exceeds the 0.5% threshold in at least one of the	prescribed time periods				
) Includes plant-in-service adjustments or transfers reflected on					

Supporting Schedules: B-7, B-9, E-4b

COMPANY:	JBLIC SERVICE COMMISSION FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	EXPLANATION: Provide production plant additions for the test year and the prior year that exceed 0.5% of Gross Plant. Presenting In-Service Additions classified as Environmental, Availability/Reliability, Heat Rate, Replace Existing Plant, Safety, Energy Conservation, Capacity, Aid to Construction, and Maintenance and Regulatory.	Type of Data Shown:
DOCKET NO	D.: 20210015-EI		Witness: Scott R. Bores, Matthew Valle
	(A)	(B)	
Line No.		Amount	
	Preliminary Engineering Growth Classification	(000)	
1 2 3 4 5 6 7 8 9 10 11 12 13	Environmental Availability/Reliability Heat Rate Replace Existing Plant Safety Energy Conservation Capacity Aid to Construction and Maintenance Regulatory Total In-Service Additions	722,450	
14 15 16 17 18	OTHER PRODUCTION Large Scale Solar Project Total In-Service Additions		
19 Supporting S	Schedules:	Recap Schedules:	

Schedule B-13 2023 SUBSEQUENT YEAR ADJUSTMENT

FLORIDA PUBLIC SERVICE COMMISSION

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: For each major construction project whose cost of completion exceeds 0.2 percent (.002) of gross plant, and for smaller projects within each category shown taken as a group, provide the requested data concerning projects for the test year.

Type of Data Shown:
Projected Test Year Ended:_/_/
Prior Year Ended:_/_/
Historical Test Year Ended:_/_/ X Proj. Subsequent Yr. Ended:12/31/2023

Witness: Scott R. Bores

DOCKET NO.: 20210015-EI

(\$000 WHERE APPLICABLE)

	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)
Line No.	Project No.	Project Description	Year End CWIP Balance	Estimated Additional Project Costs	Total Cost of Completion	Initial Project Budget Per Construction Bid	Date Construction Started	Expected Completion Date	Percent Complete (3) / (5)	Amount of AFUDC Charged	13 Month Average Balance	Jurisdictional Factor	Jurisdictional Amount
1		INTANGIBLE All Other Intangible Plant	440.000				Madana	\/i			407.000	0.000470	400.070
2		TOTAL INTANGIBLE PLANT	118,066 118,066				Various	Various			137,923 137,923	0.969179	133,672 133,672
3 4		TOTAL INTANGIBLE PLANT	116,000								137,923		133,072
5		STEAM PRODUCTION											
6		All Other Steam Production	17,275				Various	Various			22,309	0.957203	21,354
7		TOTAL STEAM PRODUCTION	17,275								22,309		21,354
9		NUCLEAR PRODUCTION											
10		All Other Nuclear Production	690,812				Various	Various		1,493	670,017	0.958802	642,414
11		TOTAL NUCLEAR PRODUCTION	690,812							1,493	670,017		642,414
12													
13 14	UENC.00000106.54	OTHER PRODUCTION Turkey Point Clean Water Project	208,292	106.585	314.877	314.877	Jun-21	Dec-24	66.15%	_	123,542	0.957099	118.242
			-	,	- /-	- ,-					•		- ,
15	UENC.00000106.62	Large Scale Solar Project - 2023	-	-	722,450	722,450	Dec-22	Dec-23		22,494	352,484	0.957099	337,362
16 17	UENC.00000106.65	Large Scale Solar Project - 2024 All Other Production	26,412 92,987	503,380	529,793	529,793	Dec-23 Various	Dec-24 Various	4.99%	60	2,032 207,816	0.957099 0.957099	1,945 198,901
18		TOTAL OTHER PRODUCTION	327.692	609.965	1,567,120	1,567,120	various	Various		22.554	685.874	0.557 055	656,449
19		101/12 01/12/11 Hobbot Holl	027,002	000,000	1,007,120	1,007,120				22,00	000,01		000,110
20		DISTRIBUTION											
21		All Other Distribution Plant	564,304				Various	Various			555,877	0.999999	555,877
22		TOTAL DISTRIBUTION PLANT	564,304								555,877		555,877
23 24		TRANSMISSION											
25	UTRN.00000551	500kV Rebuild	554,648	406,822	961.469	1,603,000	Various	Various	57.69%	32,263	562,453	0.909763	511.699
26	UTRN.00000660	Quarry to ClearSky	105,107	190,945	296,052	296,052	Jan-22	Dec-24		3,991	72,844	0.909763	66,271
27	UENC.00000106.62	Large Scale Solar Project - 2023	-	-	11,920	11,920	Dec-22	Dec-23	100.00%	233	3,458	0.909763	3,146
28	UENC.00000106.65	Large Scale Solar Project - 2024		8,511	8,511	8,511	Dec-23	Dec-24		. .		0.909763	.
29		All Other Transmission	316,342	000 077	4 077 054	4.040.400	Various	Various		2,052	384,639	0.909763	349,931
30 31		TOTAL TRANSMISSION PLANT	976,096	606,277	1,277,951	1,919,482				38,537	1,023,395		931,047
32		GENERAL											
33		All Other General Plant	128,313				Various	Various			137,603	0.969099	133,351
34		TOTAL GENERAL PLANT	128,313								137,603		133,351
35													
36		TOTAL CONSTRUCTION WORK IN PROGRESS	2 022 552	1 216 242	2.045.074	2.406.000				62.585	2 222 000		2.074.404
37 38		TOTAL CONSTRUCTION WORK IN PROGRESS	2,822,559	1,216,243	2,845,071	3,486,602				6∠,585	3,232,998		3,074,164
39													

EXPLANATION: For each major construction project whose cost of completion exceeds 0.2 percent (.002) of gross plant, and for smaller projects within each category shown taken as a group, provide the requested data concerning projects for the test year. Type of Data Shown:
Projected Test Year Ended:_/_/
Prior Year Ended:_/_/
Historical Test Year Ended:_/_/ FLORIDA PUBLIC SERVICE COMMISSION COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED) X Proj. Subsequent Yr. Ended:12/31/2023 DOCKET NO.: 20210015-EI (\$000 WHERE APPLICABLE) Witness: Scott R. Bores (3) (9) (10) (1) (2) (4) (5) (6) (7) (8) (11) (12) (13)

Line No.	Project No.	Project Description	Year End CWIP Balance	Estimated Additional Project Costs	Total Cost of Completion	Initial Project Budget Per Construction Bid	Date Construction Started	Expected Completion Date	Percent Complete (3) / (5)	Amount of AFUDC Charged	13 Month Average Balance	Jurisdictional Factor	Jurisdictional Amount
1 2 3		TOTAL AFUDC TREATMENT	958,552							62,585	1,301,633		1,208,442
4 5		TOTAL RATE BASE TREATMENT	1,864,007								1,931,365		1,865,722
7 8		TOTAL CWIP	2,822,559	1,216,243	2,845,071	3,486,602				62,585	3,232,998		3,074,164
9 10													

Schedule B-14	
2023 SUBSEQUENT	YEAR ADJUSTMENT

AND SUB	POWER & LIGHT COMPANY SIDIARIES (CONSOLIDATED)	EXPLANATION: If the company proposes to include any AFUDC-eligible CWIP in rate base, provide a summary of the earnings test to determine to what extent CWIP should be included in the rate base along with a detail of assumptions. As a minimum, the data provided should show the impact on the utility's financial integrity indicators with and without the level of CWIP requested.	Type of Data Shown: _ Projected Test Year Ended: _/_/ _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 202100	15-EI		Witness: Scott R. Bores
Line No. (1)			_
1 The company is 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23	not proposing to include any AFUDC-eligible C	CWIP in rate base.	
24 25 26 27 28 29 30			

Supporting Schedules: D-1a, D-9 Recap Schedules:

	A PUBLIC SERVICE COMMISSION EXPLANATION: NY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)	property held for future use a for the test year. Provide the	ge balance for each item of and calculate the jurisdictional a prior year if the test is projected less than 5 percent of the acco	d.	Type of Data Shown: X Projected Test Year Ended: 12/31/22 _ Prior Year Ended: _/ _/ _ Historical Test Year Ended: _/ _/ X Proj. Subsequent Yr Ended: 12/31/23		
DOCKET	NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Thomas Broad, Tara B. DuBose, Michael Spoor, Matthew Valle		
	(1)	(2)	(3)	(4)	(5)		
Line No.	Description of Item	Test Year 2022 13-Month Average	Subsequent Year 2023 13- Month Average	Subsequent Year Jurisdictional Factor	Subsequent Year Jurisdictional Amount (3) x (4)		
1 <u>0</u>	THER PRODUCTION FUTURE USE				()		
2 H	Hendry County (1)	45,935	45,935	0.955870	43,908		
3 8	St. Lucie River Farms Solar	20,861	20,861	0.955870	19,940		
4 (Clyman Solar	22,169	9,763	0.955870	9,332		
5 l	_akewood Park	19,998	19,998	0.955870	19,116		
6 5	Southeast Grove	23,074	23,074	0.955870	22,055		
7	Aggregate Other Production Property Under 5%	153,269	453,351	0.955870	433,345		
8	TOTAL OTHER PRODUCTION FUTURE USE	285,307	572,982		547,697		
9		'					
10 <u>TF</u>	RANSMISSION FUTURE USE						
11 A	Aggregate Transmission Property Under 5%	35,674	32,592	0.906225	29,535		
12	TOTAL TRANSMISSION FUTURE USE	35,674	32,592		29,535		
13							
14 <u>DI</u>	STRIBUTION FUTURE USE						
15 A	Aggregate Distribution Property Under 5%	33,306	22,846	1.000000	22,846		
16	TOTAL DISTRIBUTION FUTURE USE	33,306	22,846		22,846		
17							
18 <u>G</u> E	ENERAL PLANT FUTURE USE						
	PGA BLVD Campus	27,108	-	0.969122	0		
20 A	Aggregate General Plant Property Under 5%	13,730	12,101	0.969122	11,727		
21	TOTAL GENERAL PLANT FUTURE USE	40,838	12,101		11,727		
22							
	TOTAL	395,124	640,522		611,806		
24			· · · · · ·				
25							
26							
	ote: Totals may not add due to rounding.						
28	. •						
29 No	otes:						
30 (1)) - The forecast supporting this MFR assumed \$28.5MM of Hendry County	land would be utilized for solar.	It was later determined that only	y \$11MM would be utilized.			
31 Th	is change has no effect on total retail rate base and will have no impact or	n the proposed base rate increase	e. ·				
32							
33							
34							
35							
36							

Schedule B-16 2023 SUBSEQUENT YEAR ADJUSTMENT

FLOR	IDA PUBLIC SERVICE COM	MISSION	1		nirteen monthly balances of nu 120.1, 120.2, 120.3, 120.4, 12		Type of Data Shown: _ Projected Test Yea		
COMF	PANY: FLORIDA POWER & L AND SUBSIDIARIES (120.6 for	the test year, and the prior yea is projected.		_ Prior Year Ended: _/_/_ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23		
OOCK	KET NO.: 20210015-EI				(\$000)		Witness: Scott R. Bo	res, Robert Coffey	
	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	
Line No.	PERIOD	NUCLEAR FUEL IN PROCESS 120.1	NUCLEAR FUEL STOCK ACCOUNT 120.2	NUCLEAR FUEL ASSEMBLIES IN REACTOR 120.3	NUCLEAR FUEL SPENT FUEL 120.4	ACCUMULATED PROVISION FOR AMORTIZATION 120.5	NUCLEAR FUEL UNDER CAPITAL LEASES 120.6	NET NUCLEAR FUEL (2) + (3) + (4) + (5) - (6) (7)	
1	DECEMBER	514,180	0	618,255	53,474	453,508	0	732,40	
2	JANUARY	514,722	0	618,255	53,474	466,580	0	719,87	
5	FEBRUARY	522,553	0	618,255	53,474	477,279	0	717,00	
6 7	MARCH	502,580	0	604,821	104,876	487,859	0	724,41	
9	APRIL	504,347	0	604,821	51,403	444,636	0	715,93	
10 11	MAY	477,216	0	600,608	105,116	456,908	0	726,03	
12 13 14	JUNE	482,338	0	600,608	105,116	469,367	0	718,69	
15 16	JULY	482,639	0	600,608	105,116	482,241	0	706,12	
	AUGUST	506,594	0	600,608	105,116	495,115	0	717,20	
19 20	SEPTEMBER	507,198	0	600,608	53,713	456,171	0	705,34	
21 22	OCTOBER	470,293	0	583,785	112,000	466,608	0	699,47	
	NOVEMBER	487,876	0	583,785	58,287	425,088	0	704,86	
25 26	DECEMBER	502,862	0	583,785	58,287	437,688	0	707,24	
27 28	13 MONTH AVERAGE	498,108	0	601,446	78,419	463,004	0	714,97	
	NOTE: TOTALS MAY NOT A	ADD DUE TO ROUNDING							

	PUBLIC SERVICE CO		average working capital and the prior year if the adjustments are to be p	wing the adjusted 13 mon allowance for the test yet test year is projected. All rovided by account numb ethod and any other meth to use.	Type of Data Shown: X Projected Test Year Ended: 12/31/22 Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23		
DOCKET	NO.: 20210015-EI		are company proposed			Witness: Scott R. Bores, Tara Liz Fuentes	a B. DuBose
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	ACCOUNT NO.	COMPONENT	TEST YEAR 2022 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR 2023 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR JUSRISDICTIONAL FACTOR	SUBSEQUENT YEAR JUSRISDICTIONAL AMOUNT (4) X (5)	
1		CURRENT AND ACCRUED ASSETS					
2							
3	131	CASH	69,995	58,222	0.969491	,	
4	134	OTHER SPECIAL DEPOSITS	2,122	2,164	0.969491	·	
5	135	WORKING FUNDS	114	117	0.969491		
6	142	CUSTOMER ACCOUNTS RECEIVABLE	897,721	945,157	1.000000		
7	143	OTHER ACCOUNTS RECEIVABLE	150,910	141,085	0.969491	·	
8	144	ACCUM PROV UNCOLLECTIBLE ACCOUNTS	(9,426)	(10,280)	1.000000	* ' '	
9	145	NOTES RECEIVABLE FROM ASSOC COMPANIES	160,000	160,000	0.969491		
10	146	ACCOUNT RECEIVABLE FROM ASSOC COMPANIES	26,916	28,301	0.969491	·	
11	151	FUEL STOCK	165,873	155,187	0.958771	·	
12	154	PLANT MATERIALS AND OPERATING SUPPLIES	586,781	591,041	0.965023	·	
13	158.1	ALLOWANCE INVENTORY	6,300	6,300	0.953303	,	
14	163	STORES EXPENSE UNDISTRIBUTED	890	908	0.965023		
15	165	PREPAYMENTS	109,130	107,798	0.978395	·	
16	171 172	INTEREST & DIVIDENDS RECEIVABLE	42	42	0.969491		
17 18	172 173	RENTS RECEIVABLE	28,709	29,403	0.969491	·	
19	173 174	ACCRUED UTILITY REVENUES MISCELLANEOUS CURRENT AND ACCRUED ASSETS	355,535 37,254	359,167 37,999	1.002144 0.969491	,	
20	1/4	CURRENT AND ACCRUED ASSETS	2,588,866	2,612,612	0.983576		
20		CONTREM I AND ACCRUED ASSETS	2,300,800	2,012,012	0.903576	۷,309,703	
22		DEFERRED DEBITS					
23		DEI ENNED DEDITO					
24	182.2	UNRECOVERED PLANT & REGULATORY COSTS	216,631	207,589	0.955214	198,292	
25	182.3	OTHER REGULATORY ASSETS	3,980,544	3,611,086	0.199967	·	
26	183	PRELIM SURVEY & INVESTIGATION CHARGES	35,539	38,504	0.969491	37,329	
27	184	CLEARING ACCOUNTS	16	16	0.969491	·	
28	186	MISCELLANEOUS DEFERRED DEBITS	2,051,121	2,042,726	0.969274		
29	187	DEFERRED LOSSES DISPOSITION UTIL PLANT	13	13	0.969491		
30		DEFERRED DEBITS	6,283,864	5,899,935	0.497922		
31			3,230,001	5,555,000	507622	2,00. ,. 00	
32		CURRENT AND ACCRUED ASSETS AND DEFERRED DEBITS	8,872,730	8,512,546	0.646976	5,507,411	
33			2,2.2,100	2,2 .2,0 10	2.2.10070	-,,	
34		OTHER NONCURRENT LIABILITIES					
35							

	LORIDA PUBLIC SERVICE COMMISSION EXPLANATION: COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED) DOCKET NO.: 20210015-EI		average working capital and the prior year if the adjustments are to be p	wing the adjusted 13 mor allowance for the test ye test year is projected. All rovided by account numb thod and any other meth to use.	Type of Data Shown: X Projected Test Year Ended: 12/31/22 _ Prior Year Ended: _/ Historical Test Year Ended: _/ X Proj. Subsequent Yr Ended: 12/31/23		
DOCKET	Г NO.: 20210015-EI					Witness: Scott R. Bores, Tara B. Dul Liz Fuentes	Bose,
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	ACCOUNT NO.	COMPONENT	TEST YEAR 2022 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR 2023 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR JUSRISDICTIONAL FACTOR	SUBSEQUENT YEAR JUSRISDICTIONAL AMOUNT (4) X (5)	
1	228.1	ACCUM PROVISION - PROPERTY INSURANCE	(125,207)	(152,639)	0.051658	(7,885)	
2	228.2	ACCUM PROVISION - INJURIES & DAMAGES	(23,600)	(23,600)	0.969122	(22,871)	
3	228.3	ACCUM PROVISION - PENSION & DEFERRED BENEFITS	(180,071)	(170,772)	0.969122	(165,499)	
4	228.4	ACCUM PROVISION - OPERATING RESERVES	(194,492)	(207,537)	0.969491	(201,205)	
5	230	ASSET RETIREMENT OBLIGATION - LIABILITY	(2,670,607)	(2,785,384)	0.969122	(2,699,377)	
6		OTHER NONCURRENT LIABILITIES	(3,193,976)	(3,339,932)	0.927216	(3,096,838)	
7							
8		CURRENT AND ACCRUED LIABILITIES					
9							
10	232	ACCOUNTS PAYABLE	(776,141)	(790,779)	0.969491	(766,653)	
11	234	ACCOUNTS PAYABLE TO ASSOCIATED COMPANIES	(40,023)	(38,362)	0.969491	(37,192)	
12	236	TAXES ACCRUED	(402,681)	(442,692)	0.973856	(431,119)	
13	237	INTEREST ACCRUED	(179,880)	(201,652)	0.970292	(195,661)	
14	241	TAX COLLECTIONS PAYABLE	(103,211)	(105,275)	0.969491	(102,063)	
15	242	MISC CURRENT AND ACCRUED LIABILITIES	(671,268)	(684,471)	0.969613	(663,672)	
16	244	DERIVATIVE LIABILITY - NOT HEDGED	0	0	0.000000	0	
17		CURRENT AND ACCRUED LIABILITIES	(2,173,204)	(2,263,231)	0.970453	(2,196,359)	
18							
19		DEFERRED CREDITS					
20							
21	252	CUSTOMER ADVANCES FOR CONSTRUCTION	(1,216)	(1,240)	0.969491	(1,202)	
22	253	OTHER DEFERRED CREDITS	(258,203)	(251,549)	0.965970	(242,989)	
23	254	OTHER REGULATORY LIABILITIES	(3,181,035)	(3,010,159)	0.938588	(2,825,298)	
24	256	DEFERRED GAINS DISPOSITION UTILITY PLANT	(31,599)	(28,307)	0.969491	(27,444)	
25		DEFERRED CREDITS	(3,472,052)	(3,291,255)	0.940958	(3,096,933)	
26							
27		NONCURRENT, CURRENT AND ACCRUED LIABILITIES	(8,839,233)	(8,894,418)	0.943303	(8,390,129)	
28							
29		WORKING CAPITAL ALLOWANCE	33,498	(381,872)	7.548907	(2,882,718)	
30							
31							
32		COMMISSION ADJUSTMENTS					
33							
34	143	OTHER ACCOUNTS RECEIVABLE	(5)	(5)	0.969122	(4)	
35							

	AND SUBSIDIARIE	& LIGHT COMPANY S (CONSOLIDATED)	average working capital and the prior year if the adjustments are to be pro- Use a balance sheet me the company proposes to	X Projected Test Year Ended: 12/31/22 _ Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/2:		
OCKET N	NO.: 20210015-EI		1 71 1			Witness: Scott R. Bores, Tara B. DuBo Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	(6)
Line No.	ACCOUNT NO.	COMPONENT	TEST YEAR 2022 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR 2023 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR JUSRISDICTIONAL FACTOR	SUBSEQUENT YEAR JUSRISDICTIONAL AMOUNT (4) X (5)
1	145	NOTES RECEIVABLE FROM ASSOC COMPANIES	(160,000)		0.969491	(155,119)
2	146	ACCOUNT RECEIVABLE FROM ASSOC COMPANIES	(26,916)	(28,301)	0.969491	(27,438)
3	158.1	ALLOWANCE INVENTORY	(6,300)	(6,300)	0.953303	(6,006)
4	165	PREPAYMENTS	(43,720)	(41,080)	0.992855	(40,787)
5	171	INTEREST & DIVIDENDS RECEIVABLE	(42)	(42)	0.969491	(41)
6	172	RENTS RECEIVABLE	(28,709)	` '	0.969491	(28,506)
7	174	MISCELLANEOUS CURRENT AND ACCRUED ASSETS	(37,254)	, ,	0.969491	(36,840)
8	182.2	UNRECOVERED PLANT & REGULATORY COSTS	(189,550)	* ' '	0.953303	* * *
9	182.3	OTHER REGULATORY ASSETS	(984,833)		0.748172	, ,
10	186	MISCELLANEOUS DEFERRED DEBITS	(5,356)		0.982865	, ,
11	228.1	ACCUM PROVISION - PROPERTY INSURANCE	125,207	152,639	0.051658	, ,
12	228.3	ACCUM PROVISION - PENSION & DEFERRED BENEFITS	11,174	11,741	0.969122	•
13	230	ASSET RETIREMENT OBLIGATION - LIABILITY	2,670,607	2,785,384	0.969122	•
14	234	ACCOUNTS PAYABLE TO ASSOCIATED COMPANIES	2,070,007	3	0.969491	3
15	242	MISC CURRENT AND ACCRUED LIABILITIES	27,068	27,587	0.969475	
16	253	OTHER DEFERRED CREDITS	25,891	25,622	0.934926	•
17	254	OTHER REGULATORY LIABILITIES	2,956,673	2,829,797	0.972035	•
18	204	COMMISSION ADJUSTMENTS	4,333,938	4,687,858	0.972049	
19		COMMISSION ADJOSTMENTS	4,333,930	4,007,000	0.972049	4,550,627
		COMPANY AD ILIETMENTS				
20 21		COMPANY ADJUSTMENTS				
22	182.3	OTHER RECHI ATORY ACCETS	05.404	77.070	0.957857	74.504
23	182.3	OTHER REGULATORY ASSETS MISCELLANEOUS DEFERRED DEBITS	85,424	77,873		, · · ·
			(646)	. , ,	1.000000	, ,
24 25	228.4 232	ACCUM PROVISION - OPERATING RESERVES ACCOUNTS PAYABLE	3,917 94	11,752 101	0.969491 0.969491	11,394 98
	232					
26		COMPANY ADJUSTMENTS	88,788	87,788	0.958497	84,145
27		TOTAL AD ILIOTAICNITO	4 400 ====	4 775 6 12	0.071	4.040.070
28		TOTAL ADJUSTMENTS	4,422,726	4,775,646	0.971800	4,640,972
29		AD MOTED WORKING OARITAL				1750 57
30		ADJUSTED WORKING CAPITAL ALLOWANCE	4,456,224	4,393,774	0.400169	1,758,254
31						
32						
33 <u>Not</u> 34 (1) I		AIN A BALANCED CAPITAL STRUCTURE REFLECTING FPL'S PROPOSED EQUI				

	A PUBLIC SERVICE CO NY: FLORIDA POWER AND SUBSIDIARIE		Provide a schedule show average working capital and the prior year if the adjustments are to be pu Use a balance sheet me the company proposes in	Type of Data Shown: X Projected Test Year Ended: 12/31/22 Prior Year Ended: _/_/ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23			
DOCKET	NO.: 20210015-EI		the company proposes i	o use.		Witness: Scott R. Bores, Tara B. DuBos Liz Fuentes	
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	ACCOUNT NO.	COMPONENT	TEST YEAR 2022 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR 2023 COMPANY TOTAL (1)	SUBSEQUENT YEAR JUSRISDICTIONAL FACTOR	SUBSEQUENT YEAR 2023 JUSRISDICTIONAL AMOUNT (4) X (5)	
1		CURRENT AND ACCRUED ASSETS					
2							
3	131	CASH	69,995	58,222	0.969491		
4	134	OTHER SPECIAL DEPOSITS	2,122	2,164	0.969491		
5	135	WORKING FUNDS	114	117	0.969491	113	
6	142	CUSTOMER ACCOUNTS RECEIVABLE	897,721	945,157	1.000000	*	
7	143	OTHER ACCOUNTS RECEIVABLE	150,910	141,085	0.969491	, ,	
8	144	ACCUM PROV UNCOLLECTIBLE ACCOUNTS	(9,426)	(10,280)		· , ,	
9	145	NOTES RECEIVABLE FROM ASSOC COMPANIES	160,000	160,000	0.969491	, ,	
10	146	ACCOUNT RECEIVABLE FROM ASSOC COMPANIES	26,916	28,301	0.969491	27,438	
11	151	FUEL STOCK	165,873	155,187	0.958771	148,788	
12	154	PLANT MATERIALS AND OPERATING SUPPLIES	586,781	591,041	0.965023		
13	158.1	ALLOWANCE INVENTORY	6,300	6,300	0.953303		
14	163	STORES EXPENSE UNDISTRIBUTED	890	908	0.965023		
15	165	PREPAYMENTS	109,130	107,798	0.978395		
16	171	INTEREST & DIVIDENDS RECEIVABLE	42	42	0.969491	41	
17	172 173	RENTS RECEIVABLE	28,709	29,403	0.969491	28,506	
18 19	173	ACCRUED UTILITY REVENUES MISCELLANEOUS CURRENT AND ACCRUED ASSETS	355,535 37,254	359,167 37,999	1.002144 0.969491	359,937 36,840	
20	1/4	CURRENT AND ACCRUED ASSETS	2,588,866	2,612,612	0.983576		
21		COMMENT AND ACCRUED AGGETS	2,300,800	2,012,012	0.903576	2,509,705	
22		DEFERRED DEBITS					
23		DEI EINNED DEDITO					
24	182.2	UNRECOVERED PLANT & REGULATORY COSTS	216,631	207,589	0.955214	198,292	
25	182.3	OTHER REGULATORY ASSETS	3,980,544	3,611,085	0.199967	, ,	
26	183	PRELIM SURVEY & INVESTIGATION CHARGES	35,539	38,504	0.969491	37,329	
27	184	CLEARING ACCOUNTS	16	16	0.969491		
28	186	MISCELLANEOUS DEFERRED DEBITS	2,051,121	2,042,726	0.969274		
29	187	DEFERRED LOSSES DISPOSITION UTIL PLANT	13	13	0.969491	13	
30		DEFERRED DEBITS	6,283,864	5,899,934	0.497922		
31			-,,	-,,		,, ,	
32		CURRENT AND ACCRUED ASSETS AND DEFERRED DEBITS	8,872,730	8,512,545	0.646976	5,507,410	
33			2,2.2,700	2,2 .2,0 10	2.2.10070	-,,	
34		OTHER NONCURRENT LIABILITIES					
35							

FLORIDA	A PUBLIC SERVICE CO	OMMISSION EXPLANATION:	Provide a schedule show	ving the adjusted 13 mor allowance for the test ye		Type of Data Shown: X Projected Test Year Ended: 12/	31/22	
COMPAN	NY: FLORIDA POWER AND SUBSIDIARIE	& LIGHT COMPANY S (CONSOLIDATED)	and the prior year if the adjustments are to be pr Use a balance sheet me	test year is projected. All rovided by account numb thod and any other meth	er.	_ Prior Year Ended: _/_/ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23		
DOCKET	NO.: 20210015-EI		the company proposes t	o use.		Witness: Scott R. Bores, Tara B. I Liz Fuentes	OuBose,	
	(1)	(2)	(3)	(4)	(5)	(6)		
Line No.	ACCOUNT NO.	COMPONENT	TEST YEAR 2022 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR 2023 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR JUSRISDICTIONAL FACTOR	SUBSEQUENT YEAR 2023 JUSRISDICTIONAL AMOUNT (4) X (5)		
1	228.1	ACCUM PROVISION - PROPERTY INSURANCE	(125,207)	(152,639)	0.051658			
2	228.2	ACCUM PROVISION - INJURIES & DAMAGES	(23,600)	(23,600)	0.969122	(22,871)		
3	228.3	ACCUM PROVISION - PENSION & DEFERRED BENEFITS	(180,071)	(170,772)	0.969122	(165,499)		
4	228.4	ACCUM PROVISION - OPERATING RESERVES	(194,492)	(207,537)	0.969491	(201,205)		
5	230	ASSET RETIREMENT OBLIGATION - LIABILITY	(2,670,607)	(2,785,384)	0.969122	(2,699,377)		
6		OTHER NONCURRENT LIABILITIES	(3,193,976)	(3,339,932)	0.927216	(3,096,838)		
7								
8		CURRENT AND ACCRUED LIABILITIES						
9								
10	232	ACCOUNTS PAYABLE	(776,141)	(790,779)	0.969491	(766,653)		
11	234	ACCOUNTS PAYABLE TO ASSOCIATED COMPANIES	(40,023)	(38,362)	0.969491	(37,192)		
12	236	TAXES ACCRUED	(402,679)	(442,684)	0.973856	(431,110)		
13	237	INTEREST ACCRUED	(179,880)	(201,652)	0.970292	, , ,		
14	241	TAX COLLECTIONS PAYABLE	(103,211)	(105,275)	0.969491	, , ,		
15	242	MISC CURRENT AND ACCRUED LIABILITIES	(671,268)	(684,471)	0.969613	, , ,		
16	244	DERIVATIVE LIABILITY - NOT HEDGED	0	0	0.000000			
17		CURRENT AND ACCRUED LIABILITIES	(2,173,202)	(2,263,222)	0.970453	(2,196,351)		
18								
19		DEFERRED CREDITS						
20								
21	252	CUSTOMER ADVANCES FOR CONSTRUCTION	(1,216)	(1,240)	0.969491	(, ,		
22	253	OTHER DEFERRED CREDITS	(258,203)	(251,549)	0.965970	, , ,		
23	254	OTHER REGULATORY LIABILITIES	(3,181,034)	(3,010,157)	0.938588			
24	256	DEFERRED GAINS DISPOSITION UTILITY PLANT	(31,599)	(28,307)	0.969491	, , ,		
25		DEFERRED CREDITS	(3,472,052)	(3,291,254)	0.940958	(3,096,932)		
26								
27		NONCURRENT, CURRENT AND ACCRUED LIABILITIES	(8,839,230)	(8,894,409)	0.943303	(8,390,120)		
28						(2.22.2.12)		
29		WORKING CAPITAL ALLOWANCE	33,500	(381,864)	7.549054	(2,882,710)		
30								
31		ACAMMONION AR WATHERITA						
32		COMMISSION ADJUSTMENTS						
33		OTHER ACCOUNTS DESERVAD: T						
34 35	143	OTHER ACCOUNTS RECEIVABLE	(5)	(5)	0.969122	2 (4)		

COMPAN			average working capital and the prior year if the adjustments are to be progressible and the company proposes the company proposes to the company prop	test year is projected. All rovided by account numb thod and any other meth	ar er.	Type of Data Shown: X Projected Test Year Ended: 12/31/22 Prior Year Ended: _/_/ _ Historical Test Year Ended: _/_/ X Proj. Subsequent Yr Ended: 12/31/23
OCKET	NO.: 20210015-EI					Witness: Scott R. Bores, Tara B. DuBos Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	(6)
Line No.	ACCOUNT NO.	COMPONENT	TEST YEAR 2022 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR 2023 COMPANY TOTAL ⁽¹⁾	SUBSEQUENT YEAR JUSRISDICTIONAL FACTOR	SUBSEQUENT YEAR 2023 JUSRISDICTIONAL AMOUNT (4) X (5)
1	145	NOTES RECEIVABLE FROM ASSOC COMPANIES	(160,000)	(160,000)	0.969491	(155,119)
2	146	ACCOUNT RECEIVABLE FROM ASSOC COMPANIES	(26,916)	(28,301)	0.969491	(27,438)
3	158.1	ALLOWANCE INVENTORY	(6,300)	(6,300)	0.953303	(6,006)
4	165	PREPAYMENTS	(43,720)	(41,080)	0.992855	(40,787)
5	171	INTEREST & DIVIDENDS RECEIVABLE	(42)	(42)	0.969491	(41)
6	172	RENTS RECEIVABLE	(28,709)	(29,403)	0.969491	(28,506)
7	174	MISCELLANEOUS CURRENT AND ACCRUED ASSETS	(37,254)	(37,999)	0.969491	(36,840)
8	182.2	UNRECOVERED PLANT & REGULATORY COSTS	(189,550)	(183,087)	0.953303	(174,537)
9	182.3	OTHER REGULATORY ASSETS	(984,833)	(654,091)	0.748171	(489,372)
10	186	MISCELLANEOUS DEFERRED DEBITS	(5,356)	(4,606)	0.982865	(4,527)
11	228.1	ACCUM PROVISION - PROPERTY INSURANCE	125,207	152,639	0.051658	7,885
12	228.3	ACCUM PROVISION - PENSION & DEFERRED BENEFITS	11,174	11,741	0.969122	11,379
13	230	ASSET RETIREMENT OBLIGATION - LIABILITY	2,670,607	2,785,384	0.969122	2,699,377
14	234	ACCOUNTS PAYABLE TO ASSOCIATED COMPANIES	3	3	0.969491	3
15	242	MISC CURRENT AND ACCRUED LIABILITIES	27,068	27,587	0.969475	26,744
16	253	OTHER DEFERRED CREDITS	25,891	25,622	0.934926	23,954
17	254	OTHER REGULATORY LIABILITIES	2,956,673	2,829,797	0.972035	2,750,662
18 19		COMMISSION ADJUSTMENTS	4,333,938	4,687,858	0.972049	4,556,828
20 21		COMPANY ADJUSTMENTS				
22	182.3	OTHER REGULATORY ASSETS	85,424	77,873	0.957857	74,591
23	186	MISCELLANEOUS DEFERRED DEBITS	(646)	(1,939)	1.000000	(1,939)
24	228.4	ACCUM PROVISION - OPERATING RESERVES	3,917	11,752	0.969491	11,394
25	232	ACCOUNTS PAYABLE	94	101	0.969491	98
26		COMPANY ADJUSTMENTS	88,788	87,788	0.958497	84,145
27						
28		TOTAL ADJUSTMENTS	4,422,726	4,775,647	0.971800	4,640,973
29						
30		ADJUSTED WORKING CAPITAL ALLOWANCE	4,456,226	4,393,783	0.400171	1,758,263
31						
32						
	ote:					

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

DOCKET NO.: 20210015-EI

EXPLANATION:

Provide conventional fuel account balances in dollars and quantities for each fuel type for the test year, and the two preceding years Include Natural Gas even though no inventory is carried. (Give Units in Barrels, Tons, or MCF)

Witness: Thomas Broad

ne o. F	21	Evel Town	11-3-	Marth Va	(5) B	(6) eginning Balan	(7) ce	(8)	(9) Receipts	(10)	Fuel	(12) Issued to Gene	(13) eration	(14) Fu	(15) el Issued ((16) Other)	Inver	(18) ntory Adjus	(19) tments	(20)	(21) Ending Balance	(22)	(23) 1	(24) 3 Month Ave	erage
. '	Plant	Fuel Type	Units	Month-Year	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) (See Note 1	1)
	Turkey Point	Distillate Oil	BBL	Jan-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	9
	(TP5)			Feb-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	9
				Mar-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Apr-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				May-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Jun-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Jul-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Aug-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Sep-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Oct-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Nov-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
				Dec-23	92,273	8,827	95.66	0	0	0.00	0	0	0.00							92,273	8,827	95.66	92,273	8,827	
								_	_		_	_													
	West County	Distillate Oil	BBL	Jan-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
	(WCEC)			Feb-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Mar-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Apr-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				May-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Jun-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Jul-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Aug-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Sep-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Oct-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Nov-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
				Dec-23	266,801	27,716	103.88	0	0	0.00	0	0	0.00							266,801	27,716	103.88	266,801	27,716	
	Martin	Distillate Oil	BBL	Jan-23	68,787	7,327	106.51	0	0	0.00	0	0	0.00							68,787	7,327	106.51	68,787	7,327	
	(PMG)	Distillate Oil	DDL	Feb-23	68,787	7,327	106.51	0	0	0.00	0	0	0.00							68,787	7,327	106.51	68,787	7,327	
	(FIVIG)			Mar-23	68,787	7,327	106.51	0	0	0.00	0	0	0.00							68,787	7,327	106.51	68.787	7,327	
				Apr-23	68.787	7,327	106.51	0	0	0.00	0	0	0.00							68.787	7.327	106.51	68.787	7,327	
				May-23	68.787	7,327	106.51	0	0	0.00	0	0	0.00							68,787	7,327	106.51	68,787	7,327	
				Jun-23	68,787	7,327	106.51	0	0	0.00	0	0	0.00							68,787	7,327	106.51	68,787	7,327	
				Jul-23	68,787	7,327	106.51	0	Ö	0.00	0	0	0.00							68,787	7,327	106.51	68,787	7,327	
				Aug-23	68,787	7,327	106.51	n	0	0.00	n	ů.	0.00							68,787	7,327	106.51	68,787	7,327	
				Sep-23	68.787	7,327	106.51	o o	0	0.00	ñ	Ö	0.00							68.787	7.327	106.51	68.787	7,327	
				Oct-23	68.787	7,327	106.51	o o	ő	0.00	o o	Ö	0.00							68,787	7,327	106.51	68,787	7,327	
				Nov-23	68,787	7,327	106.51	o o	0	0.00	ō	ō	0.00							68,787	7,327	106.51	68,787	7,327	
				Dec-23	68,787	7,327	106.51	ō	ō	0.00	ō	0	0.00							68,787	7,327	106.51	68,787	7,327	
	Fort Myers	Distillate Oil	BBL	Jan-23	231.926	19,170	82.66	0	0	0.00	0	0	0.00							231,926	19.170	82.66	232.474	19.627	
	(PFM)	Distingue Oll	DDL	Feb-23	231,926	19,170	82.66	0	0	0.00	ñ	0	0.00							231,926	19,170	82.66	231,772	19,508	
	(141)			Mar-23	231,926	19,170	82.66	0	0	0.00	0	0	0.00							231,926	19.170	82.66	231,237	19,403	
				Apr-23	231,926	19,170	82.66	0	Ö	0.00	0	0	0.00							231,926	19.170	82.66	230,702	19,298	
				May-23	231,926	19,170	82.66	ő	0	0.00	ő	0	0.00							231,926	19.170	82.66	230,434	19,216	
				Jun-23	231,926	19,170	82.66	ő	Ö	0.00	0	0	0.00							231,926	19.170	82.66	230,511	19,163	
				Jul-23	231.926	19,170	82.66	ő	ő	0.00	1.298	107	82.66							230,628	19.063	82.66	231,293	19.172	
				Aug-23	230,628	19,063	82.66	ő	ő	0.00	1.870	155	82.66							228,758	18.908	82.66	232,584	19,225	
				Sep-23	228,758	18,908	82.66	0	0	0.00	3,621	299	82.66							225,137	18,609	82.66	231,289	19,118	
				Oct-23	225,137	18,609	82.66	ő	ő	0.00	1.070	88	82.66							224,067	18,521	82.66	230,456	19,049	
				Nov-23	224.067	18,521	82.66	ō	ő	0.00	0	0	0.00							224,067	18.521	82.66	229,851	18.999	
				Dec-23	224,067	18,521	82.66	ō	ō	0.00	ō	ō	0.00							224,067	18,521	82.66	229,247	18,949	
					, , ,															,				, ,	

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

DOCKET NO.: 20210015-EI

EXPLANATION:

Provide conventional fuel account balances in dollars and quantities for each fuel type for the test year, and the two preceding years Include Natural Gas even though no inventory is carried. (Give Units in Barrels, Tons, or MCF)

Type of Data Shown:

Projected Test Year Ended __/_/
Prior Year Ended __/_/
Historical Test Year Ended __/
X Proj. Subsequent Yr Ended 12/31/2023

Witness: Thomas Broad

(1)	(2)	(3)	(4)	(5) B	(6) eginning Balar	(7) nce	(8)	(9) Receipts	(10)	(11) Fuel	(12) Issued to Gen	(13) eration	(14) Fuel	(15) (16 Issued (Other)	6)		(18) (19) Adjustments	(20)	(21) Ending Baland	(22) e	(23)	(24) 3 Month Aver	(2) rage
Plant	Fuel Type	Units	Month-Year	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) \$ / L	Jnit	Units (\$	6000) \$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) (See Note 1	\$
Dania Beach (DBEC)	Distillate O	Dil BBL	Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	193,822 193,822 193,822 193,822 193,822 193,822 193,822 199,555 185,832 172,055 168,432	13,073 13,073 13,073 13,073 13,073 13,073 12,786 12,534 11,605 11,361	67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 4,268 3,723 13,777 3,623 0	0 0 0 0 0 0 0 288 251 929 244 0	0.00 0.00 0.00 0.00 0.00 0.00 67.45 67.45 67.45 67.45 0.00 0.00						193,822 193,822 193,822 193,822 193,822 193,822 189,555 185,832 172,055 168,432 168,432	13,073 13,073 13,073 13,073 13,073 13,073 12,786 12,534 11,605 11,361 11,361	67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45 67.45	189,343 189,750 190,157 190,563 190,970 191,377 192,884 192,070 191,404 189,252 187,299 185,346	12,929 12,932 12,936 12,939 12,942 12,946 13,026 12,963 12,910 12,765 12,633 12,502	666666666666666666666666666666666666666
Cape Canaver (CCEC)	al Distillate O	oil BBL	Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946	10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866	84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0						127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946	10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866	84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92 84.92	127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946 127,946	10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866 10,866	8 8 8 8 8 8 8 8
Riviera (RBEC)	Distillate O	Dil BBL	Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852	13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764	104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0						131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852	13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764	104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39 104.39	131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852 131,852	13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764 13,764	
Port Everglade (PEEC)	es Distillate O	oil BBL	Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Jul-23 Sep-23 Oct-23 Nov-23 Dec-23	146,171 146,171 146,171 146,171 146,171 146,171 146,171 146,171 146,171 146,171	11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007	75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0						146,171 146,171 146,171 146,171 146,171 146,171 146,171 146,171 146,171 146,171 146,171	11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007 11,007	75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30 75.30	147,177 146,976 146,774 146,573 146,372 146,171 146,171 146,171 146,171 146,171 146,171	11,083 11,068 11,052 11,037 11,022 11,007 11,007 11,007 11,007 11,007 11,007	

Supporting Schedules:

Recap Schedules:

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

DOCKET NO.: 20210015-EI

EXPLANATION:

Provide conventional fuel account balances in dollars and quantities for each fuel type for the test year, and the two preceding years include Natural Gas even though no inventory is carried. (Give Units in Barrels, Tons, or MCF)

Witness: Thomas Broad

ne o.	(1)	(2)	(3)	(4)	(5) Be	(6) eginning Balan	(7) ce	(8)	(9) Receipts	(10)	(11) Fuel	(12) Issued to Gene	(13) eration	(14) Fue	(15) el Issued		6)	(17) Invent	(18) tory Adjusti	(19) nents	(20)	(21) Ending Balance	(22)	(23)	(24) 3 Month Aver	(25 rage
	Plant	Fuel Type	Units	Month-Year	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000	D) \$/L	Jnit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) (See Note 1	\$/L
	Okeechobee (OCEC)	Distillate Oi	I BBL	Jan-23 Feb-23 Mar-23 Apr-23 May-23 Jun-23 Jul-23 Aug-23	137,874 137,874 137,874 137,874 137,874 137,874 137,874 137,874	12,523 12,523 12,523 12,523 12,523 12,523 12,523 12,523 12,523	90.83 90.83 90.83 90.83 90.83 90.83 90.83	0 0 0 0 0 0	0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00	0 0 0 0 0 0	0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00								137,874 137,874 137,874 137,874 137,874 137,874 137,874 137,874	12,523 12,523 12,523 12,523 12,523 12,523 12,523 12,523 12,523	90.83 90.83 90.83 90.83 90.83 90.83 90.83 90.83	137,874 137,874 137,874 137,874 137,874 137,874 137,874 137,874	12,523 12,523 12,523 12,523 12,523 12,523 12,523 12,523 12,523	90 90 90 90 90 90
				Sep-23 Oct-23 Nov-23 Dec-23	137,874 137,874 137,874 137,874	12,523 12,523 12,523 12,523	90.83 90.83 90.83 90.83	0 0 0	0 0 0	0.00 0.00 0.00 0.00	0 0 0	0 0 0	0.00 0.00 0.00 0.00								137,874 137,874 137,874 137,874	12,523 12,523 12,523 12,523	90.83 90.83 90.83 90.83	137,874 137,874 137,874 137,874	12,523 12,523 12,523 12,523	90 90 90
1	Crist (PCR)	Distillate Oi		Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000	8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266	61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0								135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000	8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266	61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23 61.23	135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000 135,000	8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266 8,266	61 61 61 61 61 61 61 61 61
	Smith (PSM)	Distillate Oi	I BBL	Jan-23 Feb-23 Mar-23 Apr-23 May-23 Jun-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683	553 553 553 553 553 553 553 553 553 553	82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0								6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683	553 553 553 553 553 553 553 553 553 553	82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79 82.79	6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683 6,683	562 559 557 555 554 553 553 553 553 553 553 553 553	8 8 8 8 8 8 8 8 8
	Central Alabama (CA)	Distillate Oi	I BBL	Jan-23 Feb-23 Mar-23 Apr-23 May-23 Jun-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	9,530 9,530 9,530 9,530 9,530 0 0 0 0	784 784 784 784 784 0 0 0 0 0 0	82.28 82.28 82.28 82.28 82.28 0.00 0.00	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0								9,530 9,530 9,530 9,530 9,530 0 0 0 0	784 784 784 784 784 0 0 0 0 0 0	82.28 82.28 82.28 82.28 82.28 0.00 0.00	9,530 9,530 9,530 9,530 9,530 8,797 8,064 7,331 6,598 5,865 5,132 4,399	784 784 784 784 784 724 664 603 543 483 422 362	8 8 8 8 8 8 8 8

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

DOCKET NO.: 20210015-EI

EXPLANATION:

Provide conventional fuel account balances in dollars and quantities for each fuel type for the test year, and the two preceding years Include Natural Gas even though no inventory is carried. (Give Units in Barrels, Tons, or MCF)

Type of Data Shown:

Projected Test Year Ended __/_/
Prior Year Ended __/_/
Historical Test Year Ended __/
X Proj. Subsequent Yr Ended 12/31/2023

Witness: Thomas Broad

Line No.	(1) Plant	(2) Fuel Type	(3) Units	(4) Month-Year	(5) Be	(6) eginning Balan	(7)	(8)	(9) Receipts	(10)	(11) Fuel	(12) Issued to Gene	(13) eration	(14) Fue	(15) I Issued (Oth	(16) ner)	(17) Inven	(18) ntory Adjustm	(19) ents	(20) E	(21) Ending Balance	(22)	(23)	(24) Month Avera	(25) age
NO.	Fidit	ruerrype	Offics	WOTUT- real	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) (See Note 1)	\$ / Unit
1 2 3 4 5	System	Distillate Oi	il BBL	Jan-23 Feb-23 Mar-23 Apr-23 May-23 Jun-23	1,548,666 1,548,666 1,548,666 1,548,666 1,548,666 1,539,136	133,877 133,877 133,877 133,877 133,877 133,093	86.45 86.45 86.45 86.45 86.45 86.47	0 0 0 0	0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00	0 0 0 0	0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00							1,548,666 1,548,666 1,548,666 1,548,666 1,548,666 1,539,136	133,877 133,877 133,877 133,877 133,877 133,093	86.45 86.45 86.45 86.45 86.45 86.47	1,545,740 1,545,244 1,544,915 1,544,585 1,544,523 1,544,072	134,274 134,140 134,021 133,902 133,808 133,682	86.87 86.81 86.75 86.69 86.63 86.58
7 8 9 10 11 12 13				Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	1,539,136 1,533,570 1,527,977 1,510,579 1,505,886 1,505,886	133,093 132,698 132,292 131,064 130,731 130,731	86.47 86.53 86.58 86.76 86.81 86.81	0 0 0 0	0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00	5,566 5,593 17,398 4,693 0	395 406 1,229 333 0 0	71.00 72.53 70.61 70.92 0.00 0.00							1,533,570 1,527,977 1,510,579 1,505,886 1,505,886 1,505,886	132,698 132,292 131,064 130,731 130,731	86.53 86.58 86.76 86.81 86.81 86.81	1,545,628 1,545,373 1,542,678 1,538,960 1,535,669 1,532,378	133,710 133,640 133,420 133,146 132,904 132,662	86.51 86.48 86.49 86.52 86.54 86.57
14 15 16 17 18 19 20 21 22 23 24 25 26	Crist (PCR)	Distillate Oil (Lighter Oil		Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0							0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0
26 27 28 29 30 31 32 33 34 35 36 37 38	Scherer (SH3)	Distillate Oi (Lighter Oil		Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jun-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683	53 53 53 53 53 53 53 53 53 53 53 53	1.78 1.78 1.78 1.78 1.78 1.78 1.78 1.78	0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0							29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683	53 53 53 53 53 53 53 53 53 53 53 53	1.78 1.78 1.78 1.78 1.78 1.78 1.78 1.78	29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683 29,683	53 53 53 53 53 53 53 53 53 53 53	1.78 1.78 1.78 1.78 1.78 1.78 1.78 1.78
39 40 41 42 43 44 45 46 47 48 49 50 51 52	Daniel (DAN)	Distillate Oi (Lighter Oil		Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jun-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956	154 154 154 154 154 154 154 154 154 154	1.52 1.52 1.52 1.52 1.52 1.52 1.52 1.52	0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0							100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956	154 154 154 154 154 154 154 154 154 154	1.52 1.52 1.52 1.52 1.52 1.52 1.52 1.52	100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956 100,956	154 154 154 154 154 154 154 154 154 154	1.52 1.52 1.52 1.52 1.52 1.52 1.52 1.52

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

DOCKET NO.: 20210015-EI

EXPLANATION:

Provide conventional fuel account balances in dollars and quantities for each fuel type for the test year, and the two preceding years include Natural Gas even though no inventory is carried. (Give Units in Barrels, Tons, or MCF)

Witness: Thomas Broad

	Front Trees	11-3-	Month-Year	D	eginning Balan	ce		Receipts		Fuel	ssued to Gene	eration	Fue	el Issued	(Other)		Invento	ry Adjustn	ents		Ending Balance	9	1	3 Month Ave	erage
Plant	Fuel Type	Units	Montn-Year	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) \$/Un	t L	Jnits	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) (See Note	1)
System			Jan-23	130,639	207	1.58	0	0	0.00	0	0	0.00								130,639	207	1.58	130,639	207	1
	(Lighter Oil)																								
										0	0														
							•	-		0	0														
										•															
			Dec-23	130,039	207	1.56	U	U	0.00	U	U	0.00								130,039	207	1.56	130,039	207	
Scherer	Coal	MMRtu	Jan-23	1 882 702	5.029	2.67	689 658	1.869	2 71	698 204	1.872	2.68								1 874 157	5.026	2.68	3 588 328	9 674	
	Cou	www.																							
(0110)																									
				2.240.800	6.048	2.70	693,105	1.923	2.77	721.039	1.959										6.012	2.72		6.374	
				2.212.866	6.012	2.72	692,942	1.927	2.78	733.167	2.003										5.936	2.73		6.062	
			Sep-23	2,172,641	5,936	2.73	693,018	1,925	2.78	695,772	1,909	2.74									5,952	2.74	2,164,191	5,833	
			Oct-23	2.169.888	5.952	2.74	693,153	1.919	2.77	703.449	1.934	2.75									5.937	2.75	2.102.228	5.679	
			Nov-23	2,159,592	5,937	2.75	693,298	1,921	2.77	692,899	1,909	2.75									5,950	2.75	2,069,681	5,605	
			Dec-23	2,159,991	5,950	2.75	693,419	1,922	2.77	700,826	1,933	2.76								2,152,585	5,938	2.76	2,062,750	5,600	
Daniel	Coal	Tons	Jan-23	210,668	10,109	47.98	0	0	0.00	0	0	0.00								210,668	10,109	47.98	250,800	12,034	
(DAN)							0	0		0	0														
							0			0															
							0			0															
							0			•															
							0			•															
							0			0															
							0			0	0														
							0			0	0														
							0			0															
										0	0														
			D60-23	210,000	10,103	47.30	· ·	Ü	0.00	· ·	Ü	0.00								210,000	10,103	47.30	210,000	10,103	
Scherer	Coal	MMBtu	Jan-23	0	0	0.00	0	0	0.00	0	0	0.00								0	0	0.00	0	0	
(SH4)				0	Ó	0.00	0	0	0.00	Ó	0									0	Ó	0.00	0	Ó	
			Mar-23	0	0	0.00	0	0	0.00	Ö	0	0.00								0	0	0.00	0	0	
			Apr-23	0	0	0.00	0	0	0.00	0	0	0.00								0	0	0.00	0	0	
			May-23	0	0	0.00	0	0	0.00	0	0	0.00								0	0	0.00	0	0	
			Jun-23	0	0	0.00	0	0	0.00	0	0	0.00								0	0	0.00	0	0	
			Jul-23	0	0	0.00	0	0	0.00	0	0	0.00								0	0	0.00	0	0	
				0	-															0	0		-		
				0	0															0	0		0		
				0																0	0				
																				0					
			Dec-23	0	0	0.00	0	0	0.00	0	0	0.00								0	0	0.00	0	0	
_	Scherer (SH3) Daniel (DAN)	System Distillate Oil (Lighter Oil) Scherer Coal (SH3) Daniel (DAN) Scherer Coal	System Distillate Oil (Lighter Oil) Scherer Coal MMBtu Daniel (DAN) Coal Tons Scherer Coal MMBtu	System Distillate Oil Gallons Jan-23 Feb-23 Aug-23 Jul-23 J	System Distillate Oil (Lighter Oil) Gallons Feb-23 130,639 Feb-23 130,639	System	System	System	System Distillate Oil Gallons Jan-23 130,639 207 1.58 0 0 0	System	System	System	System Disilitate Oil Galtons June J	System Distillate Oil Gallons Lan-23 130,639 207 1.58 0 0 0 0.00 0 0 0 0.00	System Distillate Oil Gallons Jun-23 130,639 207 1.58 0 0 0.00 0 0 0.00 0 0	System Distillate Oll Gallons Jan. 2 130,139 207 1.58 0 0 0.00 0 0 0.00	System Columbia Columbia Columbia System Children Columbia System System Children Columbia System Sys	System Columbia Columbia Co	System	System Columbia CA Gallon Sample System Columbia Co	System Distinct Column Column	System District OI Distr	Column C	System Dutal Call System Dutal Call System Dutal Call System Dutal Call Call System System Dutal Call Call Call Call Call Call Call C	System

Note 1 - Applicable only to system fuel inventory balances.

Supporting Schedules:

COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)

DOCKET NO.: 20210015-EI

EXPLANATION:

Provide conventional fuel account balances in dollars and quantities for each fuel type for the test year, and the two preceding years include Natural Gas even though no inventory is carried. (Give Units in Barrels, Tons, or MCF)

Witness: Thomas Broad

Line No.	(1) Plant	(2) Fuel Type	(3) Units	(4) Month-Year	(5) Be	(6) eginning Balar	(7)	(8)	(9) Receipts	(10)	(11) Fuel	(12) Issued to Gene	(13) eration	(14) Fu	(15) el Issued ((16) Other)	(17) Inve	(18) entory Adjus	(19) tments	(20)	(21) Ending Balanc	(22) e	(23)	(24) Month Avera	(25) ige
No.	i idit.	1 del Type	Onita	Wichtin-Teal	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000)	\$ / Unit	Units	(\$000) (See Note 1)	\$ / Unit
1 2 3 4 5 6 7 8 9 9 10 11 12; 13 14 15; 16 17 17 18 19 20 21 22 22 23 24	Manatee (PMT)	Residual Cl		Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jun-23 Sep-23 Oct-23 Dec-23 Jan-23 Feb-23 Mar-23 Mar-23 Jun-23 Jun-23 Jun-23 Jun-23 Oct-23 Oct-23 Mar-23 Oct-23 Mar-23 Oct-23 Mar-23 Mar-23 Oct-23 Mar-24 Mar-24 Ma	0 0 0 0 0 0 0 0 0 0 0 3,200,000	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.00 0.00	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0		0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0							0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0
25 26 27 28 29 30 31 32 33 34 35 36 37	Gulf	Natural Ga	s MMBtu	Nov-23 Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Jul-23 Sep-23 Oct-23 Nov-23 Dec-23	3,200,000 0 0 0 0 0 0 0 0 0 0	6,609 0 0 0 0 0 0 0	2.07 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0							3,200,000 0 0 0 0 0 0 0 0 0 0 0	6,609 0 0 0 0 0 0 0 0 0	2.07 2.07 0.00 0.00 0.00 0.00 0.00 0.00	3,200,000 3,200,000 99,626 60,957 31,241 10,418 0 0 0 0 0 0	6,609 312 191 98 33 0 0 0 0 0	2.07 2.07 3.13 3.13 3.13 3.13 0.00 0.00 0.00 0.00
39 40 41 42 43 44 45 46 47 48 49 50 51 52	System	Natural Ga	s MMBtu	Jan-23 Feb-23 Mar-23 Apr-23 Jun-23 Jul-23 Aug-23 Sep-23 Oct-23 Nov-23 Dec-23	3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000	6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609	2.07 2.07 2.07 2.07 2.07 2.07 2.07 2.07	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	0 0 0 0 0 0 0 0	0 0 0 0 0 0 0	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0							3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000	6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609 6,609	2.07 2.07 2.07 2.07 2.07 2.07 2.07 2.07	3,299,626 3,260,957 3,231,241 3,210,418 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000 3,200,000	6,921 6,800 6,707 6,642 6,609 6,609 6,609 6,609 6,609 6,609 6,609	2.10 2.09 2.08 2.07 2.07 2.07 2.07 2.07 2.07 2.07 2.07

Recap Schedules:

2023 SUBSEQUENT YEAR ADJUSTMENT
ELOPIDA PUBLIC SERVICE COMMISSION

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: Provide a schedule showing the following information

for miscellaneous deferred debits for the test year.

Minor items less than 5% of the account total, or amounts less than \$10,000, whichever is greater, may be grouped by classes.

(\$000)

Type of Data Shown:

Witness: Liz Fuentes

- _ Projected Test Year Ended: _/_/_
- _ Prior Year Ended: _/_/_
- _ Historical Test Year Ended: _/_/_

X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI

	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	Description	Credit Account	Balance at Beginning of Year	Debits	Credits	Balance at End of Year	
1	Deferred Debit - Interest Receivables		1,068	0	0	1,068	
2	Deferred Debit - Pension and Post-retirement		1,744,638	99,632	0	1,844,270	
3	Deferred Debit - Capital	Various	253,865	0	(107,071)	146,794	
4	Deferred Debit - Other		18,800	0	0	18,800	
5	Deferred Debit - Right of Way & Land		4,517	0	0	4,517	
6	Deferred Debit - Scherer 4		768	0	0	768	
7	Deferred Debit - Gen Perform Incentive Factor (1)	456	3,500	3,500	(3,500)	3,500	
8	Deferred Debit - Rate Case Expenses (2)		5,170	0	0	5,170	
9	Deferred Debit - Supplemental Executive Retirement Plan (3)		3,656	16	0	3,672	
10	Deferred Debit - Long-Term Service Agreement (GE)		50,592	0	(33,285)	17,307	
11	Total		2,086,575	103,149	(143,856)	2,045,868	
12							
13							

14 15 <u>Notes:</u>

- 16 (1) As reflected on MFR B-2, this amount is removed from rate base as a Commission adjustment since it is recovered through FPL's fuel and purchased power cost recovery clause.
- 17 (2) As reflected on MFR B-2, FPL is requesting a Company Adjustment to amortize this amount over a four year period.
- 18 (3) As reflected on MFR B-2, a portion of this amount is removed from rate base as a Commission adjustment.

30 31

32 NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING

2023 SUBSEQUENT YEAR ADJUSTMENT FLORIDA PUBLIC SERVICE COMMISSION

COMPANY: FLORIDA POWER & LIGHT COMPANY

AND SUBSIDIARIES (CONSOLIDATED)

EXPLANATION: Provide a schedule showing the following

information for other deferred credits for the test year. Minor items less than 5% of the account total, or amounts less than \$10,000, whichever is greater, may be grouped by classes.

Type of Data Shown:

_ Projected Test Year Ended: _/_/_

_ Prior Year Ended: _/_/_

_ Historical Test Year Ended: _/_/_ X Proj. Subsequent Yr Ended: 12/31/23

DOCKET NO.: 20210015-EI (\$000) Witness: Liz Fuentes

(1) (2) (3) (4) (5) (6)

Line No.	Description	Debit Account	Balance at Beginning of Year	Debits	Credits	Balance at End of Year
1	Other Def Credits - Right of Way - ATT	454	(544)	32	0	(511)
2	Other Def Credits - Deferred Executive Compensation (1)	128	(935)	292	(17)	(660)
3	Other Def Credits - Premium Lighting	444	(8,736)	603	0	(8,133)
4	Other Def Credits - Crist Landfill and Ash Pond (2)		(16,347)	0	0	(16,347)
5	Other Def Credits - Deferred-Transmission Credit (2)	407	(9,410)	269	0	(9,141)
6	Other Def Credits - Environmental Liability Reserve	182	(96,840)	11,346	0	(85,494)
7	Other Def Credits - FIN 48 - Uncertain Tax Positions		(48,962)	0	(6,524)	(55,486)
8	Other Def Credits - Reimbursables		(45,330)	0	0	(45,330)
9	Other Def Credits - Customer Contributions		(20,324)	0	0	(20,324)
10	Other Def Credits - Miscellaneous	Various	(8,012)	1,121	0	(6,891)
11	Total		(255,439)	13,664	(6,541)	(248,316)

12 13

14 Notes:

15 (1) As reflected on MFR B-2, a portion of this amount is removed from rate base as a Commission adjustment.

(2) As reflected on MFR B-2, this amount is removed from rate base as a Commission adjustment.

19 20 21

17 18

22 23

24

25

26 27

28

29

30 31

32 NOTE: TOTALS MAY NOT ADD DUE TO ROUNDING

Supporting Schedules:

Recap Schedules: B-3

	IDA PUBLIC SERVICE COMMISSION PANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)		EXP	LANATION:	and bala	ovide a schedu d the amounts ances, for the erve balances	accrued and o	cha yea	rged to ir and te	the provisionest year. Indi	acco cate c	unt lesired	Type of Data Shown: Projected Test Year Endec Prior Year Ended _ / _ / Historical Test Year Endec X Proj. Subsequent Yr Ende	// i//	/ /
DOCK	ET NO.: 20210015-EI						(#000I-)						Witness: Scott R. Bores		
	(1)	(2)		(3) Balance		(4) Current	(\$000's) (5) Amount			(6) t Fund	F	(7) Reserve	(8)	C	(9) narged to
Line No.		Year		Beginning of Period		Annual Accrual	Charged to Reserve			come r Taxes		Balance I of Period	Description Of Charge		perating xpenses
1 2 3	Account 228.1 - Property Insurance ⁽¹⁾	2023	\$	126,349	\$	40,800	-		\$	2,469 (2)	\$	169,618	Charges for storm restoration	\$	40,800
4	(1) Balance carries forward (1) zero accrual in 2023 No. PSC-17-0178-S-EI; and (3) replenishment of the reflects an increase resulting from reinvested storm f	Gulf storm reserve													
5 6 7	(2) As FPL prepared the MFR, it was determined that forecasted as Net Fund Income, incorrectly increasin purposes.														
8 9 10	Account 228.2 - Injuries and Damages (3)	2023	\$	23,600	\$	15,322	\$ (15,32	22)		-	\$	23,600	Estimated based on historical average	\$	15,322
11 12 13 14 15 16	(3) The projected reserve balance is based on histo coverage for normal charges and liability suits pe														
17 18 19	Account 228.4 - Miscellaneous														
20	- End of Life M&S Inventory (4)	2023	\$	33,928	\$	1,972	\$ -		\$	-	\$	35,900	See note	\$	1,972
21 22 23 24	- Nuclear Last Core ⁽⁵⁾	2023		167,087		11,073	-			-		178,160	See note		11,073
25	(4) End of Life M&S Inventory:														
26	Per FPSC Order No. 02-0055-PAA-EI, the coremaining life span at each nuclear site. The No. PSC-16-0560-AS-EI. FPL filed a new Dein this filing MFR B-2 and C-3.	annual amounts re	eflected v	were determ	ined	l and approved	l in Order No.	PS	C-16-0	250-PAA-EI,	and ir	nplemented	as part of Docket No. 160021-EI	, approved	l in Order
27															
28	(5) <u>Nuclear Last Core</u> :														
29	Per FPSC Order No. 02-0055-PAA-EI, the est credit to an unfunded reserve over the remain No. 160021-EI, approved in Order No. PSC-1 study as a Company Adjustment in this filing I	ing life span at ead 6-0560-AS-EI. FP	ch nucle	ar unit. The	ann	ual amounts re	eflected were	det	ermine	d and approv	ed in	Order No. P	SC-16-0250-PAA-EI, and implem	nented as p	oart of Docke
30															
24															

		RVICE COMMISSION	ta	•	32, 283), provide annual balance	Х	ype of Data Shown: Projected Test Year Ended: 12/31/22
COMP		POWER & LIGHT COMPANY SIDIARIES (CONSOLIDATED)		eginning with the historical bas nding with the end of the test y	se year in the last rate case and rear.	Х	Prior Year Ended: 12/31/21 Historical Test Year Ended: 12/31/20 Proj. Subsequent Yr Ended: 12/31/23
DOCK	ET NO.: 202100	015-EI		(\$000)		V	/itness: Scott R. Bores, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	Annual Period	Account 190 Accumulated Deferred Income Taxes Dr(Cr)	Account 281 Accumulated Deferred Income Taxes Dr(Cr)	Account 282 Accumulated Deferred Income Taxes Dr(Cr)	Account 283 Accumulated Deferred Income Taxes Dr(Cr)	Net Accumulated Deferre Income Taxes Dr(Cr)	1
1	0045	0	0	0	0	0	
2	2015	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		See pages 2 and	
3	2016	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		See pages 2 and	
4	2017	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		See pages 2 and	
5	2018	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		See pages 2 and	
6 7	2019	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		See pages 2 and	
•	2020	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		See pages 2 and	
8	2021	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	, ,	See pages 2 and	
9	2022 (1)	2,344,236	(91,083)	(7,553,941)	* * * * *	(6,971,97	
10	2023 (1)	2,357,283	(91,083)	(7,862,831)	(1,645,937)	(7,242,56	8)
11 12							
13	Note:						
14		TO MAINTAIN A BALANCED C	APITAL STRUCTURE REFLE	CTING EPI 'S PROPOSED E	QUITY RATIO ON A JURISDIC	TIONAL AD ILISTED	
15					EEN THE "WITH" AND "WITHO		=
16	THIS MFR.						
18							
19							
20							
21							
4 I							
22							
22 23							
22 23 24							
22 23 24 25							
22 23 24 25 26							
22 23 24 25 26 27							
22 23 24 25 26 27 28							
22 23 24 25 26 27 28 29							
22 23 24 25 26 27 28 29 30							
22 23 24 25 26 27 28 29							

Supporting Schedules:

FLOR	FLORIDA PUBLIC SERVICE COMMISSION			or each of the accumulated deax accounts (Nos. 190, 281, 2	**	e of Data Shown: ojected Test Year Ended: 12/31/22	
COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (PRE-CONSOLIDATION FPL)			eginning with the historical ba nding with the end of the test	se year in the last rate case and year.	X His	ior Year Ended: 12/31/21 storical Test Year Ended: 12/31/20 oj. Subsequent Yr Ended: 12/31/23	
DOCK	ET NO.: 202100°	15-EI		(\$000)			ess: Scott R. Bores, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	Annual Period	Account 190 Accumulated Deferred Income Taxes Dr(Cr)	Account 281 Accumulated Deferred Income Taxes Dr(Cr)	Account 282 Accumulated Deferred Income Taxes Dr(Cr)	Account 283 Accumulated Deferred Income Taxes Dr(Cr)	Net Accumulated Deferred Income Taxes Dr(Cr)	
1 2	2015	977,470	0	(7,106,013)	(1,561,804)	(7,690,347)	
3	2016	1,080,059	0	(7,100,010)			
4	2017	1,908,280	0	(5,332,210)			
5	2018	1,935,673	0	(5,662,613)			
6	2019	1,824,935	0	(5,870,516)			
7	2020	1,898,201	0	(6,208,918)	(1,420,397)	(5,731,114)	
8	2021	2,092,620	0	(6,436,405)	(1,553,295)		
9	2022	See page 1	See page 1	See page 1	See page 1	See page 1	
10	2023	See page 1	See page 1	See page 1	See page 1	See page 1	
11							
12							
13 14							
15							
16							
17							
18							
19							
20							
21							
22							
23							
24							
25 26							
26 27							
28							
29							
30							
31							
32							

FLORIDA PUBLIC SERVICE COMMISSION				or each of the accumulated de ix accounts (Nos. 190, 281, 28	Type of Data Shown: X Projected Test Year Ended: 12/31/22	
COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (PRE-CONSOLIDATION GULF)			b	eginning with the historical bas nding with the end of the test y	X Prior Year Ended: 12/31/21 X Historical Test Year Ended: 12/31/20 X Proj. Subsequent Yr Ended: 12/31/23	
DOCK	ET NO.: 202100	015-EI		(\$000)		Witness: Scott R. Bores, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	(6)
Line No.	Annual Period	Account 190 Accumulated Deferred Income Taxes Dr(Cr)	Account 281 Accumulated Deferred Income Taxes Dr(Cr)	Account 282 Accumulated Deferred Income Taxes Dr(Cr)	Account 283 Accumulated Deferred Income Taxes Dr(Cr)	Net Accumulated Deferred Income Taxes Dr(Cr)
1 2	2015	124,155	(171,685)	(756,937)	(88,542)	
3	2016	129,952	(166,454)	(775,662)	(136,258)	
4	2017	197,099	(158,989)	(495,290)	(79,688)	
5	2018	183,705	(152,031)	(518,024)	(134,869)	
6 7	2019 2020	137,551 172,242	(94,219)	(567,258) (519,741)	(101,408) (305,792)	
8	2020	245,759	(74,449) (91,083)	(519,741)	(305,792)	
9	2021	See page 1	See page 1	(075,705) See page 1	See page 1	See page 1
10	2023	See page 1	See page 1	See page 1	See page 1	See page 1
11	2020	Gee page 1	occ page 1	occ page 1	occ page 1	occ page 1
12						
13						
14						
15						
16						
17						
18						
19						
20						
21						
22 23						
23 24						
25						
26						
27						
28						
29						
30						
31						
32						

FLORIDA PUBLIC SERVICE COMMISSION				or each of the accumulated de	ferred income 2, 283), provide annual balances	* * * * * * * * * * * * * * * * * * * *	e of Data Shown: ojected Test Year Ended: 12/31/22	
COME	PANY: FLORIDA	POWER & LIGHT COMPANY		•	e year in the last rate case and		ior Year Ended: 12/31/21	
	AND SUB	SIDIARIES (CONSOLIDATED)		iding with the end of the test ye	•	X Historical Test Year Ended: 12/31/20		
						X Pr	oj. Subsequent Yr Ended: 12/31/23	
DOCK	KET NO.: 202100	15-EI		(\$000)		Witn	ess: Scott R. Bores, Liz Fuentes	
	(1)	(2)	(3)	(4)	(5)	(6)		
Line		Account 190 Accumulated	Account 281 Accumulated	Account 282 Accumulated	Account 283 Accumulated	Net Accumulated Deferred		
No.	Annual Period	Deferred Income Taxes Dr(Cr)	Deferred Income Taxes Dr(Cr)	Deferred Income Taxes Dr(Cr)	Deferred Income Taxes Dr(Cr)	Income Taxes Dr(Cr)	_	
1 2	2015	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	<u>. </u>	
3	2016	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		
4	2017	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		
5	2018	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		
6	2019	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		
7	2020	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		
8	2021	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3	See pages 2 and 3		
9	2022 (1)	2,344,240	(91,083)	(7,553,941)	(1,671,182)	(6,971,966)		
10	2023 (1)	2,357,305	(91,083)	(7,862,831)	(1,645,937)	(7,242,547)		
11								
12								
13	Note:							
14	` '	TO MAINTAIN A BALANCED CA						
15 16	MFR.	STED AMOUNTS FOR CERTAIN	ACCOUNTS ARE SLIGHLTY	DIFFERENT BETWEEN THE	E "WITH" AND "WITHOUT" RSAI	M VERSIONS OF THIS		
18								
19								
20								
21								
22								
23								
24								
25								
26								
27								
28								
29								
30								
31 32								
52								

FLOR	FLORIDA PUBLIC SERVICE COMMISSION		EXPLANATION: For each of the accumulated deferred income				e of Data Shown:
COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (PRE-CONSOLIDATION FPL)			b	ax accounts (Nos. 190, 281, 28 eginning with the historical bas anding with the end of the test y	X P X H	X Projected Test Year Ended: 12/31/22 X Prior Year Ended: 12/31/21 X Historical Test Year Ended: 12/31/20 X Proj. Subsequent Yr Ended: 12/31/23	
DOC	KET NO.: 2021001	5-EI		(\$000)		Witi	ness: Scott R. Bores, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	Annual Period	Account 190 Accumulated Deferred Income Taxes Dr(Cr)	Account 281 Accumulated Deferred Income Taxes Dr(Cr)	Account 282 Accumulated Deferred Income Taxes Dr(Cr)	Account 283 Accumulated Deferred Income Taxes Dr(Cr)	Net Accumulated Deferred Income Taxes Dr(Cr)	
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28	2015 2016 2017 2018 2019 2020 2021 2022 2023	977,470 1,080,059 1,908,280 1,935,673 1,824,935 1,898,201 2,092,620 See page 1 See page 1	0 0 0 0 0 0 See page 1 See page 1	(7,106,013) (7,928,228) (5,332,210) (5,662,613) (5,870,516) (6,208,918) (6,436,405) See page 1 See page 1	(1,654,871) (1,558,079) (1,386,362) (1,309,999) (1,420,397)	(7,690,347) (8,503,040) (4,982,009) (5,113,302) (5,355,580) (5,731,114) (5,897,081) See page 1 See page 1	
29 30 31 32							

FLOR	DA PUBLIC SEI	RVICE COMMISSION		or each of the accumulated de x accounts (Nos. 190, 281, 28		Type of Data Shown: X Projected Test Year Ended: 12/31/22	
COMF		POWER & LIGHT COMPANY SSIDIARIES (PRE-CONSOLIDATION GULF)	be	riginning with the historical bas iding with the end of the test y		X Prior Year Ended: 12/31/21 X Historical Test Year Ended: 12/31/20 X Proj. Subsequent Yr Ended: 12/31/23	
DOCK	ET NO.: 202100	115-EI		(\$000)			Witness: Scott R. Bores, Liz Fuentes
	(1)	(2)	(3)	(4)	(5)	(6)	
Line No.	Annual Period	Account 190 Accumulated Deferred Income Taxes Dr(Cr)	Account 281 Accumulated Deferred Income Taxes Dr(Cr)	Account 282 Accumulated Deferred Income Taxes Dr(Cr)	Account 283 Accumulated Deferred Income Taxes Dr(Cr)	Net Accumulated Defer Income Taxes Dr(Cr	
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20	2015 2016 2017 2018 2019 2020 2021 2022 2023	124,155 129,952 197,099 183,705 137,551 172,242 245,759 See page 1 See page 1	(171,685) (166,454) (158,989) (152,031) (94,219) (74,449) (91,083) See page 1	(756,937) (775,662) (495,290) (518,024) (567,258) (519,741) (675,765) See page 1	(136,258) (79,688) (134,869) (101,408) (305,792) (199,960) See page 1	(893, (948, (536, (621, (625, (727, (721, See pa See pa	422) 868) 219) 334) 739) 049) ge 1
30 31 32							

Schedule B-23

2023 SUBSEQUENT YEAR ADJUSTMENT

COMPANY: FLORIDA	RVICE COMMISSION A POWER & LIGHT COMPANY BSIDIARIES (CONSOLIDATED)	tax credits on an ann	analysis of accumulated invest generated and amortization of ual basis beginning with the his ase and ending with end of the	investment tax credits storical base year in the	Type of Data Shown: X Projected Test Year Ended: 12/31/22 X Prior Year Ended: 12/31/21 X Historical Test Year Ended: 12/31/20 X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 20210	015-EI		(\$000)		Witness: Scott R. Bores, Liz Fuentes
(1)	(2)	(3)	(4)	(5)	
Line No. Annual Period	Beginning Balance	Amortization	Generated	Ending Balance	
1 2 2015 3 2016 4 2017 5 2018 6 2019 7 2020 8 2021 9 2022 10 2023 11 12 NOTE: TOTAL 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32	See pages 2 and 3 1,330,990 1,511,851 S MAY NOT ADD DUE TO ROUNDI	See pages 2 and 3 A2,944 54,098	See pages 2 and 3 223,804 211,315	See pages 2 and 3 1,511,851 1,669,067	

FLORIDA PUBLIC SERVICE COMMIS COMPANY: FLORIDA POWER & LIGH AND SUBSIDIARIES (PRE	HT COMPANY	tax cro on an	e an analysis of accumulated invesedits generated and amortization of annual basis beginning with the hite case and of the	f investment tax credits storical base year in the	Type of Data Shown: X Projected Test Year Ended: 12/31/22 X Prior Year Ended: 12/31/21 X Historical Test Year Ended: 12/31/20
DOCKET NO.: 20210015-EI			(\$000)		X Proj. Subsequent Yr Ended: 12/31/23 Witness: Scott R. Bores, Liz Fuentes
(1)	(2)	(3)	(4)	(5)	

	(' /	(-)	(-)	(' /	(-)
Line No.	Annual Period	Beginning Balance	Amortization	Generated	Ending Balance
1					
2	2015	161,708	6,813	801	155,695
3	2016	155,695	7,355	120,687	269,026
4	2017	269,026	10,978	1,271	259,319
5	2018	259,319	17,837	218,404	459,886
6	2019	459,886	21,839	102,195	540,241
7	2020	540,241	28,637	338,611	850,216
8	2021	875,046	33,972	414,422	1,255,496
9	2022	See page 1	See page 1	See page 1	See page 1
10	2023	See page 1	See page 1	See page 1	See page 1
11		, ,	, ,		
12					
13					
14					
15					
16					
17					
18					
19					
20					
21					
22					
23					
24					
25					
26					
27					
28					
29					
30					
31					
32					

FLORIDA PUBLIC SERVICE COMMISSION	EXPLANATION: F	rovide an analysis of accumulated inv	Type of Data Shown:	
		ax credits generated and amortization	of investment tax credits	X Projected Test Year Ended: 12/31/22
COMPANY: FLORIDA POWER & LIGHT COMPAN	Υ	on an annual basis beginning with the	historical base year in the	X Prior Year Ended: 12/31/21
AND SUBSIDIARIES (PRE-CONSOLI	DATION GULF)	ast rate case and ending with end of	he test year.	X Historical Test Year Ended: 12/31/20
				X Proj. Subsequent Yr Ended: 12/31/23
DOCKET NO.: 20210015-EI		(\$000)		Witness: Scott R. Bores, Liz Fuentes
(1) (2)	(3)	(4)	(5)	

	• •	, ,	. ,	. ,	• •
Line	Annual Period	Beginning Balance	Amortization	Generated	Ending Balance
No.	Annual i chou	Degining Balance	Amortization	Generated	Ending Balance
1					
2	2015	2,783	702		2,081
3	2016	2,081	511		1,570
4	2017	1,570	394		1,176
5	2018	1,176	324	114	966
6	2019	966	283		683
7	2020	683	823	25,033	24,893
8	2021	24,983	1,038	51,549	75,494
9	2022	See page 1	See page 1	See page 1	See page 1
10	2023	See page 1	See page 1	See page 1	See page 1
11		· -			
12					
13					
14					
15					
16					
17					
18					
19					
20					
20 21					
22					
23					
24					
25					
26					
27					
21					
28					
29					
30					
31					
32					

FLORIDA PUBLIC SERVICE COMMISSION EXPLANATION: COMPANY: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED)				ecified for leasing arrangements	Type of Data Shown:		
			in effect during the to	est year and prior year.	Projected Test Year Ended/ _/_ Prior Year Ended/ _/ Historical Test Year Ended/ _/		
			(000)		X Proj. Subsequent Yr Ended 12/31/23		
	D.:20210015		(Witness: Scott R. Bores, Thomas Broad, Michael Spoor		
Line No.	(1)	(2)	(3)	(4)	(5)		
1		, ,					
2	Leasing Payments for test year:		\$ 7,186	Building			
3 4			3,311 72	Equipment (Rail Car) Equipment (Substation)			
5			189	Equipment (Amazon Web Services)			
6			41	Equipment (Tower)			
7			2,079	Land & Land Rights			
8 9			18 63,720	Vehicle Other (Shell PPA)			
10			\$ 76,617	Cuter (Chell 1 17)			
11							
12	Leasing Payments for subsequent year adjustmen	t:	\$ 2,646	Building			
13 14			3,311 72	Equipment (Rail Car) Equipment (Substation)			
15			31	Equipment (Amazon Web Services)			
16			41	Equipment (Tower)			
17			1,965	Land & Land Rights			
18			10	Vehicle			
19 20			26,550 \$ 34,628	Other (Shell PPA)			
21			Ψ 04,020				
22	Leasing Payments, Remaining Life Contracts		\$ 574	Building			
23			5,399	Equipment (Rail Car)			
24 25			1,733 54	Equipment (Substation) Equipment (Tower)			
26			26,505	Land & Land Rights			
27			\$ 34,265	-			
28 29							
30		Describe Lea	asing Agreements Whose Lifetime Cos	sts Exceed \$10 Million			
31							
32 33		Original	Annual	Life of	Disposition of Asset,		
34	Asset	Cost	Payment	Contract	Provision for Purchase		
35							
36 37	LAND & LAND RIGHTS						
38	NASA PV Facility (Subsequent Year)	15,321	796	Expiration Date November 2050	No Purchase Option		
39	NASA PV Facility (Test Year)	15,321	781	Expiration Date November 2050	No Purchase Option		
40 41	EQUIPMENT (RAILCARS)						
42	Cedar Bay Railroad Car Net Lease (Subsequent Year)	10,461	1,335	Expiration Date January 2025	No Purchase Option		
43	Cedar Bay Railroad Car Net Lease (Test Year)	10,461	1,335	Expiration Date January 2025	No Purchase Option		
44							
45	Indiantown Railcar Lease (Subsequent Year) Indiantown Railcar Lease (Test Year)	15,780	1,977	Expiration Date December 2025	No Purchase Option		
46 47	indiantown Railcar Lease (Test Fear)	15,780	1,977	Expiration Date December 2025	No Purchase Option		
48	BUILDINGS						
49	GO Office Lease (Subsequent Year)	36,605	2,294	Expiration Date April 2023	No Purchase Option		
50	GO Office Lease (Test Year)	36,605	6,816	Expiration Date April 2023	No Purchase Option		
51 52	OTHER						
53	GULF Shell PPA (Subsequent Year)	261,033	26,550	Expiration Date May 2023	No Purchase Option		
54	GULF Shell PPA (Test Year)	261,033	63,720	Expiration Date May 2023	No Purchase Option		
55							
57 58	NOTES: 1) The amounts under Original Cost represent the NPV of	all the future lease novements	discounted at the Ingramental Personnia	og Pate			
58 59	Prepaid leases are not included.	an are ruture lease payments	alsocation at the inclemental bollowin	ig ratio.			
60	Life of the contract does not include renewal options.						

Recap Schedules:

Supporting Schedules:

Schedule B-25 2023 Subsequent Year Adjustment		ACCOUNTING POLI	CY CHANGES AFFECTING RATE BASE	Page 1 of 1	
COMPAN	PUBLIC SERVICE COMMISSION Y: FLORIDA POWER & LIGHT COMPANY AND SUBSIDIARIES (CONSOLIDATED) NO.: 20210015-EI	EXPLANATION:	Provide a statement of changes in accounting policy for the test year and the prior year. If appropriate, explain any changes in accounting procedures for the projected test year and the effect, if any, of the use of a non-calendar test year.	Type of Data Shown: Projected Test Year Ended// Prior Year Ended// Historical Test Year Ended/_/ X Proj. Subsequent Yr Ended 12/31/23 Witness: Keith Ferguson	
Line No.		(1)			
1 2 3 4 5	There were no changes in accounting police	cy in the subsequent ye	ear affecting rate base.		